1924 - 1925.

NEW ZEALAND.

APPROPRIATIONS

CHARGEABLE ON

THE CONSOLIDATED FUND

AND

OTHER ACCOUNTS

FOR THE YEAR ENDING 31st MARCH, 1925.



INDEX.

1924-1925.

		Page	35 . 5		Page
Accident Insurance Account	• •	229	Marine Department		146
Advances to Local Authorities Branch		236	Marine: Miscellaneous Services	٠.	154
Advances to Settlers Branch		233	Marine Department Marine: Miscellaneous Services Material and Stores—Education		199
Advances to Settlers Branch Advances to Workers Branch Agriculture Amortization Audit Department Aviation		235	Material and Stores—Education Mental Hospitals Mercantile Marine, Superintendents of Messengers, Office-keepers, and Charwomen Meteorological Office Mines Department Mines: Miscellaneous Services Ministers' Secretaries Miscellaneous Branch, State Advan		116
Agricultura		4 = 4 ^ '	Mercantile Marine, Superintendents of		150
Amoutination		23	Massangara Office bearers and Charwomen		97
Amortization	• •	109	Metaprological Office	• •	150
Audit Department	• •		Meteorological Office	• •	100
Aviation		137	Mines Department		90
		-0	Mines: Miscellaneous Services		92
Bankruptcy		73	Ministers' Secretaries		97
Bellamy's		31	Miscellaneous Business Branch, State Advan	ces	
Carriage of Mails by Railway Census and Statistics Child Welfare Civil List Clerk of Executive Council Cold Storage Advances Conveyance of Inland Mails Conveyance of Ocean Mails Cook Islands Coroners Criminal Prosecutions Crown Law Office Customs: Miscellaneous Customs Offices and Services			Account		
Carriage of Mails by Railway		53	iii ii	• •	-00
Census and Statistics		100	Minas Namana Commissa		
Child Welfare		195	Miscellaneous Services		4.0
Civil List		6	Customs	• •	143
Clark of The contine Council	• •	97	Education		199
Clerk of Executive Council	• •	- 1	Internal Affairs		105
Cold Storage Advances	• •	237	Justice		74
Conveyance of Inland Mails	• •		Lands and Survey		162
Conveyance of Ocean Mails		52	Marina	• •	154
Cook Islands		67	Minor	• •	104
Coroners		73	Mines	• •	92
Criminal Prograutions	• •	77	Native	• •	63
Character Office	• •	82	Police		86
Crown Law Office	• •		Post and Telegraph		54
Customs: Miscellaneous	• •	143	Treasury		35
Customs Offices and Services	• •	140	Motor Services and Workshops		54
		155	Miscellaneous Services— Customs Education Internal Affairs Justice Lands and Survey Marine Mines Native Police Post and Telegraph Treasury Motor Services and Workshops Museum	• •	100
Dairy Division, Department of Agriculture	• •	177	MANDONIA	• •	102
Dairy Division, Department of Agriculture Debt Services		7	NT 43 - 3 TO 3	15	
Defence Department		131	National Provident and Friendly Societies	υ θ -	
Discharged Soldiers Settlement Account		204	partment	• •	42
Dominion Laboratory		103	National Rifle Association		138
2011.11.1011 AMMOUNTS +1	• •		Native Department		62
Education Department - Head Office		185	Native Land Settlement Account		209
Tiducation . Missellaneous Convices	• •	199	Native Land Purchase Evnenges	• •	200
Education: Miscellaneous Services	• •	100	Matina Migaellanassa Camiasa		200
Education of the Blind	• •	192	Native: Miscellaneous Services	• •	05
Electoral	• •	168	Native Schools	٠.	130
Elementary Education		187	Native Trustee's Account	• •	224
External Affairs		65	Nauru and Ocean Islands Account		203
		į	Naval Defence		128
Hields Division Department of Assiculture		179	Non-Effective Services Defence	• •	199
Figheries		153	TOTAL PRODUCTION DELIVIOUS DELIVIOUS 1,	••	100
Fishing Industry Promotion		237	Dahama Affica		70
The state of the s	• •	0.00	Patent Office	• •	72
rorestry	• •		Pensions Department		87
Fisheries Fisheries Fishing Industry Promotion Forestry Friendly Societies Department Fruit Preserving Industry	٠.	42	Permanent Charges		7
Fruit Preserving Industry		237	Physical Instruction		191
			Police		84
General Assembly Library		30	Police Missellaneous Sorrices	• •	0.0
Conoral Evnouges Logislative Departments		31	Fonce. Miscentificous pervices	• •	80
			To 1 1 . (1) 1 1 1 1 1 1 1 1		54
Geological Survey Branch of the Mines Den	art.		Post and Telegraph: Miscellaneous Services		.,
Geological Survey Branch of the Mines Dep	art-	i	Patent Office		49
Geological Survey Branch of the Mines Dep	art-	91	Post and Telegraph: Miscellaneous Services Post and Telegraph Salaries Post and Telegraph working-expenses		49 49
Geological Survey Branch of the Mines Dep ment	art-	91 229	Post and Telegraph: Miscellaneous Services Post and Telegraph Salaries Post and Telegraph working-expenses Printing and Stationery		49 49
Geological Survey Branch of the Mines Dep ment	art-	91 229 59	Post and Telegraph: Miscellaneous Services Post and Telegraph Salaries Post and Telegraph working-expenses Printing and Stationery Printing		49 49 113
Geological Survey Branch of the Mines Dep ment	art-	91 229	Post and Telegraph: Miscellaneous Services Post and Telegraph Salaries Post and Telegraph working-expenses Printing and Stationery Prisons Prisons Branch (Prisons)		49 49 113 77
Geological Survey Branch of the Mines Dep ment	art-	91 229 59	Post and Telegraph: Miscellaneous Services Post and Telegraph Salaries Post and Telegraph working-expenses Printing and Stationery Prisons Probation Branch (Prisons)		49 49 113 77 81
Geological Survey Branch of the Mines Dep ment	art-	91 229 59 226	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters		49 49 113 77 81 153
Geological Survey Branch of the Mines Dep ment	art-	91 229 59 226	Post and Telegraph working-expenses Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road	 ds,	49 113 77 81 153
Geological Survey Branch of the Mines Dep ment	art-	91 229 59 226 153	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works	 ds,	49 113 77 81 153
Geological Survey Branch of the Mines Dep ment	art-	91 229 59 226 153 31 147	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works	 ds,	49 113 77 81 153
Geological Survey Branch of the Mines Dep ment	art-	91 229 59 226 153 31 147 121	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office	ds,	49 113 77 81 153 57
Geological Survey Branch of the Mines Dep ment	art-	91 229 59 226 153 31 147 121 101	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account	 ds,	49 113 77 81 153 57 111 230
Geological Survey Branch of the Mines Dep ment	art-	91 229 59 226 153 31 147 121 101 189	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office	ds,	49 113 77 81 153 57
Geological Survey Branch of the Mines Dep ment Government Accident Insurance Account Government Domains Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult	art-	91 229 59 226 153 31 147 121 101 189 176	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account	 ds,	49 113 77 81 153 57 111 230 221
Geological Survey Branch of the Mines Dep ment	art-	91 229 59 226 153 31 147 121 101 189 176 29	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department	ds,	49 113 77 81 153 57 111 230 221
Geological Survey Branch of the Mines Dep ment Government Accident Insurance Account Government Domains Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult	art-	91 229 59 226 153 31 147 121 101 189 176	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands	ds,	49 113 77 81 153 57 111 230 221 44 35
Geological Survey Branch of the Mines Dep ment	art-	91 229 59 226 153 31 147 121 101 189 176 29	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands	ds,	49 113 77 81 153 57 111 230 221 44 35 35
Geological Survey Branch of the Mines Dep ment	art-	91 229 59 226 153 31 147 121 101 189 176 29	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt	ds,	49 113 77 81 153 57 111 230 221 44 35
Geological Survey Branch of the Mines Dep ment	art-	91 229 59 226 153 31 147 121 101 189 176 29	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt	ds,	49 113 77 81 153 57 111 230 221 44 35 35
Geological Survey Branch of the Mines Dep ment	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office	ds,	49 113 77 81 153 57 111 230 221 44 35 35 23
Geological Survey Branch of the Mines Dep ment	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation		49 113 77 81 153 57 111 230 221 44 35 35 29 99 217
Geological Survey Branch of the Mines Dep ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Linspection of Machinery Linspection of Machinery Linsurance, Government Accident Account	art-	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation	ds,	49 113 77 81 153 57 111 230 221 44 35 35 23 99
Geological Survey Branch of the Mines Dep ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account	art	91 229 59 226 153 31 147 121 101 189 176 29 236 152 229 226	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs		49 113 77 81 153 57 111 230 221 44 35 35 29 217 139
Geological Survey Branch of the Mines Dep ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation		49 113 77 81 153 57 111 280 221 44 35 35 29 99 217 139
Geological Survey Branch of the Mines Dep ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites		49 113 77 81 153 57 111 230 221 44 35 35 29 99 217 139 165 191
Geological Survey Branch of the Mines Dep ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Interest Interest Interest Interest Internal Affairs Department	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 37 94	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deat		49 113 77 81 153 57 111 230 221 44 35 35 23 99 217 139 165 191
Geological Survey Branch of the Mines Dep ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites Schools for the Peeble-minded		49 113 77 81 153 57 111 230 221 44 35 35 39 217 139 165 191 192 193
Geological Survey Branch of the Mines Dep ment Movernment Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Inland Revenue. Inspection of Machinery Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 221 7 94 105	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary Education		49 113 77 81 153 57 111 230 221 44 35 35 23 99 217 139 165 191
Geological Survey Branch of the Mines Dep ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Interest Interest Interest Interest Internal Affairs Department	art	91 229 59 226 153 31 147 121 101 189 176 29 236 152 229 226 231 7	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary Education		49 113 77 81 153 57 111 230 221 44 35 35 39 217 139 165 191 192 193
Geological Survey Branch of the Mines Dep ment Movernment Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Inland Revenue. Inspection of Machinery Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 221 7 94 105	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Secondary Education Sinking Fund		113 77 81 153 57 111 230 221 44 35 23 99 217 139 165 191 192 193 188
Geological Survey Branch of the Mines Depment Ment Covernment Accident Insurance Account Government Domains	art	91 229 59 226 153 31 147 121 101 189 176 29 236 152 229 226 231 7 94 105 71	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature		149 113 77 81 153 57 111 230 221 44 35 35 35 23 39 217 139 165 191 192 193 188 23 25
Geological Survey Branch of the Mines Depment ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Justice: Miscellaneous Services	art	91 229 59 226 153 31 147 121 101 189 176 29 236 152 229 226 231 7 94 105 71	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department		113 77 81 153 57 111 230 221 44 44 35 35 23 99 217 119 199 199 198 188 23 25 38
Geological Survey Branch of the Mines Depment ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Justice: Miscellaneous Services	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 94 105	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Orown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Riffe Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature State Advances Account		113 77 81 153 57 111 220 221 44 35 23 99 217 139 165 191 193 188 23 25 38 28 28 29 28 29 29 20 20 20 20 20 20 20 20 20 20 20 20 20
Geological Survey Branch of the Mines Depment ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Justice: Miscellaneous Services Labour Department Land and Deeds Registry Land Insurance Land Insurance Land Land Land Insurance Land Land Land Land Land Land Land Land	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 94 105 71 74	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account		113 77 81 153 57 111 230 221 44 35 35 23 39 217 139 165 191 192 193 28 28 28 28 29 20 20 20 20 20 20 20 20 20 20 20 20 20
Geological Survey Branch of the Mines Dep ment Ment Government Accident Insurance Account Government Domains Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Inland Revenue. Inspection of Machinery Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Justice: Miscellaneous Services Labour Department Land and Deeds Registry Land and Deeds Registry Land and Income Tax Department	art	91 229 59 226 153 31 147 121 101 189 176 29 236 152 229 226 231 7 94 105 71 74	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account		149 113 77 81 153 57 111 230 221 44 35 35 35 23 29 217 139 165 191 192 193 188 23 23 25 38 23 23 23 23 23 23 23 23 23 23 23 23 23
Geological Survey Branch of the Mines Dep ment Ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Inland Revenue. Inspection of Machinery Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Unstice: Miscellaneous Services Labour Department Land and Deeds Registry Land and Income Tax Department	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 94 105 71 74	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Forests Account		113 77 81 153 57 111 230 221 44 35 35 23 39 217 139 165 191 192 193 28 28 28 28 29 20 20 20 20 20 20 20 20 20 20 20 20 20
Geological Survey Branch of the Mines Dep ment Ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Justice: Miscellaneous Services Labour Department Land and Income Tax Department Land and Income Tax Department Land for Settlements Account Land for Settlements Account Linend for Settlements Account Linend Linend Fax Department Land for Settlements Account Linend for Settlements Account Linend Linen	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 94 105 71 74 155 40 36 205	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Forests Account		149 113 77 81 153 57 111 230 221 44 35 35 35 23 39 217 139 165 191 192 193 188 23 23 23 23 23 23 23 23 23 23 23 23 23
Geological Survey Branch of the Mines Dep ment Ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Inland Revenue Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Land and Deeds Registry Land and Income Tax Department Land for Settlements Account Land Settlement Account Land Settlement Account Land For Settlement Account Soldiers Settlement Account Land Settlement Ac	art	91 229 59 226 153 31 147 121 101 189 176 29 236 152 229 226 231 7 94 105 71 74 155 40 36 205 207	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Riffe Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Forests Account Summary		113 77 81 153 57 111 220 221 44 35 35 23 99 217 139 165 191 192 193 188 23 25 38 25 38 22 21 21 22 21 21 22 21 21 22 21 21 22 21 22 21 22 21 22 24 24 25 26 26 26 27 27 27 27 27 27 27 27 27 27 27 27 27
Geological Survey Branch of the Mines Dep ment Ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, Government Life Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Lustice: Miscellaneous Services Labour Department Land and Deeds Registry Land and Income Tax Department Land for Settlements Account Land for Settlements Account Land for Settlements Account Land sond Survey Department Lands on Survey Department Lands Government Account Land Survey Department Land Soldiers Settlement Account Land Soldiers Settlement Account Land Soldiers Settlement Account Land Soldiers Settlement Account Lands Soldiers Settlement Account Lands Soldiers Settlement Account Lands Soldiers Settlement Lands Lands Lands Soldiers Settlement Lands Lands Lands Lands Lands Lands Soldiers Settlement Lands L	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 94 105 71 74 155 40 36 205	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Riffe Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Forests Account		113 77 81 153 57 111 230 221 44 35 35 23 99 217 139 165 191 192 193 188 23 201 28 28 28 29 21 21 21 21 21 21 21 21 21 21 21 21 21
Geological Survey Branch of the Mines Dep ment Ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, Government Life Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Lustice: Miscellaneous Services Labour Department Land and Deeds Registry Land and Income Tax Department Land for Settlements Account Land for Settlements Account Land for Settlements Account Land sond Survey Department Lands on Survey Department Lands Government Account Land Survey Department Land Soldiers Settlement Account Land Soldiers Settlement Account Land Soldiers Settlement Account Land Soldiers Settlement Account Lands Soldiers Settlement Account Lands Soldiers Settlement Account Lands Soldiers Settlement Lands Lands Lands Soldiers Settlement Lands Lands Lands Lands Lands Lands Soldiers Settlement Lands L	art	91 229 59 226 153 31 147 121 101 189 176 29 236 152 229 226 231 7 94 105 71 74 155 40 36 205 207 158	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Forests Account Summary Supreme Courts		149 113 77 81 153 57 111 220 221 44 35 35 35 23 29 217 139 165 191 192 193 188 23 23 24 23 22 193 21 24 25 26 27 27 28 28 29 29 20 20 20 20 20 20 20 20 20 20 20 20 20
Geological Survey Branch of the Mines Dep ment ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Inland Revenue. Insurance, Government Accident Account Insurance, Government Life Account Insurance, Government Life Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Land and Deeds Registry Land and Income Tax Department Land and Income Tax Department Land and Income Tax Department Land for Settlements Account Lands and Survey Department Lands and Survey Department Lands and Survey Miscellaneous Services	art	91 229 59 226 153 31 147 121 101 189 176 29 236 152 229 226 231 7 94 105 71 74 155 40 96 205	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Forests Account Summary Supreme Courts Technical Instruction		113 77 81 1153 57 111 230 221 44 35 35 23 99 217 139 165 191 192 193 188 23 201 225 38 230 221 189 221 247 257 267 27 27 27 27 27 27 27 27 27 27 27 27 27
Geological Survey Branch of the Mines Dep ment Ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Land and Deeds Registry Land and Income Tax Department Land for Settlements Account Soldiers Settlement Account Lands and Survey Miscellaneous Services Lands Parting Office	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 94 105 71 74 155 40 36 205 207 158 207 158 207 158 207 207 207 207 207 207 207 207 207 207	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Fire Insurance Account State Forests Account State Forests Account Turrist and Health Resorts		49 113 77 81 153 57 111 230 221 44 35 35 23 39 217 139 165 191 192 193 198 23 23 23 23 23 23 23 23 24 24 25 26 27 27 28 28 29 29 20 20 20 20 20 20 20 20 20 20 20 20 20
Geological Survey Branch of the Mines Dep ment Ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Land and Deeds Registry Land and Income Tax Department Land for Settlements Account Soldiers Settlement Account Lands and Survey Miscellaneous Services Lands Parting Office	art-	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 94 105 71 74 155 40 36 205 205 207 158 168 209 209 209 209 209 209 209 209 209 209	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Forests Account State Forests Account State Forests Account Tourist and Health Resorts Training of Teachers		149 113 77 81 153 57 111 230 221 44 35 35 23 39 217 139 165 191 192 193 188 23 25 38 201 231 47 57 189 189 199 199 199 199 199 199 199 199
Geological Survey Branch of the Mines Dep ment Ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Land and Deeds Registry Land and Income Tax Department Land for Settlements Account Soldiers Settlement Account Lands and Survey Miscellaneous Services Lands Parting Office	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 94 105 71 74 155 40 36 205 207 158 162 30 207 158 162 209 218 219 219 219 219 219 219 219 219 219 219	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Fire Insurance Account State Forests Account Tourist and Health Resorts Training of Teuchers Treasury Department		149 113 77 81 153 57 111 220 221 44 35 35 35 23 29 217 139 165 191 192 193 188 23 23 24 23 24 25 36 21 21 21 21 21 21 21 21 21 21 21 21 21
Geological Survey Branch of the Mines Dep ment Ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Land and Deeds Registry Land and Income Tax Department Land for Settlements Account Soldiers Settlement Account Lands and Survey Miscellaneous Services Lands Parting Office	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 7 105 71 74 155 40 36 205 207 158 162 30 29 158 158 205 158 205 205 205 205 205 205 205 205 205 205	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Forests Account State Forests Account State Forests Account Summary Supreme Courts Technical Instruction Tourist and Health Resorts Training of Teachers Treasury Department		149 113 77 81 153 57 111 230 221 44 35 35 23 39 217 139 165 191 192 193 188 23 25 38 201 231 47 57 189 189 199 199 199 199 199 199 199 199
Geological Survey Branch of the Mines Dep ment Ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Land and Deeds Registry Land and Income Tax Department Land for Settlements Account Soldiers Settlement Account Lands and Survey Miscellaneous Services Lands Parting Office	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 94 105 71 74 155 40 36 205 207 158 162 30 207 158 162 209 218 219 219 219 219 219 219 219 219 219 219	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Forests Account State Forests Account State Forests Account Summary Supreme Courts Technical Instruction Tourist and Health Resorts Training of Teachers Treasury Department Treasury: Miscellaneous	ds,	113 777 81 153 57 111 230 221 44 35 35 23 39 217 139 165 191 192 193 283 201 231 475 189 181 190 33 35
Geological Survey Branch of the Mines Dep ment Movernment Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Inland Revenue. Inspection of Machinery Insurance, Government Accident Account Insurance, Government Life Account Insurance, Government Life Account Interest Internal Affairs Department Internal Affairs: Miscellaneous Services Justice Department Lustice: Miscellaneous Services Labour Department Land and Deeds Registry Land and Income Tax Department Land for Settlements Account Land for Settlements Account Land for Settlements Account Lands and Survey Department Lands and Survey Department Lands and Survey Department Lands and Survey: Miscellaneous Services Law Drafting Office Legislative Council Legislative: General Expenses Live-stock Division, Department of Agriculture	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 94 105 71 74 155 40 36 205 207 158 162 207 158 162 209 207 158 162 209 209 209 209 209 209 209 209 209 20	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Fire Insurance Account State Forests Account Turist and Health Resorts Training of Teachers Treasury Department Treasury: Miscellaneous	ds,	149 113 77 81 153 57 111 220 221 44 35 35 35 23 29 217 139 165 191 192 193 188 23 23 24 23 24 25 36 28 29 20 10 40 40 40 40 40 40 40 40 40 40 40 40 40
Geological Survey Branch of the Mines Dep ment ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Inland Revenue. Inspection of Machinery Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Land and Deeds Registry Land and Income Tax Department Land and Income Tax Department Land for Settlements Account Land for Settlements Account Lands Settlement Account Lands Settlement Account Lands and Survey Department Lands and Survey: Miscellaneous Services Law Drafting Office Legislative Council Legislative General Expenses Live-stock Division, Department of Agriculture Magistrates' and Wardens' Courts	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 7 105 71 74 155 40 36 205 207 158 162 30 29 158 158 205 158 205 205 205 205 205 205 205 205 205 205	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Fire Insurance Account State Forests Account Turist and Health Resorts Training of Teachers Treasury Department Treasury: Miscellaneous		149 113 77 81 153 57 111 230 221 44 35 35 23 29 217 139 165 191 192 193 283 201 231 230 4 75 189 181 190 33 35 35 35 35 36 37 37 47 47 47 47 47 47 47 47 47 47 47 47 47
Geological Survey Branch of the Mines Dep ment ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Inland Revenue. Inspection of Machinery Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Land and Deeds Registry Land and Income Tax Department Land and Income Tax Department Land for Settlements Account Land for Settlements Account Lands Settlement Account Lands Settlement Account Lands and Survey Department Lands and Survey: Miscellaneous Services Law Drafting Office Legislative Council Legislative General Expenses Live-stock Division, Department of Agriculture Magistrates' and Wardens' Courts	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 94 105 71 74 155 40 36 205 207 158 162 207 158 162 209 207 158 162 209 209 209 209 209 209 209 209 209 20	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Fire Insurance Account State Forests Account Technical Instruction Tourist and Health Resorts Training of Teuchers Treasury Department Treasury: Miscellaneous Valuation		149 113 77 81 153 57 111 230 221 44 35 35 23 99 217 139 165 191 192 193 188 23 201 210 47 57 189 181 190 181 190 181 190 181 181 181 181 181 181 181 181 181 18
Geological Survey Branch of the Mines Dep ment ment Government Accident Insurance Account Government Insurance Account Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Inland Revenue. Inspection of Machinery Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs Miscellaneous Services Justice Department Land and Income Tax Department Land and Income Tax Department Land and Income Tax Department Land for Settlements Account Land for Settlements Account Lands and Survey Department Lands and Survey: Miscellaneous Services Law Drafting Office Legislative Council Legislative General Expenses Live-stock Division, Department of Agriculture Magistrates' and Wardens' Courts Main Highways Account (Main Highways Reven	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 94 105 71 74 155 40 36 205 207 158 162 30 29 178 205 205 205 205 205 205 205 205 205 205	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature State Advances Account State Forests Account State Forests Account State Forests Account State Forests Account Tourist and Health Resorts Training of Teachers Treasury Department Treasury: Miscellaneous Valuation Wardens' Courts		149 113 77 81 153 57 111 230 221 44 35 35 23 39 217 139 165 191 192 193 23 23 23 23 23 23 23 23 23 24 25 26 27 27 28 29 20 20 21 21 21 21 21 21 21 21 21 21 21 21 21
Geological Survey Branch of the Mines Dep ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs: Miscellaneous Services Justice Department Land and Deeds Registry Land and Income Tax Department Land for Settlements Account Land for Settlements Account Lands and Survey Miscellaneous Services Lands and Survey Miscellaneous Services Legislative: General Expenses Lighthouses Live-stock Division, Department of Agriculture Magistrates' and Wardens' Courts Main Highways Account (Main Highways Reven	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 94 105 71 74 155 40 36 205 207 158 162 30 29 31 147 29 205 205 205 205 205 205 205 205 205 205	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deat Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature State Advances Account State Fire Insurance Account State Fire Insurance Account State Firests Account State Forests Account Turist and Health Resorts Training of Teachers Treasury Department Treasury: Miscellaneous Valuation Wardens' Courts War Expenses Account		149 113 77 81 153 57 111 230 221 4 35 35 23 39 217 139 165 191 192 193 283 201 231 475 189 181 190 33 35 166 75 75 75 75 75 75 75 75 75 75 75 75 75
Geological Survey Branch of the Mines Dep ment Movernment Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Inland Revenue. Inspection of Machinery Insurance, Government Accident Account Insurance, Government Life Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs: Miscellaneous Services Justice Department Land and Deeds Registry Land and Deeds Registry Land and Income Tax Department Land for Settlements Account Land for Settlements Account Land for Settlements Account Lands and Survey Department Lands and Survey Department Lands and Survey Department Lands and Survey Department Legislative Council Legislative Council Legislative Council Legislative General Expenses Live-stock Division, Department of Agriculture Magistrates' and Wardens' Courts Main Highways Account (Main Highways Reven Fund) Hentelmance and Improvement of Roads	art	91 229 59 226 153 31 147 121 101 189 176 29 236 152 229 226 231 7 94 105 71 74 155 40 36 205 207 158 169 205 207 158 169 207 178 208 169 208 208 209 209 209 209 209 209 209 209 209 209	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Forests Account State Forests Account State Fire Insurance Account State Forests Account Tourist and Health Resorts Training of Teachers Treasury Department Treasury: Miscellaneous Valuation Wardens' Courts War Expenses Account Wardens' Courts War Expenses Account Warter Expenses Account Weather Reporting Office	das,	149 113 77 81 153 57 111 230 221 44 35 35 23 39 217 139 165 191 192 193 188 23 25 38 223 210 47 57 189 199 199 199 199 199 199 199 199 199
Geological Survey Branch of the Mines Dep ment Government Accident Insurance Account Government Domains Government Insurance Account Government Insurance Account Government Steamers Hansard Harbours Health, Department of High Commissioner's Office Higher Education Horticulture Division, Department of Agricult House of Representatives Housing Industries and Commerce Insurance, Government Accident Account Insurance, Government Life Account Insurance, State Fire Account Interest Internal Affairs Department Internal Affairs: Miscellaneous Services Justice Department Land and Deeds Registry Land and Income Tax Department Land for Settlements Account Land for Settlements Account Lands and Survey Miscellaneous Services Lands and Survey Miscellaneous Services Legislative: General Expenses Lighthouses Live-stock Division, Department of Agriculture Magistrates' and Wardens' Courts Main Highways Account (Main Highways Reven	art	91 229 59 226 153 31 147 121 101 189 176 29 236 69 36 152 229 226 231 7 94 105 71 74 155 40 36 205 207 158 162 30 29 31 147 29 205 205 205 205 205 205 205 205 205 205	Post and Telegraph working-expenses. Printing and Stationery Prisons Probation Branch (Prisons) Protection of Fish and Oysters Public Buildings, Domains, Maintenance of Road and Irrigation Works Public Service Commissioner's Office Public Service Superannuation Fund Account Public Trustee's Account Railways Department Rates on Crown Lands Rates on Native Lands Reduction Funded Debt Registrar-General's Office Repatriation Rifle Clubs Scenery-preservation School Buildings, Furniture, and Sites School for the Deaf Schools for the Feeble-minded Secondary Education Sinking Fund Special Acts of the Legislature Stamp Duties Department State Advances Account State Fire Insurance Account State Fire Insurance Account State Forests Account Technical Instruction Tourist and Health Resorts Training of Teuchers Treasury Department Treasury: Miscellaneous Valuation Wardens' Courts Wardens' Courts Wardens' Courts Wardens' Courts Wardens' Reporting Office Westport Harbour Account	das,	149 113 77 81 153 57 111 230 221 4 4 35 35 23 39 217 139 165 191 192 193 283 201 231 4 75 189 181 190 33 35 190 190 190 190 190 190 190 190 190 190

1924-1925.

SUMMARY.

Page.	Summary of Services chargeable on the Con-	1924	-25.
	solidated Fund and other Accounts	Credits-in-aid.	Net Totals.
ļ	CONSOLIDATED FUND.		The control of the second seco
	ORDINARY REVENUE ACCOUNT.	£	£
	PERMANENT APPROPRIATIONS—		
6	Civil List		29,600
7	Interest		7,745,097
23	Sinking Fund		688,442
$\frac{23}{25}$	Reduction of Funded Debt	•••	307,296
20	Under Special Acts of the Legislature		3,644,211
	ANNUAL ANDRODDIATIONS	•••	12,414,646
$^{-29}$	Annual Appropriations— Vote, Legislative Departments	5,925	69,989
33	,, Treasury Department	27,091	40,057
36	,, Land and Income Tax Department	1,150	56,535
38	" Stamp Duties Department	6,900	84,378
42	,, National Provident and Friendly Societies	,	
	Department	10	23,222
44	,, Working Railways	783,256	6,145,044
49	" Post and Telegraph Working Expenses	297,625	2,430,993
57	" Public Buildings	75,500	121,319
59 61	,, Government and Other Domains	1.000	7,694
61	,, Maintenance and Improvement of Roads ,, Maintenance of Irrigation, &c., Works	$\begin{array}{c c} & 1,000 \\ \hline & 25 \end{array}$	75,318 $5,800$
62	Native Department	9,415	30,720
65	Donartment of External Affairs	1,030	40,383
67	,, Cook Islands	20	$\frac{10,800}{22,329}$
69	,, Department of Industries and Commerce	1,126,100	143,951
71	,, Department of Justice	1,200	48,769
75	" Supreme and Magistrates' Courts …	9,585	92,991
77	,, Prisons Department	45,800	91,315
82	,, Crown Law Office		5,966
84	,, Police Department	3,710	419,000
87 90	,, Pensions Department	$102,750 \\ 800$	102,625
94	,, Mines Department ,, Department of Internal Affairs	49,664	47,311 $316,133$
109	Audit Donautment	16,000	29,675
111	Public Sorvice Commissioner's Office	1,050	8,367
113	,, Printing and Stationery Department		205,665
116	,, Mental Hospitals Department	104,000	304,881
121	" Department of Health	74,530	301,108
128	,, Naval Defence	25,677	333,835
131	,, Defence Department	18,150	420,172
140	,, Customs Department	1,200	163,546
146	,, Marine Department	3,085	127,606
$\begin{array}{c} 155 \\ 158 \end{array}$,, Department of Labour	1,921 $106,950$	46,701 186,079
$156 \\ 165$,, Department of Lands and Survey , Scenery-preservation	50	186,073 $11,470$
166	,, Scenery-preservation ,, Valuation Department	4,191	57,726
168	,, Electoral Department	18	5,260
170	,, Department of Agriculture	88,357	303,115
181	" Department of Tourist and Health		
	Resorts	153	68,536
185	" Department of Education	232,785	2,856,247
		3,227,388	15,851,825
	TOTAL—ORDINARY REVENUE ACCOUNT	3,227,388	28,266,471
	A STAR SHEMANT REVENUE ACCOUNT	0,221,000	20,200,471

Appropriations for Services of Separate Accounts and Accounts outside the Public Account.

${\bf SUMMARY-} continued.$

Page.	Commence of Campions Observable on the	Con	1924-	-25.
i	Summary of Services Chargeable on the solidated Fund and other Accounts—cont	ι.7	Credits-in-aid.	Net Total.
	OTHER ACCOUNTS.		£	£
201 203	STATE COAL-MINES ACCOUNT NAURU AND OCEAN ISLANDS ACCO	UNT	5,300	282,346 1,120
;				
	Summary of Services chargeable on Sepa Accounts and Accounts outside the P Account.	arate ublic		
				
	SEPARATE ACCOUNTS.			
204	Discharged Soldiers Settlement Account		11,000	57,500
205	Land for Settlements Account		810	8,185
207	Land for Settlements Account (Discharged Se	oldiers	100	0.050
208	Settlement Account)	• • •	100	8,652
200	Main Highways Account— Main Highways Revenue Fund		10,000	185,000
209	Native Land Settlement Account			4,605
210	State Forests Account	}	1,019	163,325
216	War Expenses Account		132,150	192,812
219	Westport Harbour Account	•••	60	18,684
	ACCOUNTS OUTSIDE THE PUBL. ACCOUNT.	IC		
221	Public Trustee's Account			204,313
224	Native Trustee's Account			11,684
$\frac{226}{229}$	Government Insurance Account	**:	6,750	106,502
$\frac{229}{230}$	Government Accident Insurance Account Public Service Superannuation Fund Accou	nt		11,970
$\frac{230}{231}$	State Fire Insurance Account	nt	•••	7,073 $72,869$
	State Advances Account—			12,005
233	Advances to Settlers Branch		28,800	555,740
235	Advances to Workers Branch		5,200	207,674
$\frac{236}{236}$	Advances to Local Authorities Branch Miscellaneous Business Branch		•••	104,745
200	miscenaneous Dusiness Dianen		•••	75,372

1924-1925

CIVIL LIST

		1924–25.	
	Salaries.	Other Charges.	Total.
	£	£	£
Civil List Act, 1920 (Part I)—			
His Excellency the Governor-General	5,000	2,500	7,500
Civil List Act, 1920 (Part II)—			
Establishment of the General Government	13,500	1,600	15,100
Civil List Act, 1920 (Part V)—			
For Native Purposes		7,000	7,000
TOTAL—CIVIL LIST	18,500	11,100	29,600

PERMANENT CHARGES.

DEBT SERVICES—INTEREST.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1924-25.
New Zealand Loans Act, 1908— Aid to Public Works and Land Settlement Act, 1896	£ 175,000 25,000	4½ 6	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	£ 7,875 1,500	£	£
	200,000			9,375		9,375
Aid to Public Works and Land Settlement Act, 1900	1,000 90,300 600	4 4½ 5½	l May and l Nov. l May and l Nov. l Jan. and l July	40 4,064 33		
	91,900			4,137	•••	4,137
Aid to Public Works and Land Settlement Act, 1900, and Finance Act, 1915 (Section 106)	54,800	41/2	1 May and 1 Nov.	2,466		2,460
Aid to Public Works and Land Settlement Act, 1901	71,600 32,900	4½ 4½	1 June and 1 Dec. 1 Jan. and 1 July	3,222 1,481		
·	104,500			4,703		4,703
Aid to Public Works and Land Settlement Act, 1901, and Finance Act, 1915 (Section 106)	1,800	41/2	1 June and 1 Dec.	81		81
Aid to Public Works and Land Settlement Act, 1902	15,500 140,500 1,700	4 4½ 5½	1 June and 1 Dec. 1 June and 1 Dec. 1 June and 1 Dec.	620 6,323 89		
	157,700			7,032	••	7,032
Aid to Public Works and Land Settlement Act, 1902, and Finance Act, 1915 (Section 106)	211,100	41/2	1 June and 1 Dec.	9,500] 	9,500
Aid to Public Works and Land Settlement Act, 1903	170,100 300 221,365 16,500 25,700	4 6 4 5 2 4	l Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 1 Feb. and 1 Aug.	6,804 18 9,961 908 1,157		
	433,965			18,848	••	18,848
Aid to Public Works and Land Settlement Act, 1903, and Finance Act, 1915 (Section 106)	14,950 15,700	4½ 4½	1 Jan. and 1 July 1 Feb. and 1 Aug.	673 707		
	30,650			1,380		1,380
Aid to Public Works and Land Settlement Act, 1905	16,000 137,700 53,500	$ \begin{array}{c c} 4 \\ 4\frac{1}{2} \\ 5\frac{1}{2} \end{array} $	1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July	640 6,197 2,943		
•	207,200			9,780		9,780
Aid to Public Works and Land Settlement Act, 1905, and Finance Act, 1915 (Section 106)	500,500	41/2	1 Jan. and 1 July	22,523		22,523
Aid to Public Works and Land Settlement Act, 1906	76,500 605,600 100,000 26,800	4 4½ 5¼ 6	1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July	3,060 27,252 5,250 1,608		
	808,900		!	37,170		37, 170
Aid to Public Works and Land Settlement Act, 1906, and Finance Act, 1915 (Section 106)	28,100	41/2	1 Jan. to 1 July	1,265		1,265
Aid to Public Works and Land Settlement Act, 1907	500 200,200 145,500 164,850	4 4½ 6 5½	l Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 1 Feb. and 1 Aug.	20 9,009 8,730 9,067		
	511,050			26,826		26,826

${\tt PERMANENT~CHARGES.-DEBT~SERVICES-INTEREST-} continued.$

Authorizing Act.	Principal,	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1924-25.
New Zealand Loans Act, 1908—ctd. Aid to Public Works and Land Settlement Act, 1907, and Finance	£ 120,800	41/2	I Jan. and 1 July	£ 5,436	£	$^{ ext{£}}_{5,436}$
Act, 1915 (Section 106) Aid to Public Works and Land Settlement Act, 1908	50,000	$4\frac{1}{2}$	1 April and 1 Oct.	2,250		2,250
Aid to Public Works and Land Settlement Act, 1911	50,000 50,000 49,000	$\frac{4\frac{1}{2}}{3\frac{1}{2}}$	1 June and 1 Dec. 1 June and 1 Dec. 1 Jan. and 1 July	2,250 1,750 1,960		
	149,000	1		5,960		5,960
Aid to Public Works and Land	186,500	41/2	15 April and 15 Oct.	8,393		8,393
Settlement Act, 1912 Aid to Public Works and Land Settlement Act, 1912, and Finance	19,500	41/2	15 April and 15 Oct.	877	••	877
Act, 1915 (Section 106) Aid to Public Works and Land Settlement Act, 1914	525,000 1,865,100 59,900	$\frac{4}{4\frac{1}{2}}$	1 May and 1 Nov. 1 May and 1 Nov. 30 June and 31 Dec.	21,000 83,930 2,696		
	2,450,000			107,626		107,626
Aid to Public Works and Land Settle- ment Act, 1921	150,000 825,830 100,000 200,000 15,350 207,300	4 4½ 5 5¼ 5½ 6	1 June and 1 Dec. 1 June and 1 Dec. 1 June and 1 Dec. 6 Feb. and 6 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	6,000 37,162 5,000 10,500 844 12,438		
	1,498,480			71,944	••	71,944
Aid to Water-power Works Act, 1910	125,000 344,000	4 4½	1 May and 1 Nov. 1 May a nd 1 Nov.	5,000 15,480		
	469,000			20,480		
Recoverable from Electric Supply Account	••	••		• •	20,480	
Appropriation Act, 1912 (Irrigation and Water-supply Account)	15,000	4	1 May and 1 Nov.	600		600
Appropriation Act, 1918 (Section 33), (Waimarino Bush Fire Relief Account)	75,000	4	1 Mar. and 1 Sept.	3,000		
Recoverable from General Pur- poses Relief Account	••	••	••		3,000	
Coal-mines Act, 1908	120,000 30,000	$\frac{4}{4\frac{1}{2}}$	1 April and 1 Oct. 1 April and 1 Oct.	4,800 1,350		
1.	150,000			6,150		
Recoverable from State Coal- mines Account	•	••	••		6,150	
Coal-mines Act, 1908, and Appropriation Act, 1912	25,000	4	1 April and 1 Oct.	1,000		
Recoverable from State Coal- mines Account	••	•••	••	••	1,000	
Discharged Soldiers Settlement Act, 1915, and Amendment Act, 1916	100,000	41/2	1 Mar. and 1 Sept.	4,500		. · · · · *
Recoverable from the Discharged Soldiers Settlement Account	••	••		•••	4,500	
Discharged Soldiers Settlement Act, 1915, and Finance Act, 1917	190,000 210,000	4 <u>1</u> 4	1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	8,550 8,400		1
(Section 82)	400,000			16,950	Barata and	11.5
Recoverable from the Discharged Soldiers Settlement Account	••	••	••	, a 1357a	16,950	and the second
Discharged Soldiers Settlement Loans Act, 1919 (Section 4), (Lund for Settlements)	427,000 2,430,000 5,000	4 4½ 5	1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 2 Mar. and 2 Sept.	17,080 $109,350$ 250 $8,102$	-	
On further issues, say	180,050	$4\frac{1}{2}$	3 Mar. and 3 Sept.	500		
	3,042,050			135,282	.	
Recoverable from Land for Settle- ments Account (Discharged Soldiers Settlement Account)			••		135,282	•

${\bf PERMANENT~CHARGES.-DEBT~SERVICES-INTEREST-} continued.$

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	(fross Amount.	Recoverable.	1924-25.
Discharged Soldiers Settlement Loans Act, 1920 On further issues, say	250,000 1,536,100 43,050 38,000	$ \begin{array}{c c} 4\frac{1}{2} \\ 5\frac{1}{2} \\ 5 \\ 6 \\ & \ddots \end{array} $	1 Mar. and 1 Sept. 15 Jan. and 15 July 15 Jan. and 15 July 1 Feb. and I Aug.	£ 11,250 84,486 2,153 2,280 500	£	£
· •	1,867,150	1		100,669		
Recoverable from Discharged Soldiers Settlement Account		-	••		100,669	
District Railways Purchasing Acts,	40,000	4	1 Jan. and 1 July	1,600		1,600
1885-86 Education Purposes Loans Act, 1919	30,000 535,000 60,000 5,000 600 800 10,250 7,800 45,950	$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	1,200 24,075 3,000 300 33 40 538 429 2,757		
On further issues, say	•••	٠٠.	••	2,000		
t	695,400			34,372		34,372
Electric Power Works Loans Act, 1919	55,750 4,000 212,500	5 5 1 5	15 Jan. and 15 July 1 June and 1 Dec. 1 May and 1 Nov.	2,788 220 10,625		
	272,250			13,633		
Recoverable from the Electric Supply Account	••				13,633	
Finance Act, 1909 (Public Works)	46,901	41/2	1 Feb. and 1 Aug.	2,111		2,111
Finance Act 1915. (Section 105), (Public Works)	1,644,145 66,830	$\frac{4\frac{1}{2}}{5\frac{1}{2}}$	15 June and 15 Dec. 15 June and 15 Dec.	73,987 3,676		
	1,710,975	•		77,663	••	77,663
Finance Act, 1916 (Section 35), (War Expenses)	189,900 5 ,577,080	$\begin{array}{c} 6 \\ 4\frac{1}{2} \end{array}$	1 Feb. and 1 Aug. 1 Mar. and 1 Sept.	11,394 250,969		
	5,766,980			262,363		262,363
Finance Act, 1916 (Section 49), (Public Works)	950,000	$4\frac{1}{2}$	1 Feb. and 1 Aug.	42,750		42,750
Finance Act, 1916 (Section 50), (State Forests)	50,000	41/2	1 Feb. and 1 Aug.	2,250	9.950	
Recoverable from State Forests Account		••	••	.,	2,250	
Finance Act, 1916 (Section 50), and Finance Act, 1920 (Section 16), (State Forests) Recoverable from State Forests	35,000	41/2	1 Feb. and 1 Aug.	1,575	1.575	
Account Finance Act, 1917 (Section 77), (Aid	375,000	4	·· 1 Feb. and 1 Aug.	15,000		
to Public Works)	350,000	$4\frac{1}{2}$	l Feb. and I Aug.	15,750		•
	725,000	ĺ		30,750	••	30,750
inance Act, 1918 (Section 10), (War Expenses)	1,940,350 22,850 26,000 184,450 587,400 26,900	$4\frac{1}{2}$ 5 4 $4\frac{1}{2}$ $4\frac{1}{2}$ $5\frac{1}{4}$	I June and 1 Dec. 1 Jan and 1 July 20 April and 20 Oct. 15 May and 15 Nov. 20 April and 20 Oct. 1 Feb. and 1 Aug.	87,316 1,143 1,040 8,300 26,433 1,412		
	2,787,950			125,644		125,644
inance Act, 1918 (No. 2), (Part IV), (War Expenses)	2,909,810	$4\frac{1}{2}$	20 April and 20 Oct.	130,941		130,941
Vinance Act, 1918 (No. 2), (Section 29), (Public Works)	1,950,000 550,000	4 4 1	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	78,000 24,750		
i	2,500,000			102,750	i	102,750

PERMANENT CHARGES.--DEBT SERVICES-INTEREST-continued.

Authorizing Act.	Principal,	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1924-25.
Finance Act, 1918 (No. 2), (Section 30), Cold-storage Advances Ac-	£ 53,250 29,500	41/2	1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	£ 2,396 1,180	£	£
count	82,750	-		3,576	-	
Recoverable from State Advances Account	••		••		3,576	
Finance Act, 1918 (No. 2), (Section 32), (State Forests)	90,000 110,000	$\begin{array}{c} 4\\ 4\frac{1}{2} \end{array}$	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	3,600 4,950		
	20 0,000			8,550		
Recoverable from State Forests Account	• •				8,550	
Finance Act, 1919 (Section 5), (Public Works)	150,000	$4\frac{1}{2}$	1 Feb. and 1 Aug.	6,750	••	6,750
Finance Act, 1920 (Section 15), (Public Works)	37,000 1,113,000 850,000	4 4½ 5	1 June and 1 Dec. 1 June and 1 Dec. 1 June and 1 Dec.	1,480 50,085 42,500		. *
	2,000,000			94,065		94,065
Finance Act, 1920 (Section 15), (Nauru and Ocean Islands)	600,000	5	1 June and 1 Dec.	30,000		
Recoverable from the Nauru and Ocean Islands Account			••		30,000	
'inance Act, 1921 (Section 10), (Public Works)	63,000 87,000	$\begin{array}{c} 4\\ 4\frac{1}{2} \end{array}$	1 Mar. and 1 Sept. 1 June and 1 Dec.	2,520 3,915		
•	150,000			6,435		6,435
'inance Act, 1921-22 (Section 26), (Samoan Loan Account)	95,000	5	1 April and 1 Oct.	4,750		
Recoverable from Samoan Administration	••	••	••		4,750	
Vishing Industry Promotion Act, 1919	5,305 270	$\begin{array}{c c}4\frac{1}{2}\\5\end{array}$	1 June and 1 Dec. 1 June and 1 Dec.	239		
	5,575			253		
Recoverable from State Advances Office	••	••	••	••	253	
orests Act, 1921–22	10,000	41/2	1 Feb. and 1 Aug.	450		
Recoverable from State Forests Account	••		••	••	450	
ruit-preserving Industry Act, 1913, and Finance Act, 1917 (Section 80)	6,000 16,910 46,700	$4\frac{1}{2}$ 4 $4\frac{1}{2}$	1 Mar. aud 1 Sept. 1 April and 1 Oct. 1 April and 1 Oct.	270 676 2,102		en e
	69,610			3,048		
Recoverable from State Advances Office	••		••	• •	3,048	
unded Debt.—Finance Act, 1922						
(Section 8)— Aid to Public Works and Land	187,998	*	1 June and 1 Dec.	9,326		
Settlement Act, 1910 Finance Act, 1916 (Section 35),	4,662,150	*	1 June and 1 Dec.	231,268		
(War Expenses) Finance Act, 1918 (Section 10),	6,495,930	*	1 June and 1 Dec.	322,234		
(War Expenses) Land for Settlements Act, 1908	37,182	*	1 June and 1 Dec.	1,844		
Naval Defence Act, 1909 Public Revenues Amendment Act,	947,944 2,034,812	*	1 June and 1 Dec. 1 June and 1 Dec.	100,938		
1914 (Section 8), (War Expenses) Public Revenues Amendment Act, 1915 (Section 5), (War Expenses)	7,978,174	*	1 June and 1 Dec.	395,761		
(Section 2), and War Purposes -	4,753,839	*	1 June and 1 Dec.	235,817	••	
·	27,098,029			1,344,211		
Recoverable from Land for Set-		•	••	• •	1,844	,342,367

^{* £4 19}s. 5.88d, per cent, on reducing balance of outstanding debt.

${\tt PERMANENT~CHARGES.--DEBT~SERVICES--INTEREST--} continued.$

Authorizing Act.	Principal,	Rate	Half-yearly due Dates.	Gross Amount.	Recoverable.	1924-25.
	£	Cent.		£	£	£
Government Railways Act, 1908	500	6	1 Jan. and 1 July	30		30
Government Railways Act, 1908— Railways Improvement Authoriza- tion Acts, 1904—7	31,300 21,300 141,000	4½ 4½ 4½	1 Jan. and 1 July 1 Feb. and 1 Aug. 30 June and 31 Dec.	1,409 959 6,345	į	
	35,200	6	1 Jan. and 1 July	2,112		10.00=
C Parilament 1000 Paril	228,800	41/2	1 Jan. and 1 July	10,825		10,825
Government Railways Act, 1908, Railways Improvement Authorization Acts, 1904–7, and Finance Act, 1915 (Section 106)	1,600 500	41 41 42	1 Mar. and 1 Sept. 30 June and 31 Dec.	72 22		
,	2,700			121	••	121
Government Railways Act, 1908, and Finance Act, 1909	50,000 6,500	41/2	30 June and 31 Dec. 1 Feb. and 1 Aug.	2,250 293		
	56,500			2,543		2,543
Government Railways Act, 1908, Fi- nance Act, 1909, and Finance Act, 1915 (Section 106)	15,100 1,200	41/2	1 Feb. and 1 Aug. 1 Mar. and 1 Sept.	679 54		700
	16,300			733	••	733
Government Railways Amendment Act, 1910	61,380 37,510 6,390 53,350 8,200	4 4 4 4 4 4 4	I Jan. and I July I Jan. and I July I Feb. and I Aug. I Feb. and I Aug. I Mar. and I Sept.	2,455 1,688 256 2,401 369		
	166,830	- 12	i mar. with a sope.	7,169		7,169
Government Railways Amendment Act, 1910, and Finance Act, 1915	1,500	4 ½	1 Jan. and 1 July	68	•••	68
(Section 106) *Greymouth Harbour Board Act, 1884	100,000	4	1 Mar. and 1 Sept.	4,000		
Recoverable from the Greymouth Harbour Board	• •			••	4,000	
Harbours Act, 1908, and Greymouth Harbour Loans Consolidation Act,	260,000	4	1 Jan. and 1 July	10,400		
1910. and Amendment Act, 1910 Recoverable from the Greymouth Harbour Board			••	••	10,400	
Hauraki Plains Amendment Acts, 1913 and 1914	25,000 19,000	4 4½	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	1,000 855		
	44,000] .]		1,855		
Recoverable from the Hauraki Plains Settlement Account			••	••	1,855	
Hauraki Plains Amendment Act, 1913, and Appropriation Act, 1918	40,000 40,000	4 4 1 2	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	1,600 1,800		
(Section 43)	80,000			3,400		
Recoverable from the Hauraki Plains Settlement Account	••		••	••	3,400	
Hauraki Plains Amendment Act, 1913, and Appropriation Act, 1919	50,000	41/2	1 Feb. and 1 Aug.	2,250		
(Section 18) Recoverable from Hauraki Plains Settlement Account	••		••	••	2,250	
Hauraki Plains Amendment Act, 1913, and Finance Act, 1920 (Section 16)	100,000	41/2	1 Feb. and 1 Aug.	4,500		
Recoverable from Hauraki Plains Settlement Account	••			••	4,500	
Hauraki Plains Amendment Act, 1913, and Finance Act, 1921–22 (Section 23)	7,000 23,000 20,000	4 4½ 5	1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	280 1,035 1,000		
	50,000			2,315		
Recoverable from Hauraki Plains Settlement Account			••	••	2,315	

^{*} Greymouth Harbour Loans guaranteed by Government not included in Public Debt.

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1924-20.
Hauraki Plains Amendment Acts 1913, and Finance Act, 1922	£ 10,000 90,000	4 4½	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	£ 400 4,050	£	£
(Section 17)	100,000	•		4,450		
Recoverable from Hauraki Plains Settlement Account					4,450	
Hauraki Plains Amendment Act, 1913, and Finance Act, 1923 (Section 5)	10,000	41/2	1 Feb. and 1 Aug.	450		
On further issues, say				1,000		
				1,450	••	,
Recoverable from Hauraki Plains Settlement Account	••		••	• •	1,450	
Housing Act, 1919 (Section 30), (Housing Account)	25,000 387,400	4 4⅓	1 Jan. and 1 July 1 Jan. and 1 July	1,000 17,433		
	412,400			18,433		
Recoverable from State Advances Account	* *		••	••	18,433	
Housing Act, 1919 (Section 46), (Loans to Employers for Workers' Dwellings Account)	3,975	41	1 Jan. and 1 July	179		
Recoverable from Loans to Employers for Workers' Dwellings				••	179	
Hutt Railway and Road Improvement Acts, 1903, 1905, 1907, and 1910	2,000 227,000 15,700 60,380 300	4 4 ½ 4 ½ 4 ½ 4 ½ 6	1 May and 1 Nov. 1 May and 1 Nov. 1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Jan. and 1 July	80 10,215 707 2,717 18		
	305,380			13,737	••	13,737
Irrigation and Water-supply Act, 1913	40,100 54,900 5,000	$egin{array}{c} 4 \ 4_{rac{1}{2}} \ 4_{rac{1}{2}} \end{array}$	1 April and 1 Oct. 1 April and 1 Oct. 1 Mar. and 1 Sept.	1,604 2,470 225		
	100,000			4,299	• •	4,299
Kauri-gum Industry Amendment Act, 1914	17,000 33,000	$rac{4}{4rac{1}{2}}$	1 May and 1 Nov. 1 May and 1 Nov.	680 1,485		
	50,000			2,165	İ	
Recoverable from Kauri-gum Industry Account		••	••	. • •	2,165	
Kauri-gum Industry Amendment Act, 1914, Appropriation Act, 1918 (Section 45)	3,000 22,000	$rac{4}{4rac{1}{2}}$	1 May and 1 Nov. 1 May and 1 Nov.	120 990		
(**************************************	25,000			1,110		
Recoverable from Kauri-gum In- dustry Account		••	••	. ••	1,110	
Lands Improvement and Native Lands Acquisition Act, 1894	400,000	41	30 Mar. and 30 Sept.	18,000	••	18,000
Land for Settlements Act, 1908	67,000 623,785 300,200 18,600 11,200 177,565 272,370 5,300 29,600 9,700 20,900 77,000 73,300	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1 Jan. and I July 1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and I July 1 Jan. and I July 1 Jan. and I July 1 Feb. and I Aug. 1 Feb. and 1 Sept. 15 Mar. and 15 Sept. 31 Mar. and 30 Sept. 1 April and 1 Oct.	2,680 28,070 15,761 1,023 672 7,103 12,257 265 1,628 582 941 3,080 36 3,299		

$\label{eq:permanent} \textbf{PERMANENT} \ \ \textbf{CHARGES.--DEBT} \ \ \textbf{SERVICES--INTEREST}.--continued.$

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	192 4-2 5.
Land for Settlements Act, 1908—otd.	£ 500 45,100	5½ 4½	l April and 1 Oct. 1 May and 1 Nov.	£ 28 2,029	£	£
	1,732,920			79,454		
Recoverable from the Land for Settlements Account	• •	••	••	• •	79,454	
Land for Settlements Act, 1908, and Finance Act, 1915 (Section 106)	130,300 105,500 127,500 71,700 110,500	4½ 4½ 4½ 4½ 4½ 4½	1 Jan. and 1 July 1 Feb. and 1 Aug. 31 Mar. and 30 Sept. 1 April and 1 Oct. 1 May and 1 Nov.	5,864 4,748 5,737 3,226 4,973		
	545,500			24,548		
Recoverable from the Land for Settlements Account			••		24,548	
Land Laws Amendment Ac!, 1913	14,200 6,400 16,200 8,000 119,050 62,200 1,000 255,000 196,000 20,000 518,000 251,100 100,000	4 12 4 12 4 12 4 12 4 12 4 12 4 12 4 12	1 Jan. and 1 July 1 Jan. and 1 July 1 Jan and 1 July 22 Jan. and 22 July 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Heb. and 1 Sept. 1 Mar. and 1 Sept. 26 Mar. and 26 Sept. 29 Mar. and 29 Sept. 31 Mar. and 30 Sept. 1 April and 1 Oct. 1 April and 1 Oct. 1 June and 1 Dec.	568 288 851 360 4,762 2,799 52 11,475 9,800 1,000 675 900 20,720 11,300 4,500		
	1,602,150			70,050		
Recoverable from the Land for Settlements Account		••	••	••	70,050	
Land Laws Amendment Act, 1913, and Appropriation Act, 1918 (Section 42)	560,000 10,000 7,000	4 4½ 4½	1 April and 1 Oct. 1 April and 1 Oct. 1 Jan. and 1 July	22,400 450 315		
	577,000			23,165		
Recoverable from the Land for Settlements Account		••	••	••	23,165	
Land Laws Amendment Act, 1913, and Finance Act, 1915 (Section 106)	, 200 9,300	$\frac{4\frac{1}{2}}{4\frac{1}{2}}$	l Jan. and l July l Feb. and l Aug.	9 419		
	9,500			428		
Recoverable from the Land for Settlements Account	••	••	• •	••	428	
Local Bodies' Loans Act, 1908— Government Loans to Local Bodies' Act, 1886	250,300	4	1 Mar. and 1 Sept	10,012		10,012
Local Bodies' Loans Act, 1908	790,000 1,111,000	4½ 4½	l Jan. and 1 July 1 Mar. and 1 Sept.	35,550 49,995		
	1,901,000			85,545		85,545
Maori Land S ettlement Act, 1905	179,175 500 800 1,200	4½ 5¼ 4 4½	1 Jan. and 1 July 1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Mar. and 1 Sept.	8,063 26 32 54		
	181,675			8,175	••	8,175
Maori Land Settlement Act, 1905, and Finance Act, 1915 (Section 106)	14,475	41/2	1 Jan. and 1 July	651	•••	651
Maori Land Settlement Act Amendment Act, 1907	50,000	41/2	1 Jan. and 1 July	2,250		2,250

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1924-25,
Mining Amendment Act, 1913	£ 7,000 4,500	$\begin{array}{ c c c }\hline & 4 \\ & 4\frac{1}{2} \\ \end{array}$	l May and l Nov. l May and l Nov.	£ 280 202	£	£
	11,500			482		
Recoverable from the Mining Advances Account				• •	482	
Mining Amendment Act, 1913, and Amendment Act, 1919	2,000 27,200	$\begin{array}{ c c c }\hline 4\\ 4\frac{1}{2}\\ \end{array}$	l May and l Nov. l May and l Nov.	80 1,224		
	29,200			1,304		
Recoverable from the Mining Advances Account .		••			1,304	
Native Land Amendment Act, 1913	2,400 480,900 1,486,500 25,000 1,300 3,000	$4\frac{1}{2}$ 4 $4\frac{1}{2}$ 5 $4\frac{1}{4}$	1 Jan. and 1 July 1 April and 1 Oct. 5 June and 5 Dec.	108 19,236 66,892 1,250 69 135		
On further issues, say				3,000		
	1,999,100			90,690		
Recoverable from the Native Land Settlement Account	••	••	••	••	90,690	
Native Land Purchases Act, 1892	125,000	41/2	30 April and 31 Oct.	5,625		5,625
New Zealand Consols Act, 1908	6,845 469,147	3½ 4	l Feb. and l Aug. l Feb. and l Aug.	240 18,766		
	475,992			19,006		19,006
New Zealand Loans Act, 1908— Consolidated Loan Act, 1867	13,000	41/2	15 April and 15 Oct.	585		585
Consolidated Stock Act, 1884	194,200 165,000 385,500	4 4 <u>1</u> 4	1 Feb. and 1 Aug. 1 Jan. and 1 July 30 June and 31 Dec.	7,768 7,425 15,420		
	744,700			30,613		30,613
Defence and other Purposes Loan Act, 1870	8,100 15,000 1,900 75,000	4½ 4½ 4½ 4½ 4½	1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Mar. and 1 Sept. 15 April and 15 Oct.	365 675 86 3,375		•
	100,000			4,501		4,501
General Purposes Loan Act, 1873	54,700 5,200 800	4 4½ 5	28 May and 28 Nov. 15 April and 15 Oct. 15 April and 15 Oct.	2,188 234 40		
	60,700		-	2,462		2,462
Immigration and Public Works Loan Act, 1870	23,000 4,900	4½ 4½	15 April and 15 Oct. 1 Feb. and 1 Aug.	1,035 220		_,,,,,_
,	27,900		Ū	1,255		1,255
New Zealand Consolidated Inscribed Stock (London issue)— New Zealand Loan Act, 1882	3,000,000	4	l May and l Nov.	120,000		1,200
New Zealand Loan Act, 1884 New Zealand Loan Act, 1886 North Island Main Trunk Railway Loan Act, 1882	1,500,000 1,567,800 1,000,000	4 4	1 May and 1 Nov. 1 May and 1 Nov. 1 May and 1 Nov.	60,000 62,712 40,000		
New Zealand Loan Act, 1888 First series of Conversions Second series of Conversions Third series of Conversions Sixth series of Conversions Expenses of Conversions and Rais-	1,000,000 5,371,200 6,263,811 4,688,444 4,557,047 619,500	4 4 4 4 4	1 May and 1 Nov. 1 May and 1 Nov.	40,000 214,848 250,553 187,538 182,282 24,780		
ing Loans Additional to £3,000,000 Loan, 1912 For Redemptions	100,000 230,500	4	1 May and 1 Nov. 1 May and 1 Nov.	4,000 9,220		

PERMANENT CHARGES.—DEBT SERVICES—INTEREST -continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	192 4-25.
New Zealand Consolidated Inscribed Stock (London issue)—contd.	£			£	£	£
For Naval Defence	2,100 200,000	4 4	1 May and 1 Nov. 1 May and 1 Nov.	84 8,000		
For Redemphons		. •	i may and i nov.		-	
Recoverable from—	30,100,402	-		1,204,017		
Land for Settlements Account State Coal-mines Account		::			951 21	
Native Land Settlement Account State Advances Account	•••		:		149 9,549	
					10,670	
£2 000 000 T oan 1019	9 000 000	4	1 Feb and 1 Aug	190,000	10,0.0	1,193,347
£3,000,000 Loan, 1912	600,000	4	1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	120,000 24,000 78,073		
tober, 1913 Conversions £4,500,000 Loan, January, 1914	4,590,000	4	1 Feb. and 1 Aug.	183,600		
Bank of New Zealand Act, 1913 Part Charges and Expenses	375,000 100,000	44	1 Feb. and I Aug. 1 Feb. and 1 Aug.	15,000 4,000		
£3,000,000 Loan, 1913 For Redemption Expenses For Conversions, Aid to Public Works and Land Settlement Act,	5,000 262,803	4 4	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	200 10,512		
1914 (scrip)	10,884,628	-		435,385	-	
Recoverable from— Land for Settlements Account				••	34,346	
State Coal-mines Account Native Land Settlement Account			::		$ \begin{array}{c c} 2,067 \\ 10,200 \end{array} $	
State Advances Account					113,381	
			•		159,994	075 901
Fourth series of Conversions	2,768,000	31	1 Jan. and 1 July	96,880		275,391
Fifth series of Conversions Seventh series of Conversions	$\begin{vmatrix} 717,068 \\ 1,036,000 \end{vmatrix}$	$\frac{3\frac{1}{2}}{3\frac{1}{2}}$	1 Jan. and 1 July 1 Jan. and 1 July	25,097 36,260		
For Conversions Expenses of Conversions and Raising Loans	12,647,541 85,323	$\begin{array}{c c} 3\frac{1}{2} \\ 3\frac{1}{2} \end{array}$	l Jan. and l July l Jan. and l July	442,664 2,986		
Naval Defence Act, 1909	15,000	31/2	1 Jan. and 1 July	525		
December his faces	17,268,932			604,412		
Recoverable from— Land for Settlements Account	••			• •	35,192	
State Coal-mines Account Cheviot Estate Account	•••			.:	8,866	
State Advances Account	•••		••		36,133	
					80,205	524,207
Government Advances to Settlers Loan	2,750,000	3	1 April and 1 Oct.	82,500		
Government Advances to Settlers	240,000	3	1 April and 1 Oct.	7,200		
Loan Aid to Public Works and Land	2,500,000	3	1 April and 1 Oct.	75,000		
Settlement Loan For Conversion, Aid to Public	759,000	3	1 April and 1 Oct.	22,770		
Works For Conversions For Expenses	3,368,616 42,364	3	1 April and 1 Oct. 1 April and 1 Oct.	101,058 1,271		
	9,659,980	-		289,799		
Recoverable from— Land for Settlements Account State Advances Account			••	• •	2,075 89,700	
State Advances Account	••		••		91,775	
New Zealand Consolidated Stock, 1933-43—						198 024
Aid to Public Works and Land Settlement Act, 1922	3,000.000	4	1 Jan. and 1 July	120,000	••	• •
New Zealand State-guaranteed Ad-						
vances Acts, 1909-10— Land for Settlements Branch	210,000	4	1 Jan. and 1 July	8,400		
Advances to Settlers Branch Advances to Workers Branch	40,000 750,000	4 4	1 Jan. and 1 July 1 Jan. and 1 July	1,600 30,000		
	4,000,000	-	, , , , , , , , , , , , , , , , , , ,	160,000		
Recoverable from—					0.400	
					8,400	
Land for Settlements Account State Advances Office	•••		••		31,600	

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1924–2 5.
New Zealand Consolidated Stock,	£			£	£	£
1935-45— Aid to Public Works and Land Set-	30,083	5	1 Jan. and 1 July	1,504		••
tlement Act, 1902 Aid to Public Works and Land Set-	2,861,553	5	l Jan. and 1 July	143,078	l i	••
tlement Act, 1921 Discharged Soldiers Settlement Loans	255,497	5	1 Jan. and 1 July	12,775		
Act, 1920 Education Purposes Loans Act,	510,992	5	1 Jan. and 1 July	25,550		
1919			•	25,549		
Electric-power Works Loan Act, 1919	510,991	5	1 Jan. and 1 July	ĺ		
Forest Act, 1921–22 Native Land Settlement Amendment Act, 1913	204,396 255,496	5 5	l Jan. and l July l Jan. and l July	$10,220 \\ 12,775$		
War Purposes Loan Act, 1917	510,992	5	1 Jan. and 1 July	25,549	••]	••
	5,140,000			257,000		
Recoverable from— State Forests Account	••		• •		10,220	
Discharged Soldiers Settlement Account	••	•••	••	•••	12,775	
Electric Supply Account Native Land Settlement Account	•••		••	••	$25,549 \\ 12,775$	
2,00010 1101210 100001110110 111000 11110	, ,				61,319	
New Zealand Consolidated Stock,		.				195,681
1936-51— Electric-power Works Loan Act,	1,076,938	6	1 Feb. and I Aug.	64,616		
1919 Finance Act, 1916 (Section 50), and Finance Act, 1920 (Section	1,775	6	1 Feb. and 1 Aug.	107		
16), (State Forests) Finance Act, 1918 (No. 2), (Part	512,533	6	I Feb. and I Aug.	30,752		
IV), (War Expenses) Finance Act, 1920 (Section 15),	807,704	6	I Feb. and 1 Aug.	48,462		
(Electric Power-works) Finance Act, 1921 (Section 10),	2,423,112	6	1 Feb. and I Aug.	145,387		
(Public Works)	1,076,938	6	1 Feb. and 1 Aug.	64,616		
tion Act, 1914			r ktor blitt i itag.	353,940		
	5,899,000			303,340		
Recoverable from— State Forests Account Electric Supply Account			••		107 113,078	
New Zealand Consolidated Stock,			·		113,185	240,755
1944— Finance Act, 1923 (Section 2)	3,000,000	41/2	Broken period to 1 Sept.; ½-year to 1	88,500		
State Advances Act, 1913— Advances to Settlers Branch	1,000,000	$4\frac{1}{2}$	Mar. Broken period to 1 Sept.; $\frac{1}{2}$ -year to 1	29,500		
Advances to Workers Branch	1,000,000	41/2	Mar. Broken period to 1	29,500		
	1		Sept.; ½-year to 1			
	5,000,000		Sept.; ½-year to 1 Mar.	147,500		
Recoverable from State Advances Office	5,000,000	••		147,500	59,000	88,500
Office		• •			59,000	88,500
Office New Zealand Inscribed Stock Act, 1917—	••		Mar.		59,000	88,500 32
Office New Zealand Inscribed Stock Act, 1917— Aid to Public Works and Land Settlement Act, 1900	600	51	Mar. 1 Mar. and 1 Sept.	32		
Office New Zealand Inscribed Stock Act, 1917— Aid to Public Works and Land	••		Mar.	••		32
Office New Zealand Inscribed Stock Act, 1917— Aid to Public Works and Land Settlement Act, 1900 Aid to Public Works and Land Settlement Act, 1902 Aid to Public Works and Land	600 38,700 4,430	5 1 51	Mar. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Jan. and 1 July	32 2,032 244		32
Office New Zealand Inscribed Stock Act, 1917— Aid to Public Works and Land Settlement Act, 1900 Aid to Public Works and Land Settlement Act, 1902	38,700 38,700 4,430 1,000 2,500	51 51 51 51 51 51 51 51 51 51 51 51 51 5	Mar. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	2,032 2,032 244 53 138		32
Office New Zealand Inscribed Stock Act, 1917— Aid to Public Works and Land Settlement Act, 1900 Aid to Public Works and Land Settlement Act, 1902 Aid to Public Works and Land	38,700 4,430 1,000	51 51 51	Mar. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Jan. and 1 July 1 Feb. and 1 Aug.	2,032 2,032 244 53		32
Office New Zealand Inscribed Stock Act, 1917— Aid to Public Works and Land Settlement Act, 1900 Aid to Public Works and Land Settlement Act, 1902 Aid to Public Works and Land	4,430 1,000 2,500 100	51 51 51 51 51 51 51 51 51 51 51 51 51 5	Mar. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Mar. and 1 Sept.	244 53 138 5		32
Office New Zealand Inscribed Stock Act, 1917— Aid to Public Works and Land Settlement Act, 1900 Aid to Public Works and Land Settlement Act, 1902 Aid to Public Works and Land	4,430 1,000 2,500 183,800	51 51 51 51 51 51 51 51 51 51 51 51 51 5	Mar. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Mar. and 1 Sept.	244 53 138 5 9,649	••	32 2,032

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross - Amount.	Recoverable.	1924-25.
New Zealand Inscribed Stock Act, 1917—continued.	£			£	£	£
Aid to Public Works and Land Settlement Act, 1907	900 265,400 1,700	6 5½ 5¼	I Jan. and I July I Feb. and I Aug. I Mar. and I Sept.	54 14,597 89		
	268,000			14,740		14,740
Aid to Public Works and Land Settlement Act, 1911	25,000	5 <u>‡</u>	1 Mar. and 1 Sept.	1,313	••	1,313
Aid to Public Works and Land Settlement Act. 1914	100,000	$5\frac{1}{2}$	30 June and 31 Dec.	5,500	••	5,500
Aid to Public Works and Land Settlement Act, 1921	24,170 150,000 52,510 173,920	5 51 51 51 6	1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	1,209 7,875 2,889 10,435		
	4 00,600			22,408	• •	22,408
Discharged Soldiers Settlement Loans Act, 1919 (Section 4)	80,000 100,000	6 5½	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	4,800 5,500		
	180,000			10,300		
Recoverable from Land for Settlements Account (Dis- charged Soldiers Settlement	••			••	10,300	
Account) Discharged Soldiers Settlement Loans Act, 1920	400 2,945,020 1,000	5 5½ 6	15 Jan. and 15 July 15 Jan. and 15 July 15 Jan. and 15 July	20 161,976 60		
	2,946, 4 20			162,056		
Recoverable from Discharged Soldiers Settlement Account	• •	•		• •	162,056	
Education Purposes Loans Act, 1919	3,780 7,000 103,900 62,450 700	6 6 5½ 5¼ 6	l May and 1 Nov. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Jan. and 1 July	227 420 5,714 3,279 42		
	177,830			9,682		9,682
Electric-power Works Loan Act, 1919	800,360	5	15 Jan. and 15 July	40,018		
Recoverable from Electric Sup- ply Account	••	•••	••	••	40,018	
Finance Act, 1915 (Section 105), (Public Works)	1,000 1,300 142,990 84,970	4½ 5 5½ 5½ 5¼	15 June and 15 Dec. 15 June and 15 Dec. 15 June and 15 Dec. 1 Mar. and 1 Sept.	45 65 7,864 4,461		
	230,260	ļ		12,435		12,435
Finance Act, 1916 (Section 35), (War Expenses)	630,970 2,635,750 4,100 555,550 3,650	6 4½ 4½ 5½ 5	1 Eeb. and 1 Aug. 15 May and 15 Nov. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	37,858 118,609 184 29,166 182		
	3,830,020			185,999		185,999
Finance Act, 1918 (Section 10), (War Expenses)	4,638,480 8,000 281,100 3,997,770 438,840 1,150 264,980 187,160 93,990	4½ 5 5 4½ 5 5 4½ 5 5 5 5 4½ 5	15 May and 15 Nov. 1 May and 1 Nov. 15 May and 15 Nov. 20 April and 20 Oct. 20 April and 20 Oct. 1 Mar. and 1 Sept. 1 Heb. and 1 Aug. 1 Jan. and 1 July	208,731 400 14,055 179,900 21,942 58 13,911 9,826 4,700		
	9,911,470	-		453,523		453,523
Finance Act, 1918 (No. 2), (Part IV), (War Expenses)	27,060 1,976,370 47,900 600	5 4½ 5 1 5	20 April and 20 Oct. 20 April and 20 Oct. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	1,353 88,937 2,515 30		
	2,051,930		,	92,835	••	92,835

${\tt PERMANENT~CHARGES.--DEBT~SERVICES--INTEREST--} continued.$

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1924-25.
New Zealand Inscribed Stock Act,	£			£	£	-£
1917—continued. Finance Act, 1919 (Section 5), (Public Works)	578,500 11,500	5 5	15 Jan. and 15 July 1 Feb. and 1 Aug.	$28,925 \\ 604$		
,	590,000	-	J	29,529	-	29,529
Finance Act, 1920 (Section 15), (Public Works)	50,000 50,000	5 <u>1</u> 5 <u>1</u>	1 Feb. and 1 Aug. 1 June and 1 Dec.	2,625 2,625	-	
Government Railways Act, 1908-	100,000			5,250		5,250
Finance Act, 1909	300 500	5 1 6	l Mar. and l Sept. l Feb. and l Aug	16 30		
	800			46		. 46
Railways Improvement Authorization Acts, 1904-07	500	6	1 Jan. and 1 July	30		30
Government Railways Amendment Act, 1910	500	5 <u>1</u>	1 Mar. and 1 Sept.	26		26
Land for Settlements Act, 1908	700 2,300 5,500 11,600 55,900	5½ 5½ 6 6 5½	1 Jan. and 1 July 1 Jan. and 1 July 1 Jan. and 1 July 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	37 127 330 696 3,075		
	42,750	5 1	1 Mar. and 1 Sept.	2,244	.	
Decoverable from Land for	118,750	-		6,509	g 500	
Recoverable from Land for Settlements Account	••	••	••		6,509	
Land Laws Amendment Act, 1913	5,500	5 <u>1</u> 5 <u>1</u>	1 Jan. and 1 July 1 Mar. and 1 Sept.	289		
	6,300	_		331		
Recoverable from Land for Settlements Account	••		••	••	331	
Maori Land Settlement Act, 1905	900	51	1 Mar. and 1 Sept.	47		47
Native Land Amendment Act, 1913	40,000 100,000 5,000	4½ 5½ 4½	1 Jan. and 1 July 1 Feb. and 1 Aug. 1 April and 1 Oct.	1,800 5,250 225		
	145,000			7,275	4	
Recoverable from Native Land Settlement Account New Zealand State-guaranteed Ad- vances Acts, 1909-10— Guaranteed Mining Advances	2,000	51	1 Mar. and 1 Sept.		7,275	
Branch Recoverable from Mining Advances Account			••		105	
Land for Settlements Branch	52,500	5 <u>1</u>	1 Mar. and 1 Sept.	2,756		
Recoverable from Land for Settlements Account			··		2,756	
Railways Improvement Authoriza-	12,490	5	15 Jan. and 15 July	625		625
tion Act, 1914 Swamp Drainage Act, 1915, and Appropriation Act, 1918 (Sec-	1,000 14,000	$\begin{array}{c c} 4\frac{1}{2} \\ 5 \end{array}$	l May and l Nov. l May and l Nov.	45 700	1	
tion 46) Recoverable from Swamp Land	15,000	- -		745		
Drainage Account War Purposes Loan Act, 1917	2,810 10,766,975 840,960 152,780 103,670 1,748,300 6,900	3 4½ 5 5¼ 55¼ 55 55 55 55 55 55 55 55 55 55	15 May and 15 Nov. 15 May and 15 Nov. 15 May and 15 Nov 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	84 484,513 42,048 8,021 5,702 91,786 345	745	
	13,622,395	-		632,499		632,499

${\tt PERMANENT~CHARGES.--DEBT~SERVICES--INTEREST--} continued.$

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1924-25.
New Zealand State-guaranteed Ad-	£			£	£	£
vances Act, 1909 Land for Settlements Branch	25,000 470,000	$\frac{3\frac{1}{2}}{3\frac{3}{4}}$	1 April and 1 Oct. 1 April and 1 Oct.	875 17,625		
	495,000			18,500		
Recoverable from Land for Settlements Account					18,500	
Native Land Settlement Branch	381,600 54,500 30,000 80,000	3½ 3¾ 4 4½	1 April and 1 Oct.	13,356 2,044 1,200 3,600		
	546,100			20,200		
Recoverable from Native Land Settlement Account			••	••	20,200	
Guaranteed Mining Advances Branch	5,000	33	I April and 1 Oct.	187		
Recoverable from Mining Advances Account		•••		••	187	
Advances to Local Authorities Branch	200,515 95,425 8,800 48,000	3½ 3¾ 4 4 4½	1 April and 1 Oct.	7,018 3,579 352 2,160		
Recoverable from—	352,740			13,109		
Hauraki Plains Settlement Account			••		3,488	
Land for Settlements Account Rangitaiki Land Drainage Ac- count	•••		••	•••	8,145 1,476	
count					13,109	
New Zealand State-guaranteed Advances Acts, 1909-10— Land for Settlements Branch	45,300 219,865 50 22,500 147,100 741,066 128,272 100 6,000	4 4 4 4 4 4 4 4 4 4 5 4 4 5 4 4 4 4 4 4	1 May and 1 Nov. 1 Jan. and 1 July 1 Jan. and 1 July 1 April and 1 Oct. 1 April and 1 Oct. 30 April and 31 Oct. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Mar. and 1 Sept.	1,812 8,795 900 6,620 33,348 5,772 5		
	1,310,253			57 ,5 2 4		
Recoverable from the Land for Settlements Account		••	••	••	57,524	
Native Land Settlement Branch	30,000 50,000	$3\frac{3}{4}$ \cdot 4	1 April and 1 Oct. 1 April and 1 Oct.	1,125 2,000		
	80,000			3,125		•
Recoverable from the Native Land Settlement Account	. ••		••	••	3,125	
New Zealand State-guaranteed Advances Acts, 1909–10, and Finance Act, 1915 (Section 106)—Land for Settlements Branch	21,050 10,000 4,000	4½ 4½ 4½	l Jan. and l July l Feb. and l Aug. l Mar. and l Sept.	947 450 180		
	35 ,Q 50			1,577		
Recoverable from the Land for Settlements Account	••		••		1,577	
Guaranteed Mining Advances	8,000	41/2	1 Jan. and 1 July	360		
Recoverable from Mining Advances Account	••	••	••		360	
Post and Telegraph Act, 1908	200,000	41	1 Jan. and 1 July	9,000		9,000

${\tt PERMANENT~CHARGES.-DEBT~SERVICES-INTEREST-c. ntinued}.$

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1924-25.
Treasury Bills (say)				75,000	£	£ 75,000
Public Revenues Amendment Act, 1915 (Section 5). (War Expenses)— Public Revenues Amendment Act, 1915 (No. 2), (Section 2)	1,70 3,75 0 390,000	4½ 4½	1 Feb. and 1 Aug. 1 May and 1 Nov.	76,669 17,550		
	2,093,750			94,219		91,219
Railways Improvement Authorization Act, 1914	102,000 597,200 30,000	4 4 1 5	1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	4,080 26,874 1,500		
	729,200			32,454		32,454
Rangstaiki Land Drainage Amend- ment Act, 1913 and Amendments	37,000 37,000	4 4½	1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	1,480 1,665		
•	74,000			3,145		
Recoverable from Rangitaiki Land Drainage Account	••				3,145	
Rangitaiki Land Drainage Amend- ment Acts, 1913 and 1914	12,000 36,000	4 41/2	l Mar. and l Sept. l Mar. and l Sept.	480 1,620		
	48,000			2,100		
Recoverable from Rangitaiki Land Drainage Account					2,100	
Rangitaiki Land Drainage Amendment Act, 1913, and Appropriation	25,000 3,000	4 4 <u>1</u>	1 Mar. and 1 Sept. 1 Mar. and 1 Sept.	1,000 135		
Act, 1918 (Section 44)	28,000			1,135	1	
Recoverable from Rangitaiki Land Drainage Account	••		••.		1,135	
Rangitaiki Land Drainage Amendment Act, 1913, and Appropriation	60,000	41/2	I Mar. and I Sept.	2,700	· · · · · · · · · · · · · · · · · · ·	
Act, 1919 (Section 19) Recoverable from the Rangitaiki Land Drainage Account					2,700	
Rangitaiki Land Drainage Amendment Act, 1913, and Finance Act, 1920 (Section 16)	90,000 10,000	4½ 5	1 June and 1 Dec. 1 June and 1 Dec.	4,050		
(Newton 10)	100,000			4,550		
Recoverable from the Rangitaiki Land Drainage Account			. ••	••	4,550	
Rangitaiki Land Drainage Amendment Act, 1913, and Finance Act, 1921 –22 (Section 23)	20,000 74,600 2,900 2,500	4 4½ 4½ 5¼	1 June and 1 Dec. 1 June and 1 Dec. 1 Mar. and 1 Sept. 1 Feb. and 1 Aug.	800 3,357 131 131	-	
	100,000			4,419	-	
Recoverable from the Rangitaiki Land Drainage Account	••				4,419	
Rangitaiki Land Drainage Amend- ment Act, 1913, and Finance Act, 1923 (Section 5)	12,000 10,900	4 4½	1 Mar. and I Sept. 1 Mar. and 1 Sept.	480 490		
On further issues, say			••	1,000		
	22,900	-				
Recoverable from Rangitaiki Land Drainage Account	•••	•••			1,970	

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1924–2 5.
State Advances Act, 1913— Advances to Settlers Branch	£ 573,200 1,3 00,000	4 112	1 June and 1 Dec. 1 June and 1 Dec.	22,928 58,500	£	£
	1,873,200			81,428	-	
Recoverable from State Advances Office	••		••		81,428	
Advances to Workers Branch	50,000 1,300,000	4	I June and 1 Dec. 1 June and 1 Dec.	2,000 58,500		
	1,350,000			60,500	-	
Recoverable from State Advances Office			.:		60,500	
Local Authorities Branch	200,000	4	1 June and 1 Dec.	8,000		
Recoverable from the State Advances Office			••		8,000	
Swamp Drainage Act, 1915	15,000 31,000	4 4 1	1 May and 1 Nov. 1 May and 1 Nov.	600 1,395		
	46,000			1,995		
Recoverable from Swamp Land Drainage Account			••	••	1,995	
Swamp Drainage Act, 1915, and Appropriation Act, 1918 (Section 16)	52,000 193,000 5,000 20,000	4 4½ 5 6	1 May and 1 Nov. 1 May and 1 Nov. 1 May and 1 Nov. 1 May and 1 Nov.	2,080 8,685 250 1,200		
On further issues, say				500		
	270,000			12,715		
Recoverable from Swamp Land Drainage Account			••		12,715	
Waihou and Ohinemuri Rivers Im- provement Act, 1910	30,000 120,000	4 4 <u>1</u>	1 Feb. and 1 Aug 1 Feb. and 1 Aug.	1,200 5,400		
	150,000			6,600		
Recoverable from the Waihou and Ohinemuri Rivers Im- provement Account	••	•••		••	6,600	
Waihou and Ohinemuri Rivers Improvement Act, 1910, and Finance	50,000 100,000	4 4½	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	2,000 4,500		
Act, 1919 (Section 6)	150,000			6,500		
Recoverable from the Waihou and Ohinemuri Rivers Im- provement Account	••	•	••		6,500	
Waihou and Ohinemuri Rivers Improvement Act, 1910, and Finance Act, 1922 (Section 16)	35,000 51,000	4 4 <u>1</u>	1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	1,400 2,295		
On further issues, say			••	2,000		
	86,000			5,695		
Recoverable from Waihou and Ohinemuri Rivers Improve- ment Account	••	••	••		5,695	
War Purposes Loan Act, 1917, and War Purposes Loan Act, 1917 (No. 2), (New Zealand Loans Act, 1908, and Amendment Act, 1915), and Finance Act, 1917 (Section 68)	5,317,550 1,450,000 34,850 21,050 13,000 250,000	4½ 5 5½ 5½ 6 4	15 May and 15 Nov. 15 May and 15 Nov. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug. 1 Feb. and 1 Aug.	239,290 72,500 1,830 1,158 780 10,000		
	7,086,450			325,558	••	325, 558
Wellington and Manawatu Railway	500,000	41/2	l, Mar. and 1 Sept.	22,500		22,500
Purchase Act, 1908 Westport Harbour Act, 1920— Westport Harbour Board Act, 1884 Westport Harbour Board Act, 1884, and Loan Acts, 1896, 1897, and	150,000 500,000	44	1 Mar. and 1 Sept. 1 Jan. and 1 July	6,000 20,000		
1900 Westport Harbour Board Loan Act, 1908	200,000	5	15 Feb. and 15 Aug.	10,000		

PERMANENT CHARGES.—DEBT SERVICES—INTEREST—continued.

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1924 –25.
Westport Harbour Act, 1920, and Appropriation Act, 1919 (Section	£ 30,495	5 1	1 Feb. and 1 Aug.	£. 1,677	£	£
32)	880,495			37,677		
Recoverable from the Westport Harbour Account	••		• • •	••	22,853	14,824
To provide for increase in rate of in- terest for renewal of loans falling due during the year	••		••	10,000	••	10,000
State Advances Debt— The Government Advances to Settlers	80,000	41/2	1 June and 1 Dec.	3,600		
Act, 1894, and Extension Act, 1901 Recoverable from the State Advances Office	••			••	3,600	
Government Advances to Settlers Act,						
Advances to Settlers	105,000 12,900 100,000	4 4 4	1 June and 1 Dec. 1 Jan. and 1 July 1 Mar. and 1 Sept.	4,725 516 4,500		
	217,900	<u> </u>		9,741	-	
Recoverable from the State Advances Office	••		••	• •	9,741	
Advances to Workers	25,000	41/2	1 June and 1 Dec.	1,125		
Recoverable from the State Advances Office		••	••		1,125	
Government Advances to Settlers Act, 1908, and Finance Act, 1915 (Sec- tion 106)—						
Advances to Workers	10,000	$4\frac{1}{2}$	1 Jan. and 1 July	450		
Recoverable from the State Advances Office		••	••	••	450	
New Zealand State-guaranteed Advances Acts, 1909 and 1910—	1 007 000	41	1 Tone and 1 Day	00 549		
Advances to Settlers	1,967,626 750,000 6,203	$\frac{4\frac{1}{2}}{4\frac{1}{2}}$	1 June and 1 Dec. 23 April and 23 Oct. 1 Feb. and 1 Aug.	88,543 33,750 279		
	2,723,829			122,572		
Recoverable from the State Advances Office	• •				122,572	
Advances to Workers	205,000 77,447 328,283	4½ 4½ 4½	1 Jan. and 1 July 1 Feb. and 1 Aug. 1 June and 1 Dec.	9,225 3,485 14,773		
	610,730	12	1 out out a 1700.	27,483		
Recoverable from the State Advances Office		••			27,483	
Total Principal	222,248,166					
TOTAL INTEREST			••	9,801,786	2,056,689 7	,745,097

Reconciliation of Public Debt with total of Principal shown in Appropriations—	£	£	£
Gross Public Debt at 31st March, 1924	••	221,616,361	
Add amounts not included in Public Debt at 31st March, 1924—			
New loan issued May, 1924	5,000,000		
Greymouth Harbour Board Loans	360, 000		
•		5, 36 0,000	
			226,976,361
Deduct amounts included in Public Debt but not provided for in Appropriations—			
Treasury Bills issued in London	2,600,000		
Unpresented debentures	3,935		
Loans raised by Superintendent State Advances (interest paid			
directi)	2,124,260		
		• •	4,728,195

$\begin{array}{lll} \textbf{PERMANENT} & \textbf{CHARGES.--DEBT} & \textbf{SERVICES.--AMORTIZATION--SINKING} \\ & \textbf{FUND.} \end{array}$

Authorizing Act.	Principal.	Rate per Cent.	Half-yearly due Dates.	Gross Amount.	Recoverable.	1924-25.
Sinking Funds— Finance Act, 1918, No. 2 (Section 6)	51,462,690	1		£ 514,627	£	£ 514,627
Public Debt Extinction Act, 1910	122,000,000		••	216,315		170,315
Recoverable from other Accounts Westport Harbour Act, 1920—		• •	••	,	46,000	,
Westport Harbour Board Act, 1884	150,000	1		1,500		
Westport Harbour Board Act, 1884, and Loans Act, 1896, 1897, and 1900	500,000		· · · · · · · · · · · · · · · · · · ·	5,000		
Westport Harbour Board Loan Act, 1908	200,000	l	••	2,000		
Act, 1900	174,312,690			8,500		3,500
Recoverable from Westport Har- bour Account	• •	••	••		5,000	
TOTAL SINKING FUND			••	789,442	51,000	688,442

PERMANENT CHARGES.—DEBT SERVICES—AMORTIZATION—REDUCTION OF FUNDED DEBT.

Authorizing Act.	Principal. Rate per Cent.		Half-yearly due Dates.	Amount.	Recoverable.	1924–25.
Finance Act, 1922 (Section 8)— Transfer to Loans Redemption Account for reduction of Funded debt—	£		,	£	£	£
Aid to Public Works and Land Settlement Act, 1910	191,010		1 June and 1 Dec	2,135		2,135
Finance Act, 1916 (Section 35)	4,736,842	١	,,	52,942	1 1	52,942
Finance Act, 1918 (Section 10)			"	73,766		73,766
Land for Settlement's Act, 1908		١	, ,,	422	42 2	
Naval Defence Act, 1909			· //	10,765		10.765
Public Revenues Amendment Act, 1914 (Section 8)		••	,,	23,107		23,107
Public Revenues Amendment Act, 1915 (Section 5)	8,105,992		,,	90,598		90,598
War Purposes Loan Act, 1917 (Section 2), War Purposes Loan Act, 1917 (No. 2)	4,830,000	••	,,	53,983	••	53,983
TOTAL	27,532,164	*		307,718	422	807,296

^{*} The rate is 6 per cent. on the original debt, £27,532,163 17s. 10d., less interest at the average rate of £4 19s. 5.88d. on the amount remaining unpaid.

ANALYSIS OF PERMANENT CHARGES.—DEBT SERVICES.

						1924-25.	
					Gross.	Recoveries from respective Accounts.	Net Charge to Consolidated Fund.
Interest-				i	£	£	£
War Expenses					3,645,901	·	3,645,901
Discharged Soldiers Settlement	finel	uding pure	hase of	Estates)		442,532	
Land for Settlements					375,795	375,795	
State Advances					679,570	679,570	::
Naval Defence			• •	• •	78,479		78,479
Electric Supply					212,758	212,758	
Greymouth Harbour Board					14,400	14,400	1
Westport Harbour					37,677	22,853	14.824
Public Works and Miscellaneou	s				4,314,674	308,781	4,005,893
Total Interest		• •			9,801,786	2,056,689	7,745,097
AMORTIZATION,—							
SINKING FUND-							
War Loans					514,627		514,627
Public Debt Extinction					216,315	46,000	170,315
Westport Harbour	• •	• •	• •		8,500	5,000	3,500
Total Sinking Fund					739,442	51,000	688,442
REDUCTION OF FUNDED DEBT		••			307,718	42 2	307,296
Total Amortization					1,047,160	51,422	995,738
GRAND TOTAL					10,848,946	2,108,111	8,740,835

PERMANENT CHARGES—continued. 1924-25. UNDER SPECIAL ACTS OF THE LEGISLATURE. Animals' Protection and Game Act, 1921-22 (Section 20)-£ Payments to Acclimatization Societies of fees, royalties, &c., on opossumskins 5,000 Appropriation Act, 1916 (Section 9)-Payment of subsidies to County Councils, Road and Town Boards in 178,000 respect of general rates Auckland University College Act, 1882 --Grant-in-aid 4,000 Civil List Act, 1920 (Section 16)-Legislative Council-Speaker 720 Chairman of Committees 450 House of Representatives— Speaker 900 Chairman of Committees 675. . . Civil List Act, 1920 (Section 17)-£ Payment to members of the Legislative Council ... 11,970 Payment to members of the House of Representatives 30,600 42,570 Civil List Act, 1920 (Section 22)— Legislative Council— Člerk 750 . . . Clerk Assistant 550 House of Representatives-Clerk 750 Clerk Assistant 550 Civil Service Act; 1908-Pensions, Compensation, and Gratuities under Civil Service Act, 1908 ... 19,000 Defence Act, 1909-Pensions and allowances 3,000 Education Act, 1914— Education Boards— Subsidies on bequests and on voluntary contributions on account of Public Primary Schools (including District High Schools) 14,500 Technical Instruction— Subsidies on bequests and on voluntary contributions 3,000 National Scholarships— Grants to Education Boards for junior and senior scholarships 12,000 Secondary Schools— Subsidies on bequests and on voluntary contributions 5,000 Education Reserves Amendment Act, 1913 (Section 3)-Compensation for improvements 1,000 Finance Act, 1918 (No. 2), (Section 8)— Free issue of official postage-stamps to members of both Houses 2,000 Finance Act, 1919 (Section 14)-Pensions in respect of Police Officers 500 Finance Act, 1920 (Section 21)-Interest at 4 per cent. on New Zealand Expeditionary Force canteer profits and regimental funds deposited with Government at call *1,400 Finance Act, 1920 (Section 43)— Canterbury College (additional to statutory grant) 1,562

PERMANENT CHARGES—continued

		1924-25.
UNDER SPECIAL ACTS OF THE LEGISLATURE-con	itinued.	
Finance Act, 1921–22 (Section 13)— Transfer to Advances to other Governments Account Less recoveries from advances to other Governments Account	£ 20,000 20,000	£
Finance Act, 1921–22 (Section 38)— Grant to Otago Hospital Board		 1,745
Finance Act, 1923 (Section 13)— Annuity at the rate of £150 per annum payable to Miss I daughter of the late Sir William Fraser, Member of the Council and of the Legislative Council	da Fraser, Executive	150
Finance Act, 1923 (Section 15)— Transfer to the Main Highways Account (Revenue Fund)	•••	35,000
Fire Brigades Act, 1908— Section 21 (subsidies payable)	•	2,100
Greymouth Harbour Board Amendment Act, 1920 (Section 5) — Subsidy for interest, sinking fund, and other loan charges	•••	15,000
High Commissioner Act, 1908— Salary of High Commissioner		2,000
Hospitals and Charitable Institutions Acts, 1909, 1910, 1913, and Subsidies to Hospital Boards (administered by Department of Health) Subsidy to Jubilee Institute for the Blind (administered by	£ 570,000	
Department of Education) Industrial Conciliation and Arbitration Act, 1908—		587,000
Salaries of Judge and Members of the Arbitration Court	••-	3,430
Judicature Act, 1908— Superannuation allowances	·	2,750
Judicature Amendment Acts, 1913 and 1920— Salaries of Judges of the Supreme Court	•••	18,250
Land Act, 1908— Payments to Receivers of Land Revenue, Local Bodies' Deposit for payment to local authorities in respect of rents, royalties,		36,200
Land Settlement Finance Act, 1909 (Section 13)— Deficiencies in interest due on debentures guaranteed by the G	overnment	150
Local Bodies' Loans Amendment Act, 1908 (Section 10)————————————————————————————————————		500
Local Bodies' Loans Act, 1913 (Subsections 3 and 4 of Section 70)-Sinking funds payable to State Advances Office	-	500
Magistrates' Courts Amendment Acts, 1913 and 1920— Salaries of Magistrates	•	24,054
Marlborough High School Act, 1899— Grant-in-aid	•••	400
Miner's Phthisis Act, 1915, and Finance Act, 1920— Pensions and allowances Less credits from gold duty under section 9, Miner's Phthisis Act, 1915	£ 38,000 2,900	35,100

${\tt PERMANENT~CHARGES-} {\it continued}.$

				1924–25.
UNDER SPECIAL ACTS OF THE LEGIS	SLATUR	E-cont	inued.	
Municipal Corporations Act, 1920 (Section 72)— Subsidies payable to Borough Councils in respec	ct of gene	ral rates	· · · ·	£ 28,000
National Provident Fund Act, 1910 (Section 25)— Subsidies on contributions	•••		£ 35,468	
Finance Act, 1916, and National Provident Free Maternity allowances (sections 18 and 78) Maternity allowances for Friendly Societies (subsidy on total contributions from approximately Societies for the year ended 31st December 1959)	section 6'	7) iendly	7,500 36,000 982	70.050
New Plymouth Harbour Board Endowment Act, 18 One-fourth of proceeds of sales, &c., payable to		Board	***	79,950 4,500
New Zealand Institute Act, 1908— General expenses of Institute	•••	•••	•••	1,000
New Zealand Loans Act, 1908— New Zealand Consolidated Stock— Charges and expenses of management Less recoverable from other accounts			17,500 3,500	
New Zealand University Act, 1908—				14,000
Contribution to University New Zealand University Amendment Act, 1914, a	and Amen	dme n t	•••	3,845
Act, 1919 (Section 4)— University National Scholarships University bursaries Grants-in-aid to—		•••	•••	3,400 13,000
Auckland University College Victoria University College Canterbury College University of Otago		•••	7,100 7,100 4,100 8,700	
University Colleges— Subsidies on bequests and on voluntary contri	hutions		·	27,000 25,000
Orchard-tax Act, 1916 (Section 4)— Proceeds of Orchard-tax payable to New 2 growers' Federation, Limited		Fruit-	•••	2,000
Pensions Act, 1913, and Finance Act, 1920— Military pensions (Maori War) Old-age pensions Less amount charged to National Endowme	 ent Accou	 ant	800,000 41,130	27,000
Widows' pensions	•	•••		758,870 225,0 00
Public Revenues Act, 1910, and Appropriation Act, Salary of Controller and Auditor-General Claims repayable under sections 16, 29, and 90	1920—	•••	1,170 300	1 .770
Public Revenues Amendment Act, 1912 (Section 5)- Fire Insurance Fund		•••	•••	1,470 10,000
Public Service Act, 1912, and Appropriation Acts section 1)— Selving of Public Service Commissioners	t, 1920 (Section	16, Sub-	0 440
Salaries of Public Service Commissioners Public Service Classification and Superannuate and Amendments— Annual contributions—	ion Act,	1908,	•••	2,442
Public Service Superannuation Fund Railways Superannuation Fund Teachers' Superannuation Fund			86,000 25,000 43,000	154,000

PERMANENT CHARGES—continued.

		TTT:	1924–25.
UNDER SPECIAL ACTS OF THE LEGI	SLAT	URE—continued.	
Reserves and other Lands Disposal and Public Boo (Section 67)— Compensation to Mrs. Ann Noble, of Alexandra		-	£ 78
•			
Rotorua Borough Act, 1922 (Section 6)— Payment to Rotorua Borough of portion of fee ment Sanatorium	s rece	eived at the Govern-	1,300
Slaughtering and Inspection Act, 1908—			
Compensation to owners of condemned stock		•••	14,000
Stock Act, 1908—			
Compensation for stock destroyed		•••	15,000
Valuation of Land Act, 1908 (Section 33)—Acquisition of land under Sections 30 and 31			1,000
Victoria College Act, 1905—			
Grant-in-aid		•••	4,000
Waihou and Ohinemuri Rivers Improvement Act, 1 Section 17 (d) and Amendment Act, 1912, and (Section 27), (Crown's proportion of interest raised under the Act)	dqA f	ropriation Act, 1916	1,100
Walsh and Others Pension Act, 1869— Mrs. Ellen Ann Hewett		•••	50
Wan Danciona Act 1015			
War Pensions Act, 1915— Pensions and allowances		•••	1,150,000
Westport Harbour Act, 1920, and Finance Act, 192	1 (Sec	etion 4)	
Transfer to Westport Harbour Account			15,000
TOTAL UNDER SPECIAL A	CTS		3,644,211

ANALYSIS.

	,					
						1924-25.
			4			£
Education Purposes						133,707
Miscellaneous				• • •		137,245
	•••	•••	•••	•••		2,221,348
	• • •		•••			99,261
Subsidies paid to Hospital B		•••				570,000
Subsidies to Local Authoritie						206,000
Subsidies to Superannuation	and Nat	ional Prov	vident Fund	s		190,450
	•••	••	:	• • •		36,200
Transfer to Main Highways			Fund)	•••		35,000
Transfer to Westport Harbon	ır Accou	ınt	•••	•••		15,000
TOTALS	· • •				•	3,644,211

LEGISLATIVE DEPARTMENTS.

					·	·	19 2 4-	-25.	. –
		-	···· -			Salaries.	Other Ch	nargos.	Total.
Vote No. 1.	–Leg	gislative De	epartments-	_		£	i	£	£
			ive Council		• •	3, 239	١.		$3, \tilde{2}39$
:,			of $Represente$	tives		2,926		8,943	11,869
**			afting Office		• •	2,595	i .	175	2,770
**		.—Generai 'Hansare	$m{A}$ sse $m{m}bly \ m{L}i$	wary	• •	$rac{3,185}{8,077}$		l,300 6,000	$rac{4,485}{14,077}$
,,		Bellam		• •		6,448		2,054	8,502
,,		!.—Genera∫				3,515		7,457	30,972
G	ROSS	Total	••			29,985	46	$-{5,929}$ $ -$	75,914
C	REDIT	S-IN-AID				125		5,800	5,925
		OTAL	• •	••		29,860	·),129	69,989
						*	2		
Number of Persons.	Item.	VOTE 1	No. 1.—LE	GISLATI	VE DEE	PARTMENT	rs.	1924	1 –25.
1924-25.	·	Si	ıbdivision 1	No. I.—Le	gislative	Council.			
	' ¦	•			•	_		£	£
4	1		AND OTHE			•		0.050	
4			es and other			 salaries prov	ided :	2,950	
			the Civil I			saiarios pro	£		,
	:		k, Legislati			•••	15		
		Cler	k Assistant		•••	•••	15	00	!
1	2	Staff c	f Minister l	eading Le	gislative (Council	j	$\begin{array}{c} 30 \\ 259 \end{array}$	
5		E				ction 48 of P	ublic		i
			Departmen						
	i l			ary of typ			£		
	·		Leade	r of Legisl	ative Cou	ncil	125		
			Tota	ıl—Subdii	vision No.	. <i>I</i>	1		3,239
	,						i :	!	
		Subdi	vi sio n No.	[1.— Hous	e of Rep	resentatives.			
	3	SALARIES						- 1	l
1	'		l Clerk Assi		•••		!	470	
1	į		nt-at-Arms r and Clerk		 i. Darissis	•••	• • •	276 365	
1 1			r and Clerk ntant and B				1	335	
1	.		Messenger	0.0		•••	***	300	
1		†Assist:	ant Chief M			• • •	•••	280	
1	!		nger (to Mr			100	• • • • •	240	
3	:		ittee Clerks			190 - alaries prov	ided	630	
10			he Civil Lis			ereries bros	Meu		
]		lerk, House					15	i
	!		lerk Assista			sentatives		15	
							I	0 006	
	<u> </u>							2,926	
						-			

^{*} Also receives £175 16s. per annum superannuation. † Receives payment of 5s. per day during Session. Speaker's messenger also receives 1s. per day additional for whole year in addition to 5s. per day during Session. These amounts are paid out of item "Extra assistance."

NOTE.—Scale salaries or wages include cost-of-living increase.

Number of Persons.	Item.			1924–	25.
1924–25.	-	VOTE No. 1.—LEGISLATIVE DEPARTMENTS continued.			
1021 20.			, ,	£	
		Subdivision No. II.—House of Representatives—con	ta.		
	4	OTHER CHARGES FOR AND INCIDENTAL TO— Office requisites	ĺ	50	
	$\begin{vmatrix} 4 \\ \cdot 5 \end{vmatrix}$	Printing and stationery		1,050	
	6	Telephone services, including installation, extension maintenance, rent, and calls	ns,	400	
	7	Temporary Assistance—	€	100	
		•	600 L00		
		Extra Messengers 4,7	733		·
	8	Contingencies, including unforeseen expenditure	in-	7,433	
	0	cidental to the other items of this subdivision		10	
				8,943	
		$Total-Subdivision\ No.\ II$			11,86
		Subdivision No. III.—Law Drafting Office.			•
	9	Salaries—			
		Bill Drafting Department—			
1		Law Draftsman		920	,
$_2$		Assistant Law Draftsmen— $2 \text{ at } \pounds 565$		1,130	
1		Compilation Department— Compiler of Statutes (6 months), at £700		35 0	
1		Clerical and General— Shorthand-writer, Typiste, and Office Assistant		195	
5		Silotinana Willot, Lypisto, and Onco Historiana		$\frac{2,595}{2}$	
			-		
	10	OTHER CHARGES FOR AND INCIDENTAL TO— Office requisites, printing and stationery, posta	ge,		•
	11	and contingencies Purchase of law reports and other publications		$\begin{bmatrix} 50 \\ 100 \end{bmatrix}$	
	12	Telephone services (including installation, extensio		05	
		maintenance, rent, and calls)			
		Total—Subdivision No. III] 	175	2,77
		10ttt			۵,۱۱۰
		Subdivision No. IV.—General Assembly Library.			
	13	Salaries—			
		Library—			
1		Chief Librarian (also grant of £50 per annum	as	200	
1		Advisory Director, Turnbull Library) Assistant Librarian		690 470	
5		Assistants: 1 at £330, 2 at £320, 1 at £295, 1	at	1 500	
1		£270 Binder for Parliamentary Library		1,535 300	
ĩ.		Messenger		190	
9				3,185	
	. 1				

		LEGISLATIVE DEPARTMENTS—continued.		
Number of Persons.	Item.	VOTE No. 1.—LEGISLATIVE DEPARTMENTS— continued.	1924-	25.
1924–25.		Subdivision No. IV.—General Assembly Library—continued.	£	£
	14 15	OTHER CHARGES FOR AND INCIDENTAL TO— Binding books Grant to Library Fund	400 700	
	16	Newspapers and carriage of books	1,300	
		Total—Subdivision No. IV		4,485
		Subdivision No. V. — Hansard.		
1	17	SALARIES— Hansard Staff and Reporters— Chief Reporter	684	
12		12 Reporters: 1 at £550, 4 at £450, 1 at £442, 1 at £420*, 1 at £390, 1 at £370, 1 at £362, 2 at £350 Hansard Supervisor	5,034 422 387	
1 1 1		Hansard Supervisor's Assistant Clerk to Hansard Supervisor Hansard Indexer	190 210	
2		Committee Reporters: 2 at £240 Extra assistance for Hansard	480 670	
19			8,077	
	18	OTHER CHARGES FOR AND INCIDENTAL TO— Printing of Hansard	6,000	
		Total—Subdivision No. V	· ·	14,077
		Subdivision No. VI.—Bellamy's.		
1 1 1 5 9	19	SALARIES— Manager (also Custodian) Chef, at £360 Head Waiter Clerk (also Doorkeeper during recess) Attendants, Manager's staff: 1 at 15s. 10d., 1 at 14s. 10d., and 3 at 14s. 4d. per diem Extra Attendants, Manager's staff, during session	570 360 280 275 1,340 3,623	
	20	OTHER CHARGES FOR AND INCIDENTAL TO— Linen, glassware, china, cutlery, plateware, towels,	6,448	
3	21 22	kitchen utensils, uniforms, furniture, &c., for use of members in Bellamy's and Parliamentary Buildings Waintenance of staff during session	676 1,158 220	
		Total-Subdivision No. VI	2,054	8,502
]	Subdivision No. VII.—General Expenses.		•
	23	SALARIES— Electrician in charge of lighting, bells, and telephones during session	150	
	24 25 26 27	Extra Watchmen Furnace Attendant during session Gardeners in grounds Night-watchman	1,800 200 1,125 240	
			3,515	
	1 1	* Also receives \$200 from Justice Denartment.		

^{*} Also receives £200 from Justice Department.

Number of Persons.	Item.	VOTE No. 1.—LEGISLATIVE DEPARTMENTS—	1924-	25.
1924–25.		Subdivision No. VII.—General Expenses—continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	$\frac{28}{29}$	Advertising Bonus to employees whose salaries do not exceed	30	
	29	£350 per annum	600	
	30	Charwomen	3,194	
	$\begin{vmatrix} 31 \\ 32 \end{vmatrix}$	Charwomen Cleaning buildings (three) previous to session Fuel, light, power, and water	$\begin{bmatrix} 100 \\ 2,475 \end{bmatrix}$	
	33	matches, tools, coal-buckets, and shovels (purchase		
		and repairs) Grants of 6 months' salary in lieu of leave of absence on retirement to—	250	
	34	S. Spragg, Chief Hansard Reporter	342	
	35	J. M. Geddis, Hansard Reporter	$egin{array}{c c} 221 & \\ 150 & \\ \end{array}$	
	36	Laundry-work for Legislative Department Parliamentary photographic shield	$\begin{bmatrix} 150 \\ 25 \end{bmatrix}$	
	38	Passages and expenses of witnesses attending Com-		
		mittee	50	
	39	Passages of— Members of both Houses $1,974$	İ	
	40	Members' wives 437	ļ	
			2,411	
	$\begin{vmatrix} 41 \\ 42 \end{vmatrix}$	Postage and telegrams, including parliamentary papers Printing of Statutes, Journals, Appendices, Bills,	900	
	42	Order Papers, &c. (part recoverable)	15,250	
	43	Private Secretary to the Leader of the Opposition	125	
	44	Railway sleeping-berths for Members	$\begin{array}{c c} 300 & \\ 125 & \end{array}$	
	$\begin{vmatrix} 45 \\ 46 \end{vmatrix}$	Refreshments to Messengers on late-sitting nights Repairs to billiard-tables	52	
	47	Travelling allowances and expenses	25	
	48	Typewriters: Purchase and repairs	$\begin{bmatrix} 50 \\ 175 \end{bmatrix}$	
	49 50	Uniforms for messengers Upkeep of parliamentary grounds	125	
	51	Winding and repairing clocks, &c	42	
	52	Window-cleaning, rubbish-removal, and chimney-	415	
	53	sweeping	415	
	00	dental to the other items of this subdivision	25	
		· ·	97. 457	
		Estimated credits-in-aid under Section 48 of the	27,457	
		Public Revenues Act, 1910 (see end of vote) — Fuel, light, power, water, and		
		general attendance supplied other		
		Departments occupying Parlia-		
		ment Buildings 1,300 Sale of—		
		Statutes, Journals, &c. 4,500		
		5,800		
		Total—Subdivision No. VII		30,9
`		Gross Total		75,9
		Credits-in-aid (a)		5,92
		NET TOTAL—VOTE No. 1		69,98
(a.) (redits	s-in-aid— Salaries. Other Charges.	Total.	THE RESIDENCE OF THE PERSONNELS.
· · · /		£	£	
		division I 125 5,800	125	

TREASURY DEPARTMENT.

			No. of State					1924–25.	
						Salarie	es.	ther Charges.	Total.
Vote No. 2	.—Tre	asury Dep	partment—			1	3	£	£
Subdivisio	on I	-Salaries		••		22	406	•••	22,406
,,	II	Miscella	neous Servi	ces				44,722	44,722
,,	III	-Rates on	Crown and	Native Lar	ıds			20	20
Gr	eoss Te	OTAL				22,	406	44,742	67,148
Cr	EDITS-	IN-AID					145	26,946	27,091
NI	ет то	TAL	. ,		·	22,	261	17,796	40,057
								i	<u>.</u>
Number of Persons.	Item.	•						199	24-25.
1924–25.	<u> </u>	VOTI	E No. 2.—	-TREASUI	RY DEP	ARTME	ENT.		
			Subdiv	vision No.	I.—Salar	ries.		£	£
	1	*Salari							;
				NISTRATIVE					
1				retary, Rec neral, Re					
		Zea	land Cons	sols and	New Ze	aland	£		
1		1 at £	cribed Stoc 21,001 (Ass	ck) istant Secr	 etarv an	 d Ac-	1,25	OU	
_		cou	ntant, and	l Deputy I	Registrar	New			
		Zea Ins	cribed Stoc	sols and 1 k)	New Ze	aland	1,00)1	
		Arrea	rs of salar	y of Assist			-,-		
				int, 1st Aj er, 1921, a					
			appropriat				11	.3	
			C	LERICAL D	a.a.v			- 2,364	ŧ.
		Class		LERICAL D	IVISION.				
		1 at	£615		• • •	• • •	61		
4			£565		• • •	***	1,69		
		Class	£470				47	${0}$ 2,310	'
2			£445				44		
		Class						918	
4		4 at Class	£400		•••	•••	•	1,600)
			£380				38	10	
5			£355		•••		1,42	0	
		Class						1,800)
			£335		•••	•••	$\frac{3,01}{1.08}$		
	1 1		£320 £320 (8 m	1 \			$\frac{1,28}{31}$		

^{*} For particulars of salaries see "Public Service Classification List." Note.—Scale salaries or wages include cost-of-living increase.

TREASURY DEPARTMENT—continued.

Number Persons.	Item.		1924-	-25.
		VOTE No. 2.—TREASURY DEPARTMENT—		
924–25.		${m continue} a$.	£	£
		Subdivision No. ISalaries—continued.		~
	1	Salariescontinued.		
		CLERICAL DIVISION—continued.		
		Class VI—continued. \pounds 3 at £295 88		
		1 at £295 (8 months), £275 (4 months) 28		
19		1 at £295 (1 month), £275 (11 months) 27		
		Class VII—	6,057	
		1 at £295 29		
		1 at £295 (8 months), £275 (4 months) 28		
		1 at £285 28 1 at £275 (7 months), £250 (5 months) 26		
		1 at £250 (7 months) , £250 (5 months) 25		
		1 at £230 (7 months), £210 (5 months)		
		1 at £230 (3 months), £210 (9 months) 21		
		1 at £230 (1 month), £210 (11 months) 21		
		2 at £190 38 1 at £190 (5 months), £180 (7 months) 18.		
		1 at £165 \cdots 16		
		1 at £155 15		
		1 at £155 (5 months), £135 (7 months) 14		
		2 at £155 (3 months), £145 (9 months) 29. 2 at £155 (3 months), £135 (9 months) 28.		
		2 at £155 (3 months), £135 (9 months) 28 1 at £135 (11 months), £115 (1 month) 13		
		2 at £135 (7 months), £115 (5 months) 25		
		2 at £115 23		
		1 at £115 (9 months). £100 (3 months) 11 1 at £115 (4 months), £95 (8 months) 10	1	
		1 at £115 (4 months), £95 (5 months) 9	1	
		2 at £95 19		
		2 at £95 (11 months), £80 (1 month) 18		
		1 at £95 (3 months), £80 (9 months) 8 2 at £95 (2 months), £80 (10 months) 16		
		2 at £95 (2 months), £80 (10 months) 16 1 at £95 (2 months), £85 (10 months) 8		
38		4 at £95 (1 month), £80 (11 months) 32	5	
			- 5,605	
		Cadets' lodging-allowances	. 350	
		GENERAL DIVISION.		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		2 at £185 37		
		2 at £160 32		
		1 at £160 (2 mcnths), £145 (10 months) 14		
		1 at £145 14 1 at £130 (8 months), £115 (4 months) 12		
11		1 at £130 (5 months), £115 (7 months) 12		
0.5			_ 1,899	
85			22,900	
		Less salaries provided but not now required .	494	
		Estimated credits-in-aid under Section 48 of th	е	
		Public Revenues Act, 1910 (see end of vote)– Naval Defence: Contribution to-		
		wards salary of Officer 14		
		Total—Subdivision No. I		

Number									
of Persons.	VOTE No. 2.—TREASURY DEPARTMENT— continued							1924	25.
1924–25.		~	ivision No.				ices.	£	£
	2	Adverti	s FOR AND I	ographs			ipers, and	50	
	3		r publicatio exchange,		sion. d	liscount.	and stamp	50	
		duty	(part recov	erable)				24,646	
	4	\mathbf{Robe}	ssionate all rt Humphr					101	
	5		Frown Sttings and	rannici	 taa		•••	$\frac{491}{300}$	·
	6		ne and mea			•••	•••	$\begin{bmatrix} 250 \\ 250 \end{bmatrix}$	
	7		, telegrams					2,500	
	8	Premiu	m due to N	Theat A			iges	6,810	
	9		g and stati		,	n.r.		3,500	
	10		s under th .on 8)	ie Unc	laimed	Moneys	Act, 1908	25	
	11		ms beyond	the Do	 minion	(nart reco	verable)	4,500	
	$\overline{12}$	Telepho	ne services	(includ	ing inst	tallation.	extensions.	1,000	
			tenance, re			•••		160	
	13		ary assista		′ .	•••	•••	475	
	14		ng allowan					350	
	15		of interest elled by Tre					10	
	16		f interest c					10	
	10		nsit after c			1 050 01110	c, out 10st	10	
	17		awing worn			rt recover	able)	620	
	18	Conting	encies, inc	luding	unfores	een exper	diture in-		
			tal to the o					25	
		raet.	timated cre				of vote)—		
			I ubile ite	venues .	act, 19.	ro (see end	£		
		I	Bank excha	nge, &c.			$22,\widetilde{1}46$		
		I	Premiums of	n remitt	ances to		1,500		
			elegrams b		he D o r	ninion	3,000		
		13	Aiscellaneoi	us	•••	•••	300		
	:						26,946		
1			Tot	tal —Su	bdivisio	n No. II			44,72
	8	Subdivison	No. III.—I	Rates on	Crown	and Nati	ve Lands.		
1		Pavable	under secti	ion 108	of the	Rating Ac	t. 1908—		
	19		al rates on						
		ofs	ecurity give	n by lo	cal bod:	ies for cer	tain loans		
ļ	20	Specia	l rates on	Native	Lands,	payable i	n respect	10	
ĺ	21	Of Street	ecurity give t of special	n by lo	cal bod:	les for cer	tain loans	5	
	41	Crown	ı, as provi	ded by	section	n 112 of i	the Local	9	
		Bodie	s' Loans Ac	et, 1913	00000				
				·				5	
			Tot	al—Sul	divisio	n No. III			2
			Gross To	TAL	•••				67,14
			CREDITS-II	N-AID (a)				27,09
	.		NET TO	'ALV	OTE I	No. 2			40,05
					~	1	Other	1924–25.	
redits-in					S	alaries. £	$\begin{array}{c} \text{Charges.} \\ \mathfrak{L} \end{array}$	$egin{array}{c} ext{Total.} \ ext{\pounds} \end{array}$	
Subd	livisio	a I		••		$1\overline{4}5$		145	
Subc	livisio	ı II	• •				26,946	26,946	
		Totals				145	26,946	${27,091}$	

DEPARTMENT OF INLAND REVENUE.

					1924–25.	
	-			Salaries.	Other Charges.	Total.
Vote No. 3.—Land and Incom	ae Tax D	epartment-	_	£	£	£
GROSS TOTAL				32,776	24,909	57,685
Credits-in-aid				60	1,090	1,150
NET TOTAL				32,716	23,819	56,535
Vote No. 4.—Stamp Duties I	Departme	ent—				
Subdivision I.—Stamp Dut	ies D epar	rt m ent		17,771	19,098	36,869
" II.—Land and I	Deeds Reg	$\eta istry$		32,034	22,375	54,409
GROSS TOTAL	• •	••	••	49,805	41,473	91,278
CREDITS-IN-AID				•••	6,900	6,900
NET TOTAL	• •	• •		49,805	34,573	84,378
TOTALS—CRED	ITS-IN-A	AID	-	60	7,990	8,050
TOTALS—NET	••	• •	-	82,521	58,392	140,913

Number of Persons.	Item.	VOTE No. 3.—LAND AND INCOME TAX DEPARTMENT.					1924–25.	
1924–25.							£	£
	1						2	•
1		1 at £1,250 (Commissio	ner)	•••		1,250	
		Class Special—			•	£		
		1 at £765	•••	• • •		765		
2		1 at £665			•••	665		
	-						1,430	
		~ -	CLERICAL	Division.				
		Class I—					0.000	
4		4 at £565		•••	• • • •	•••	2,260	
	'	Class III—					0.115	
7		7 at £445		•••	•••	•••	3,115	
_	}	Class IV—					2,800	
7		7 at £400		• • •	***	•••	2,000	
		Class V— 3 at £380				1,140		
4		1 at £355		•••	***	355		
4		Class VI—		•••	•••	300	1,495	
		4 at £335				1,340	1,100	
		3 at £320		•••	••	960		
		1 at £295		•••		295		
12		4 at £275				1,100		
. 14		1 (1 2 2 1 2		• • •			3,695	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

DEPARTMENT OF INLAND REVENUE—continued.

Number of Persons.	Item.		LAND AND INATMENT—contin		AX	1924–	25.
1924-25.				rwa.	-	£	
	1	SALARIES—continu	iea.			at	£
			CAL DIVISION—con	tinued.			
		Class VII—			£		
		1 at £275 5 at £250	•••	•••	$egin{array}{c c} 275 & \ 1,250 & \ \end{array}$		
		11 at £230	•••	•••	2,530	-	
		7 at £210	•••	•••	1,470		
		12 at £190	•••		2,280	i	
		13 at £155	•••	•••	$\frac{2,015}{405}$		
		11 at £135 17 at £115	•••	•••	$\frac{1,485}{1,055}$		
95		18 at £95	•••	•••	1,955 1,710		
00		10 81 200	•••	•••		14,970	
		Cadets' o ging-	allowances	•••		632	
	-	(-	General Division.				
		6 at £255	•••		1,530		
		1 at £225	•••	•••	225		
		1 at £205	•••	•••	205		
10		1 at £145 1 at £130	••	•••	$145 \mid 130 \mid$		
		1 00 2100	•••	•••		2,235	
142							
	-	Loog galario	es provided but not	nou vocu	irod	$\frac{33,882}{1,106}$	
		Less sararre	ss provided but not	now requ	ired	1,100	
		Public I Amount Duties	credits-in-aid under Sevenues Act, 1910 recoverable from Department in res s of Inspectors	(see end c Stamp			
			•			32,776	
	2 3	Advertising, ph other publicat Amount required	OR AND INCIDENTAL otographs, books, iions d for credit of Cons on: Land-tax 192	newspap olidated F	und	550	
		to be refund	ded			83	
	5	Expenses Royal	Commission on Tafees payable to	exation	Inquiry	800	
		Commissioner	s		1	550	
	6	Law-costs (part	recoverable)			4,000	
	7 8	Ornce equipment Overtime and m	t (furniture, fitting	s, and ma	cninery	350 500	
			ervices rendered	by other	Depart-	500	
	9		atistics Departmen	ıt—			
	10	Amount pay	able for cards and	labour		350	
	$\begin{vmatrix} 10 \\ 11 \end{vmatrix}$	Post and Tel	ertment for services egraph Departmen			200	
	12	officers Valuation Dep	nartment	•••	•••	$\begin{bmatrix} 2,000 \\ 2,627 \end{bmatrix}$	
	13		ns, and rent of box	es		3,000	
	14	Printing and sta		• • • • • • • • • • • • • • • • • • • •		4,000	
	15	Refund of Land	l-tax to W. F. Ev		uka, as		
	16	Refund to Booth	by Public Petitions and Company, I	London (I	ee imited),	55	
	17		paid in excess, 191	9-20	•••	$\frac{2,323}{76}$,
	$\begin{vmatrix} 17 \\ 18 \end{vmatrix}$	Rent of offices Repairs and rene	ewals to office equi	oment		$\begin{bmatrix} 76 \\ 200 \end{bmatrix}$	
	19		es (including instal			200	
			rent, and calls)	•••		145	

DEPARTMENT OF INLAND REVENUE—continued.

	Item.		. 3.—LAND EPARTMEN			rax	1924	–25.
.924–25.	20 21 22	OTHER CHARG Temporary Travelling a Contingenci cidental t Estima	ES FOR AND IN	cidental expenses unforese oms of the aid unde Act, 1910	s en expende vote r Section (see end	diture in-	100	£
		fer Misc Trav rec	ndants ellaneous elling allowand coverable from	 ees and e	 xpenses Duties	1,000 50		
			epartment in re Inspectors	spect or s	services	40		
						1,090		
		Gr	oss Totāl		•••	•••	24,909	57,68
		Cr	EDITS-IN-AID (a)	•••	•••		1,15
		NI	ET TOTAL—V	VOTE N	o. 3			56,53
	1	SALARIES-	CLERICAL D	Oivision.				
		Special Clas		Division.				
	1		s				715	
1	1	1 at £715 Class I— 2 at £615	8—	•••		 £ 1,230	715	
3		1 at £715 Class I— 2 at £615 1 at £565 Class II—	s—	•••		£ 1,230 565	715 1,795	
		1 at £715 Class I— 2 at £615 1 at £565 Class II— 1 at £515 1 at £490	s—			£ 1,230	1,795	
3		1 at £715 Class I— 2 at £615 1 at £565 Class II— 1 at £515	s—			$ \begin{array}{r} £ \\ 1,230 \\ 565 \\ \hline 515 \end{array} $		
3		1 at £715 Class I— 2 at £615 1 at £565 Class II— 1 at £515 1 at £490 Class IV— 4 at £400 Class V— 1 at £355 Class VI—	s—			£ 1,230 565 515 490	1,795	
3 2 4 1		1 at £715 Class I— 2 at £615 1 at £565 Class II— 1 at £515 1 at £490 Class IV— 4 at £400 Class V— 1 at £355 Class VI— 6 at £335 3 at £320	s —			£ 1,230 565 515 490 2,010 960	1,795 1,005 1,600	
3 2 4		1 at £715 Class I— 2 at £615 1 at £565 Class II— 1 at £515 1 at £490 Class IV— 4 at £400 Class V— 1 at £355 Class VI— 6 at £335 3 at £320 4 at £295 Class VII—	s —			£ 1,230 565 515 490 2,010 960 1,180	1,795 1,005 1,600	
3 2 4 1		1 at £715 Class I— 2 at £615 1 at £565 Class II— 1 at £515 1 at £490 Class IV— 4 at £400 Class V— 1 at £355 Class VI— 6 at £335 3 at £320 4 at £295 Class VII— 1 at £250 4 at £230	s —			£ 1,230 565 515 490 2,010 960 1,180 250 920	1,795 1,005 1,600 355	
3 2 4 1		1 at £715 Class I— 2 at £615 1 at £565 Class II— 1 at £515 1 at £490 Class IV— 4 at £400 Class V— 1 at £355 Class VI— 6 at £355 3 at £320 4 at £295 Class VII— 1 at £250 4 at £230 5 at £210	s —			£ 1,230 565 515 490 2,010 960 1,180 250 920 1,050	1,795 1,005 1,600 355	
3 2 4 1		1 at £715 Class I— 2 at £615 1 at £565 Class II— 1 at £515 1 at £490 Class IV— 4 at £400 Class V— 1 at £355 Class VI— 6 at £335 3 at £320 4 at £295 Class VII— 1 at £250 4 at £230	s —			£ 1,230 565 515 490 2,010 960 1,180 250 920	1,795 1,005 1,600 355	
3 2 4 1		1 at £715 Class I— 2 at £615 1 at £565 Class II— 1 at £515 1 at £490 Class IV— 4 at £400 Class VI— 6 at £355 Class VI— 6 at £320 4 at £295 Class VII— 1 at £250 4 at £230 5 at £210 9 at £190 7 at £155 3 at £135	s —			£ 1,230 565 515 490 2,010 960 1,180 250 920 1,050 1,710 1,085 405	1,795 1,005 1,600 355	
3 2 4 1		1 at £715 Class I— 2 at £615 1 at £565 Class II— 1 at £515 1 at £490 Class IV— 4 at £400 Class VI— 6 at £355 Class VI— 6 at £320 4 at £295 Class VII— 1 at £250 4 at £230 5 at £210 9 at £190 7 at £155	s —			£ 1,230 565 515 490 2,010 960 1,180 250 920 1,050 1,710 1,085	1,795 1,005 1,600 355 4,150	
3 2 4 1	Credi	1 at £715 Class I— 2 at £615 1 at £565 Class II— 1 at £515 1 at £490 Class IV— 4 at £400 Class V— 6 at £355 Class VI— 6 at £335 3 at £320 4 at £295 Class VII— 1 at £250 4 at £230 5 at £210 9 at £190 7 at £155 3 at £135 5 at £115	s —			£ 1,230 565 515 490 2,010 960 1,180 250 920 1,050 1,710 1,085 405 575 760	1,795 1,005 1,600 355 4,150 6,755	
3 2 4 1 13		1 at £715 Class I— 2 at £615 1 at £565 Class II— 1 at £515 1 at £490 Class IV— 4 at £400 Class V— 1 at £355 Class VI— 6 at £335 3 at £320 4 at £295 Class VII— 1 at £250 4 at £230 5 at £210 9 at £190 7 at £155 3 at £135 5 at £115 8 at £95				£ 1,230 565 515 490 2,010 960 1,180 250 920 1,050 1,710 1,085 405 575 760	1,795 1,005 1,600 355 4,150	
3 2 4 1 13	Sa	1 at £715 Class I— 2 at £615 1 at £565 Class II— 1 at £515 1 at £490 Class IV— 4 at £400 Class V— 1 at £355 Class VI— 6 at £335 3 at £320 4 at £295 Class VII— 1 at £250 4 at £230 5 at £210 9 at £155 3 at £155 3 at £155 3 at £155 5 at £115 8 at £95 ts-in-aid— alaries				£ 1,230 565 515 490 2,010 960 1,180 250 920 1,050 1,710 1,085 405 575 760	1,795 1,005 1,600 355 4,150 6,755	

DEPARTMENTS OF INLAND REVENUE—continued.

Number of Persons.	Item.		1924	-25.
1924–25.	- 	VOTE No. 4.—STAMP DUTIES DEPARTMENT— continued.	£	
		Subdivision No. I.—Stamp Duties—continued.	£	£
	1	Salaries—continued.		
		GENERAL DIVISION.		
		1 at £250 250 4 at £230 920 1 at £185 185 2 at £175 350		
11		2 at £145 290 1 at £130 130		
	-	1 80 \$130 130	2,125	
77	-	Less salaries provided but not now required	18,500 729	
		F	17,771	
		·		
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	$\begin{vmatrix} 2 \end{vmatrix}$	Advertising, books, photographs, newspapers, and other publications	. 25	
	3	Allowances to officers performing special or higher duties	100	
		Amusements-tax—	100	
	$\begin{vmatrix} 4 \\ 5 \end{vmatrix}$	Inspection and collection Printing tickets (recoverable)	$\begin{array}{c c} 50 \\ 150 \end{array}$	
	6	Freight, cartage, and transport charges	150	
	7	Fuel, light, power, and water	250	
	8	Law-costs	150	
	9	Mechanical appliances, adding-machines, &c	200	
	10	New postage dies and plates	120	
	11	· Office-cleaning	20	
	$\begin{vmatrix} 12 \\ 13 \end{vmatrix}$	Office equipment	$\begin{array}{c c} 650 \\ 20 \end{array}$	
	19	Payment for services rendered by other Depart-	20	
	14	ments— Department of Internal Affairs—	İ	
		Part cost of inspection of totalizators	773	
	15	Postage, telegrams, and rent of boxes	1,500	
	16	Printing and stationery	2,000	
	11	Annual license duty to—	700	
	17	Dalgety and Company (Limited)	500	
	18	Dixon Investment Company (Limited)	880	
	19 20	Duty on transfer: Glenny to Glenny Stamp duty on option to purchase in favour of	132	
	20	Frederick William Kemp	18	
	21	Relieving-allowances	100	
	22	Rent	1,575	
	23	Samoan stamps (recoverable)	50	
		Stamp-printing (part recoverable)—		
	24	Wages and overhead expenses 4,700	1.	
	25	Printing-ink 700	1	
	$\begin{vmatrix} 26 \\ 27 \end{vmatrix}$	Repairs to machinery 100 Stamp paper $2,000$		
	28	Telephone services (including installation, exten-	7,500	
	-	sions, maintenance, rent, and calls)	250	
	29	Temporary assistance	750	
	30	Transfer and removal expenses	360	
	31	Travelling expenses and allowances	150	
	32	Typewriters: Purchase and repairs	250	
	33	Valuation fees	300	

Number	1 !						
of Persons.	Item.	VOTE No 4.—STA	1924–25.				
1924–25.	<u> </u>	Subdivision No.	I.—Stamp Dut	es—conti	nued.	£	G
		OTHER CHARGES FO	OR AND INCIDENT	AL TOc	intinued.	æ	£
	34	Valuator's service				75	
	35	Estimated cred	other items of the its-in-aid under S Act, 1910 (see en	nis subdiv Section 48	ision of Public	50	
		Cost of print Law-costs ar	sing amusement- id miscellaneous arcels of stamped	tax ticke l forms .	s 100 500		
					6,900		
		T	otal—Subdivision	No. I	•••	19,098	3 6,869
	36	Subdivision No.	$II\!\!\!-\!$	eeds Regi	stry.		•
	50		essional Divisio	on.	. <u>£</u>		
		1 at £837 (Registr	ar-General of La Registrar, Welling	nd and	837		
2		1 at £765	egistiai, weiiing		765		
		Class A—			715	1,602	
3		1 at £715 2 at £615	•••		1,230		
		Class B—				1,945	
		2 at £590 1 at £565			$\frac{1,180}{565}$		
5		2 at £540	•••		1,080	,	
		Class C			400	. 2,825	
3		1 at £490 2 at £470	•••		490 940		
		·	Dresses			1,430	
		Class IV—	ERICAL DIVISION.				
8		8 at £425	•••	• • •	•••	3,400	
		Class V— 5 at £380	•••		1,900		
6		1 at £355	• • • • • • • • • • • • • • • • • • • •		355		
		Class VI— 5 at £335			$\overline{1,675}$	2,255	
8		3 at £320	•••	• • •	960		
		Class VII				2,635	
		12 at £295			3,540	,	
i	i . i	6 at £275 2 at £250	***		$egin{array}{c} 1,650 & 500 & 500 \end{array}$	1	
		4 at £230	***		920		
		5 at £210			1,050		
		11 at £190			2,090		
		14 at £155	•••	•••	2,170		
		2 at £135 4 at £115	•••	•••	$\begin{bmatrix} 270 \\ 460 \end{bmatrix}$		
		7 at £95	•••	•••	665		
72		5 at £80	•••		400		
		Q	D			13,715	
İ		GE1 1 at £250	NERAL DIVISION.		250		
		1 at £210	•••		210	. [
		7 at £185	•••		1,295	1	
		6 at £175	•••	• • •	1,050		
		2 at £160	•••	• • •	320		
		2 at £145	•••	•••	290		
00	- 1	1 04 0190					
20		1 at £130	•••	•••		3 ,545	

To THE R. L. W. L. L. A.				
THEPARTMENT	OW	T NI L. A. NI LY	REVENUE —continued.	
D131 GT01 GT1314 7	Or.	THUTHD	THE VERY OLD — COMMINGE.	

		Total—Subdivision No. II	22,375	54,409
	- 1	cidental to the other items of this subdivision	50 .	
	56 57	Typewriters: Purchase and repairs Contingencies, including unforeseen expenditure m-	250	
	55	Travelling expenses and allowances	150	
	54	Transfer and removal expenses	100	
	53	maintenance, rent, and calls) Temporary assistance	$ \begin{array}{c c} 500 \\ 1,850 \end{array} $	
	52	Telephone services (including installation, extensions,	Ì	
	51	Rent	2,900	
	49 50	Printing and stationery	2,000	
	48	Postage, telegrams, and rent of boxes	200	
		draughtmen's work performed	11,100	
	47	Payment to Lands and Survey Department for		
	46	Ornce equipment Overtime and meal allowances	25	
	44 45	Office-cleaning Office equipment	$\begin{bmatrix} 50 \\ 1,150 \end{bmatrix}$	
	43	Law-costs	50	
		Transfer fees	25	
	1.21	ment of Lands and Survey) for suggestion re Land		
	$\begin{vmatrix} 41 \\ 42 \end{vmatrix}$	Fuel, light, power, and water Grant to W. C. Leversedge (draughtsman, Depart-	350	
	40	Freight, cartage, and transport charges	25	
	39	Binding	550	
+ 2		or higher duties	50	
	38	other publications Allowances to officers temporarily performing special	900	
	37	Advertising, photographs, books, newspapers, and	900	
		OTHER CHARGES FOR AND INCIDENTAL TO	32,034	
		Less salaries provided but not now required	$\begin{array}{c c} 33,378 \\ 1,344 \end{array}$	
		to 31st March, 1924	26	
		Arrears of increment to salary of C. E. Nalder, Registrar-General of Land (£765), from 1st April, 1923,		
 r		GENERAL DIVISION—continued.		
	36	SALARIES—continued.		
1021-20.		Subdivision No. II.—Land and Deeds Registry—continued.	£	£
1924-25.		VOTE No. 4-STAMP DUTIES DEPARTMENT— continued.	1924	40,

Totals

NATIONAL PROVIDENT AND FRIENDLY SOCIETIES DEPARTMENT.

						1	1924–25.	
					Salarie	s. Ot	her Charges.	Total.
ote No. 5		tional Provident ar Department—	nd Friendly So	ocieties		£	£	£
Gr	eoss T	TOTAL	••		9,	848	13,384	23,232
$_{\mathrm{Cr}}$	EDITS	-IN-AID			•••		10	10
NI	ET TO	OTAL			9,	848	13,374	23,222
Number of Persons.	Item.		and the state of t	,			192	4–25.
1924–25.			-NATIONAL SOCIETIE		VIDENT ARTMEN		£	£
	1	*Salaries—	CLERICAL DI	VISION				
		Class II—	CLERICAL DI	VISION.				
1		1 at £515 Class III	,	•••	•••		. 515	
1		1 at £445 Class V—		•••	•••	 £	. 445	
4		3 at £380 1 at £355		•••	•••	$\frac{1,140}{358}$		
5		Class VI— 5 at £335			•••	••	_ 1,495 . 1,675	
		Class VII— 4 at £295		•••	a; 4 +	1,180		
	1	2 at £250 1 at £230		•••		500 230)	
		4 at £210 1 at £190		•••	•••	840 190		
		4 at £155 2 at £135		•••		620 270		
27		4 at £115 5 at £95				460 478	Ď	
		Cadets' lodgin	g-allowances	•••	•••		- 4,765 . 163	
		1 0105	GENERAL DI	vision.			10#	

Proportion of salaries to be recovered by the Government Insurance

Less salaries provided but not now required

1 at £185

1

39

185

800

195

10,043

9,848

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

NATIONAL PROVIDENT AND FRIENDLY SOCIETIES DEPARTMENT—continued.

Number of Persons.	Item.		1924-	25.
1924–25.	[VOTE No. 5.—NATIONAL PROVIDENT AND		
		FRIENDLY SOCIETIES DEPARTMENT—cont.	£	£
		O C		
	2	OTHER CHARGES FOR AND INCIDENTAL TO—	50	
	$\begin{vmatrix} 2 \\ 3 \end{vmatrix}$	Audit Office for inspection of Accounts	5,700	
	$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	Commission, allowances, and agency expenses Commission on money-orders for approved Friendly	0,100	
	*	Societies maternity claims	70	
	5	Fuel, light, power, and water	80	
	6	Maternity payments specially approved	18	
	7	Office fittings and requisites	450	
	8	Overtime and meal allowances	100	
	"	Payments to—	100	
	9	Government Insurance Department for services of		
		charwomen	35	
	10	Officers of Friendly Societies for statistical returns	33	
		of sickness and mortality	1,000	
	11	Post and Telegraph Department for services	1,000	
		rendered	650	
	12	Postage, telegrams, and rent of boxes	600	
	13	Printing and stationery	650	
	14	Rent	1,400	
	15	Shortages due to contributions over-credited	1	
	16	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	130	
	17	Temporary assistance	1,800	
	18	Transfer and removal expenses	100	
	19	Travelling allowances and expenses	400	
	20	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of the vote	60	
	1	WAR EXPENSES—	13,294	
	21	Assistance to Sick and Funeral Funds of Friendly		
		Societies on account of deficiencies due to the war		
		and of excess after-discharge sickness	90	
		. •	ł	
		Estimated credits-in-aid under Section 48 of		
		the Public Revenues Act 1910 (see end of		
		vote)— £10		
		· ·		
			13,384	00 000
		GROSS TOTAL		23,232
		CREDITS-IN-AID		10
		NUMBER OF STREET		
		NET TOTAL—VOTE No. 5		23,222

WORKING RAILWAYS DEPARTMENT.

		· . —				192	4-25.
				·		T	otal.
Vote	No. 6.— Working Rai	lways—		•			£
	GROSS TOTAL	•••	•••	•••	•••	6,	928,300
	CREDITS-IN-AID			•••	•••		783,256
	NET TOTAL	•	•••	•••	•••	6,	145,044
	GROSS	REVENUE	•••	•••		1	mated. 00,000
Item.						1924-	05
. 1	VOTE No. 6 Head Office—	-WORKING	i RAILW	AYS.*	'	3,063 N	villes.
	General Manager 2 Assistant Gene Superintendent Clerk, £665; (sistant Chief A Stores, £715; (Charge Advert Refreshment B ——1 at £715, 1 a Traffic Auditor £470, 1 at £445 1 at £445, 4 at £370, 1 at £350	of Transpo Chief Account accountant, a General Inspi ising Branch ranch, £665; at £665; Lav , £490; 4 A ; 91 Clerks- ; £420, 3 at	ortation, antant, £79 £615; Coector, £66 , £665; (2 Common Officer, audit Insp.—2 at £61 £395, 1 a	£837; Chief 0 10s.; Asmptroller of 5; Officer in Controller of ercial Agents £615; Chief ectors—3 at £470, t £380, 4 at		£2,700	£
	23 at £295, 4 at £225, 1 at £205 8 at £85, 9 at 7 at £40, 4 at £ Contingencies—The sistance, pay a night-watchmer allowances and under the Regment Railways ances to member transfer in excaccrued leave allowance to see the second seco	t £285. 10 at t; 24 Cadets- £70; Cadets 30; 3 at £20 emporary cle of office-clea n, stationery a expenses, a culations made Act, 1908, pers and allowess of the due to dece	£265, 16 a 4 at £126 2 lodging-a rical and ners, mes and suppli llowances de under increased wances to regulation ased mem	at £245, 4 at £7, 3 at £100, allowances— drafting assengers, and es, travelling to members the Governnight allowmembers on s, value of bers, special	4	2,953	
	Appeal Board sittings of Wa Royal Commiss penditure incide Estimated cr Public R Department	cases, expensions, and all ental to the cedits-in-aid understands of Internation, and Labon, and Lab	ses in con Inquiry I other un other items ander Secti 1910 (see e I Affairs: Ministers our: 1 at	nection with Boards, and foreseen ex- s of the vote on 48 of the nd of vote)— Salaries of of Railways,	2	0,000	
]		

^{*}For particulars of salaries see Railways Department Classification List, "D.-3." Note.—Scale salaries or wages include cost-of-living increase.

WORKING RAILWAYS—continued.

Item 1924-25. 3,063 Miles. VOTE No.6 - WORKING RAILWAYS-continued. DEPARTMENTAL OFFICES-Maintenance Branch — Chief Engineer, £1,137 10s.; £ Assistant Chief Engineer, £790 10s.; 2:Inspecting Engineers, £765; Officer in Charge, Architectural Branch, £837; 9 District Engineers—2 at £765, 2 at £715, 5 at £665; 4 Assistant Engineers—2 at £565, 2 at £490; 1 Land Officer, £615; 1 Surveyor, £490; 2 Inspectors of Building Construction—1 at £470, 1 at £335; 1 Workshop Manager at £350; 90 Clerks and Draughtsmen— 1 at £615, 5 at £515, 3 at £470, 10 at £420, 1 at £380, 4 at £370, 1 at £360, 1 at £350, 2 at £325, 6 at £320, 7 at £300, 19 at £295, 3 at £285, 15 at £265, 8 at £245, 4 at £225; 37 Cadets—6 at £135, 9 at £125, 3 at £110, 6 at £100, 4 at £85, 1 at £80, 8 at £70; Cadets' lodging-allowances—3 at £40, 3 at £30, 3 at £20. Signal Branch-Signal Engineer, £837; Assistant Signal Engineer, £715; Chief Clerk, £470; 2 Draughtsmen —1 at £470, 1 at £245; 5 Clerks— 1 at £350, 2 at £295, 1 at £245, 1 at £225; 2 Civil Engineering Cadets — 1 at £135, 1 at £95; 2 Cadets—1 at £125, 1 at £85; Cadet's lodging-allowance-1 at £30; 1 Chief Signal Inspector at £470; 1 Electrical Mechanician at £380; 6 Signal Inspectors—2 at £420, 1 at £370, 1 at £320, 2 at £300; 1 Chief Electric Lines Inspector at £470; 6 Electric Lines Inspectors—3 at £420, 2 at £350; 1 at £320; 1 Superintendent of Signal-shops at Locomotive Branch - Chief Mechanical Engineer, £1,137 10s.; 1 Assistant Chief Mechanical Engineer at £850 ($7\frac{1}{2}$ months approximately); 4 Locomotive Engineers—2 at £765; 1 at £715, 1 at £665; 4 Assistant Locomotive Engineers—1 at £490, 1 at £395, 1 at £350; 1 at £335; 2 Locomotive Inspectors—1 at £565, 1 at £420; 1 Assistant Locomotive Inspector at £370; 2 Boiler Inspectors—2 at £470; 3 Brake Inspectors—1 at £350, 1 at £335, 1 at £320; 51 Clerks and Draughtsmen—1 at £615, 1 at £565, 2 at £515, 1 at £470, 5 at £420, 4 at £370, 2 at £350, 4 at £325, 3 at £320, 14 at £295, 2 at £285, 1 at £265, 10 at £245, 1 at £225; 14 Cadets—7 at £125, 1 at £110, 1 at £100, 2 at £85; 3 at £70; Cadets' lodging-allowances—3 at £40, 1 at £30. ... Traffic Branch—8 District Traffic Managers—1 at £837, 3 at £765, 4 at £665; 1 District Manager, at £615; 4 Assistant District Traffic Managers-3 at £615, 1 at £565; 169 Clerks-4 at £490, 2 at £470, 4 at £445, 4 at £420, 2 at £395, 11 at £370, 4 at £350, 1 at £330, 4 at £325, 24 at £320, 42 at £295, 4 at £285, 19 at £265, 25 at £245, 19 at £225; 43 Cadets—1 at £145, 11 at £125, 9 at £100, 5 at £85, 17 at 70; Cadets' lodging-allowances—15 at £40, 6 at £30, 7 at £20 Contingencies—Temporary clerical and draughting as-151,810 sistance, stationery and supplies, travelling allowances and expenses, allowances to members under Regulation No. 86 (made under the Government Railways Act, 1908), increased night allowances to members and allowances to members on transfer in excess of the regulations, value of accrued leave due to deceased members, and all other unforeseen expenditure incidental to the other items of the vote 10,000 161,810Total Head and Departmental Offices 227,463

WORKING RAILWAYS—continued.

Item.		1924	-25.
	VOTE No. 6-WORKING RAILWAYS-continued.	3,063	Miles.
3	Working-expenses of Sections-	£	6
	Including salaries and wages; allowances made to members by regulations made under section 68 of the Government Railways Act, 1908, for special work performed in the course of their duty; payments for Sunday duty; general repairs and miscellaneous services; supplies of stores, provisions, stationery, water, and material; advertising; compensation for accidents, personal injuries received, loss of property by fire, damage to or loss of goods; freights on goods lost or destroyed; postages, telegrams, telephones, maintenance of wires; payments under the Workers' Compensation Acts; payments in connection with works outside railway boundaries in which Department has beneficial interest; compassionate allowances; temporary clerical and draughting assistance; travelling allowance and expenses; allowances to members under Regulation No. 86 (made under the Government Railways Act, 1908); increased night allowances to members and allowances to members on transfer in excess of the regulations; value of accrued leave due to deceased members; stationery and supplies; also contingencies and all other unforeseen expenditure incidental to the other items of the vote—	£	£
	Maintenance of Way and Works— Section— Whangarei Kaihu Gisborne North Island Main Line and Branches South Island Main Line and Branches Westport Nelson Picton Special allowance to ex-Inspector J. Smith for originating idea of ballast plough	64,000 5,000 14,000 667,000 607,000 16,000 14,000 16,950	
	Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote) £10,000		
1		1,404,000	
	Maintenance of Signals, Telegraphs, and Telephones— Section— Whangarei Gisborne North Island Main Line and Branches South Island Main Line and Branches Westport Nelson Picton Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote) £50	930 190 46,730 32,140 675 110 205	
		80,980	

WORKING RAILWAYS—continued. Item. 1924-25. VOTE No. 6-WORKING RAILWAYS-continued. 3,063 Miles. 3 Working-expenses of Sections—continued. Locomotive Running and Repairs and Renewals of $Rolling ext{-stock}-$ £ £ Section-35,460 Whangarei Kaihu 3,950 16,310 Gisborne North Island Main Line and Branches [1,426,000]... South Island Main Line and Branches 962,98037,150 11,960 13,990 Westport Nelson Picton Allowance to enginemen and firemen employed on 200 Rimutaka Incline Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of Traffic Expenses --2,508,000 Section-Whangarei 17,0002,600 7,500 Kaihu Gisborne ... North Island Main Line and Branches 811,590 718,250 28,500 South Island Main Line and Branches Westport ... Nelson 8,500 ... Picton 10,500 Allowance to guards employed on Rimutaka Incline 100 Misappropriation: L. A. McLean, Clerk, Railways Money stolen by burglars -From New Lynn Station From Avondale Station ... 27 From Papanui Station From Pareora Station Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of £18,200 1,604,591 Lake Wakatipu steamer service 14,000 Miscellaneous-Allowances to be paid to members of the First and Second Divisions in excess of the maximum rates of pay set forth in the schedules to the Government Railways Act, 1912, for special work performed in the course of their duty £101 Less already provided for under the various sections ... 100 500 Audit fees for inspection of accounts Commission of Inquiry into working of New Zealand Railways, expenses in connection with 8,000 Compassionate payments in connection with derailment of Auckland-Wellington express train near Ongarue on 6th July, 1923 5,000 Expenses in connection with-Members of Railway Department visiting Australia, England, and America on official business 500 Fee to Chairman of Railway Appeal Boards 50 Government Railways Superannuation Fund con-80,000 Material and work done for departmental and other

accounts (recoverable)

Part cost of providing materials and repairing Sulphide Corporation railway-sidings at Cockle Creek, New South Wales 100,000

195

CREDITS-IN-AID (a)	WORKING RAILWAYS—continued.	- Allerta Company of the Company of	
Working-expenses of Sections—continued. Miscellaneous—continued. Salary granted to members in terms of regulations, in line of leave on retirement Special allowance to Private Secretary: 1 at £380 Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (additional), (see end of vote) Total Head Office, Departmental Offices, and Working-expenses of Sections Stores Branch— Purchase of stores and .material and store expenses, including salaries, wages, cartage, freights, miscellaneous services, workers' compensation for accidents, contingencies 1,525,000 Less estimated credits for stores to be issued, provided for in other votes and items 1,425,000 State Sawmitls— Purchase of land, timber, expenses of working mills, including salaries, wages, machinery, supplies, repairs, transport charges, trant construction, royalties, workers' compensation for accidents, and contingencies— Manakun Sawmill 90,000 Pukete Timber Reserve 500 Pokako Timber Reserve 500 Pokako Timber Reserve 500 Pokako Timber Reserve 500 Pokako Timber Reserve 500 Less estimated credits 146,200 Advances to High Commissioner's Imprest Account for purchase of stores, &c 55,000 Advances to High Commissioner's Imprest Account for purchase of stores, &c 55,000 Total Stores Branch 235,000 Amount required to cover cost of material and work done for departmental and other accounts 650,000 Gross Total 56,000 Gross Total 6,928,300 Gross Total 6,928,300 Total Credits-in-aid 6,928,000 Gross Total 6,145,044 Credits-in-aid 6,145,044 Credits-in-aid 6,145,044 Credits-in-aid 6,145,044 Credits-in-aid 6,145,044 Credits-in-aid 6,145,044 Credits-in-aid 6,145,044 Credits-in-aid 6,145,044 Credits-in-aid 6,145,044 Credits-in-aid 6,145,044 Credits-in-aid 6,145,044 Credits-in-aid 6,145,044	VOTE No. 6 WORKING RAILWAYS continued	192	4-25.
Miscellaneous—continued. Salary granted to members in terms of regulations, in lieu of leave on retirement Special allowance to Private Secretary: 1 at £380 Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (additional), (sue end of vote) Total Head Office, Departmental Offices, and Working-expenses of Sections Stores Branch— Purchase of stores and material and store expenses, including salaries, wages, cartage, freights, miscellaneous services, workers' compensation for accidents, contingencies Purchase of land, timber, expenses of working mills, including salaries, wages, machinery, supplies, repairs, transport charges, tran construction, royalies, workers' compensation for accidents, and contingencies— Purchase of land, timber, expenses of working mills, including salaries, wages, machinery, supplies, repairs, transport charges, tran construction, royalies, workers' compensation for accidents, and contingencies— Purchase of land, timber, expenses of working mills, including salaries, wages, machinery, supplies, repairs, transport charges, tran construction, royalies, workers' compensation for accidents, and contingencies— Purchase of land, timber, expenses of the same contingencies— Purchase of land, timber, expenses of the same contingencies— Purchase of land, timber, expenses of the same contingencies— Purchase of land, timber, expenses of the same contingencies— Purchase of land, timber, expenses of the same contingencies— Purchase of land, timber, expenses of the same contingencies— Purchase of land, timber, expenses of the same contingencies— Purchase of land, timber, expenses of the same contingencies— Purchase of land, timber, expenses of the same contingencies— Purchase of land, timber, expenses of the same contingencies— Purchase of land, timber, expenses of the same contingencies— Purchase of land, timber, expenses of the same contingencies— Purchase of land, timber, expenses of the same contingencies— Purchase of land, timber, expenses of t		3,063	Miles.
Salary granted to members in terms of regulations, in lieu of leave on retirement			
Public Revenues Act, 1910 (additional), (see end of vote) 204,266	Salary granted to members in terms of regulations, in lieu of leave on retirement	10,000	
Total Head Office, Departmental Offices, and Working-expenses of Sections	Public Revenues Act, 1910 (additional), (see		
Stores Branch	A Company of the Comp	204,266	ı.
Purchase of stores and material and store expenses, including salaries, wages, cartage, freights, miscellaneous services, workers' compensation for accidents, £ contingencies 1,525,000 Less estimated credits for stores to be issued, provided for in other votes and items 1,425,000 State Sawmills— Purchase of land, timber, expenses of working mills, including salaries, wages, machinery, supplies, repairs, transport charges, tran construction, royalties, workers' compensation for accidents, and contingencies— Mamaku Sawmill 90,000 Pukete Timber Reserve 700 Maroa Timber Reserve 500 Pokako Timber Reserve 500 Frankton Juncton Sawmill and Timber-yard 196,200 Less estimated credits 146,200 Advances to High Commissioner's Imprest Account for purchase of stores, &c			
Purchase of stores and material and store expenses, including salaries, wages, cartage, freights, miscellaneous services, workers' compensation for accidents, £ contingencies 1,525,000 Less estimated credits for stores to be issued, provided for in other votes and items 1,425,000 State Sawmills— Purchase of land, timber, expenses of working mills, including salaries, wages, machinery, supplies, repairs, transport charges, tram construction, royalties, workers' compensation for accidents, and contingencies— Mamaku Sawmill 90,000 Pukete Timber Reserve 700 Maroa Timber Reserve 500 Pokako Timber Reserve 500 Frankton Juneton Sawmill and Timber-yard 196,200 Less estimated credits 146,200 Advances to High Commissioner's Imprest Account for purchase of stores, &c	Stores Branch—		
Cartage, freights, miscellaneous services, workers' compensation for accidents, £ contingencies 1,525,000	Purchase of stores and material and		
Contingencies	cartage, freights, miscellaneous services,		
Less estimated credits for stores to be issued, provided for in other votes and items			
Votes and items	Less estimated credits for stores to	·.	
State Sawmills	votes and items 1.425.000		
Purchase of land, timber, expenses of working mills, including salaries, wages, machinery, supplies, repairs, transport charges, tram construction, royalties, workers' compensation for accidents, and contingencies—	,,	100,000	
working mills, including salaries, wages, machinery, supplies, repairs, transport charges, tram construction, royalties, workers' compensation for accidents, and contingencies— Mamaku Sawmill 90,000 Pukete Timber Reserve 700 Maroa Timber Reserve 500 Pokako Timber Reserve 500 Pokako Timber Reserve 500 Frankton Juncton Sawmill and Timber-yard 196,200 Less estimated credits 146,200 Advances to High Commissioner's Imprest Account for purchase of stores, &c 85,000 Advances to High Commissioner's Imprest Account for purchase of stores, &c 85,000 Amount required to cover cost of material and work done for departmental and other accounts 650,000 Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote) Gross Total £650,000 Gross Total £650,000 Gross Total £650,000 Credits-in-aid— 1924-25. Departmental Offices £1,006 Maintenance of Way and Works 10,000 Maintenance of Signals, &c 50 Locomotive Running, &c 4,000 Traffic Expenses 18,200 Miscellaneous 100,000 Material, &c., for departmental and other accounts 650,000			
machinery, supplies, repairs, transport charges, tram construction, royalties, workers' compensation for accidents, and contingencies— Mamaku Sawmill 90,000 Pukete Timber Reserve 700 Maroa Timber Reserve 500 Pokako Timber Reserve 105,000 Pokako Timber Reserve 105,000 Prankton Juncton Sawmill and 105,000 Trankton Juncton Sawmill and Timber-yard 196,200 Less estimated credits 146,200 Advances to High Commissioner's Imprest Account for purchase of stores, &c. 85,000 Total Stores Branch 235,000 Amount required to cover cost of material and work done for departmental and other accounts 650,000 Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote) Gross Total 6,928,300 Gross Total 783,256 NET TOTAL—VOTE No. 6. 6,928,300 Credits-in-aid— 1924-25. Departmental Offices 11,006 Maintenance of Way and Works 10,000 Maintenance of Signals, &c. 50 Locomotive Running, &c. 4,000 Traffic Expenses 18,200 Miscellancous 100,000 Material, &c., for departmental and other accounts 650,000			
workers' compensation for accidents, and contingencies —	machinery, supplies, repairs, transport		
and contingencies —	charges, tram construction, royalties,		
Mamaku Sawmill	and contingencies—		i
Maroa Timber Reserve	Mamaku Sawmill 90,000		
Pokako Timber Reserve Erua Timber Reserv			
Erua Timber Reserve Frankton Juncton Sawmill and Timber-yard 196,200 196,200 196,200 196,200 146,200 196,200 1			
Timber-yard 196,200 Less estimated credits 146,200 Advances to High Commissioner's Imprest Account for purchase of stores, &c	Erua Timber Reserve		
Less estimated credits	Timber-yard	-	
Advances to High Commissioner's Imprest Account for purchase of stores, &c	Less estimated credits 146,200	***	
for purchase of stores, &c	Advances to High Commissioner's Imprest Account	50,000	
Amount required to cover cost of material and work done for departmental and other accounts 650,000 Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote) £650,000 GROSS TOTAL 6,928,300 CREDITS-IN-AID (a) 783,256 NET TOTAL—VOTE No. 6 1924-25. Departmental Offices £1,006 Maintenance of Way and Works 10,000 Maintenance of Signals, &c 50 Locomotive Running, &c 4,000 Traffic Expenses 18,200 Miscellaneous 100,000 Material, &c., for departmental and other accounts 650,000		85,000	
Credits-in-aid	Total Stores Branch	235,000	••
the Public Revenues Act, 1910 (see end of vote) £650,000 GROSS TOTAL 6,928,300 CREDITS-IN-AID (a)	done for departmental and other accounts	1	
GROSS TOTAL 6,928,300 CREDITS-IN-AID (a)	the Public Revenues Act, 1910 (see end of		
Ted Credits-in-aid NET TOTAL VOTE No 6 NET TOTAL VOTE No 6 Credits-in-aid I924-25			g 098, 300
NET TOTAL—VOTE No. 6 1924-25.			
Credits-in-aid— 1924–25. Departmental Offices	Credits-in-aid (a)		183,256
Departmental Offices £1,006 Maintenance of Way and Works 10,000 Maintenance of Signals, &c. 50 Locomotive Running, &c. 4,000 Traffic Expenses 18,200 Miscellaneous 100,000 Material, &c., for departmental and other accounts 650,000	NET TOTAL—VOTE No. 6		6,145,044
Departmental Offices £1,006 Maintenance of Way and Works 10,000 Maintenance of Signals, &c. 50 Locomotive Running, &c. 4,000 Traffic Expenses 18,200 Miscellaneous 100,000 Material, &c., for departmental and other accounts 650,000	Credits-in-aid—	1994	-25.
Maintenance of Way and Works	Departmental Offices		
Locomotive Running, &c. 4,000 Traffic Expenses 18,200 Miscellaneous 100,000 Material, &c., for departmental and other accounts 650,000	Maintenance of Way and Works	10,0	000
Traffic Expenses 18,200 Miscellaneous 100,000 Material, &c., for departmental and other accounts 650,000			-
Miscellaneous 100,000 Material, &c., for departmental and other accounts 650,000			
	Miscellaneous	100,0	00
Totals	Material, &c., for departmental and other accounts	650, 0	00
	Totals	783,2	56

POST AND TELEGRAPH DEPARTMENT.

· · · · · · · · · · · · · · · · · · ·	1924–25.			
, 	Salaries.	Other Charges.	Total.	
Vote No. 7.—Post and Telegraph Working-expenses—	£	£	£	
Subdivision I.—Post and Telegraph Salaries	1,836,388		1,836,388	
,, II.—Conveyance of Ocean Mails		99,475	99,475	
,, III.—Conveyance of Inland Mails		146,300	146,300	
,, IV.—Carriage of Mails by Railway		103,000	103,000	
,, V.—Maintenance of Telegraph and Tele-		,	,	
phone Lines		175,000	175,000	
,, VI.—Motor Service and Workshops		68,700	68,700	
" VII -Miscellaneous Services	,.,	299,755	299,755	
Gross Total	1,836,388	892,230	2,728,618	
Credits-in-aid	220,000	77,625	297,625	
NET TOTAL	1,166,388	814,605	2,430,993	

Number of Persons.	Item.	VOTE No 7.—POST	I ANIT MY	rman	A DU	1924-	25.
1924–25.			-EXPENSES	S.	-	£	£
	1	*Salaries					
		Administra	TIVE DIVISIO	N.	£		
•		1 at £1,138 (Secretary)	***		1,138		
		1 at £1,115 (Chief Teleg		er)	1,115		
	1 1	1 at £920 (First Assista	nt Secretary)		920		
4		1 at £837 (Second Assis	tant Secretar	·y)	837	4 010	
		CLERICAL AND ENG	именьима Лі	WISTONS		4,010	
		Special Class—	INMENING D	I V IBION			
	1	1 at £837			837		
		3 at £791		•••	2,373		
		3 at £765			2,295		
	i l	6 at £715		•••	4,290		
18		5 at £665	•••	• • •	3,325		
		Class I —				13,120	
		13 at £615	•••		7,995		
33		20 at £565	•••	•••	11,300	10 00#	
		Class II—				19,295	
28		28 at £515	•••	•••		14,420	
		$Class\ III \ 24\ { m at}\ \pounds470$			11,280		
25		24 at £470 1 at £445	•••	•••	445		
20		Class IV—	•••	•••		11.725	
81		81 at £420				34,020	

^{*} For particulars of salaries see "Post and Telegraph Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

Number of Persons.	Item.	MACHINE ME	DOOM AND		ADIT	1924-	25.
	ļi		-POST AND -EXPENSES—	$egin{aligned} \mathbf{TELEGF} \ continued \end{aligned}$			
924–25.		Subdivision No. I.—I				£	£
			· ·	чирн зана	ries—ciu.	~	~
	1	Salaries—continued					
		CLERICAL AND EN	GINEERING DIVI	sions—co	ntinued.		
		Class V			£ 000		
155		154 at £370 1 at £335	•••		56,980 33 5		
		Class VI—				57,315	
25 8		258 at £320 Class VII	•••	•••	•••	82,560	
		1,471 at £295			433,945		
		125 at £285	•••		35,625		
		255 at £265 240 at £245	•••		67,575 58,800		
		128 at £225			28,800		
		180 at £205	•••		36,900		
		169 at £190	•••	• • •	32,110		
		95 at £145 2 at £125	•••	•••	$egin{array}{c c} 13,775 \ 250 \end{array}$		
		5 at £100	•••	•••	500		
2,675		5 at £85	•••	•••	425	700 705	
		G.E.	NERAL DIVISION			708,705	
	İ			•			
		$Class\ I$	Temale Officers.				
. 1		1 at £350		•••		350	
5		Class II— 5 at £300			•••	1,500	
		Class III					
37		37 at £265 $Class\ IV$ —	•••	•••	•••	9,805	
23		23 at £245	***			5,635	
00		Class V—				22,275	
99		99 at £225 Class VI—	•••	•••	•••	22,210	
	Ì	2 at £207	* * *		414		
52		50 at £205	•••	•••	10,250	10,664	
		Class VII— 1 at £194			194	10,004	
		1 at £190	•••	•••	190	1	
123		121 at £185			22,385	00 500	
		Class VIII— 351 at £145			50,895	22,769	
		89 at £135		•••	12,015		
		50 at £122	•••	•••	6,100		
		34 at £109		•••	3,706		
		1 at £100	•••	• • • •	100		
510		19 at £96		•••	1,824		
548		4 at £83	•••	•••	332	74,972	
		Shorthand-write	ers, Typists, Al	nd Machi	NISTS.		
_		Special Class—				400	
2	1	2 at £245 $Class$ I —	•••	•••	•••	490	
5		5 at £225		•••	•••	1,125	
_		Class II —					
10		2 at £225	•••		450 9 870		
. 16			•••	•••	4,010	3.320	
		32 at £181	•••		5,792	5,020	
		6 at £169	•••		1,014		
49			•••	•••	1,639	0.447	
					548	8,445	
		7 at £125	•••	•••	875		
20		9 at £109	•••	•••	981		
. 16 . 49 20		6 at £169 11 at £149 Class IV— 4 at £137 7 at £125			1,014 1,639 548 875	3,326 8,444 2,404	5

Number	Item.					1004	٥r
of Persons.		VOTE No 7 DOGULAND	тыгыар	ADEL 337	DRIMG	1924	− ⊻ 5.
1924–25.			ES—continu	ued.		· £	£
		Subdivision No. I.—Postal	l and Telegr	aph Sala	ries—ctd.		•
	1	SALARIES—continued.		_			
·		GENERAL DIV					
		Female Office $Class\ V$ —	ers contin	ued.	£		
		14 at £100	•••		1,400		
31		17 at £85	•••	•••	1,445	2,845	
			${\it Officers}.$			2,0±0	
2		Special Class— 2 at £420			••	840	
	i	Class II—		•••	••		
6		6 at £380 Class III—	•••	• • •	•••	2,280	
10		10 at £350		•••	••••	3,500	
44		Class IV— 44 at £320				14,080	
		Class V—	•••	•••			
93		93 at £295 Class VI—	•••	•••	•••	27,435	
307		307 at £275	•••	•••		84,425	
		Class VII— 8 at £270			2,160		
192		184 at £259	***		47,656		•
		Class VIII 894 at £233			208,302	49,816	
		320 at £220	•••		70,400		
		50 at £207 12 at £194	•••		10,350 $2,328$		
		101 at £181	.,	•••	18,281		
		30 at £148 109 at £135	•••	•••	$4,440 \\ 14,715$		
		293 at £122			35,746		
		227 at £109 237 at £96	•••	•••	$24,743 \\ 22,752$		
2,514		241 at £83	•••	•••	20,003	100 000	
		Message boys and girls	s —			432,060	
769		769 at £57	•••			43,833	
8,225		New stations, telegraph	nists, cadets	, messen	gers, and		
	-	training cadets	• • •	•••		3,000	
						1,773,038	
		Less salaries provided	d but not no	ow requir	ed	15,000	
		Estimated credits-in-	Act, 1910	(see end			
		Post-office Savings expenses	····	agement	80,000		
		Salaries of engin recovered from I vote "Telegraph	Public Work Extension	Fund,	85,000		
		Salaries of Stores from Public Work graph Extension	rs Fund, vot		22,000		
		Services performed ment Departmen	l for other	Govern-	33,000		
					220,000		
					•	1 750 000	
	1	1				1,758,038	

POST AND TELEGRAPH DEPARTMENT—continued.

Number of Persons.	Item.		1924	-25.
1924–25. ·		VOTE No. 7.—POST AND TELEGRAPH WORKING-EXPENSES—continued.	£	£
		Subdivision No. I.—Postal and Telegraph Salaries—ctd.		
	1	Salaries—continued.		
		GENERAL DIVISION—continued.		
	 - 	Contribution to Railways Department for combined Post-Telegraph-Railway Offices Married Officers: To provide a minimum of salary £209 15s. per annum Non-classified officers, including country postmasters and telephonists, payable by salary (number, 1875) Salaries of Medical Referees	17,000 850 60,000 500	
	,	Total—Subdivision No. I	78,350	1,836,388
		Total—Subarvision No. 1		1,000,000
		Subdivision No. II.—Conveyance of Ocean Mails.		
	2	Charges for and incidental to— Suez Services— Great Britain P. and O. steamers	250	
		Grown Drivan 11 wax Growaniess	250	
		Pacific Services— North American overland and Atlantic transit Resident Agency, San Francisco San Francisco service Travelling expenses and allowances to officers em-	29,100 325 25,000	- -
		ployed in the Marine Post-office in the Vancouver and San Francisco services Vancouver service	1,200 20,000	·
			75,625	
		Eastern Services, including Africa and India via Australia Gratuities and landing and shipping Postal Union transit charges	1,500 22,000 100	
			23,600	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Industries and Commerce Department— £ San Francisco service 12,500 Vancouver service 10,000		
		22,500		
		Total—Subdivision No. II		99,47

POST AND TELEGRAPH DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 7.—POST AND TELEGRAPH WORKING-EXPENSES—continued.	1924	-25.
1924 - 25.		Subdivision No. III.—Conveyance of Inland Mails.	£	£
	3	CHARGES FOR AND INCIDENTAL TO-		æ
			19,500	
		Christahanah	3,300	
		Dunadia	$\begin{array}{c c} & 9,300 \\ & 8,100 \end{array}$	
		Cighanna	8,100	
		Charmanth	2,700	
			17,100	
			5,800 8,500	
		N - Î	6,500	
		Now Diversarily	5,300	
		Oamaru	2,000	
			6,200	
		W	7,200 10,700	
		XX7 - 11	10,700	
		Weapout	2,700	
		Many manyiana Pau (all diatainta)	7,000	
· • · · · · · · · · · · · · · · · · · ·		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote). Subsidies by Government Depart & ments for mail services 3, 12 Subsidies by settlers 2,50	 B5	
		5,62	35	
		Total—Subdivision No. III		146,300
	4	Special trains and trucks	102,000	103,000
		Subdivision No. V.—Maintenance of Telegraph and Telephone Lines.		
	5	Charges for and incidental to— Maintenance of Telegraph and Telephone Lines—	1	
	1	Camp allowances	4,000	
		Cost of cable repairs	10,000	
			62,950	
		The little of the demonstration of the material and	82,900 150	
		Travelling expenses of telegraph engineers ar	- 1	
	1	11	15,000	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote). Sale of old material 1,50	ne —	
		Recoveries on account of— Stores Branch 6,00	00	
		7,50		
	 	Total-Subdivision No. V	···	175,000

POST AND TELEGRAPH DEPARTMENT—continued.

of Persons.	Item.	VOTE No. 7.—POST AND TELEGRAPH	1924-	25.
		WORKING-EXPENSES—continued.		
1924–25.		Subdivision No. VI.—Motor Services and Workshops.	£	${\mathfrak L}$
	6	CHARGES FOR AND INCIDENTAL TO-		
		Motor Services, &c.—		
		Allowance to officers using their own bicycles,	2,700	
		and to motor-cycle riders	2,700	
		Motor-cycles, motor-cars, and bicycles	10,000	
		Motor accessories	$ \begin{array}{c c} 8,000 \\ 12,000 \end{array} $	
		Motor spirits and oils Repairs and hire	2,000	
		Wages of mechanics, chauffeurs, &c	8,000	
		Workshops—	19.000	
		Material Wages of mechanics, &c	$12,000 \\ 13,000$	
•		Miscellaneous	1,000	
		Estimated credits-in-aid under Section 48 of the		
		Public Revenues Act, 1910 (see end of vote)—		
	Ì	Motor services: Telegraph extension 5,000		
		Motor transport services 7,000		
		Workshops 10,000		
		22,000		
		Total—Subdivision No. VI -		68,700
	İ			
		Subdivision No. VII.—Miscellaneous Services.		
	7	Charges for and incidental to—		
	7		4,000	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage	4,000 850	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest		
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical	850 250	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers	850 250 9,000	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances	850 250	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal	9,000 4,000	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and	9,000 4,000	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal	9,000 4,000	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings—	9,000 4,000 1,000 19,200	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings— Purchase of	9,000 4,000 1,000 19,200 3,000	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings—	9,000 4,000 1,000 19,200	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings— Purchase of Repairs to	9,000 4,000 1,000 19,200 3,000	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings— Purchase of Repairs to Office Management Expenses—	9,000 4,000 1,000 19,200 3,000 1,000	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings— Purchase of Repairs to Office Management Expenses— Advertising, photographs, books, newspapers, and	9,000 4,000 1,000 19,200 3,000 1,000	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings— Purchase of Repairs to Office Management Expenses— Advertising, photographs, books, newspapers, and other publications Audit fees	9,000 4,000 1,000 19,200 3,000 1,000 4,000	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings— Purchase of Repairs to Office Management Expenses— Advertising, photographs, books, newspapers, and other publications Audit fees Bank exchange, commission, discount, and stamp	850 250 9,000 4,000 100 1,000 19,200 3,000 1,000 4,000 600 325	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings— Purchase of Repairs to Office Management Expenses— Advertising, photographs, books, newspapers, and other publications Audit fees Bank exchange, commission, discount, and stamp duty	850 250 9,000 4,000 100 1,000 19,200 3,000 1,000 4,000 600 325 2,600	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings— Purchase of Repairs to Office Management Expenses— Advertising, photographs, books, newspapers, and other publications Audit fees Bank exchange, commission, discount, and stamp duty Cleaning and scavenging Contribution to Department of Internal Affairs for	850 250 9,000 4,000 100 1,000 19,200 3,000 1,000 4,000 600 325	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings— Purchase of Repairs to Office Management Expenses— Advertising, photographs, books, newspapers, and other publications Audit fees Bank exchange, commission, discount, and stamp duty Cleaning and scavenging Contribution to Department of Internal Affairs for clerical work performed by High Commissioner's	850 250 9,000 4,000 100 1,000 19,200 3,000 1,000 4,000 600 325 2,600 14,000	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings— Purchase of Repairs to Office Management Expenses— Advertising, photographs, books, newspapers, and other publications Audit fees Bank exchange, commission, discount, and stamp duty Cleaning and scavenging Contribution to Department of Internal Affairs for clerical work performed by High Commissioner's Office for Post and Telegraph Department	\$50 250 9,000 4,000 100 1,000 19,200 3,000 1,000 4,000 600 325 2,600 14,000 500	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings— Purchase of Repairs to Office Management Expenses— Advertising, photographs, books, newspapers, and other publications Audit fees Bank exchange, commission, discount, and stamp duty Cleaning and scavenging Contribution to Department of Internal Affairs for clerical work performed by High Commissioner's	850 250 9,000 4,000 100 1,000 19,200 3,000 1,000 4,000 600 325 2,600 14,000	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings— Purchase of Repairs to Office Management Expenses— Advertising, photographs, books, newspapers, and other publications Audit fees Bank exchange, commission, discount, and stamp duty Cleaning and scavenging Contribution to Department of Internal Affairs for clerical work performed by High Commissioner's Office for Post and Telegraph Department Law-costs Light, fuel, and water Mail-bags, purchase of	\$50 250 9,000 4,000 100 1,000 19,200 3,000 1,000 4,000 4,000 600 325 2,600 14,000 500 150	
	7	CHARGES FOR AND INCIDENTAL TO— Allowances— Calculation of Savings-bank interest Forage Locality allowances for cadets stationed away from home Lodging to cadets and cadettes, and non-clerical officers Miscellaneous allowances Payment to nominated representative on Post and Telegraph Board of Appeal Savings-bank tellers allowances Furniture and fittings— Purchase of Repairs to Office Management Expenses— Advertising, photographs, books, newspapers, and other publications Audit fees Bank exchange, commission, discount, and stamp duty Cleaning and scavenging Contribution to Department of Internal Affairs for clerical work performed by High Commissioner's Office for Post and Telegraph Department Law-costs Light, fuel, and water	850 250 9,000 4,000 100 1,000 19,200 3,000 1,000 4,000 600 325 2,600 14,000 500 150 17,500	

POST AND TELEGRAPH DEPARTMENT-continued.

Number		
Number Item. f Persons.	1924	-25.
924-25. VOTE No. 7—POST AND TELEGRAPH WORKING-		
Subdivision No. VII.—Miscellaneous Services—contd.	£	£
7 CHARGES FOR AND INCIDENTAL TO—continued Office Management Expenses—continued. Payment to Department of Internal Affairs— Proportion of rent of office of High Commissioner, London	150 ;	
To defray cost of printing, stationery, postages, bills of lading, &c., incurred by High Commissioner on account of Post and Telegraph	:	
Department Postal Receiving-boxes—	59 '	
$egin{array}{cccccccccccccccccccccccccccccccccccc$	600	
Public Service Superannuation Fund contribution Rent of buildings leased for post and telegraph	50,948	
offices, &c	7,500	
Safes, supply of	100	
Stamps, production of	14,600	
Stationery, printing, and binding	43,000	
Temporary exchange attendants	8,500	
Temporary officers, postmen, messengers, and general division	8,000	
	176,232	
Overtime and meal allowances	30,000	
Parcel-post expenses Sundry Charges— Cash Deficiency—	29,000	
Loss of cash on destruction of the Post-office at 1	į	
Hukapai, by fire Cash remittances lost—	7	
Mangahao mail stolen whilst in transit Mauriceville West mail stolen whilst in transit	$\begin{array}{c} 125 \\ 20 \end{array} $	
Compensation— Adjustment to cover loss due to paying an amount to the wrong account in the Bank	4	
Awarded to victim of street accident arising out of construction of telephone lines	78	
Compensation and medical expenses of J. H. Buck, temporary lineman, loss of finger at	00.1	
For articles lost or damaged during transmis-	29	
To Kenneth Matheson for injuries sustained in a collision at Christchurch with a message-boy employed by the Post and Telegraph Depart-	300	
Expenses in connection with Post and Telegraph	300	
Board of Appeal Fraudulent withdrawals from Post Office Savings-bank—	1,000	
Savings-bank— & & Account No. 228802, Christchurch 8 Account No. 450878, Wellington 6		
Misappropriations by officers of Department—	14	
Alexandra, A. Anderson 15 Ohakune Junction, H. E. Banks 57		
Tuakau, J. T. r. riowarth 107	239	
Money stolen by hunders Lennerton Post Office	259	
Money stolen by burglars, Lepperton Post-Office Pensions for officers retired whose allowance from	4	
Superannuation Fund is under £52 per annum Valueless cheques accepted and not recovered	250 53	
· · · · · · · · · · · · · · · · · · ·		

POST AND TELEGRAPH DEPARTMENT—continued.

Number of Persons.	Item.		1924	1–25.
1924–25.		VOTE No. 7.—POST AND TELEGRAPH WORKING-EXPENSES—continued.	£	£
	7	Subdivision No. VII.—Miscellaneous Services—contd. CHARGES FOR AND INCIDENTAL TO—continued. Travelling-expenses, &c.— Inspection of offices Railway travelling post-offices allowances Relieving-expenses Removal expenses Travelling expenses, allowances, and tram-fares	2,500 3,300 5,000 12,500 5,000	
		Typewriters purchased Typewriter repairs	28,300 300 300	
		Uniform clothing	10,000	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Savings-bank management expenses 10,000 Sundries 10,000		
		Total—Subdivision No. VII		299,755
		Gross Total	•••	2,728,618
		Credits-in-aid (a)		297,625
		NET TOTAL—VOTE No. 7		2,430,993

(a) Credits-in-aid-

Salaries.	Other Charges.	1 9 24–25. Total.
£	£	£
 220,000	• •	220,000
 • •	22,500	22,500
 	5,625	5,625
 	7,500	7,500
 	22,000	22,000
 	20,000	20,000
 220,000	$\overline{77,625}$	${297,625}$
	£ 220,000	£ £ £ . 220,000 22,500 5,625 7,500 22,000 20,000

PUBLIC BUILDINGS, DOMAINS, MAINTENANCE OF ROADS, AND IRRIGATION WORKS.

							1924–25.	
		-			-	Salaries.	Other Charges.	Total.
Vote No. 8	–Pu	blic Build	lings—			£	£	£
Gross T	OTA:	<u>L</u>				5,320	191,499	196,819
CREDITS-	·IN·A	.ID				•••	75,500	75,500
NET TO	TΑ	L	•••			5,320	115,999	121,319
Vote No. 9	—Go	vernment	and other	Domains-	-			
Gross T	ОТА	ī.	•••	•••		4,224	3,470	7,694
CREDITS-	IN-A	ID	•••	•••		•••		•••
NET TO)TA	L		•••	•••	4,224	3,470	7,694
Vote No. 10	0			Improvemen	t of			
Gross T	ОТАЈ	Roads	•••			••	76,318	76,318
CREDITS-	IN-A	ID		•••			1,000	1,000
NET TO	TA:	L	•••	•••		•••	75,318	75,318
Vote No. 11.	M		otection s	tion, Drainag and Improve				
Gross T	OTAI		•••	•••		•••	5,825	5,825
CREDITS-	IN-A	ID	•••	•••	•••		25	25
NET TO	TA:	Ĺ	•••	•••			5,800	5,800
	TO!	ralsci	REDITS-I	N-AID		•••	76,525	76,525
	TO?	rals—ni	ET			9,544	200,587	210,131
Number of Persons.	em.	V(OTE No.	8.—PUBLIC	BUIL	DINGS.	1924	1–25.
1924–25.		Buil	DINGS, INC	AL TO THE M ELUDING ADI FURNITURE—	OITIONS,			£
	1	*Salaries		fessional D	ivision.			
1			790 (Archi	tect)		•••	790	
1			£425	••		•••	425	
1		Class . $f 1$ at	<i>E</i> — £320	••		•••	320	

^{*} For particulars of salaries see "Public Service Classification List."

Note. -- Scale salaries or wages include cost-of-living increase.

Number of Persons.	Item.						1924–	25.
1004 05	-	VOTE No. 8.—	PUBLIC BU	ILDII	NGS-contr	inued.		
1924–25.		Maintenance, et	ccontinued.				£	£
	1	Salaries—continu	ed.					
			CLERICAL DIV	ision.				
		Class III—		1010111				
1		1 at £445 Class IV—	• •		•••	•••	445	
1		1 at £395					395	
		Class V—				£		
3		2 at £380 1 at £355	••		•••	$ \begin{array}{c c} 760 \\ 355 \end{array} $		
		Class VI—			•••		1,115	
2		2 at £335 Class VII—	••	•	••		670	
1		1 at £275			•••		275	
			GENERAL DIV	ISION.				
		1 at £345			•••	345		
9		1 at £285 1 at £255	••	•	•••	$egin{array}{c} 285 \ 255 \end{array}$		
3	.	1 80 \$200	••	•	•••		885	
14						-	5,320	
						, .		
		Other Charges fo	r and incident	tal to-				
	2	Accident comp	ensation, sick	-pay,		y, and		
	9	special leave Advertising, p	to workmen		nawananan	b.c.	750	
	$\begin{vmatrix} 3 \end{vmatrix}$	other publica	itions			s, and	30	
		Contribution to		م نسختا	o ambaidee		160	
	4	Onatham Isl Drainage Bo	ands Steamer i ards for draina	ge, pu	e subsidy iblic buildir	188— · · ·	169	
	5	Christchur			•••		150	
	6 7	Dunedin Engineers Reg	istration Act	1924			300	
	'	tration)	ioutamon tion,		longt of an	minia	ì	
				•	·		100	
		Expenses in ad	dition to or in	exce	 ss of amour	nt pro-	100	
		vided under	dition to or in er the Civil L	exce ist Ac	ss of amour t, 1920: G	nt pro-	100	
	8	vided unde ment Hou Fuel, light,	dition to or in or the Civil L ses, Auckland a water, and cl	n exce ist Ac and W eaning	 ss of amour t, 1920 : G Vellington— g for officia	nt pro- covern- al and		
		vided undo ment Hou Fuel, light, reception r	dition to or in er the Civil L ses, Auckland	n exce ist Ac and W eaning	 ss of amour t, 1920 : G Vellington— g for officia	nt pro-	800	
	8 9 10	vided unde ment Hou Fuel, light,	dition to or in or the Civil L ses, Auckland a water, and cl ooms, outbuild	. i exce ist Ac and W eaning lings,	ss of amour t, 1920: G Vellington— g for officie and ground	nt pro-	800 200	
	9	vided undo ment Hou Fuel, light, reception r Telephones Freight, cartag coverable)	dition to or in the Civil L ses, Auckland a water, and chooms, outbuild e, and transpo	. n exce ist Ac and W eaning lings, . ort ch .	ss of amount, 1920: Grellington—g for officiand ground earges (£8,0	nt pro- overn- al and s	800	
	9 10	vided undo ment Hou Fuel, light, reception r Telephones Freight, cartag coverable) Government Bu	dition to or in the Civil L ses, Auckland a water, and chooms, outbuild e, and transpo	. n exce ist Ac and W eaning lings, ort ch . hout t	ss of amount, 1920: Grellington—g for officiand ground earges (£8,0)he Dominic	nt pro- overn- al and s	800 200	
	9 10	vided undoment Hour Fuel, light, reception relephones Freight, cartage coverable) Government Brooffice requisis	dition to or in the Civil L ses, Auckland a water, and chooms, outbuild e, and transpo	en exce ist Ac and W eaning lings, ort ch hout t	ss of amount, 1920: Grellington—g for officiand ground earges (£8,0) the Dominior, water, cle	nt pro- overn- al and s	800 200 10,000 2,000	
	9 10 11 12	vided undoment Hour Fuel, light, reception relephones Freight, cartage coverable) Government Broffice requisitions of the scavenging Courthouses	dition to or in the Civil L ses, Auckland a water, and chooms, outbuild e, and transport nildings throug tes, fuel, light, and other and	en exce ist Ac and W eaning lings, ort ch hout t	ss of amount, 1920: Grellington—g for officiand ground earges (£8,0) the Dominior, water, cle	al and s 000 re- on— aning,	800 200 10,000 2,000 5,500	
	9 10	vided undo ment Hour Fuel, light, reception r Telephones Freight, cartag coverable) Government Br Office requisi scavenging Courthouses Customhouse	dition to or in the Civil L ses, Auckland a water, and chooms, outbuild e, and transpondidings throug tes, fuel, light, and other and	en exce ist Ac and W eaning lings, ort ch hout t	ss of amount, 1920: Grellington—g for officiand ground earges (£8,0) the Dominior, water, cle	al and s 000 re- con— aning,	800 200 10,000 2,000 5,500 500	
	9 10 11 12 13 14 15	vided under ment Hour Fuel, light, reception reception reception reception reception reception reception reception reception reception received to the reception of the requisities of the reception of the requisities of the reception rec	dition to or in the Civil L ses, Auckland a water, and clooms, outbuild e, and transpondidings throug tes, fuel, light, , and other and I Buildings	en exce ist Ac and W eaning lings, ort ch hout t	ss of amount, 1920: Grellington—g for officiand ground earges (£8,0) the Dominior, water, cle	al and s 000 re- con— caning,	800 200 10,000 2,000 5,500 500 17,000 2,000	
	9 10 11 12 13 14 15 16	vided under ment Hour Fuel, light, reception reception reception reception reception reception reception reception reception reception coverable) Government Booffice requisition scavenging Courthouses Customhouses Departmenta Gaols Mental Hosp	dition to or in the Civil L ses, Auckland a water, and clooms, outbuild e, and transpondidings throug tes, fuel, light, and other and bl Buildings itals	en exce ist Ac and W eaning lings, : ort ch hout t powe nual se	ss of amount, 1920: Grellington—g for officiand ground larges (£8,0) che Dominion, water, cleervices	al and s 000 re- caning,	800 200 10,000 2,000 5,500 500 17,000 2,000 11,000	
	9 10 11 12 13 14 15	vided under ment Hour Fuel, light, reception reception reception reception reception reception reception reception reception reception coverable) Government Brought office requisition scavenging Courthouses Customhouses Departmental Gaols Mental Hosp Police-station	dition to or in the Civil L ses, Auckland a water, and clooms, outbuild e, and transpondidings throug tes, fuel, light, and other and bl Buildings itals	en exce ist Ac and W eaning lings, : ort ch hout t powe nual se	ss of amount, 1920: Grellington—g for officiand ground earges (£8,0) the Dominior, water, cle	nt pro- covern- al and s 000 re- con— aning,	800 200 10,000 2,000 5,500 500 17,000 2,000	
	9 10 11 12 13 14 15 16 17	vided under ment Hour Fuel, light, reception reception reception reception reception reception reception reception reception reception reception reception of the reception scavenging Courthouses Customhouses Departmenta Gaols Mental Hosp Police-station Post and Tel-Public Works	dition to or in the Civil Less, Auckland awater, and clooms, outbuild e, and transportes, fuel, light, and other and al Buildings itals egraph Offices Workshops (1	eand Weaning lings, cort che chout to powe chouse see change choice and the cort che chouse see choose choo	ss of amount, 1920: G fellington— g for officia and ground harges (£8,0 he Dominio r, water, cle ervices enance and	al and s 000 re- caning,	800 200 10,000 2,000 5,500 500 17,000 2,000 11,000 13,500 28,000	
	9 10 11 12 13 14 15 16 17 18 19	vided under ment Hour Fuel, light, reception reception reception reception reception reception reception reception reception reception reception reception of the requisition of the reception recep	dition to or in the Civil Lises, Auckland awater, and clooms, outbuild e, and transpose, and transpose, fuel, light, and other and itals egraph Offices workshops (£45,000 res), (£45,000 res)	eand Weaning lings, cort che chout to powe chouse see change choice and the cort che chouse see choose choo	ss of amount, 1920: G fellington— g for officia and ground harges (£8,0 he Dominio r, water, cle ervices enance and	al and s 000 re- naning, work-	800 200 10,000 2,000 5,500 500 17,000 2,000 11,000 13,500 28,000 59,500	
	9 10 11 12 13 14 15 16 17 18	vided under ment Hour Fuel, light, reception r	dition to or in the Civil Less, Auckland awater, and clooms, outbuild e, and transposites, fuel, light, and other and I Buildings itals egraph Offices workshops (£45,000 retations	eand Weaning lings, and the control of the character of t	ss of amount, 1920: G fellington— g for officia and ground harges (£8,0 he Dominio r, water, cle ervices enance and	al and s 000 re- caning, work-	800 200 10,000 2,000 5,500 500 17,000 2,000 11,000 13,500 28,000	
	9 10 11 12 13 14 15 16 17 18 19 20	vided under ment Hour Fuel, light, reception r	dition to or in the Civil Less, Auckland awater, and clooms, outbuild e, and transposites, fuel, light, and other and bl Buildings itals egraph Offices egraph Offices es, (£45,000 retations ment Building Drecoverable)	eand Weaning in exce ist Ac and Weaning in except the chout the power in the coverage of the c	ss of amount, 1920: G fellington— g for officia and ground harges (£8,0 he Dominio r, water, cle ervices enance and	nt pro- covern- al and s 000 re- caning, work	800 200 10,000 2,000 5,500 500 17,000 2,000 11,000 13,500 28,000 59,500 3,750	

Number of Persons.	Item.	VOTE No. 8.—PUBLIC BUILDINGS—continued.	1924	l-25.
1924–25.	-\\ 	MAINTENANCE, ETC. —continued.		
	25	Other Charges for and incidental to—continued.	£	£
	25	Government Houses, Auckland and Wellington— Household furnishings, &c	900	
	$\begin{vmatrix} 26 \end{vmatrix}$	Lyttelton Borough Council, for extra water supplied to Government Departments	100	
	$\begin{bmatrix} 27 \\ 28 \end{bmatrix}$	Parliamentary Buildings Postages, telegrams, and telephone services (including	2,000	
	29	installation, extensions, maintenance, rent, and calls) Services and supplies for other Departments (£6,000	550	
	30	recoverable) Special and other rates on Government properties	6,000 100	
	31	Tramways: Expenses re inquiries, appointments to		
	32	Appeal Boards, &c Travelling allowances and expenses	1,000	
	33	Wages of overseers and staff workmen (£6,000 recoverable)	7,000	
	34	Contingencies, including unforeseen expenditure incidental to the other items of the vote	100	
		Estimated credits-in-aid under Section 48 of the		
		Public Revenues Act, 1910 (see end of vote)—		
		Freight, &c 8,000 Public Works Workshops 45,000		
		Rents 7,000		
ļ		Services, &c., for other Departments 7,500 Wages of overseers, &c 6,000		
		Miscellaneous items 2,000		
		75,500		
		GROSS TOTAL	191,499	196,81
		Credits-in-aid		75,50
		NET TOTAL—VOTE No. 8		121,31
		VOTE No. 9.—GOVERNMENT AND OTHER DOMAINS.		
ĺ		GOVERNMENT DOMAINS-		
	1	Salaries—		
		GENERAL DIVISION.		
4		2 at £270 540 2 at £252 504		
		TEMPORARY OFFICERS.	1,044	
		1 (11		
		6 Gardeners at £230 1,380		
1.4		3 Gardeners at £225 675		
		4 Gardeners at £220 880	3,180	
18		_	4,224	
	- 1		4 774	

Number of Persons.	Item.		1924-	25 .
1924–25.		VOTE No. 9.—GOVERNMENT AND OTHER DOMAINS—continued.		
		·	£	£
		GOVERNMENT DOMAINS—continued. Other Charges for and incidental to—		
	$\mid 2 \mid$	Casual labour	75	
	$\overline{3}$	Coal, coke, &c	100	
	4	Flower seeds, bulbs, plants, &c	100	
	5	Garden implements, manures, &c	200	
	6	Contingencies, including unforeseen expenditure in-	- L	
		cidental to the other items of the vote	50	
		-	525	
		OTHER DOMAINS AND WORKS AS UNDER—		
		Grants towards improvements—	j	
	7	Blackwater Domain	25	
	8	Dovedale and Thorpe Recreation-ground (improve-	100	
		ments)	100	
	$\begin{vmatrix} 9 \\ 10 \end{vmatrix}$	Edendale Domain (additional land) Kaihere Domain	50 50	
	11	Kowhai Park, Feilding (purchase of land)	100	
	12	Mayfield Domain (conditional on certain land being	200	
	1	transferred to Crown)	75	
	13	Mount Maunganui Domain	150	
	14	One Tree Hill Domain (improvements)	150	
	15	Rotokare Domain (fencing)	60	
	16	Runanga Domain	75	
	17	Seddonville Domain	50	
	18	Stockton Domain	50 35	
	19 20	Tuapeka Domain Waiuta Domain (to ground)	50 50	
	20	Subsidies — Subsidies —	50	
	21	Cave Domain (improvements), (£1 for £1)	25	
	22	Fairlie Domain (improvements, extension, and pro-	210	
	09	tection of Domain), (£1 for £1)	210	
	$\begin{vmatrix} 23 \\ 24 \end{vmatrix}$	Gannets' Reserve, Cape Kidnappers (£1 for £1) Katikati Domain (improved access), (£1 for £1)	$\begin{array}{c c} 25 \\ 100 \end{array}$	
	25	Lincoln Domain (nurshage) (C1 for C1)	100	
	26	Little Shoal Reserve (Northcote Borough Council),	100	
		(£1 for £1 towards improvements)	64	
	27	Mayfield Domain (purchase of land), (£1 for £1)	175	
	28	Motutara Domain (water-supply), (£1 for £1)	150	
	29	Northcote Point Domain (£2 for £1)	26	
	30	Panmure Domain (improvements to Domain), (£1 for	100	
	31	£1)	$\begin{bmatrix} 100 \\ 50 \end{bmatrix}$	
	$\begin{vmatrix} 31 \\ 32 \end{vmatrix}$	Raglan Domain (£1 for £1) Rotheram Domain (purchase of land), (£1 for £1)	150	
	33	Stewart Island Recreation-ground (purchase of land	100	
		and improvements), (£1 for £1)	100	
	34	Tauranga Domain (£1 for £1 towards improvements)	100	
	35	Tuatapere Domain (£1 for £2)	50	
	36	Waiuku Domain (£1 for £1 towards improvements)	150	
	37	Whangateau Domain (£1 for £1)	100	
	38	Domains not specified	250	
			2,945	7 00
	}	Gross Total		7,69
		Credits-in-aid		•••

${\it Appropriations \ for \ Consolidated \ Fund \ Services}.$

Number of Persons.	Item.	VOTE No. 10—MAINTENANCE AND IMPROVE-	1924	-25.
1924–25.	1 2 3 4	MENT OF ROADS. OTHER CHARGES FOR AND INCIDENTAL TO— Compassionate allowance to P. N. Petty, injured during blasting operations at Kaupokonui ballast-pit Compensation to M. V. Reeve Smith for damage to pedigree heifer during construction of road to give access to Punewhakahau Block Expenses incidental to the Maintenance and Improvement of Roads Restoration of roadworks damaged by floods Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote) Revenues from Government ferries £1,000	£ 250 68 66,000 10,000	£
		GROSS TOTAL CREDITS-IN-AID NET TOTAL—VOTE No. 10		76,318 1,000 75,318
	1 2	VOTE No. 11.—MAINTENANCE OF IRRIGATION, DRAINAGE, AND RIVER PROTECTION AND IMPROVEMENT WORKS. OTHER CHARGES FOR AND INCIDENTAL TO— Expenses incidental to maintenance of dams, headworks, races, weirs, &c., Central Otago Irrigation Works Maintenance of river-improvement works at Waihou and Ohinemuri Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Rent 25	4,025 1,800	
		GROSS TOTAL		5,825
		Credits-in-aid		25
		NET TOTAL—VOTE No. 11		5,800

NATIVE DEPARTMENT.

			-		:		1	924–25.	
					į	Salarie	o. Ot	her Charges.	Total.
Vote No.	12.—N	ative Depa	- artment—		1		ε	£	£
Subdivisi	on I	-Native De	epart m ent			22,	193	•••	22,493
,,	II	-Miscellan	neous Servic	es	•• !	•	1	17,642	17,642
Gi	ross T	OTAL	• •	• •		22,	193	17,642	40,135
Сь	EDITS-	IN-AID				8,4	115	1,000	9,415
N	ЕТ ТО	TAL	••	• •		14,0)78	16,642	30,720
Number of Persons.	Item.		LE No. 12	—NATIV	E DEP	ARTMEN		192	4–25.
1924-25.								£	£
	1		Subdivi	ision No. 1	.—Salar	ies.*			:
			Армі	NISTRATIVE	Divisio	N.			İ
1		1 (Unde	er-Secretar	y) at £36 (also Chie	ef Judge)	•••	36	
			Cı	LERICAL D	ivision.			1	İ
3	. ;	Class						1,545	
		Class	III—		•••	•••	•••		
1	i i	Class.	£470 IV—		•••	• • •	£	470	 - -
		2 at	£425			•••	850	ļ	 - -
4		Class	£400 V		•••	•••	800	1,650	 -
1		$1 \; { m at} \ Class$	£380			•••	•••	380	
	i	10 a	t £335			• • •	3,350		
1.5	<u> </u>		£320 £295		•••	•••	320		
15	! !	Class	VII—		•••	•••	1,180	4,850	 -
		11 a	t £295		•••	•••	3,245		
			£275 £250		• • •	•••	825 500		
			£230		•••		1,380		
		2 at	£210		• • •		420		
•			£190		•••	•••	380	İ	
•	:		£155 £135 -		• • •	•••	155 135		
	i i		£120		•••	•••	240	İ	
		2 at	£115				230		
34	:	2 at	£95		•••	•••	190	F 500	
	1 1							7,700	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

NATIVE DEPARTMENT—continued.

Number of Persons.	Item.		1924	-25.
1924–25.	- 	VOTE No. 12.—NATIVE DEPARTMENT—contd.		
	1	Subdivision No. 1.—Salaries—continued.	£	£
		GENERAL DIVISION. £		
		2 at £185		
		1 at £175 17	1	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
6	i l	1 at £100 10		
			925	
		Judges of Native Land Court.		
		1 (Chief Judge) at £920 (also Under-Secretary, Native Department, £36) 92		
•		tary, Native Department, £36) 92 4 at £765 3,06		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
7		1 at £650 65		
$\phantom{00000000000000000000000000000000000$	-		5,345	
			22,901	
		Less salaries provided and not now required .	408	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)-Administration expenses of Maori & Land Boards 7,55 Department of Internal Affairs: Salary of Private Secretary to Native Minister 51 Services for other Departments 30 Translations 5	5 0	
		8,41	$\frac{-}{5}$	
		$Total-Subdivision\ No.\ 1$		22,493
				22, 100
	.			
		Subdivision No. II.—Miscellaneous Services.		
		Charges for and incidental to— Allowances to officers temporarily performing speci	01	
		or higher duties performing speci-	150	
	3	Clearing Native lands of noxious weeds, under section	n	
		12 of Noxious Weeds Act, 1908 Contribution towards—	10	
	4	Wanganui District Native War Memorial	. 70	
	5	Water-supply for Natives: Waihou and Ohinemu		
	6	Rivers Improvement Area Cost of litigation incurred by Arawas in connectio	35	
		with lake and other claims	1,000	
	7	Destruction of rabbits on Native lands: Wages an		
	8	other expenses Expenses of Committee set up to investigate the	7,500	
*		question of rates on Native lands in Waiapu an	.d	•
		Matakaoa Counties	46	
	9	Expenses in connection with funeral of late Captai Gilbert Mair	n 60	
	10	Fees to Supervisors, Native Interpreters' examination		
	11	Freight, cartage, and transport charges	200	
	12	Fuel, light, power, water, and cleaning	150	
	13	Law-costs	10	
	14	Office fittings, furniture, and requisites	50	

${\bf NATIVE\ DEPARTMENT}-continued.$

Number of Persons.	Item.		1924-	-25.
1924–25.		VOTE No. 12.—NATIVE DEPARTMENT—contd.		~
1924-20.		Subdivision No. II.—Miscellaneous Services—contd.	£	${f c}$
	15	CHARGES FOR AND INCIDENTAL TO—continued. Payment to Ohinemuri County Council for water supplied to Native settlements on the banks of the Ohinemuri River	50	
	16	Payment to elders (Kaumatuas) re Ngaitahu (South Island) claim	86	
	17	Postage, telegrams, rent of boxes, and telephones	900	
	18 19	Printing and publication of Kahrti Printing and stationery	1,700 850	
	20	Rent	250	
	$\begin{vmatrix} 21 \\ 22 \end{vmatrix}$	Temporary assistance Transfer and removal expenses	$\begin{vmatrix} 850 \\ 150 \end{vmatrix}$	
	23	Travelling allowances and expenses	3,400	
	24	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	100	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Administration expenses of Maori £ Land Boards 1,000		
		$Total_Subdivision \ No. \ II $		17,6
		Gross Total		40,18
		Credits-in-aid	•••	9,41
		NET TOTAL—VOTE No. 12		30,72

DEPARTMENT OF EXTERNAL AFFAIRS.

					1924-25.	
				Salaries.	Other Charges.	Total.
Vote No. 13.—Department	of External	Affairs—		£	£	£
Gross Total				2,190	39,223	41,413
Credits-in-aid				•••	1,030	1,030
NET TOTAL	••	••		2,190	38,193	40,383

Number of Persons.	Item.	VOTE No. 13.—DEPA	RTMEN	T OF EX	TERNAL	1924	–25.
1924–25.	İ		FAIRS.			£	£
	1	*Salaries—	_				<i>\$</i>
		Administra	TIVE D	VISION			
1		1 (Secretary) at £768 Islands, £26)	ō (also	Secretary	for Coo	k · 765	
		CLERICA	L Divis	ION.		;	
		Class IV—					
1		1 at £425 Class V.—	•••			. 425	
1		1 at £380 Class VII		•••	••	. 380	
1		1 at £250	•••	•••		. 250	
		GENERA	L Divisi	ON.			
2		2 at £185	•••	•••	••	. 370	
6		·				2,190	
		Omeron Ozerbara von AND	. INCIDE	Nation and			
	2	OTHER CHARGES FOR AND Advertising, books, ph			ners and	3	
	-					. 35	
		Cost of—					
1	3	Passage to America a F. F. Wolter	nd allov	vance for e			
	4	Visit of Samoan Chief	a to No	w Zaaland	••	400	
	5	Expenses of upkeep,			£800 re	1	
	0	coverable from British	i Govern	iment)	(2000 16	0.000	
	6	Freight, cartage, and tra					
	7	Fuel, light, water, attendered Grants to—			•••	00	
	8	Bureau of Tropical D	iseases.	London		100	
1	$\tilde{9}$	Ethnological research,				ا ممه	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

DEPARTMENT OF EXTERNAL AFFAIRS—continued.

Number of Persons.	Item.		1924-	25.
 1924–25.		VOTE No. 13—DEPARTMENT OF EXTERNAL AFFAIRS—continued.		·
			£	£
	10 11	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Grants to—continued. Samoan Administration— On behalf of— Medical and Educational Services 15,500 Wireless services 500	10.000	
	10	III 1.6 : 1000 04	16,000	
	12	To cover deficit, 1923–24	6,000	
	13	League of Nations— Cost of New Zealand official publications supplied to League at Geneva 50		
	14	Expenses of New Zealand's Delegate		
	ا ع د	to Geneva 500		
	15	New Zealand's proportion of secre- tariat expenses for year ended 31st		
		December, 1924 11,000	-	
			11,550	
	16	Office fittings and requisites	20	
	17	Photographic film: Cost of obtaining and printing	50	
	18	Postage, telegrams, and rent of boxes, including		
		cost of High Commissioner's cables	550	
	19	Printing and stationery	170	
	20	Purchase of power plant for Apia Radiograph-station (to replace plant destroyed by accident—includes cost of freight and extra spares which are necessary		
		owing to isolated position of the station)	140	
	$\begin{array}{ c c }\hline 21 \\ 22 \\ \end{array}$	Radio-telephone equipment, Apia Wireless Station Telephone services, including installation, extensions,	1,400	
	00	maintenance, rent, and calls	40	
	23	Travelling allowances and expenses	100	
	$\begin{vmatrix} 24 \end{vmatrix}$	Contingencies, including unforeseen expenditure incidental to the other items of the vote	30	
			39,223	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—	33,223	
		Apia Observatory 800		
		Miscellaneous 230		
		1,030		
		Gross Total		41,41
		Credits-in-aid		1,03
	1 1			

COOK ISLANDS.

					199	24–25.	
				Salaries.	Othe	r Charges.	Total.
Vote No. 14	₽.—C	ook Islands		£		£	£
Gre	oss T	COTAL		12,136		10,213	22,349
Сп	EDITS	-IN-AID	.,			20	20
NE	т то	OTAL		12,136	5	10,193	22,329
Number	Item.	-				1924	_95
of Persons.		VOTE No. 14.—	COOK ISI	ANDS.		1944	- <u>2</u> 0.
1924–25.	1	SALARIES—	,			£	£
	1		45			ಪ	, æ
		Administrat	rive Divisio	N.			
1		1 (Secretary) at £26 (also Department, £765)	Secretary, 	External A	ffairs 	26	
		Cook Islands—				0.00	
		1 Resident Commission 2 Medical Officers: 1		t.£600	•••	$920 \\ 1,275$	
		1 Fruit Inspector				225	
		1 Police Officer	···			275	
		2 Wireless Operators: 18 School-teachers	I (in charge)) at £380, I at		$615 \\ 3,950$	
54		29 Student Teachers	•••	•••	•••	1,450	
		Niue					
		1 Resident Commission 1 Assistant to Residen		 sioner and l	 Police	600	
		Officer	•••	***		250	
		4 School-teachers 5 Student Teachers	•••	•••		1,150 300	
12		1 Medical Officer	•••	•••	•••	1,100	
67						12,136	
		OTHER CHARGES FOR AND	INCIDENTA	ь то			
	2	Advertising, photograp other publications	ohs, books,	newspapers		30	
	3	Cook and other Island	ds Adminis	tration and		1,000	
	4	expenses Freight, cartage, and tr	ansport cha	rges	•••	1,000	
	5	Grants—	Danatanga			1 000	
	5 6	Additions to hospital Bureau of Tropical D			•••	1,000	
	7	Education: Northern	n Cook Islan	nds		500	
	8	Ethnological research			•••	100	
	9	In aid of new freezer			£	1,000	
	10	Installation of wireless Mangaia	system at—		± 400		
	11	Niue			1,500	1	1

COOK ISLANDS—continued.

Number of Persons.	Item.				1924-	25.
		VOTE No. 14—COOK ISLANDS—	continued	:.		
1924–25.	i i					
		OTHER CHARGES FOR AND INCIDENTAL T	o-contin	rued.	£	£
	12	Medical service, Niue	•••		250	
	13	Postage, telegrams, and rent of boxes			135	
	14				40	
	15	Subsidy for service to Niue			2,150	
	16	Telephone services (including installati			_,	
	10	maintenance, rent, and calls)			73	
	17	Travelling allowances and expenses			100	
	18	(Data - 1 - 11 - 11 - 11 - 11 - 11 - 11 -	•••		1,850	
	19	Contingencies, including unforeseen e		ro in	1,000	
	1.0	cidental to the other items of the vo			25	
		cidental to the other items of the voi	ie.	••••	20	
		Estimated credits - in - aid under	Section	18 of	10,213	
					10,210	
	1 1	the Public Revenues Act, 19	10 (866 6	end or		
		vote)—		æ		
		Miscellaneous	•••	20		
		Gross Total				22,34
		GROSS TOTAL	•••			22,01
		Credits-in-aid				2
		NET TOTAL—VOTE No. 1	4	-		22,32

DEPARTMENT OF INDUSTRIES AND COMMERCE.

_					1924-25.	
				Salaries. Other Charges.		Total.
Vote No. 15.—Department	of Industri	es and Com	merce-	£	£	£
GROSS TOTAL				4,886	1,265,165	1,270,051
Credits-in-aid	• •			•••	1,126,100	1,126,100
NET TOTAL				4,886	139,065	143,951

1/1	DT T	OTAL	4,880	139,005	143,951
Number of Persons.	Item.	VOTE No. 15.—DEPARTMENT OF IN AND COMMERCE.	NDUSTRIES	1924-	-25.
1924-25.	1	*SALARIES—			
		PROFESSIONAL DIVISION.		· £	£
		Class B—	£		
. 2		1 at £565 1 at £515 (11½ months), £445 (½ months)	565 th) 513		
. 4		T at 2010 (113 months), 2440 (§ month	m)	1,078	
		Class C—			
		1 at £445 \dots	445		
9	İ	1 at £445 (half salary only)	†223		
3		1 at £445 (5 months)	185	853	
		CLERICAL DIVISION.		000	
		Class I—			
1		1 at £615	•••	615	
1		Class IV—		159	
1		1 at £420 (for $4\frac{1}{3}$ months only) . Class VI—	•••	153	
1		1 at £335		335	
		Class VII-			
1		1 at £70 (8 months only) $\qquad \qquad .$		47	
		GENERAL DIVISION.	£		
		1 at £205	205		
		2 at £185	370	1	
		1 at £160 (10 months), £145 (2 months)			
5		1 at £160 (6 months), £145 (6 months)	153	885	
		TRADE REPRESENTATIVES.		909	
		1 (0000 (1 / // // / / / / / / / / / / / / / /	300	İ	
		1 at £100 (also Tourist Agent, £320, an			
		Customs, £50)	100		
3		1 at £100 (also Tourist Agent, £100)	100	500	
				500	
		Salaries of Officers on loan from other Department	ırtments—		
		CLERICAL DIVISION.			
		Class IV—	1	İ	
1		1 at £420 \dots		42 0	
18				4,886	
			<u> </u>	±,000	

^{*} For particuars of salaries see "Public Service Classification List."
"Purchase of Wheat."

[†] Balance of salary chargeable to

DEPARTMENT OF INDUSTRIES AND COMMERCE—continued.

Number of Persons.	Item.		1924–25.	
		VOTE No. 15—DEPARTMENT OF INDUSTRIES		
1924 - 25.		AND COMMERCE—continued.		
			£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Advertising, photographs, books, newspapers, and		
	_	other publications	150	
	3	Bicycles: Purchase and upkeep	5	
	4	British Empire Exhibition	83,545	
	5	British Empire Exhibition Freight, cartage, and transport charges	20	
	$\stackrel{\circ}{6}$	Fuel, light, power, and water	75	
	7	Industrial Exhibitions: Auckland and Hawera	200	
	8	Maintenance and running expenses of refrigeration	1	
		plant, High Commissioner's office	100	
	9	Law-costs	525	
	10	Office-cleaning	25	
	11	Office furniture, fittings, and requisites	100	
	12	Overtime and meal allowances	30	
	13	Payments to other Departments for work done in		
	10	connection with the British Empire Exhibition	5,000	
	14	Postage, telegrams, and rent of boxes	300	
	15	Printing and stationery	150	
	16	Publications, preparation and distribution of	50	
	17	TO 1111.	200	
	18	Purchase of wheat, to establish a credit for the	200	
	10	(£1,125,000 recoverable)	1,125,000	
	19		250	
	1.0	Removal of offices £	200	
	20	Charict shares h		
	$\frac{20}{21}$	Auckland 115		
	$\frac{21}{22}$	TT7.11: 4		
	\ \ \	weilington 500	735	
	23	Special exhibition of New Zealand's products in	100	
•	20	Lord Mayor's Show, London	80	
	24	C-1-13-4 There 3'- 17-1-1-1-1-1-1-1	25,000	
	24	Subsidies to steamer services—	20,000	
·	25	New Zealand-Vancouver (half)	10,000	
	26	New Zealand – San Francisco (half)	12,500	
	$\frac{27}{27}$	Telephone services (including installation, extension,	12,000	
	-	maintenance, rent, and calls)	100	
	28	Temporary clerical and other assistance	355	
	29	Transfer and removal expenses	120	
	30	Travelling allowances and expenses	500	
	31	Typewriters, purchase and repairs of	30	
	32	Contingencies, including unforeseen expenditure in-		
	"-	cidental to the other items of the vote	20	
		oldonoul to the other teems of the vote		
			1,265,165	
		Estimated credits-in-aid under Section 48 of the	1,200,200	
		Public Revenues Act, 1910 (see end of vote)—		
		£		
		Sales of wheat 1,125,000		
		British Empire Exhibition 1,000		
		Miscellaneous 100		
		100	.	
		1,126,100		
		Gross Total		1,270,05
		Credits-in-aid	•••	1,126,10
	ļ	ATTEM MOMAT MOME AT 15		440.00
		NET TOTAL—VOTE No. 15		143,95

DEPARTMENT OF JUSTICE.

					1924–25.			
	-				Salaries.	Other Charges.	Total.	
Vote No. 16.—Department of Justice—				£	£	£		
Subdivision	on I.—Justice:	Head Offic	e		3,506		3,50 6	
,,	II.—Patent O		• •	••	2,784	2,625	5,409	
,,	III.—Bankrup IV.—Coroners		••	••	3,390	6,050 6,000	9,440 6,000	
,,	V.—Justice:		ous Services		•••	25,614	25,614	
Gr	oss Total				9,680	40,289	49,969	
	EDITS-IN-AID					1,200	1,200	
		••	••	••	0.600			
	ET TOTAL	••	• •		9,680	39,089	48,769	
Vote No. 1	7.—Supreme and	l Magistrate	es' Courts—					
$m{S}ubdivision$	on I.—Supreme	Court			12,322	6,225	18,547	
,,	II.—Magistra			••	46,521	18,358	64,879	
,,	III.—Cri mi na	i Prosecuito:	ns	•••		19,150	$\frac{19,150}{}$	
Gr	ROSS TOTAL	• •	• •		58,843	43,733	102,576	
Credits-in-aid			1,400	8,185	9,585			
NET TOTAL			57,443	35,548	92,991			
Vote No. 1	8Prisons Dep	artment						
GF	OSS TOTAL		• •		56,330	80,785	137,115	
Cr	EDITS-IN-AID				2,300	43,500	45,800	
NET TOTAL				54,030	37,285	91,315		
•	TOTALS—CR	EDITS-IN	-AID		3,700	52,885	56,585	
	TOTALS—NE	T	• •	-	121,153	111,922	233,075	
Number of Persons.	Item.	VOTE No. 16.—DEPARTMENT OF JUSTICE.					1924-25.	
			•	·				
19 24– 25.	$ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $ $	bdivision 1	No. I.—Justic	ce.—H	ead Office.	£	£	
	1 *Salarie		NISTRATIVE I	Oivisio	N.	~	~	
_			6 3	,	0100 (1 0	,		
1	trol		ry for Justic l of Prisons, £36)	£792,				
		C	BERICAL DIVI	SION.				
	Class					£		
2		t £615 t £565	•••			615 565		
-	Class	IV				1,180		
1	1. at	t £425 <i>VI</i>			•••	425		
1		£320				320		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

DEPARTMENT OF JUSTICE—continued.

Number of Persons.	Item.	VOTE No. 16.—I	1924–25.				
1924-25.	İ	Subdivision No. I.—	-Justice : Head O	ffice— cont	tinued.	£	£
	1	SALARIES—continued		V		æ	æ.
	1		z. L Division—conti				
		Clericai Class VII—					
		2 at £295			£ 590		
		1 at £245	•••		245		
	1 1	1 at £120	•••	•••	$\frac{1}{120}$		
		1 at £115			115	İ	
6	1 1	1 at £95	•••	•••	95		
		()-	Derrenan			1,165	
		1 at £181	NERAL DIVISION.		181		
2	1 1	1 at £149		•••	149	}	
	.	1 40 14110	•••	•••		330	
13							
	.	<u>. </u>			_	3,548	
		Less salaries	provided but not	now requi	red	42	
		T_{c}	tal—Subdivision	No I			3, 5 0
	1	1.0		110, 1	~		3,30
			ı No II.—Patent	Office.			
	2	SALARIES—	ERICAL DIVISION.		1		
	1	Special Class—	ERICAL DIVISION.			•	
ļ		1 at £665		,		665	
÷		Class IV—	***	***		303	
1		1 at £425	•••	•••		425	
		Class VI—					
1		1 at £335	•••	•••		335	
		Class VII—			£		
		1 at £245 1 at £190	•••	•••	245 190		
	!	1 at £155	•••	•••	155		
	[]	1 at £120	•••	•••	120		
5		1 at £115	•••	•••	115		
			•			825	
			NERAL DIVISION.		000		
0		1 at £280 2 at £145	•••	•••	280 290		
3		2 80 \$140	•••	•••	250	570	
11							
					ĺ	2,820	
		Less salaries p	provided but not 1	now requi	red	36	
						0.704	
		OTHER CHARGES FOR	R AND INCIDENTAL	то		2,784	
	3	Advertising		• • • • • • • • • • • • • • • • • • • •		100	
	4	Expenses in conne	ction with appea	ls under I			
			ade-marks Act, 19	911		10	
	5	Fees to Patent Off		• • •		15	
	6	Fuel, light, power,		•••		30	
	7	Office fittings and Postage, telegrams	requisites	nd talanha	moe	50 100	
	8	Printing and static		na serepno	mes	1,600	
	al	Temporary assista				600	
	9			•••		10	
	10		ces and expenses		1		
		Travelling allowan Typewriters and o	ffice appliances			100	
	10 11	Travelling allowan Typewriters and o Contingencies, inc	ffice appliances luding unforeseen	expendit	ure in-		
	10 11 12	Travelling allowan Typewriters and o Contingencies, inc	ffice appliances	expendit	ure in-	100	
	10 11 12	Travelling allowan Typewriters and o Contingencies, inc cidental to the o Estimated cre	ffice appliances luding unforeseen ther items of this dits-in-aid under	expendit subdivision Section 48	on		
	10 11 12	Travelling allowan Typewriters and o Contingencies, inc cidental to the o Estimated cre Public Re	ffice appliances luding unforeseen ther items of this	expendit subdivision Section 48	on		
•	10 11 12	Travelling allowan Typewriters and o Contingencies, inc cidental to the o Estimated cre Public Re	ffice appliances luding unforeseen ther items of this dits-in-aid under venues Act, 1910 (expendit subdivision Section 48	B of the vote)—		

Number of Persons.	Item.		1924	25.
924-25.	- 	VOTE No 16.—DEPARTMENT OF JUSTICE— continued.		
			£	£ .
		Subdivision No. III.—Bankruptcy.		
		• "		
	14	Salaries-		
		CLERICAL DIVISION.		
		Class I—		
2		1 at £565 565 1 at £50 (also £515 as Registrar, Supreme		
-		Court) 50		
		Class II—	615	
2		2 at £515	1,030	
			, , , , ,	
		Class VI — 1 at £335 335		
2		1 at £320 320		
			655	
		Class VII— 3:at £250 750		
4		1 at £135 135		
		C-vers Dereses	885	
1		GENERAL DIVISION.	205	
		-		
11		,	3,390	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	15	Advertising, books, newspapers, and other publica-	200	
	16	tions	300 4,000	
	$\begin{vmatrix} \tilde{17} \end{vmatrix}$	Fuel, light, power and water, cleaning, cartage, and	,	
	18	office equipment and maintenance Law-costs	$\begin{array}{c c} 25 \\ 100 \end{array}$	
	19	Office fittings, furniture and requisites	50	
	20	Postage, telegrams, and rent of boxes and telephones	350	.*
	$\begin{bmatrix} 21 \\ 22 \end{bmatrix}$	Printing and stationery Rents	$egin{array}{c c} 450 & \\ 250 & \\ \end{array}$	
	23	Temporary assistance	400	
	24	Travelling allowances and expenses	100	
	25	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	25	
		Total—Subdivision No. III —	6,050	9,4
		10tat—Subdivision No. 111		0,1
		Subdivision No. IV.—Coroners.		
		Contraction for AND THEOREM		
	26	CHARGES FOR AND INCIDENTAL TO— Fees and expenses on inquests	5,000	
	27	Payment of jurors	500	
	28	Witnesses' expenses	500	
	ĺ	$Total-Subdivision \ No. \ IV $		6,00
		·		•

Number f Persons.	Item.	VOTE No. 16—DEPARTMENT OF JUSTICE—continued.	1924-	25.
924-25.		Subdivision No. V.—Justice: Miscellaneous Services.	£	£
		CHARGES FOR AND INCIDENTAL TO-	2	
	29	Advertising, photographs, books, newspapers, and	200	
		other publications	200	
	30	Allowances to officers temporarily performing special or higher duties	200	
	31	Commission on money-orders for transmission of	200	
		maintenance-moneys	275	
	32	Compassionate allowance to widow of late J. E.	222	
		Wilson, Stipendiary Magistrate	200	
	33	Expenses under— The Juries Act, 1908	3,000	
	34	The Reformatory Institutions Act, 1909	5,000	
	35	Fines, refund of	100	
	36	Fuel, light, water, cleaning, freight, cartage, and		
		maintenance of Court grounds and offices	3,400	
	27	Grants— To Wilson Hoons in consideration of long garvies		
	37	To Wilson Heaps, in consideration of long service as Sheriff at Nelson	100	
	,	Of an equivalent salary payment in lieu of six	100	
		months' leave of absence on retirement—		
	38	D. O'Rourke (Clerk of Court, Pahiatua)	148	
	39	A. H. Holmes (Registrar, Supreme Court, Christ-	900	
	40	$egin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{c c} 308 \\ 25 \end{array}$	
	41	Office fittings, furniture, and requisites	500	
	42	Postage, telegrams, and rent of boxes	3,000	
	43	Printing and stationery	5,000	
	$\begin{vmatrix} 44 \end{vmatrix}$	Proportion of cost of administering licensing laws in districts where the Counties Act is not in opera-		
	4 %	tion	50	
	45	Subsidy to Chatham Islands Steamer Service— £ Six months to 29th February, 1924 63		
		Six months to 31st August, 1924 62		
		Six months to 28th February, 1925 63		
			188	
	46	Telephone services (including installation, extensions,	1 000	
	477	maintenance, rent, and calls) Temporary clerical and other assistance— £	1,800	
	47	Temporary clerical and other assistance— & Clerks, Bailiffs, and Messengers 950		
		Interpreters 50		
			1,000	
•	48	Transfer and removal expenses	100	
	49	Travelling allowances and expenses	350	
	50 51	Typewriters: Purchase and repairs Contingencies, including unforeseen expenditure in-	500	
	OI	cidental to the other items of this subdivision	170	
		Estimated credits-in-aid under Section 48 of the	110	
		Public Revenues Act, 1910 (see end of vote)—		
		Lump food		
		Jury fees 600 Refunds under Reformatory Institu-		
		tions Act 400		
		Miscellaneous 100		
		$Total-Subdivision \ No. \ V$ 1,100		25,6
		GROSS TOTAL		49,90
		Credits-in-Aid $(a) \dots \dots \dots$		1,20
	1 1	NET TOTAL—VOTE No. 16	-	48,7

·		8	Salaries. £	$\begin{array}{c} \textbf{Other} \\ \textbf{Charges.} \\ \boldsymbol{\pounds} \end{array}$	1924–25. Total. £
Subdivision II	• •			100	100
Subdivision V	• •	• •	••	1,100	1,100
Totals			-	1,200	1,200
				-,	

Number of Persons.	Item.	VOTE No. 17.—SU	UPREME AND COURTS.	MAGIST	RATES'	1924-9	25.
1924-25.		Subdivision	n No. I.—Suprer	ne Court.	-		
	1	SALARIES-	•			£	£
		Cı	LERICAL DIVISION				
		Special Class— 1 at £715			£ 715		
$_2$		1 at £665		•••	665		
-		Class I—				1,380	
0		1 at £615	(alas Official A		615		
2		1 at £515 (Dunedin, £5	(also Official A	ssignee,	515		
•		Class IV—	•,	•••		1,130	
2		2 at £425			•••	850	
		Class V 2 at £380				760	
2	li	Class VI—	•••	•••	•••	700	
5	}	2 at £335	•••	• • •	670		
		3 at £295	•••	•••	885		
		Class VII— 1 at £295			295	1,555	
		1 at £275	•••		275		
		2 at £250	•		500		
		1 at £210	•••	•••	210		
		1 at £190 1 at £125	•••	•••	$egin{array}{c c} 190 & \\ 125 & \end{array}$		
		1 at £120	•••	•••	120		
9		1 at £95	•••	•••	95		
		Cr	ENERAL DIVISION.		,	1,810	
		1 at £295	MERAL DIVISION.		295		
4		3 at £270	•••	•••	810		
			***			1,105	
1		1 temporary Jud	Unclassified.		ļ	2,000	
1 9		9 Clerks to Judge	es at £200	•••		1,800	
	1	O			-		
36	1 1	T and anlasion	- musuidad hast wa		Loui	12,390	
	-	lless salaries	s provided but no	i now requ	ired	68	
						12,322	
		OTHER CHARGES F	OR AND INCIDENT	AL TO-	. ,		
	2	Commuted allows	ance for typing n Iges, at £100 (7 n	otes of eva	1	525	
	3	Proportion of fee				400	
	4	Travelling allow					
		clerks		 	70mt -f	4,000	
	5	Other expenses Appeal	of Circuit Cou	rts and (Court of	1,300	
		· thhom	•••	•••			
			m , , , , , , , , , , , , , , , , , , ,			6,225	4 A
			Total— $Subdivis$	sion No. I			18,5
		Subdivision No.	II.— Maaistrates	and Wa	rdens'		
			Courts.		-		
	6	SALARIES—-	LERICAL DIVISION				
	.	Class I—	AOISIVIU LIADINAL		Ì		
1		1 at £565		•••		565	
		Class II —				ļ	
2		2 at £515	•••	•••		1,030	
		Class III— 9 at £470			£ 4,230		
11		9 at £470 2 at £445	•••	•••	890		
11	i i	Class IV	•••	•••		5,120	
3		3 at £400	•••	•••		1,200	
		Class V—			2 040		
9		8 at £380 1 at £355	•••		3,040 355		
		* an man	• • • •		000		

Persons.	Item.	VOTE No. 17.—SU	PREME AND URTS—continue		RATES'	1924-9	25.
924–24.	- -	1			-		
		Subdivision No. II.—	Magistrates' and continued	Wardens'	Courts-	£	£
	6	SALARIES—continued.			İ		
		CLERICAL	Division-cont	inued			
		Class VI—	DIVISION COM	orottoa.	£		
		9 at £335	•••		3,015		
		13 at £320		•	4,160		
32		10 at £295 Class VII	•••		2,950	10,125	
		6 at £295	•••		1,770	10,120	
	i	7 at £275			1,925		
		8 at £250	•••	• • •	2,000		
		6 at £230 7 at £210	•••		$\begin{bmatrix} 1,380 \\ 1,470 \end{bmatrix}$		
		5 at £190			950		
		9 at £155	•••		1,395		
		6 at £135 4 at £125	•••	• • •	$\frac{810}{500}$		
		8 at £120	•••		960		
		12 at £115	•••	•••	1,380		
87		9 at £95	•••	• • •	855	15,395	
		G _E	NERAL DIVISION.			10,590	
		1 at £295	•••	•••	295		
		4 at £290	•••	• • •	1,160		
		1 at £270 30 at £250	•••	•••	$\frac{270}{7,500}$	ĺ	
		1 at £240	•••		240		
		1 at £230	•••	•••	230		
43		4 at £215 1 at £181	•••	•••	860 181		
		I au æigi	•••	•••		10,736	
188							
	-	T one coloniae	nyovided but not	2011 10011	inad	47,566	
		Less salaries	provided but not	now requ	ired	1,045	
		Estimated cre	edits-in-aid unde	r Section 4	18 of the		
	İ		evenues Act, 1910	0 (see end a	`~ 1		
		Salaries as- Clerks Li	— icensing Commit	tees	900		
			s of Electors		500		
		•			1 400		
		, and the second		٠	1,400		
		, , , , , , , , , , , , , , , , , , ,		¥	1,400	46,521	
		Other Charges fo	R AND INCIDENTA	AL TO	1,400	46,521	
	7	Other Charges fo. Allowances to				46,521	
	7	Other Charges fo				46,521	
		OTHER CHARGES FO Allowances to— • Chief Bailiffs ac £50 Officers acting a	eting as Mainten as Inspectors of I	ance Office	ers: 3 at	150	
	8	OTHER CHARGES FO Allowances to— • Chief Bailiffs ac £50 Officers acting a 7 at £25 and	eting as Mainteners as Inspectors of I 1 at £10	ance Office Factories— 	ers : 3 at	150 185	
	8 9	OTHER CHARGES FO Allowances to— • Chief Bailiffs ac £50 Officers acting a 7 at £25 and Police Consta	eting as Mainten as Inspectors of 1 1 at £10 bles acting as Cl	ance Office Factories— erks of Co	ers: 3 at urts	150 185 1,820	
	8 9 10 11	OTHER CHARGES FO. Allowances to— Chief Bailiffs ac £50 Officers acting a 7 at £25 and Police Consta Mileage fees to be Office-cleaners	eting as Mainteners as Inspectors of I at £10 bles acting as Cl refunded to Bai	ance Office Factories— erks of Co liffs (recov 	ers: 3 at urts erable)	150 185	
	8 9 10	OTHER CHARGES FO. Allowances to— Chief Bailiffs ac £50 Officers acting a 7 at £25 and Police Consta Mileage fees to be Office-cleaners Reimbursement of	eting as Mainteners as Inspectors of I at £10 bles acting as Cl refunded to Bai at plaintiff in B	ance Office Factories— erks of Co liffs (recov	ers: 3 at urts erable) d Co. v.	150 185 1,820 7,500	
,	8 9 10 11	OTHER CHARGES FO. Allowances to— · Chief Bailiffs ac £50 Officers acting a 7 at £25 and Police Consta Mileage fees to be Office-cleaners Reimbursement o Ormsby: Condu	eting as Mainteners Inspectors of I at £10 bles acting as CI refunded to Bai of plaintiff in Buct money and	ance Office Factories— erks of Co liffs (recov rowne and	ers: 3 at urts erable) congfully	150 185 1,820 7,500 1,900	
	8 9 10 11	OTHER CHARGES FO. Allowances to— · Chief Bailiffs ac £50 Officers acting a 7 at £25 and Police Consta Mileage fees to be Office-cleaners Reimbursement o Ormsby: Condu	eting as Mainteners as Inspectors of I at £10 bles acting as Cl refunded to Bai at plaintiff in B	ance Office Factories— erks of Co liffs (recov rowne and	ers: 3 at urts erable) congfully	150 185 1,820 7,500	
·	8 9 10 11 12 13 14	OTHER CHARGES FO. Allowances to— Chief Bailiffs ac £50 Officers acting a 7 at £25 and Police Consta Mileage fees to be Office-cleaners Reimbursement o Ormsby: Conduretained by form Rents Transfer and remo	as Inspectors of I at £10 as Inspectors of I at £10 ables acting as CI refunded to Bai af plaintiff in Buct money and iner Clerk of Court aval expenses	ance Office Factories— erks of Co liffs (recov rowne and mileage wi rt, Kawhia	ers: 3 at urts erable) congfully	150 185 1,820 7,500 1,900 3 500 1,300	
•	8 9 10 11 12	OTHER CHARGES FO. Allowances to— Chief Bailiffs ac £50 Officers acting a 7 at £25 and Police Consta Mileage fees to be Office-cleaners Reimbursement of Ormsby: Conducted by form Rents	as Inspectors of I at £10 as Inspectors of I at £10 ables acting as CI refunded to Bai af plaintiff in Buct money and iner Clerk of Court aval expenses	ance Office Factories— erks of Co liffs (recov rowne and mileage wi rt, Kawhia	ers: 3 at urts erable) congfully	150 185 1,820 7,500 1,900	
•	8 9 10 11 12 13 14	Other Charges for Allowances to— · Chief Bailiffs at £50 Officers acting a 7 at £25 and Police Consta Mileage fees to be Office-cleaners Reimbursement of Ormsby: Conducted by form Rents Transfer and remoderated allowards	as Inspectors of I at £10 as Inspectors of I at £10 ables acting as CI refunded to Bai af plaintiff in Buct money and iner Clerk of Court aval expenses	ance Office Factories— erks of Co liffs (recov rowne and mileage wi rt, Kawhia s	erable) d Co. v. congfully	150 185 1,820 7,500 1,900 3 500 1,300	
	8 9 10 11 12 13 14	OTHER CHARGES FOR Allowances to— · Chief Bailiffs and £50 Officers acting a 7 at £25 and Police Consta Mileage fees to be Office-cleaners Reimbursement of Ormsby: Conductive Conduction of the Constant of Cons	as Inspectors of I at £10 as Inspectors of I at £10 ables acting as Cl refunded to Bai af plaintiff in B act money and concer Clerk of Court aval expenses are and expense edits-in-aid under evenues Act, 1910	ance Office Factories— erks of Co liffs (recov rowne and mileage wi rt, Kawhia s r Section 4	ers: 3 at urts erable) d Co. v. congfully 18 of the f vote)—	150 185 1,820 7,500 1,900 3 500 1,300	
	8 9 10 11 12 13 14	Other Charges for Allowances to— · Chief Bailiffs at £50 Officers acting a 7 at £25 and Police Consta Mileage fees to be Office-cleaners Reimbursement of Ormsby: Conducted by form Rents Transfer and remotes alloward Estimated creating alloward Public Reallowances	as Inspectors of I at £10 As Inspectors of I at £10 As Inspectors of I at £10 As Inspectors of I at £10 As Inspectors as Clerk of I at £10 As Inspectors and inspectors and inspectors and expenses and expense addits-in-aid under evenues Act, 1910 to officers active	ance Office Factories— erks of Co liffs (recov rowne and mileage wi rt, Kawhia s r Section 4	ers: 3 at urts erable) d Co. v. congfully t8 of the f vote)—	150 185 1,820 7,500 1,900 3 500 1,300	
	8 9 10 11 12 13 14	OTHER CHARGES FOR Allowances to— · Chief Bailiffs and £50 Officers acting a 7 at £25 and Police Consta Mileage fees to be Office-cleaners Reimbursement of Ormsby: Conducted by form Rents Transfer and remoderated Travelling alloward Estimated creating Public Reallowances Inspector	as Inspectors of I at £10 as Inspectors of I at £10 bles acting as Cl refunded to Bai af plaintiff in B act money and : brown expenses action and expenses and expense edits-in-aid under evenues Act, 1910 to officers actions of Factories	r Section 4	ers: 3 at urts erable) d Co. v. congfully 18 of the f vote)— £ 185	150 185 1,820 7,500 1,900 3 500 1,300	
·	8 9 10 11 12 13 14	Other Charges for Allowances to— · Chief Bailiffs at £50 Officers acting a 7 at £25 and Police Consta Mileage fees to be Office-cleaners Reimbursement of Ormsby: Conducted by form Rents Transfer and remotes alloward Estimated creating alloward Public Reallowances	as Inspectors of I at £10 as Inspectors of I at £10 bles acting as Cl refunded to Bai af plaintiff in B act money and : brown expenses action and expenses and expense edits-in-aid under evenues Act, 1910 to officers actions of Factories	ance Office Factories— erks of Co liffs (recov rowne and mileage wi rt, Kawhia s r Section 4	ers: 3 at urts erable) d Co. v. congfully 18 of the f vote) \$ 185 7,500	150 185 1,820 7,500 1,900 3 500 1,300	
,	8 9 10 11 12 13 14	OTHER CHARGES FOR Allowances to— · Chief Bailiffs and £50 Officers acting a 7 at £25 and Police Consta Mileage fees to be Office-cleaners Reimbursement of Ormsby: Conducted by form Rents Transfer and remoderated Travelling alloward Estimated creating Public Reallowances Inspector	as Inspectors of I at £10 as Inspectors of I at £10 bles acting as Cl refunded to Bai af plaintiff in B act money and : brown expenses action and expenses and expense edits-in-aid under evenues Act, 1910 to officers actions of Factories	r Section 4	ers: 3 at urts erable) d Co. v. congfully 18 of the f vote)— £ 185	150 185 1,820 7,500 1,900 3 500 1,300	
	8 9 10 11 12 13 14	OTHER CHARGES FOR Allowances to— · Chief Bailiffs and £50 Officers acting a 7 at £25 and Police Consta Mileage fees to be Office-cleaners Reimbursement of Ormsby: Conducted by form Rents Transfer and remoderated Travelling alloward Estimated creating Public Reallowances Inspector	as Inspectors of I at £10 as Inspectors of I at £10 bles acting as Cl refunded to Bai af plaintiff in B act money and : brown expenses action and expenses and expense edits-in-aid under evenues Act, 1910 to officers actions of Factories	r Section 4	ers: 3 at urts erable) d Co. v. congfully 18 of the f vote) \$ 185 7,500	150 185 1,820 7,500 1,900 3 500 1,300	

Number of Persons.	Item.	VOTE No. 17.—SUPREME AND MAGISTRATES' COURTS—continued.	1924-	25.
1924-25		Subdivision No. III—Criminal Prosecutions.	£	£
	16 17 18 19	CHARGES FOR AND INCIDENTAL TO— Expenses in connection with the defence of prisoners under the Justices of the Peace Amendment Act, 1912 Expenses of witnesses Fees to Crown Solicitors and Prosecutors Payment of jurors under the Juries Act, 1908	150 9,500 3,500 6,000	
		Estimated credits-in-aid under Section 48 of the Publc Revenues Act, 1910 (see end of vote)— Refund of costs of prosecution £500		
		Total—Subdivision No. III		19,150
		Gross Total		102,576
		Credits-in-aid (a)		9,585
		NET TOTAL—VOTE No. 17		92,991
	1	VOTE No. 18.—PRISONS DEPARTMENT. SALARIES—		
		Administrative Division.		
1		1 (Controller-General of Prisons) at £792 (also Under-Secretary for Justice, £128, and Chief Probation Officer, £36)	792	
		Professional Division.		
1		1 at £750 (Superintendent, Waikeria, also Medical Superintendent, Mental Hospital, Tokanui, £251)	750	
		CLERICAL DIVISION. Class III—		
1		1 at £470	470	
1		1 at £400	400	
1		Class V— 1 at £380 £	380	•
3		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
J		Class VII— 2 at £295 590 1 at £265 265 1 at £165 165	.990	
8		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		Note.—Scale salaries or wages include cost-of-living increase	1,550	
(a)	Cred	dits-in-aid— Other	•	
(~)		Salaries, Charges. £ £ edivision II 1,400 7,685	Total. £ 9,085 500	
		Totals	$\frac{500}{9,585}$	

Number of Persons.	Item.	VOTE No. 18.—PRISONS D	EPAR	FMENTc	ontinued.	1924–	25.
924-25.	1	Salaries—continued.				£	£
		General D	IVISION	i .		~	2
1		Inspector of Prisons	•••	•••		640	
		Superintendents—	.4:	(O a t la a)	£		
		Ī at £525 (Borstal Institu 2 at £515	шоп), і	(a monus)	$\begin{array}{c c} 394 \\ 1,030 \end{array}$		
v		2 at £470	•••	•••	940		
		1 at £265			265		
7		1 at £255	•••	•••	255		
		Gaolers—			200	2,884	
		1 at £390 1 at £350	•••	•••	390 350		
•		1 at £345		•••	345		
		2 at £325		••	650		
7.		2 at £305	•••	•••	610		
		Deputy Superintendents—				2,345	
2		2 at £380 Officers in Charge	•••	•••	•••	760	
		Officers in Charge— 1 at £360			360		
2		1 at £335		•••	335		
_		Chief Warders—		• • •		695	
		1 at £360	•••	••	360		
5		4 at £340	··· .	•••	1,360	1 500	
		Principal Warders— 10 at £310			3,100	1,720	
11		1 at £290	•••	•••	290		
		Acting Principal Warders—	-	•••		3,390	
		14 at £295		•••	4,130	,	
17		3 at £275	•••	•••	825		
		Warders—			2 200	4,955	
		12 at £280 23 at £275	•••	•••	$\begin{bmatrix} 3,360 \\ 6,325 \end{bmatrix}$		
		9 at £265		•••	2,385		
		9 at £260			2,340		
		17 at £255		•••	4,335		
		2 at £240	• • •	• • •	480		
		4 at £230	•••	•••	920		
		7 at £235 9 at £225	•••	•••	$\frac{1,645}{2,025}$	ĺ	
97		5 at £205	•••		1,025		
0,		Warder Instructors—				24,840	
		5 at £290	•••	•••	1,450		
		1 at £285	•••	•••	285		
		8 at £280 4 at £275	•••	•••	$\begin{bmatrix} 2,240 \\ 1,100 \end{bmatrix}$	İ	
		4 at £265		•••	1,060		
		2 at £260		•••	520		
25		1 at £235	•••	•••	235		
	1	Night-watch Warders—			077	6,890	
		1 at £275 2 at £255	•••	•••	275	ļ	
		1 at £240	***	•••	$\begin{bmatrix} 510 \\ 240 \end{bmatrix}$		
		2 at £235		•••	470		
7		1 at £230			230		
		Matron—				1,725	
1		1 at £215	•••	•••		215	
		Assistant Matrons 3 at £185			555		
		1 at £170	•••	***	170		
		1 at £160	•••	•••	160		
		1 at £155			155		
7		1 at £150	•••	•••	150	1 100	
4		Office Assistant				1,190	
$1 \\ 1$		Office Assistant Shorthand-writer and typis	···	•••	•••	215 185	
Τ.		Farm-manager, Invercargil		•••	380	100	
		777 11 1	•••	•••	295		
	1	Farm-manager, Paparua (S		ns)	74		

Number f Persons.	Item.		1924-2	25.
1924–25.	- <u> </u>	VOTE No. 18.—PRISONS DEPARTMENT—continued.		
1021-20,	1	Salaries—continued.	£	£
		GENERAL DIVISION—continued.		
		Quarry Manager, Auckland 395 Brickworks Manager, Wi Tako 400		
6		Electrician and Engineer, Waikeria		
		(£305), (6 months, approx.) 148	1,692	
	l	Tara amount doducted for you of houses and	59,673	
		Less amount deducted for use of houses and quarters	5,014	
		Non-classified.	54,659	
1		Police-gaoler	245	
		Medical Officers—		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £85 85		
8		1 at £75 75 2 at £50 100		
0			1,035	
		Institutional Schoolmasters— 3 at £70 210		
	ļ	$egin{array}{cccccccccccccccccccccccccccccccccccc$		
5		1 at £40 40		
1		Instructor in physical culture	300 55	
228	-		1,635	
	-	Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)	1,055	
•		Salaries of officers employed on £ public works 2,300		
			56,294	
		OTHER CHARGES FOR AND INCIDENTAL TO— Prisons and Institutional Upkeep—		
	2	Advertising, photographs, books, newspapers, and other publications	250	
	3	Allowances to instructing and other officers	600	
	4	Assistance to discharged prisoners	50	
	$\begin{array}{ c c c } 5 \\ 6 \end{array}$	Burial of deceased prisoners Clothing, bedding, furniture, &c	6,500	
	7	Earnings of prisoners under Crimes Amendment		
	۵	Acts	4,400	
	$\begin{vmatrix} 8 \\ 9 \end{vmatrix}$	Equipment and instructional work Fuel, light, power, and water	4,000	
	10	Grants to Prisoners' Aid and kindred societies	200	
	11	Gratuities to prisoners on release	150	
	12	Lodging-allowances	2,500	
	13 14	Maintenance of prison buildings Maintenance of prisoners in public hospitals	400 350	
	15	Medicines and medical comforts	900	
	TO		100	
	16	Office fittings and requisites	100	
	16 17	Postage, telegrams, and rent of boxes	575	
	16 17 18	Postage, telegrams, and rent of boxes Printing and stationery	575 700	
	16 17 18 19 20	Postage, telegrams, and rent of boxes Printing and stationery Rations Sanitary services, cleaning, and disinfectants	575	
	16 17 18 19	Postage, telegrams, and rent of boxes Printing and stationery Rations	575 700 18,000	

Number f Persons.	Item.		1924-	25 .
924-25.	<u>-</u>	VOTE No. 18-PRISONS DEPARTMENT.—contd.		
		OTHER CHARGES FOR AND INCIDENTAL TO—continued. Transport Charges—	£	£
	24 25	Conveyance of prisoners on release Freight, cartage, &c	1,000 200	
	26	Travelling Allowances and Expenses— Allowances and expenses of Departmental officers	800	
	27	Transfer of prisoners	1,400	
	28 29	Uniforms and accoutrements for prison officers · Vehicles: Purchase and upkeep, hire charges, &c	$\frac{500}{1,200}$	
	30	Contingencies, including unforeseen expenditure incidental to the other items of the vote	75	
			53,400	
		Crimes Amendment Acts—		
	31	Administration expenses	550	
	32	Payment to prisoners' dependants	5,500	
		_	6,050	
	33	Borstal Institutions Act— Contributions towards expenses of after-care societies		
	55	formed in terms of Section 18, Borstal Institutions		
	34	Establishment Act, 1924	$\begin{bmatrix} 200 \\ 200 \end{bmatrix}$	
	94	Industry earnings of inmates		
		_	400	
	95	General Prison Industries, Farms, Camps, and Works—	1 500	
	35 36	Brickmaking, expenses in connection with Factories: Materials for manufacture	$\begin{bmatrix} 1,500 \\ 2,800 \end{bmatrix}$	
	37	Farms, expenses in connection with	7,000	
	38	Forage	500	
	39	Fuel, light, power, and water Invercargill Borstal Institution—	200	
	40	Construction of rifle range, timber and materials	500	
	41	Development of estuary lands	200	
	42 43	Motor-vehicles, horses for farms and prison works Prison camps, expenses connected with	1,000 1,400	
	44	Prison quarries, expenses connected with	900	
	45	Prison works, expenses connected with	1,500	
	46 47	Rents and royalties Tools and materials for prison labour	1,350	
	48	Workshops equipment	$\begin{bmatrix} 1,400 \\ 60 \end{bmatrix}$	
			20,310	
		Estimated credits-in-aid under Section 48 of the		
		Public Revenues Act, 1910 (see end of vote)—		
		Boots and clothing 1,000		
		Bricks 4,000		
		Concrete blocks and tiles 2,000 Farm-produce 8,000		
		Farm stock 3,500		
		Prison labour 4,000		
		Sale of metal, shingle, and sand 17,000		
		$egin{array}{cccccc} { m Timber} & \dots & \dots & 2,500 \\ { m Miscellaneous} & \dots & 1,500 \\ \end{array}$		
		43,500		
			80,160	
		. -	136,454	
		\ -		

${\bf DEPARTMENT\ OF\ JUSTICE--} continued.$

Number of Persons.	Item.		1924	-25.
1924-25.		VOTE No. 18.—PRISONS DEPARTMENT—contd. PROBATION BRANCH—	£	£
	49	SALARIES— Administrative Division.		
	-	1 Chief Probation Officer at £36 (also Controller-General of Prisons, £792, and Under-Secretary for Justice, £128)	36	
	50 51 52 53	Other Charges for and incidental to— Administration expenses and advances to probationers Allowances to Honorary Probation Officers Postage, telegrams, &c Printing and stationery	250 300 25 50	
		-	625	
		Gross Total		137,118
		Credits-in-aid (a)		45,800
		NET TOTAL—VOTE No. 18		91,318

(a) Credits-in-aid—	(a)	Credit	s-in-	aid
---------------------	-----	--------	-------	-----

outin in mid				1 9 24 – 25. £
Salaries	• •			2,300
Other Charges	• •	• •		43,500
Totals	• •		• •	45,800

CROWN LAW OFFICE.

						i.	٠.,	19	24-25.	
						Salar	ies.	Othe	er Charges.	Total.
Vote No. 1	9.—C	rown Law	Office—			The state of the s	£		£	£
Gr	oss [lotal .				5	,409		1,272	6,681
Cr	EDITS	S-IN-AID	.,	• •			565		150	715
NI	ET T	OTAL		••		4	,844		1,122	5,966
Number of Persons.	Item.	VO	VE No. 1	9.—CROW	N LAW	OFFI	O.D.		1924	-25.
1924-25.	1	*Salaries		5O110 W	11 12/11 11	OPPI	O19.		£	£
			Pro	FESSIONAL	Division					
		Duin sin	oal Law C				,	£		
4		1 Crow	n Solicito	or at £956 ors at £837	•••	•••		138 956 674		
		Class							3,768	
1			£565		•••	•••			565	
				LERICAL D	ivision.					
1		Class 1 1 at Class 1	£565 (also	Private S	ecretary,	£ 25)			565	l
1				nonth), £10	00 (11½ mc	onths)			101	
			G	eneral D	IVISION.					
2		1 at £2 1 at £1			•••			205 185	390	
9		Cadet's	s lodging-	allowance	•••				20	
PANERSON IN I			Public Departme	credits-in-a Revenues A ent of Int of Private er of Intern	ct, 1910 (s ernal Aff Secretar	ee end c airs :	of vote			
									5,409	

...

Allowance to officer performing special or higher

Annual certificates under the Law Practitioners Act,

Grant to officer on retirement, equivalent to salary in lieu of leave, in terms of Public Service Regula50

30

478

125

25

OTHER CHARGES FOR AND INCIDENTAL TO-

2

3

4

5 6 duties

tions

Law-costs

Office fittings and requisites

^{*} For particulars of salaries see "Public Service Classification List." Note.—Scale salaries or wages include cost-of-living increase.

CROWN LAW OFFICE—continued.

Number of Persons.	tem.		1924-	25.
1924–25.	!	VOTE No. 19.—CROWN LAW OFFICE—continued.	£	£
4 .	7 8 9 10 11 12	OTHER CHARGES FOR AND INCIDENTAL TO—continued Postage, telegrams, and rent of boxes	50 250 100 94 20 50 1,272	
		Public Revenues Act, 1910 (see end of vote)—	1,212	
		Law-costs 150		
	/	Gross Total		6, 6 8
		Credits-in-aid (a)	•••	71
	-	NET TOTALVOTE No. 19		5,96

		1 * .		• 1	
(a)) Cr	edits	3-1n	-aıd	

1105-111-010					1924–25
Salaries		• •			565
Other Charges	• •	• •	• •	• •	150
Total		• •	• •	• •	715

POLICE DEPARTMENT.

	_				1924–25.	
			,	Salaries.	Other Charges.	Total.
Vote No. 20.—Police Departm	nent—			£	£	£
Subdivision I.—Police Depo	ir tment	••	• •	324,122	97,570	421,692
" II.—Miscellaneo	ou s	••		•••	1,018	1,018
GROSS TOTAL				324,122	98,588	422,710
CREDITS-IN-AID				10	3,700	3,710
NET TOTAL	• •	• •		324,112	94,888	419,000

Number Persons.	Item.	VOTE No. 20.—POLICE DEP	ARTMEN	וחי	1924–	25.
924-25.		Subdivision No. I.—Police De			£	£
	1	Salaries—				
		Head Office—		·		
1		1 at £920 (Commissioner)	•••		920	
		*CLERICAL DIVISION.			İ	
1		$\begin{array}{ccc} Class & I \longrightarrow \\ 1 \text{ at } \pounds 565 & \dots \\ Class & VI \longrightarrow \end{array}$	•••	•••	565	
1		1 at £320 Class VII—	•••	£	320	
		1 at £245 1 at £165	•••	245 165		
3		1 at £100	•••	100	510	
	!	*General Division.			510	
1		1 at £295		•••	295	
		Police Officers.		ļ		
1		Superintendent	•••	•••	550	
2		2 Senior Sergeants at 21s. per day		•••	767	
2		2 Sergeants: 1 at 19s., 1 at 18s. pe		•••	675	
3		3 Constables: 2 at 16s., 1 at 14s. r	er day	•••	840	
-		Districts—	. 0550		0.050	
5		5 Superintendents: 2 at £600, 3 a	τ ಪ00 ∪	•••	2,850	
$\frac{12}{4}$		12 Inspectors: 9 at £500, 3 at £48	ου	•••	5,955	
$rac{4}{28}$		4 Sub-Inspectors at £440	 S at 00a 4	2	1,760	
20		28 Senior Sergeants: 19 at 21s., 6 20s. per day	າ & U 2∪8. ເ	Ju., 5 & 0	10 699	
90		90 Sergeants: 60 at 19s., 20 at 18	 8s. 6d., 10	at 18s.	10,622	
875		per day 875 Constables: 100 at 16s. 6d., 12 15s. 6d., 30 at 15s., 240 at 14s	 0 at 16s.,	 180 at	30,843	
		per day			240,170	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

POLICE DEPARTMENT—continued.

Number of Persons.	Item.		1924-	-25.
4:0:05		VOTE No. 20.—POLICE DEPARTMENT—continued.		
1924–25.		Subdivision No. I.—Police Department—continued.	£	£
•	1	Salaries—continued.		
		Police Officers—continued.		
8	İ	Districts—continued. 8 Senior Detectives: 2 at 21s., 5 at 20s. 6d., 1 at		
7		20s. per day 7 Detective-Sergeants: 1 at 21s., 5 at 19s., 1 at	3,002	
32		18s. per day	2,445	
		16s., 17 at 15s. 6d., 3 at 15s., 2 at 14s. 6d. per day	9,353	
$\frac{4}{5}$		4 Native Constables	250	
7	1	7 District Constables 8 Matrons: 2 at £180, 1 at £170, 3 at £160, 2 at £150	$\begin{array}{c} 600 \\ 1,310 \end{array}$	
8, 12		12 Surgeons: 4 at £150, 8 at £25	800	
	_	Probationary Constables	5,000	
1,107		Female Searchers	120	
	-	Allowances to members of Force for detective, clerical, and special duty	3,600	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—		
		Contributions from other Departments 10		
			324,122	
		OTHER CHARGES FOR AND INCIDENTAL TO—	:	
	2	Advertising, photographs, books, newspapers, and	1 000	
	3	other publications Bicycles: Purchase and upkeep	$\frac{1,000}{1,300}$	
	4	Clothing (free issue), including repairs, allowance for	1,500	
		making up uniforms, and boot allowance	10,000	
	õ	Freight, cartage, insurance, and transport charges	450	
	6	Fuel, light, power, and water	4,000	
	7	Horse allowances, purchase, forage, bedding, shoeing,		
		clipping, and grazing of horses, including com- pensation for loss of private horses	5,220	
	8	House allowances to officers and men unprovided	5,220	
		with quarters	21,000	
	9	Medical, dental, and veterinary services, medicines	<i>'</i>	
		and medical stores, ambulance instruction and		
		hire, and hospital charges for police disabled through duty	500	
	10	Motor vehicles: Purchase and maintenance	5,000	
	11	Office fittings and requisites (including typewriter	3,555	
	1,41	allowances)	1,000	
	12 13	Police examinations, expenses of	150	
	10	Police prosecutions and inquests, legal and medical advice, interpreting, payments for special services,		
		and expenses of Departmental inquiries	2,750	
	14	Postage, telegrams, and rent of boxes	5,000	
	15	Printing and stationery	5,500	
	16 17	Rations	1,000	
	11	Rent of stations, quarters, and paddocks, and rates	3,000	
	18	on leasehold and acquired properties Repairing, painting, and improving police premises	750	
	19	Rewards and expenses for the suppression of sly-grog	,00	
		selling and the introduction of liquor into prohibited		
	20	districts	500	
	∪⊿	Rewards to members of the Force for meritorious conduct	500	
	1	1 30114401	300 (

POLICE DEPARTMENT—continued.

Number of Persons.	Item.		1924	-25.
1004 05	-	VOTE No. 20.—POLICE DEPARTMENTcontinued.		
1924-25.		Subdivision No. I.—Police Department—continued.	£	£
	21	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Saddlery, horse-covers, &c	150	
	22	Scavenging, chimney-sweeping, cleaning stations and windows, sanitary services and washing	500	
	23	Stores, supplies, accourrements, and expenses incidental thereto	900	
	$egin{array}{ c c c c c c c c c c c c c c c c c c c$	Telephone services (including installation, extensions, maintenance, rent, and calls)	5,300 4,500	
	26	Transfer and removal expenses Travelling expenses of police and transport of prisoners, and repairs to vehicles damaged by	1	
	27	prisoners Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	17,500	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—		
		Clothing deductions, &c 100 Recoveries of—		
		Costs of prosecutions 800 Travelling-expenses, &c 250		
		Sick deductions 100 Subsidies from local bodies 2,300 Miscellaneous recoveries 150		
		3,700		
		Total—Subdivision No. I	97,570	421,6 9
		Subdivision No. II.—Police: Miscellaneous Services.		
		Charges for and incidental to— Compassionate allowances to—		
	28 29	Widow of late Inspector S. J. Dew Widow of late Sergeant William Miller	250 386	
	30	Compensation for automatic pistols and other expenses of administration of the Arms Act, 1920 Compensation to mother of late Constable M. G.	100	
	32	Smart, accidentally drowned whilst on duty at Dunedin	250 32	
	04	Funeral expenses of late Constable M. G. Smart Total—Subdivision No. II	02	1,01
		GROSS TOTAL		422,71
		Credits-in-aid (a)		3,71
		NET TOTAL—VOTE No. 20		419,00

(a) Credits-in-aid—			
	Salaries.	Other Charges.	19 24 –2 5 . Total.
	£	£	£
Subdivision I	. 10	3,700	3,710
M-4-1-	10	9 700	2 710

PENSIONS DEPARTMENT.

Gros Cret NET	—Pensions Departments Total TOTAL Total Total Total	rtment		Salaries £ 25,5 2,1	327 500	£ 180,048	
GROS CRET NET Number of Persons	SS TOTAL DITS-IN-AID TOTAL			25,8 2,8	327 500	180,048 1 00,250	£ 205,375 102,750
CREINET Number of Persons	TOTAL			2,	500	100,250	
Number of Persons	TOTAL			2,	500	100,250	
Number of Persons	TOTAL						
of Persons.			.	ĺ		79,798	102,625
of Persons.							
1924–25.	VOTE					1924	-25.
1021-20.		No. 21.—PENSI	ONS DEI	PARTME	NT.		1
	1 *SALARIES-	-				£	£
		Administrativ	E Divisio	N.			
1	1 at £88	37 (Commissioner)			• • •	837	
		CLERICAL	Division.				
1	Class I		•••	•••		615	
	Class I.	<i>I</i>					
1	1 at s		•••			515	
1	Class II		•••			470	
5	Class I 4 at 1 1 at 1	3425	•••		£ 1,700 420		
	Class V	<i>.</i>				2,120	l
5	5 at s		•••	•••	•••	1,775	
3	Class I 1 at 3 2 at 3	3335		•••	£ 335 640	975	
	Class V 7 at 1 5 at 1 4 at 1 5 at 1 5 at 1 5 at 1 6 at 1 6 at 1 6	3295 3275 3265 3250 3230 3210 £190 3180			2,065 1,375 1,060 1,000 1,150 840 2,280 540 1,240 810		
74	4 at £ 11 at 1 at £	£95		•••	$\begin{bmatrix} 460 \\ 1,045 \\ 70 \end{bmatrix}$		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

PENSIONS DEPARTMENT—continued.

of Persons.	Item.	VOTE No. 21.—PENSIONS DEPARTMENT—	1924-	-25.
924–25.	- 	continued.		
	1	SATIARIES—continued.	£	£
	*			
		GENERAL DIVISION.		
1.1	.	$egin{array}{cccccccccccccccccccccccccccccccccccc$		
		2 at £160 320		
		1 at £137 137		
9		2 at £130 260		
			1,447	
		Cadets' lodging-allowances Salaries and honoraria of members of War Pensions	$ \begin{array}{c c} 190 \\ 2,578 \end{array} $	
		Board Salary, Pensions Medical Examiner	950	
		Less salaries provided but not now required	26,407 1,080	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—		
		Contribution from Imperial Govern- ment for services rendered in		
		payment of Imperial pensioners £		
		residing in New Zealand 2,500		
		2,000		
			25,327	
		-		
	ĺ			•
			ı	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and		
	2	Advertising, photographs, books, newspapers, and	20	
	2 3	Advertising, photographs, books, newspapers, and	20	
		Advertising, photographs, books, newspapers, and other publications Amount misappropriated by N. Peters, an extemporary officer	20 9 7 5	
		Advertising, photographs, books, newspapers, and other publications Amount misappropriated by N. Peters, an extemporary officer Exchange and commission on money-orders		
	3 4 5	Advertising, photographs, books, newspapers, and other publications Amount misappropriated by N. Peters, an extemporary officer Exchange and commission on money-orders Fees for certificates of age	975 300 10	
	3 4 5 6	Advertising, photographs, books, newspapers, and other publications Amount misappropriated by N. Peters, an extemporary officer Exchange and commission on money-orders Fees for certificates of age Fuel, light, power, and water	975 300 10 100	
	3 4 5 6 7	Advertising, photographs, books, newspapers, and other publications Amount misappropriated by N. Peters, an extemporary officer Exchange and commission on money-orders Fees for certificates of age Fuel, light, power, and water Grants to recipients of New Zealand Cross	975 300 10 100 50	
	3 4 5 6 7 8	Advertising, photographs, books, newspapers, and other publications Amount misappropriated by N. Peters, an extemporary officer Exchange and commission on money-orders Fees for certificates of age Fuel, light, power, and water Grants to recipients of New Zealand Cross Interpreters' fees	975 300 10 100	
	3 4 5 6 7	Advertising, photographs, books, newspapers, and other publications Amount misappropriated by N. Peters, an extemporary officer Exchange and commission on money-orders Fees for certificates of age Fuel, light, power, and water Grants to recipients of New Zealand Cross Interpreters' fees Loading on life-insurance premiums on account of	975 300 10 100 50 10	
	3 4 5 6 7 8 9	Advertising, photographs, books, newspapers, and other publications Amount misappropriated by N. Peters, an extemporary officer Exchange and commission on money-orders Fees for certificates of age Fuel, light, power, and water Grants to recipients of New Zealand Cross Interpreters' fees Loading on life-insurance premiums on account of impaired health occasioned by war service	975 300 10 100 50 10	
	3 4 5 6 7 8	Advertising, photographs, books, newspapers, and other publications Amount misappropriated by N. Peters, an extemporary officer Exchange and commission on money-orders Fees for certificates of age Fuel, light, power, and water Grants to recipients of New Zealand Cross Interpreters' fees Loading on life-insurance premiums on account of impaired health occasioned by war service Medical fees	975 300 10 100 50 10	
	3 4 5 6 7 8 9	Advertising, photographs, books, newspapers, and other publications Amount misappropriated by N. Peters, an extemporary officer Exchange and commission on money-orders Fees for certificates of age Fuel, light, power, and water Grants to recipients of New Zealand Cross Interpreters' fees Loading on life-insurance premiums on account of impaired health occasioned by war service Medical fees Medical treatment of—	975 300 10 100 50 10 275 7,500	
	3 4 5 6 7 8 9	Advertising, photographs, books, newspapers, and other publications Amount misappropriated by N. Peters, an extemporary officer Exchange and commission on money-orders Fees for certificates of age Fuel, light, power, and water Grants to recipients of New Zealand Cross Interpreters' fees Loading on life-insurance premiums on account of impaired health occasioned by war service Medical fees Medical treatment of— Returned soldiers (recoverable)	975 300 10 100 50 10 275 7,500	
	3 4 5 6 7 8 9 10	Advertising, photographs, books, newspapers, and other publications Amount misappropriated by N. Peters, an extemporary officer Exchange and commission on money-orders Fees for certificates of age Fuel, light, power, and water Grants to recipients of New Zealand Cross Interpreters' fees Loading on life-insurance premiums on account of impaired health occasioned by war service Medical fees Medical treatment of— Returned soldiers (recoverable) South African War veterans	975 300 10 100 50 10 275 7,500 100,000 250	
	3 4 5 6 7 8 9 10	Advertising, photographs, books, newspapers, and other publications	975 300 10 100 50 10 275 7,500 100,000 250 50	
	3 4 5 6 7 8 9 10	Advertising, photographs, books, newspapers, and other publications Amount misappropriated by N. Peters, an extemporary officer Exchange and commission on money-orders Fees for certificates of age Fuel, light, power, and water Grants to recipients of New Zealand Cross Interpreters' fees Loading on life-insurance premiums on account of impaired health occasioned by war service Medical fees Medical treatment of— Returned soldiers (recoverable) South African War veterans Office-cleaning	975 300 10 100 50 10 275 7,500 100,000 250	
	3 4 5 6 7 8 9 10 11 12 13 14	Advertising, photographs, books, newspapers, and other publications Amount misappropriated by N. Peters, an extemporary officer Exchange and commission on money-orders Fees for certificates of age Fuel, light, power, and water Grants to recipients of New Zealand Cross Interpreters' fees Loading on life-insurance premiums on account of impaired health occasioned by war service Medical fees Medical treatment of— Returned soldiers (recoverable) South African War veterans Office-cleaning Office fittings and requisites	975 300 10 100 50 10 275 7,500 100,000 250 50 100	
	3 4 5 6 7 8 9 10 11 12 13 14 15 16	Advertising, photographs, books, newspapers, and other publications	975 300 10 100 50 10 275 7,500 100,000 250 50 100	
	3 4 5 6 7 8 9 10 11 12 13 14 15	Advertising, photographs, books, newspapers, and other publications	975 300 10 100 50 10 275 7,500 100,000 250 50 100 100 188	
	3 4 5 6 7 8 9 10 11 12 13 14 15 16	Advertising, photographs, books, newspapers, and other publications	975 300 10 100 50 10 275 7,500 100,000 250 50 100 100 188 15,000	
	3 4 5 6 7 8 9 10 11 12 13 14 15 16 17	Advertising, photographs, books, newspapers, and other publications	975 300 10 100 50 10 275 7,500 100,000 250 50 100 100 188 15,000 27,500	
	3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19	Advertising, photographs, books, newspapers, and other publications	975 300 10 100 50 10 275 7,500 100,000 250 50 100 100 188 15,000 27,500 2,500	
	3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20	Advertising, photographs, books, newspapers, and other publications	975 300 10 100 50 10 275 7,500 100,000 250 50 100 100 188 15,000 27,500 2,500 2,000	
	3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21	Advertising, photographs, books, newspapers, and other publications	975 300 10 100 50 10 275 7,500 100,000 250 100 100 188 15,000 27,500 2,500 2,000 670	
	3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22	Advertising, photographs, books, newspapers, and other publications	975 300 10 100 50 10 275 7,500 100,000 250 50 100 100 188 15,000 27,500 2,500 2,000	
	3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21	Advertising, photographs, books, newspapers, and other publications	975 300 10 100 50 10 275 7,500 100,000 250 50 100 100 188 15,000 27,500 2,500 2,500 2,000 670 5,516	
	3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23	Advertising, photographs, books, newspapers, and other publications	975 300 10 100 50 10 275 7,500 100,000 250 50 100 100 188 15,000 27,500 2,500 2,500 2,500 5,516 200	
	3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22	Advertising, photographs, books, newspapers, and other publications	975 300 10 100 50 10 275 7,500 100,000 250 50 100 100 188 15,000 27,500 2,500 2,500 2,000 670 5,516	

PENSIONS DEPARTMENT—continued.

Number of Persons.	Item.		1924	-25.
1924-25.		VOTE No. 21.—PENSIONS DEPARTMENT— continued. OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
	27 28	War Pensions Appeal Board salaries, travelling, and other expenses Contingencies, including unforeseen expenditure incidental to the other items of the vote Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Grants to supplement superannuation, £ Postal Department	4,500	
			180,048	
		Gross Total		205,375
		Credits-in-aid	•••	102,750
		NET TOTAL—VOTE No. 21		102,625

MINES DEPARTMENT.

					1924–25.			
				-	Salaries.	Otl	ner Charges.	Total.
Vote No. 2	22.—N	lines Department—			£		£	£
Subdivisi	on I	Administration			11,3	40		11,340
,,	II	Geological Survey Bran	nch		4,1	17	3,500	7,617
,,	III	Miscellaneous Services	8				29,154	29,154
	Ross I	Cotal		-		57	32,654	48,111
Св	REDITS	-IN-AID			2	50	550	800
		OTAL	• •		15,2	07	32,104	47,311
Number of Persons.	Item.	VOTE No. 22	-MINES I	DEPAR	RTMENT	. <u>' </u>	1924	1-25.
1924-25.		Subdivision	No. I.—Ad	minis tr e	ation.		£	£
	1	*Salaries — Admini	STRATIVE D	ivision			. **	
1		1 at £837 (Under-S	Secretary)		•••		837	
			ssional Di	vision.			701	
1		1 at £791 Class B—	•••		•••	€	791	
8		4 at £540 (1 for 1 at £540 (3 mor 3 at £515		(9 mon	ths)	1,935 482 1,545		
		Class D-					3,962	
1		1 at £400			•••		400	
			RICAL DIVIS	SION.				
1		Class III— 1 at £445				•••	445	
1		Class VI — 1 at £335				•••	335	
		Class VII—				£		
		1 at £285 (1 mor	nth)			$\frac{z}{24}$		
		1 at £275			• • •	275		
•		1 at £250			•••	250		
		1 at £230 1 at £230 (3 mor	 ntha) 6910	(0 man	 the\	230		
		1 at £190 (8 mo				$\begin{array}{c} 215 \\ 179 \end{array}$		
		1 at £190 (7 mo				176		
		1 at £155		`	•••	155		
9		1 at £80 (7 mont	$ ext{ths}) \qquad \dots$		• •	47		
	1						1,551	1

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase,

MINES DEPARTMENT—continued.

Number of Persons.	Item.		1924-	25.
1924–25.	·	VOTE No. 22.—MINES DEPARTMENT—continued.	,	
1324-20.		Subdivision No. I.—Administration—continued.	£	£
	1	Salaries—continued.		
		GENERAL DIVISION. £ 425 425		
		1 at £410 (4 months) 137		
		1 at £400 400 1 at £325 325	i	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		•
		1 at £240 240		
		2 at £185 370		
12		1 at £175 175 175 137 137		
		1 at £145 (6 months), £130 (6 months) 137	3,019	
34		Estimated credits-in-aid under Section 48 of the	İ	
		Public Revenues Act, 1910 (see end of vote)—		
		Recovery from State Coal-mines £250		
		Total—Subdivision No. I		11,340
			1	
		Subdivision No. IIGeological Survey Branch.		
		•		
	2	Salaries—		
		Professional Division.		
1		1 at £791 (Director)	791	
		Class B — 1 at £590 590		
2		1 at £515 515	1	
_		•—•	1,105	
0		Class C— 2 at £445	890	
2		Class D—	000	
1		1 at £355 (5 months), £335 (7 months)	344	
1		Class E— 1 at £320 (7 months), £300 (5 months)	312	
1			012	
		CLERICAL DIVISION.		
1		Class V— 1 at £380	380	
		Class VII—	}	
1		1 at £295	295	
9			4,117	
	-	OTHER CHARGES FOR AND INCIDENTAL TO-		
	3	Advertising, photographs, books, newspapers, and	50	
	4	other publications British Empire Exhibition, expenses in connection	90	
		with	10	
	5	Fees for expert assistance (including preparation of	100	
	6	reports) Field expenses	400	
	7	Freight, cartage, and transport charges	60	
	8	Fuel, light, and water	50	
	10	Instruments, purchase of Instruments and outfit allowances and repairs and	20	
	10	maintenance instruments	150	
	11	Mineral specimens, collection and purchase of	50	
	12	Office fittings and requisites	100 50	
	13	Postage, telegrams, and rent of boxes	90 ;	

MINES DEPARTMENT-continued.

Number of Persons.	Item.		1924-	25.
1001.05	-	VOTE No. 22.—MINES DEPARTMENT—continued.		
1924-25.		Subdivision No. II.—Geological Survey Branch—continued.	£	£
	14	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Printing bulletins, lithographing, &c	800	
	15	Printing and stationery	30	
	16	Rents and rates	235	
	17	Telephone services (including installation, extensions,	0.5	
	18	maintenance, rent, and calls)	$\begin{bmatrix} 25 \\ 400 \end{bmatrix}$	
	19	Travelling allowances and expenses	150	
	20	Wages of field hands	800	
	21	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of this subdivision	20	
			3,500	
		Total-Subdivision No.II		7,61
		Subdivision No. III.—Miscellaneous Services.		
	1	CHARGES FOR AND INCIDENTAL TO-		
	22	Advertising, photographs, books, newspapers, and other publications	70	
	_	Assistance towards—		
	23	Ambulance classes	25	
	24	Bounty payable to Onakaka Iron and Steel Company (Limited), under the Iron and Steel		
	25	Industries Act, 1914	4,885	
	20	Experiments in connection with inflammability of coal-dust	100	
	26	Maintenance of roads and works	2,000	
	27	Prospecting	10,000	
	28	Cost of collecting goldfields revenue	200	
	29	Diamond and other drills and appliances (working-		
	30	expenses only), (partly recoverable)	1,560	
	31	Examinations, Mining and Coal-mines Acts	90	
	51	Experiments in connection with utilization of brown coals	137	
	32	Expert and temporary assistance, fees, wages, &c.	400	
	33	Freight, cartage, and transport charges	50	
	34	Fuel, light, water, and cleaning	25	
	05	Grants—	20	
	35	Granity Creek Outlet	88	
	30	Hogburn Sludge Channel, at Naseby: Construction	50	
	37	of groynes and stop-bank Libraries in mining townships	50	
	38	Thames water-race repairs	100	
	39	Instruments and apparatus	10	
	40	Instrument and outfit allowances for Inspectors of	Ì	
	41	Mines and repairs and maintenance instruments	241	
		Law-costs	100	
	42	Maintenance of Water-races— Mount Ida	200	
	43	Mount Ida Waimea–Kumara	457	
	44	Motor-cars (maintenance)	300	
	45	Office fittings and requisites (including typewriters)	50	
	46	Postage, telegrams, and rent of boxes	300	
	47	Printing and stationery	450	
	48	Refunds of revenue under section 154(3) of the Mining		
	10	Act, 1908 (recoverable)	50	
	49	Rents	571	

MINES DEPARTMENT—continued.

Number of Persons.	Item.		1924-	25 .
		VOTE No. 22—MINES DEPARTMENT—continued.		
1924–25.	1	Cultivisian No TIT Missilan or Comission 2	£	£
		Subdivision No. III.—Miscellaneous Services—contd.	*	æ
		CHARGES FOR AND INCIDENTAL TO—continued.		
	50	Rents, &c., in connection with the leases and plant of		
	F-1	the Blenheim Oil Company (dissolved)	345	
	51	Schools of Mines	4,000	
	52	Shortage in Ahaura Gold Receiver's accounts Subsidy—	2	
	53	Drybread Sludge Channel (£1 for £1)	200	
	54	Telephone services (including installation, extensions,		
	1	maintenance, rent, and calls)	180	
	55	Travelling allowances and expenses	1,800	
	56	Travelling-expenses of Hon. H. W. McIntyre whilst		
		acting as a member of a committee of inquiry re	40	
	E 17	coal-miners' relief funds, &c	48	
	57	Contingencies, including unforeseen expenditure in-	20	
		cidental to the other items of this subdivision	20	
		Estimated credits-in-aid under Section 48 of the		
		Public Revenues Act, 1910 (see end of vote)—		
		Drilling-expenses £450		
		Printing and stationery, publica-		
		tions, &c 50		
		Refunds of revenue 50		
		·		
		550		
		Total-Subdivision No. III		29,15
		Gross Total		48,11
		Credits-in-aid (a)		80
		NET TOTAL—VOTE No. 22		47,31

(a) Credits-in-aid-	Salaries. ${f \mathfrak L}$	$\begin{array}{c} \text{Other} \\ \text{Charges.} \\ \mathfrak{L} \end{array}$	1924–25. Total. £
${f Subdivision} {f I}$	250		250
" III		55 0	550

${f Totals}$	250	550	800
		to an deliberation	

DEPARTMENT OF INTERNAL AFFAIRS.

			1924–25.	
·		Salaries.	Other Charges.	Total.
Vote No. 23Department of Internal Affairs		£	£	£
Subdivision I.—Head Office		20,464	33,500	53,964
" II.—Clerk of Executive Council		46	1	46
" III.—Ministers' Secretaries		8,619		8,619
,, IV.—Messengers, Office-keepers, and women	Char-	33,609	44,372	77,981
• ,, V.—Registrar-General's Office		9,181	8,157	17,338
,, VI Census and Statistics		12,793	16,983	29,776
,, VII.— High Commissioner's Office	1	29,466	17,847	47,313
,, VIII. Museum		2,660	4,872	7,532
,, IX. Dominion Laboratory		6,785	5,108	11,893
,, X.—Miscellaneous Services		12,730	98,605	111,335
Gross Total		136,353	229,144	365,797
Credits-in-aid		29,062	20,602	49,664
NET TOTAL		107,291	208,842	316,133

Number of Persons.	Item.	VOTE No. 23.—DEPARTMENT OF INTERNAL			1924-9	25.	
1924-25.			AFFAIRS. n No. I.—Head			£	£
	1	*Salaries—				. 1	
		Admini	STRATIVE DIVISI	ON.			
1		1 at £920 (Under-S	Secretary)	•••		920	
			ssional Divisio	N.	ľ		
1		Class A— 1 at £665				665	
1		$Class\ C$ — 1 at £470	*••	• •	•••	470	
1		$Class\ F$ 1 at £195	••			195	
		CLE	RICAL DIVISION.				
		Special Class 1 at £715			£ 715		
3	İ	2 at £665 Class I—		•••	1,330	2,045	
1		1 at £565 Class III—	•••	•••		565	
2		1 at £470 1 at £445 (3 mor	nths), £425 (9 m	onths)	470 431		
4		Class IV— 4 at £400 Class VI—				901 1,600	
		2 at £335 1 at £335 (8 mor	 nths), £320 (4 me	onths)	670 330		
		1 at £335 (3 mo	nths), £320 (9 m	$\mathrm{onths}^{'})$	324		
7		3 at £320	• • •	•••	960	2,284	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

Number of Persons.	Item.	VOTE No. 23,—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1924	-25.
1924-25.		1		
		Subdivision No. I.—Head Office—continued.	£	£
	1	Salaries—continued.		
		CLERICAL DIVISION—continued.		
		Class VII—		
		8 at £295 2,360		
		1 at £265 265	1	
		1 at £250 250		
		1 at £230 (10 months), £205 (2 months) 226		ĺ
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £210 (9 months), £190 (3 months) 205		
		1 at £195 (11 months), £165 (1 month) 193		
		1 at £165 \dots 165		
		2 at £155 (3 months), £145 (9 months) 295		
		1 at £135 (10 months), £125 (2 months) 134		
		2 at £135 (3 months), £125 (9 months) 255		
		1 at £125 \dots 125		
		1•at £115 115		
		2 at £115 (9 months), £100 (3 months) 223		i
		1 at £95 (9 months), £85 (3 months) 92 1 at £95 (1 month), £85 (11 months) 86		
		1 at £80 (11 months) 73	,	
29		1 at £80 (10 months) 67		
20			5,564	
1		Official Secretary to His Excellency the Governor- General	615	
		Allowances to officers temporarily performing special	. 010	
		or higher duties	155	
		GENERAL DIVISION.		
		1 at £440 \dots 440		
		1 at £275 \dots 275		
		1 at £255 255 420		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	1	7 at £185 1,295		
		2 at £181 362		
		3 at £175 525	,	
		1 at £160 (6 months), £149 (6 months) 155		
		$1 \text{ at } \pounds 149$ 149		
		1 at £130 \dots 130		
23	i i	1 at £125 125	4 ~~-	
71		Lodging-allowances (cadets)	$\begin{array}{c}4,551\\158\end{array}$	
74		Lodging-anowances (cadeus)	190	
			20,688	
		Less salaries provided but not now required	224	
		Estimated credits-in-aid under Section 48 of the		
	1 1	Public Revenues Act, 1910 (see end of vote)—		
		Amount to be recovered from—		-
		Public Service Superannuation Fund 2,676		
			20,464	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	2	Advertising	100	
,	3	Bird-life, expenses in connection with preservation of	300	
	4	Cinematograph-films: Cost of administration and ex-		
		penses in connection with the censorship of	750	
ļ	5	Commissions of Inquiry (part recoverable)	1,450	
	6	Fire Brigades: Railway-pass for Secretary to United	00	
		Fire Brigades Annual Conference	88	
	7	Fire Brigades Annual Conference— Grant-in-aid	750	
	8	Railway passes for brigades attending	1,250	i.
ı	-	1	_,	

Number of Persons.	VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1924-	25 .
924–25.	ATTAINS—continued.		
	Subdivision No. I.—Head Office—continued.	£	£
	OTHER CHARGES FOR AND INCIDENTAL TO—continued.	İ	
	Freight, cartage, and transport charges	200	
1	O Fresh-water fisheries and game, expenses in connec-	į	
	tion with, including wages of workmen, purchase	1 000	
-	of land, and erection of buildings	$\begin{bmatrix}1,200\\1,750\end{bmatrix}$	
1	Hector Observatory—	1,100	
1	2 General expenses	200	
	Instruments and equipment	$\begin{bmatrix} 250 \\ 80 \end{bmatrix}$	
	4 Maintenance of grounds 5 Law-costs	5	
	Light, power, and water for Government buildings	3,720	
	Office fittings and requisites—		
	7 Head office 450	İ	
]	8 Ministers' offices 220	670	
\ 1	9 Overtime and meal allowances	40	
•	O Payment to New Zealand Academy of Fine Arts,		
	Wellington, for part services of custodian, National		
	Picture Gallery, and other charges in connection therewith	150	
9	Postage, telegrams, and rent of boxes	500	
	Printing and Stationery—		
	2 Head office	1,650	
, –	Ministers' offices 4 Protection of Tuatara lizards: Special payments to	1,100	
4	lighthouse-keepers and others	175	
2	5 Publications (including newspapers and books)	750	
2	Renovation of historical graves of, and memorials to,		
	soldiers and others who were killed or died in connection with the Maori and Great Wars, includ-		
	ing wives and daughters of officers, and also men of		
	the British and allied navies, and expenses in con-		
į .	nection therewith	3,600	
	7 Rent 8 Salary, allowance, and expenses of Lady Medical	63	
2	8 Salary, allowance, and expenses of Lady Medical Referee (part recoverable)	470	
2	9 Special allowance to shorthand-writers and typistes		
Ì	employed in Ministers' offices	283	
8	Telephone services (including installation, extensions,	1,100	
9	maintenance, rent, and calls) 1 Temporary Assistance	2,556	
	Travelling allowances and expenses of—	,	
8	Ministers (allowances only as authorized by the	1 850	
	Civil List Act, 1908)	1,750 1,000	
	Ministers beyond the Dominion Ministers' expenses	2,500	
	5 Private Secretaries to Ministers	2,000	
8	6 Officers of the Department	1,000	
S	7 Contingencies, including unforeseen expenditure in-	50	
	cidental to the other items of this subdivision	30	
	Estimated credits-in-aid under Section 48 of the		
	Public Revenues Act, 1910 (see end of		
	vote)—		
	Commissions of Inquiry 500 Fuel for Government Buildings 50		
	Lady Medical Referee 305		
	Light, power, and water for Go-		
	vernment Buildings 50		
	Temporary assistance 282		
	1,187		
	•		
		33,500	

$A\,ppropriations\,\,for\,\,Consolidated\,\,Fund\,\,Services.$

				1		
Number of Persons.	Item.	VOTE No. 23.—DEPARTME: AFFAIRS —cont		ERNAL	1924–	25.
1924–25.		Subdivision No. II.—Clerk of	f Executive Co	ouncil.	£	£
1	38	Clerk of Executive Council (al £233, and Private Secreta £558)	so Secretary to	o Cabinet,	46	
		$Total_Subdiv$	vision No. II			46
		Subdivision No. III.—Minist		es.		
	39	Salaries—				•
2		Class I— 2 at £565			1,130	
3		Class II— 3 at £515 Class IV—		€	1,545	
5		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		1,680 415		
		$\begin{array}{c} Class \ V \\ 1 \ \text{at} \ \pounds 364 \end{array} \qquad \dots$		364	2,095	
2		$\begin{array}{ccc} 1 \text{ at } £350 & \dots \\ Class \ VI & \dots \end{array}$	•••	. 350	714	
2		$2 \text{ at } £320 \qquad \dots \\ Class \ VII \longrightarrow$			640	
1 1		1 at £295 Private Secretary to the Prim	ne Minister, £	 3558, and	295	
16		Secretary to Cabinet, £23 Executive Council, £46)	33 (also Clerl	k to the	791	
		Allowances in addition to class 15 Private Secretaries to Mi Extra classification allowance-	sification— nisters at £50		750	
		1 at £180	•••	180		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	•••	$\begin{bmatrix} 120 \\ 300 \end{bmatrix}$		
		4 at £95	•••	380	980	
		Less salaries provided but	not now room	ired	8,940 321	
			•	ined	021	0.010
		$Total-\!\!\!-\!\!\!\!-\!$	on No. 111			8,619
		Subdivision No. IV.—Messenger Charwomen		rs, and		
	40	SALARIES GENERAL DIVIS	SION.			
		Messengers, $dc.$ — 1 at £360		£ 360		
		1 at £302		302		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	•••	$\begin{bmatrix} 1,180 \\ 276 \end{bmatrix}$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	• • • •	5,670		
		2 at £265		530		
		2 at £260 1 at £255 (6 months), £250 (6 months)	$\begin{bmatrix} 520 \\ 252 \end{bmatrix}$:	
		3 at £250	O monus)	750		
•		3 at £245	•••	735	:	
		1 at £255 (6 months), £240 (248		
		1 at £245 (6 months), £240 (61 at £240	o months)	$\begin{bmatrix} 243 \\ 14,640 \end{bmatrix}$		
1.1	' СТ	7 at 22±0	•••	11,010 .	l	

umber Persons.	Item.	VOTE No 23.—DEPARTMENT C	יבות מודים.	RNAT	1924–	25.
24-25.		AFFAIRS—continued		TANAL	i	·
		Subdivision No. IV.—Messengers, Of		rs and	£	£
		Charwomen—continue		s, ana		
	40	SALARIEScontinued.				
		GENERAL DIVISION—conti	nued.			
		Messengers, &c.—continued.	41 \	£		
		6 at £240 (4 months), £235 (8 m 1 at £235	ontns	$egin{array}{c} 1,422 \ 235 \end{array}$		
		3 at £235 (4 months), £230 (8 me	onths)	695		
		3 at £235 (3 months), £230 (9 m	onths)	694		
		4 at £230		920		
		4 at £230 (6 months), £225 (6 mo 9 at £230 (3 months), £225 (9 m	onths)	$\begin{array}{c} 910 \\ 2,036 \end{array}$		
		2 at £221		442		
		1 at £95	•••	95		
137		1 at £90 \dots 1 at £70 \dots		90 70		
101		1 at £10	• • •		33,315	
		Charwomen—				
		1 at £156 1 at £135	• •	$\begin{array}{c c} 156 \\ 135 \end{array}$		
		2 at £130		260		
		1 at £125		125		
8		3 at £105		315	991	
145						
		Allowances under Public Service R	egulation	No. 208	34,306	
		(long-service increment to charw			30	
		Allowances (bank messengers and s		,	40	
					34,376	
		Less salaries provided but not	now requi	ired	767	
					33,609	
		OTHER CHARGES FOR AND INCIDENTAL	то			
	41	Motor cars, cycles, and accessories	(part reco		500	
	42 43	Office-cleaning (including upkeep of Special allowances to messen,			2,150	
	30	(includes allowances to Ministeria			693	
	44	Temporary charwomen	•••	' '	28,265	
	45 46	Temporary messengers	•••	•••	11,639	
	40	Transfer and removal expenses Travelling allowances and expenses	•••		$\frac{150}{300}$	
	48	Uniforms and overcoats for messen	gers		650	
	49	Contingencies, including unforeseer	n expend		05	
		cidental to the other items of thi	s subaivis	ion	$\frac{25}{}$	
		Estimated credits-in-aid under	Section 4	8 of the	44,372	
		Public Revenues Act, 1910				
		Salaries	`	£6,000		
		Motor cars, cycles, and acces	ssories	$\begin{bmatrix} 230 \\ 170 \end{bmatrix}$		
		Office-cleaning Temporary charwomen	•••	5,701		
		Temporary messengers		1,671		
		•		010 ===		
	1			£13,772		

Number of Persons.	Item.	VOTE No. 23.—DEPARTMENT OF INTERNAL	1924-	-25.
192 42 5,) 	AFFAIRS—continued.		
		Subdivision No. V.—Registrar-General's Office.	£	£
		Submission 110. V.—Hegistran-General's Office.		
	50	Salaries—		
		CLERICAL DIVISION. Class I—		
1		1 at £615	615	
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
5		1 at £400 400		
		Class VI—	2,085	
		5 at £335 1,675		
		4 at £320 1,280		
10		1 at £320 (4 months), £300 (8 months) 306	0.001	
		Class VII-	3,261	
		3 at £295 885		
		1 at £285 285		
		2 at £245 490	ĺ	
	!	1 at £230 (9 months), £210 (3 months) 223 1 at £210 (3 months), £190 (9 months) 195		
		1 at £165 165		
		1 at £155 (11 months), £145 (1 month) 154		
		1 at £125 125		
	j j	1 at £95 (10 months), £85 (2 months) 93 1 at £95 (1 month), £85 (11 months) 86		
14		1 at £95 (1 month), £85 (11 months) 86 1 at £80 (8 months) 53		
		1 40 400 (0 111011110)	2,754	
		Lodging-allowance Allowancs to officer temporarily performing special or higher duties	32	
		General Division.		
		3 at £185 555		
	1	1 at £175 175		
		1 at £175 (2 months), £169 (10 months) 170		
7		1 at £130 130 1 at £130 (7 months), £125 (5 months) 128	-	
		1 at 2100 (1 months), 2120 (0 months)	1,158	
37	i			
		To a colonia de la lactica de la compania del compania de la compania de la compania del compania de la compania del compania de la compania de la compania del c	9,935	
į		Less salaries provided but not now required	754	
	ł		9,181	
		-		
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	51	Office-cleaning, firing, lighting, freight, and cartage	100	
	52	Office fittings and requisites	200	
	53	Postage, telegram's, and rent of boxes	750	
	54	Printing and stationery Registration of births, deaths, and marriages—	1,000	
	55	Payment to Post Office for services of postmasters	2,000	
	56	Payment to non-permanent officers	2,000	
	57	Rent of offices	1,100	
	58	Telephone services (including installation, extensions, maintenance, rent, and calls)	170	
	59	Temporary assistance	377	
r.	60	Transfer and removal expenses	200	
	61	Travelling allowances and expenses	250	
	62	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10	
		-		
		m · 1 · 0 · 1 · · · · · · · · · · · · · ·	8,157	
		Total—Subdivision No. V -		17,33

Number of Persons.	Item.			1924-	-25.
1924–25.	-	VOTE No. 23.—DEPARTMENT OF INTERN. AFFAIRS—continued.	AL	£	£
		Subdivision No VI.—Census and Statistics.		~	~
	63	Salaries— Clerical Division.			
	1 1	Special Class—	j		
1		1 at £715		715	
_		Class II—		M1 M	
1		$1 \text{ at } \pounds 515 \qquad \qquad \dots \qquad \dots $	• • • •	515	
1	1 1	1 at £470		470	
•		Class IV—	Ì		
1		1 at £400	.,	400	
		Class V—	£		
2	1.	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	380 355		
2		Class VI—	500	735	
	i i		005		
		$2 \text{ at } £320 \qquad \dots \qquad \dots$	640		
7			590	0.005	
	1	$Class\ VII \ 1 \ { m at} \ \pounds 295 \ \ldots \ \ldots$	905	2,235	
			$\frac{295}{285}$		
		2 at £245	490		
			210		
			410		
		1 at £190 (10 months), £180 (2 months)	188		
		1 at £190 (11 months), £165 (1 month) 1 at £190 (7 months), £165 (5 months)	$188 \mid 179 \mid$		
		1 at £190 (5 months), £165 (7 months)	175		
			485		
		$2 \text{ at } £155 \qquad \qquad \dots \qquad \qquad \dots$	310		
			153		
			$\begin{array}{c c} 147 \\ 133 \end{array}$		
			$\frac{133}{129}$		
			230		
			300		•
0,50	1	5 at £85	425	1	
37	•	1 at £80 \dots	80	5,812	
		GENERAL DIVISION		9,012	
			250		
			225		
	1.		195		
			$\frac{925}{362}$		
	1.	1 at £175	175		
		1 at £160	160		
13		1 at £149	149		
	-	Co detai ledaina ellemente		2,441	
63	_	Cadets' lodging-allowances	••••	241	
				13,564	
	1 1	Less salaries provided but not now required		771	
		,		10.500	
		OTHER CHARGES FOR AND INCIDENTAL TO-		12,793	
	64	Census, 1921: Cost of taking and printing results	<u>,</u>	1,350	
	65	Collection of statistics, including agricultural		1,000	
		pastoral		6,200	
	66	Freight, cartage, and transport charges		50	
	$\begin{bmatrix} 67 \\ 68 \end{bmatrix}$	Fuel, light, power, and water	• • •	$\frac{220}{600}$	
	6 9	Office fittings and requisites Postage, telegrams, and rent of boxes.		800	
	70	Printing and stationery		1,500	
	71	Printing statistical publications (part recoverable		4,600	
	72	Rent of offices		500	

Number of Persons.	Item.	VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1924-25.		
1924–25.	Ì	Subdivision No. VI.—Census and Statistics—continued.	£	£	
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		~	
	73	Statisticians Conference, Adelaide, expenses of New	86		
	74	Telephone services (including installation, extensions,	42		
	75 76	maintenance, rent, and calls) Temporary assistance	$1,000 \\ 25$		
	77	Travelling allowances and expenses Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10		
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Payment for work done on Powers machines, from— Department of Education 25 Land and Income Tax Department 150 State Fire Insurance Department 150 Fire Underwriters' Association 750 £			
		1,625			
		1,020	16,983		
		Total—Subdivision No. VI ·		29,776	
	78	Salaries— Secretary Finance Officer (3 months) Accountant (9 months) Assistant Secretary Clerks and Messengers Miscellaneous wages Emigration and Exhibition Officer Veterinarian and Produce Officer Financial Adviser (6 months)	989 236 483 584 23,807 1,714 844 659 150		
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—			
		Amounts recoverable from— \pounds External Affairs 360			
		Immigration 6,500 Life Insurance 450			
		Post and Telegraph 500			
		Printing and Stationery 100 Public Trustee 1,000			
		Public Trust Enemy Debts 600			
		Public Works 900 State Fire 100			
		War Expenses 1,550			
		Working Railways 900			
		12,960	29,466		
		OTHER CHARGES FOR AND INCIDENTAL TO-	,		
	79 80	Advertising, photographs, books, newspapers, and other publications Contributions due under National Insurance Act,	1,800		
	1 1	1911, in respect of clerks employed in the High			

N. 11 1	j i				
Number of Persons.	Item.	VOTE No. 23.—DEPARTMENT OF INTEL AFFAIRS—continued.	RNAL	1924-	-25.
192425.	-	Subdivision No. VII.— High Commissioner's C)ffice—	£	£
			7	-	
	82	OTHER CHARGES FOR AND INCIDENTAL TO—contin Freight, cartage, and transport charges	med.	50	
	83	Fuel, light, power, and water		740	
		Grants to	, ,		
	84	G. F. Copus of 6 months' salary in lieu of absence on retirement	leave of	472	
	85	High Commissioner to meet expenses in	connec-	112	
	0.0	tion with British Empire Exhibition		1,000	
	86	Motor vehicles, including upkeep and repairs Office-cleaning		$\begin{array}{c} 150 \\ 140 \end{array}$	
	88	Office fittings and requisites		525	
	89	Postage, telegrams, and rent of boxes		1,850	
	90	Printing and stationery		1,225	
	91	Refund to officers of difference between the an income-tax payable in England and New Z		500	
	92	Rent (part recoverable)		6,620	
	93	Repairs to offices		$\begin{bmatrix} 200 \\ 175 \end{bmatrix}$	
	94 95	Subscriptions to various societies and associat Temporary assistance	ions	500	
	96	Travelling allowances and expenses		400	
	97	Travelling expenses and allowances of Acting			
		and Produce Officer, London, when visiting Zealand and Pacific Islands	ig New	250	
	98	Contingencies, including unforeseen expendit	ure in-		
		cidental to the other items of this subdivision		150	
		Estimated credits-in-aid under Section 48 Public Revenues Act, 1910 (see end c		j	
			of vote)		
		Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments Rent, &c Postage, telegrams, &c Printing and stationery	300 1,900 200 700	17,847	
		Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments Rent, &c Postage, telegrams, &c	300 1,900 200 700	17,847	47,3
		Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments Rent, &c Postage, telegrams, &c Printing and stationery	300 1,900 200 700	17,847	47,3
	99	Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments Rent, &c Postage, telegrams, &c Printing and stationery	300 1,900 200 700	17,847	47,3
1	99	Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments Rent, &c Postage, telegrams, &c Printing and stationery	300 1,900 200 700	765	47,3
1	99	Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments Rent, &c	of vote) \$\frac{2}{3}00 1,900 200 700 3,100		47,3
. 1	99	Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments Rent, &c	of vote) \$\frac{2}{3}00 1,900 200 700 3,100		47,3.
1	99	Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments Rent, &c	of vote) \$\frac{\partial}{\partial} 300 1,900 200 700 3,100	765	47,3
	99	Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments Rent, &c	of vote) \$\frac{\partial}{\partial} 300 1,900 200 700 3,100		47,3
	99	Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments Rent, &c	of vote) \$\frac{\partial}{\partial} 300 1,900 200 700 3,100	765	47,3
2	99	Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments Rent, &c	of vote) \$\frac{\$300}{2}\$ 1,900 200 700 3,100	765 915	47,3
2	99	Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments	of vote) \$\frac{\$300}{2}\$ 1,900 200 700 3,100	765 915	47,3
2	99	Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments	of vote) £ 300 1,900 200 700 3,100 £ 470 445 275 245	765 915	47,3
2	99	Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments	of vote) £ 300 1,900 200 700 3,100 £ 470 445 275	765 915 380	47,3
2 1 3	99	Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments	of vote) £ 300 1,900 200 700 3,100 £ 470 445 275 245	765 915	47,3
2	99	Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments	275 245 205	765 915 380 725 2,785	47,3
2 1 3	99	Public Revenues Act, 1910 (see end of Shipping charges on goods for Government Departments	275 245 205	765 915 380	47,3

Number of Persons.	Jtem.	VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	1924–25.		
1924-25.		Subdivision No. VIII.—Museum—continued.	£	£	
		0			
	100	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, purchase of photographs, books, news-			
		papers, &c	262		
	101	Board of Science and Art, expenses incidental to,			
	102	including publications (part recoverable) Collection and establishment of historical and other	500		
	102	matter relating to the Maori Race and early history			
		of New Zealand	150		
	103	Exhibits housed in Dominion Farmers' Institute, expenses in connection with transfer and fitting-up			
		of premises	600		
	104	Expenses in connection with war section and with			
	į į	the British National War Museum including	100		
	105	portraits of New Zealanders who won the V.C. Expert assistance	$\begin{array}{c c} 100 \\ 10 \end{array}$		
	106	Freight, cartage, and transport charges	100		
	107	Freight, cartage, and transport charges Fuel, light, power, and water	200		
	108	International Exchange Services: Freight and postage	50		
	109	Maori Ethnological Board: Grant towards expenses	90		
	110	of printing Government publications	600		
	$\begin{vmatrix} 110 \\ 111 \end{vmatrix}$	Museum fittings	$\begin{bmatrix} 100 \\ 50 \end{bmatrix}$		
	112	Office fittings and requisites	50		
	113	Photographic and phonographic supplies	100		
	114 115	Postage, telegrams, and rent of boxes	60		
	116	Printing and stationery Rent (floor space occupied by exhibits in Dominion	110		
		Farmers' Institute, 1st January, 1924, to 31st			
	117	March, 1925)	500		
	117 118	Specimens and pictures, purchase and preparation of Telephone services (including installation, extensions,	400		
		maintenance, rent, and calls)	21		
	119	Temporary assistance Travelling allowances and expenses	799		
	$\begin{array}{c c} 120 \\ 121 \end{array}$	Contingencies, including unforeseen expenditure in-	100		
	121	eidental to the other items of this subdivision	10		
		Estimated credits-in-aid under Section 48 of the			
		Public Revenues Act, 1910 (see end of vote)—— Board of Science and Art publi-			
	,	cations, &c 450			
		Total—Subdivision No. VIII	4,872	7,53	
		Subdivision No. IX.—Dominion Laboratory.			
	122	_			
	122	Salaries— Professional Division.			
1		1 at £920 (Dominion Analyst) $Ctass A$ —	920		
1		1 at £665	665		
		Class B— £ 540			
2		$egin{array}{cccccccccccccccccccccccccccccccccccc$			
		Class C—	1,055		
. 1		1 at £490	490		
		Class D— 1 at £425 425			
2		1 at £380 380			
	!	Class E— —————————————————————————————————	805		
3		1 at £300 (9 months), £320 (3 months) 305 2 at £285 570			
	i	= 100 SQ = 010			

Number f Persons.	Item.	1924–25.		
924–25.		AFFAIRS continued.	£	£
		Subdivision No. IX.—Dominion Laboratory—continued.	at	æ
	122	Salaries—continued.		
Ì		Professional Division—continued.		
		Class F—	105	
1		1 at £185	185	
		CLERICAL DIVISION.		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
2		1 at £100 100		
-		***************************************	395	
		Lodging-allowance	30	
		GENERAL DIVISION.		
}		1 at £355 355 1 at £340 (9 months), £355 (3 months) 344		
ļ		1 at £285 285		
		1 at £250 250		
5		1 at £195 195	1 400	
18		Allowances (special and equipment)	$\frac{1,429}{78}$	
		1 1 23		
Ì		Less salaries provided but not now required	$\begin{smallmatrix}6,927\\142\end{smallmatrix}$	
		provided and not not required		
		OTHER CHARGES FOR AND INCIDENTAL TO	6,785	
	123	Advertising, photographs, books, newspapers, and		
	104	other publications	160	
	124	Chemicals, apparatus, and repairs to apparatus Explosives Act, expenses under (part recoverable)—	1,300	
	125	Administration by local bodies (dangerous goods		
	100	license fees)	26	
	$\begin{array}{c} 126 \\ 127 \end{array}$	Apparatus, books, and periodicals, purchase of Expenses in connection with magazines	$\begin{array}{c c}25\\1,200\end{array}$	
	128	General expenses	75	
	129	Postage, telegrams, and telephone services	100	
	130	Printing and stationery Salaries: Magazine-keepers	$\begin{array}{c c} 100 \\ 277 \end{array}$	
	$\begin{array}{c c} 131 \\ 132 \end{array}$	Travelling allowances and expenses	700	
	133	Fees of officers of Dominion Laboratory attending		
		science lectures, Victoria College	20	
	$\begin{array}{c c} 134 \\ 135 \end{array}$	Freight, cartage, and transport charges Fuel, light, power, and water	$\frac{100}{300}$	
	136	Office fittings and requisites	50	
	137	Postage, telegrams, and rent of boxes	40	
	138	Printing and stationery Scientific research	$\begin{bmatrix} 100 \\ 250 \end{bmatrix}$	
	139 140	Subscriptions to Technical Societies	20	
	141	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	55	
	$\begin{vmatrix} 142 \\ 143 \end{vmatrix}$	Temporary assistance Travelling allowances and expenses	$\begin{bmatrix} 50 \\ 150 \end{bmatrix}$	
	144	Contingencies, including unforeseen expenditure in-	100	
		cidental to the other items of this subdivision	10	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—		
		Explosives Act, expenses under—		
		Expenses in connection with £		h.
		magazines 1,200 Printing and stationery 10		
				*
		1,210		
			5,108	
	1	Total Subdivision No. IX		11,

Number of Persons.	Item.		Item.						
1924-25.		VOTE No. 23.—DI AFF	EPARTMENT (ERNAL	£	£		
		Subdivision No.	X-Miscellaneo	us Service	8.				
	145	SALARIES (Relieving	Staff)—						
		Сы	erical Division.						
_		Class II—							
1		1 at £515 Class IV—	•••	•••	•••	515			
3		3 at £420				1,260			
•		$Class\ V$ —	•••	•••		-,			
2		2 at £380	•••	•••		760			
1		Class VI— 1 at £335				335			
		Class VII—	•••	•••	€	333			
		6 at £295	•••	•••	1,770				
		2 at £285			570	· i			
		1 at £230 (7 m o	onths), £275 (3 m	iontns)	$\begin{array}{c c} 290 \\ 140 \end{array}$!			
		1 at £230 (2 mo	$\operatorname{nths}_{0},\pounds210(10\operatorname{m}_{0})$	onths)	213				
			onths), £205 (1 r		209	į			
		1 at £210 (3 mo	nths), £190 (9 m		195				
		2 at £205			410				
			nths), £165 (5 m $nths$), £125 (7 m		180 258	ļ			
		1 at £125	ntns), £120 (/ m	onths	125				
		1 at £100	•••		100				
		2 at £85	•••	•••	170				
0.0		3 at £80 (7 mon		• • •	140				
26		1 at £80 (6½ mo	ntns)	•••		4,814			
		Gei	NERAL DIVISION.						
		1 at £320 (9 mont)			240				
		2 at £295	•••	• • •	590				
		1 at £285 4 at £235	•••	• • • •	$\begin{bmatrix} 285 \\ 940 \end{bmatrix}$				
		5 at £215	•••	•••	1,075	!			
	i l	3 at £195	• • • • • • • • • • • • • • • • • • • •		585				
		1 at £195 (9 mont)	(an	• • •	146				
		2 at £185			370				
		1 at £185 (10 mon 2 at £181	tns)	• • •	$\begin{array}{c c} 154 \\ 362 \end{array}$				
		1 at £175 (9 mont	hs). £169 (3 mon	ths)	173				
		2 at £160		•••	320				
		1 at £145			145				
00		1 at £145 (3 mont)	ns), £137 (9 mon	ths)	139	·			
28		1 at £125	•••		125	5,649			
61		Lodging-allowance	s (cadets)	• • •		95			
	. }	Allowances to offi		special c	r higher				
		duties	•••	•••	•••	190			
					-	13,618			
		Less salaries _]	provided but not	now requ	iired	888			
			dits-in-aid under						
			venues Act, 1910 officers reliev		t vore)—				
			partments		7,426				
				-	-				
	1 1				!	12,730			

Number of Persons.	Item.		1924–25.		
1924-25.	- i 	VOTE No. 23.—DEPARTMENT OF INTERNAL AFFAIRS—continued.	0		
		Subdivision No. X.—Miscellaneous Services—continued.	£	£	
		OTHER CHARGES FOR AND INCIDENTAL TO—			
	146	Absentee land-tax due by officers of the High Commissioner's staff	125		
	147	Actuarial work done by the Government Life Insur- ance Department in connection with the valuation of Public Service, Railways, and Teachers' Super-			
		annuation Funds Advertising New Zealand—	250		
	148 149	Special publicity work in connection with Travelling expenses and allowances of Publicity	8,476		
	150	Officer beyond New Zealand Australasian Association for Advancement of Science	550		
	151	meeting at Wellington, January, 1923: Cost of printing guide-book and circular and postages Bonus to assist in the reduction of deer herds in	987		
	101	certain acclimatization districts Compassionate allowances to—	850		
	$\begin{array}{c} 152 \\ 153 \end{array}$	J. Sandbrook, retired Ministerial messenger Widow of late T. H. Hamer, High Commissioner's	50		
	154	Office Widow of late R. G. Poulton, Registrar of Births,	234		
	155	&c., Wellington Cost of entertaining visitors to the Dominion and of	210		
	156	official functions Cost-of-living bonus to annuitants under the Public Service, Railways, and Teachers' Superannuation Funds and Civil Service Act, 1908, and to other	3,550		
ŧ	157	persons in receipt of retiring-allowances Cost of Survey of Mokau Fault Line following Taupo	41,000		
		earthquake investigation Expenses in connection with the—	25		
	158	Imperial Economic Conference	58		
	159	Visit of Special Service Squadron	11,000		
	160	Fiordland National Park: Expenses of ranger	25		
	161	Fire Hose: Purchased on account of Fire Brigades (recoverable) Girl Guides' Movement: Railway passes for	1,000		
	162	Organizing Commissioner and Secretary	28		
	163	Grants in settlement of petitions Grants—	2,000		
	164 165	Imperial Institute L. C. Mitchell, Private Secretary, in lieu of leave of absence on retirement (1st April to 16th August,	1,824		
		1924)	194		
	166 167	Maori Bibliography, publication of Mrs. E. Canavan Smith in recognition of services of her late husband	$\begin{bmatrix} 75 \\ 50 \end{bmatrix}$		
	168	New Zealand Amateur Swimming Association	250		
	169	New Zealand Institute for research work	1,000		
	170	New Zealand Native Birds Protection Society	50		
	171	Olympic Games: New Zealand representatives, towards cost of sending	250		
	172	J. O'Shannessey, for loss of dwelling at Taradale through floods	200		
	173	Protection of Women and Children, to Society for—		*	
		Auckland 75			
		Wellington 75			
		Christchurch 75			
		Dunedin 75			
			300		

Number of Persons.	Item.	VOTE No. 23.—DEPARTMENT OF INTERNAL	1924–2 5 .		
1924–25.		AFFAIRS—continued.	£	£	
			~	~	
		Subdivision No. XMiscellaneous Services—continued.			
		OTHER CHARGES FOR AND INCIDENTAL TO—continued			
	l I	Grants—continued.			
	174	Re-erecting memorial to late Sir John McKenzie	500		
	175	Royal Humane Society	100		
	$\begin{vmatrix} 176 \\ 177 \end{vmatrix}$	Royal Life Saving Society	$\begin{bmatrix} 50 \\ 200 \end{bmatrix}$		
	178	St. Mary's Guild Home, Karori To J. G. Petrie, late Registrar of Births, &c	200		
		Invercargill, as compassionate allowance	100		
	179	Towards expenses of returning "All Blacks"	100		
		football team via Canada	1,000		
	180	Veterans' Home, Auckland	300		
	181	History of New Zealand Wars: Cost of printing			
		Volume II (recoverable)	625		
	182	New Zealand Gazette: Cost of printing (part re-	10.000		
	183	coverable)	12,000		
	103	Official History of the visit of H.R.H. the Prince of Wales to New Zealand, cost of printing and pub-			
	1 1	lication of printing and pub-	350		
	184	Opossums: Expenses under Animals Protection Act	250		
	-0-	Pan Pacific Conference, Honolulu—			
	185	New Zealand delegate, travelling-expenses	210		
	186	Refund of expenses incurred by Hon. Mark Cohen,			
		M.L.C., whilst acting as a New Zealand delegate	30		
	187	Parliaments of the Empire: Contribution towards			
	100	cost of producing journal (London publication)	200		
	188	Pouto Point Bird Sanctuary, checking sand-drift,	100		
	189	work in connection with Preservation of aboriginal rock paintings	30		
	190	Returned Soldiers' Association Conference: Rail	50		
		fares of delegates	100		
	191	Returned Soldiers Association: Railway pass for			
		Secretary	94		
	192	Reuter's Telegram Company: Payment for special			
	7.00	telegrams	400		
	193	Stephen's Island, protection of bush on	50		
	194	Stores Control Board, expenses of	300		
	195	Stranded New-Zealanders: Assistance to return to New Zealand	100		
		New Zealand Subsidies towards—	100		
	196	Dominion Boy Scouts Association (£1 for £1 up to			
		£1,000)	1,000		
	197	Memorial over the grave of the late Hon. Sir			
ļ		William Herries (£1 for £1 up to £250)	250		
	198	Memorial to late Hon. Tame Parata, M.L.C., and	150		
	100	C. Parata, M.P. (£1 for £1 up to £150)	150		
	199 200	Telegrams beyond the Dominion Temporary assistance	200 2,060		
	201	Totalizators, expenses incidental to inspection of	1,000		
	202	Travelling allowance and expenses of members of	1,000		
		Public Buildings Board	25		
		Turnbull Library—			
	203	Expenses in connection with	1,500		
	204	Grant to Charles Wilson, Advisory Director (also			
		£690, Chief Librarian, General Assembly			
ĺ.	205	Library)	50		
2	205	Visit of New Zealand parliamentary delegates to South Africa	610		
1	206	War trophies: Shipping, freight, railage, and inci-	610		
),	-00	dental expenses	50		

Number of Persons,	Item.	V O TO TO	N -	ימית פס'	O A TOTUS	VOTE No. 23.—DEPARTMENT OF INTERNAL							
1924–25.	- 	AFFAIRS—continued.											
		Subdivis	ion 1	No. X.—M	iscella	neous Servi	ces—cor	tinued.	£	£			
	207	Cont	inger	ncies, inclu	ding	NCIDENTAL 'I unforeseen e ms of this su	expendit	ture in-	10				
			Add I Fin Ne Te Te To	Public Reversified No vertising No publicity were-hose: Pof fire brigger Zealand legrams be imporary as	enues A lew Ze lork urchas des Gazet yond a ssistan exper	the Dominio	e end of cial unt on						
								5,258					
				Total-	-Subd	ivision No.	X		98,605	111,33			
			(GROSS TOT	ΑL		•••			365,79			
			(Credits-in	-AID (a	ι)				49,66			
]	NET TOT	AL—	VOTE No.	23	•.•	M** 11 87 17* 6, 212 11* 156* 1 M**	316,13			
(a) Cre	edits-in	ı-aid—				Salaries.	-1-4-	Other narges.	1924- Tot	al.			
S	Jubdiv	ision I IV VI VII VIII IX X	• • • • • • • • • • • • • • • • • • • •			2,676 6,000 12,960 7,426	7 1 3	£,187 ,772 ,625 ,100 450 ,210	$\begin{array}{c} £ \\ 3,86 \\ 13,77 \\ 1,62 \\ 16,06 \\ 44 \\ 1,27 \\ 12,68 \end{array}$	33 72 25 30 50			
		Totals				29,062	20	,602	$\frac{-}{49,66}$	 34			

AUDIT DEPARTMENT.

1924-25.

		Salaries.	Other Charges.	Total.
Vote No. 24.—	Audit Department	£	£	£
Gross	Total	37,807	7,868	45,675
Chara	S-IN-AID	13,275	2,725	16,000
NET T		24,532	5,143	29
11131			100000	
Number of Persons.	VOTE No. 24.—AUDIT DEPART	MENT.	199	24–25.
1924–25.	SALARIES—		£	£
1	Audit Officer, London	•••	8	
	* Classification under Act			
	CLERICAL DIVISION.		6	
	Special Class— 1 at £765	***	್ಟ 768	
6	5 at £665		325	
į	Class I — 2 at £615	1	$\phantom{00000000000000000000000000000000000$)
	4 at £565	2,	260	
7	1 at £565 (2 months), £515 (10 mont	$h\mathbf{s})$	524	. 1
i	Class II— 1 at £490 (9 months), £470 (3 mont	—— hg)	4,014	ŧ
2	1 at £490 (3 months), £470 (9 months)		475	
	Class III—		960)
5	3 at £445 (5 months), £425 (7 months) at £445 (3 months), £425 (9 months)		301 861	
	Class IV—		$\frac{2,162}{}$	3
5	5 at £400		2,000	
	Class V— 6 at £380	2	280	
[3 at £380 (3 months), £355 (9 months)		084	
	1 at £355 (10 months), £300 (2 mon	ths) 3	345	
17	7 at £355 Class VI—	2,	485	
	8 at £335	2.6	$\frac{-}{680}$ 6,194	•
	1 at £335 (8 months)		224	
	2 at £335 (5 months)		280	
	1 at £335 (6 months), £320 (6 month 10 at £320		328 200	
23	1 at £300		300	
	Class VII—		7,012	
	8 at £295 (5 months) 1 at £295 (3 months), £275 (9 month		984 280	
,	1 at £275 (3 months), £250 (9 months)		257	
ļ	2 at £275 (1 month), £250 (11 month		505	
	1 at £250 (8 months), £230 (4 month	1 s)	244	
	1 at £250 (1 month), £230 (11 month		232	
}	3 at £230 (7 months), £210 (5 months) at £230 (3 months), £210 (9 months)		665 43 0	
	2 at £230 (3 months), £210 (3 months) 2 at £230 (1 month), £210 (11 months)	hs)	424	
	2 at £225		450	
	1 at £210 (2 months), £190 (10 mon	ths)	193	1
[2 at £210 (1 month), £190 (11 month)		384	
, .	3 at £210 (7 months), £190 (5 months)		605 200	
	1 at £210 (6 months), £190 (6 month 1 at £210 (4 months), £190 (8 month		200 197	
	1 at £210 (9 months), £190 (3 month		205	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale increases or wages include cost-of-living increase.

AUDIT DEPARTMENT—continued.

Number of Persons.	Item.		1924-	25.
1004.05	<u> </u>	VOTE No. 24.—AUDIT DEPARTMENT—continued.		
1924–25.	1	Salaries continued.	£	£
60		CLERICAL DIVISION—continued. Class VII—continued. 5 at £190	10,018	2
		Lodging-allowance	240	
3		GENERAL DIVISION. 1 at £205 205 1 at £185 185 1 at £100 (5 months) 42		
129			432	
		OTHER CHARGES FOR AND INCIDENTAL TO-	37,807	
•	3	Advertising, photographs, books, newspapers, and other publications Allowance to Audit Officers, London, to cover cost of	70	
	4	living Allowances to officers temporarily performing higher duties	25	
	5 6	Grants to— Audit Inspector, in lieu of removal expenses Officer on retirement, equivalent to salary in lieu of leave, in terms of Public Service Regulations	40 308	
	7 8 9 10 11 12	Law-costs	25 200 180 225 450 375	
	13 14 15 16 17	Telephone services (including installation, extensions, maintenance, rent, and calls) Temporary assistance Transfer and removal expenses Travelling allowances and expenses Contingencies, including unforeseen expenditure incidental to other items of the vote	150 1,100 600 4,000	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Audit inspection— Local Authorities 12,000 Government Departments and Loan Accounts whose accounts are kept on a commercial basis 4,000 16,000	7,868	
ı		GROSS TOTAL		45,675
		CREDITS-IN-AID		16,000
		NET TOTAL—VOTE No. 24		29,675

PUBLIC SERVICE COMMISSIONER'S OFFICE.

		·			19	24–25.	
		. — . — . — . — . — . — . — . — . — . —		Salaries.	Othe	r Charges.	Total.
Vote No. 2	5.—P	ublic Service Commiss	ioner's Office	£		£	£
GE	ross]	Готаl		5,261		4,156	9,417
Съ	פחזרים	S-IN-AID		***		1,050	1,050
		•					
N.	ET T	OTAL	••	5,261		3,106	8,367
Number of Persons.	Item.	VOTE No. 25 —	PUBLIC SERVIC	CE COMMIS	3.	1924	–2 5.
1924–25.			ONER'S OFFICE.			£	£
	1	*Salaries—					
	i		LERICAL DIVISION.				
. 1	1	Special Class— 1 at £715				715	
1	-	1 80 2710	•••			710	
	İ	Class 1—			£		
2	1	1 at £615 1 at £565	•••		615 565		
_			•••			1,180	
1	:	Class V 1 at £370				370	
1		1 8) 2310	•••	•••	•••	370	
_		Class VI—				0.00	
3		3 at £320	•••	•••		960	
		Class VII—					
		1 at £295	•••	•••	295		
		1 at £265	•••	•••	265		
		1 at £205 1 at £125	•••	•••	$\begin{bmatrix} 205 \\ 125 \end{bmatrix}$		
5		1 at £85	•••	•••	85		
J	ì					975	
			GENERAL DIVISION.		00=		
		1 at £285 2 at £245	•••	•••	285		
		1 at £205	•••	•••	490 205		
5		1 at £181	•••	•••	181		
,	٠.					1,161	
17	_					5,361	
		Less salarie	s provided but not	now required			

^{*} For particulars of salaries see "Public Service Classification List." Note.—Scale salaries or wages include cost-of-living increase.

 ${\bf 5,261}$

${\tt PUBLIC~SERVICE~COMMISSIONER'S~OFFICE-continued}.$

Number of Persons.	Item.		1924-	25 .
1924–25.	_	VOTE No. 25.—PUBLIC SERVICE COMMIS- SIONER'S OFFICE—continued.	£	£
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising vacancies in the Public Service Appeal Board—	300	
	3	Allowance to Valuer-General for services on Board		
		at the rate of £81 per annum	81	
	4	Expenses: Hearing of appeals	1,000	
	5	Examinations: Public Service Senior and Entrance		
		(£1,000 recoverable)	1,300	
	6	Office fittings and requisites	100	
	$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	Printing and stationery	300	
	8 9	Postage and telegrams	150	
	9	Telephone services (including installation, extensions,	100	
	10	maintenance, rent, and calls) Travelling allowances and expenses	750	
	11	Contingencies, including unforeseen expenditure in-	100	
	11	cidental to the other items of the vote	75	
	ļ. 	Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—		
		Examination Fees 1,000		
		Miscellaneous 50		
		·		
		1,050		
			4,156	
		Gross Total		9,4
		Credits-in-aid	•••	1,0
		NET TOTAL—VOTE No. 25		8,30

PRINTING AND STATIONERY DEPARTMENT.

						1924–25.				
			-			Salari	es.	Othe	er Charges.	Total.
ote No. 2	6.—P	rinting and	Stationer	y Department		4	:	 	£	£
Gı	Ross I	lotal .				119,	263		86,402	205,66
Cr	EDITS	-IN-AID		••			•			•••
N1	ET T	OTAL				119,	263		86,402	205,66
Number of Persons.	Item.	<u> </u>			<u> </u>		The second second		192	4–25.
1924–25.		VOTE No		PRINTING A DEPARTMEN		TATIO	NER	Y		
1021 20.	1	*Salaries-			.,				£	£
	-	Z		NISTRATIVE D	ivisioi	ι.				
1		1 at £76	5 (Gover	nment Printe	r)	•••			765	
			Pro	fessional Di	vision.					
1		1 at £40	0 (Chiet	Engineer)		•••			400	
		,		LERICAL DIVIS	SION.					
2	ŀ	$egin{array}{c} Class & I- \ 1 & ext{at } \pounds \ \end{array}$	615					£ 615 665	1,180	
3		Class II 3 at £						•••	1,275	
1		Class V = 1 at £							380	
3		Class V. 3 at £		•••					1,005	
		Class VI 3 at £ 2 at £ 1 at £ 1 at £ 2 at £	295 275 155 135 120				5 1 1 2	385 550 55 35 40		
10		1 at £				•••		95	2,060	
		1 at £408 7 at £398 1 at £388 2 at £368 4 at £348 3 at £328 1 at £328	3 3 3 3 3 3	ENERAL DIVIS	ION.		$ \begin{array}{r} 2,7 \\ 3 \\ 7 \\ 1,3 \\ 9 \end{array} $	88 36		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase,

PRINTING AND STATIONERY DEPARTMENT—continued.

Number f Persons	Item.					1924-	25.
924–25.		VOTE No. 26.—PRI DEPART					
924-20.			MITIN 1Concentu	eu.		£	£
•	1	Salaries—continued.					
			Division—contin	ued.	£		
		1 at £320	•••	• • •	320		
		8 at £318 9 at £313	•••	•••	$\frac{2,544}{2,817}$		
		1 at £308		•••	308		
		12 at £303	***	•••	3,636		
		1 at £298	•••	• • •	298		
		15 at £293	•••		4,395		
		45 at £288	•••	•••	$12,960 \mid 283 \mid$		
		1 at £283 1 at £280	•••	• • • •	280		
		78 at £278	•••		21,684		
		2 at £270	•••	•••	540		
	}	11 at £268			2,948	+	
		5 at £263	•••	• • • •	1,315		
		5 at £258	•••	. • • •	1,290 506		
		2 at £253 2 at £248	•••		496		
		1 at £238		•••	238		
		6 at £233	•••	•••	1,398	1.	
		3 at £228	•••		684		
		2 at £225	•••	• • •	450		
		1 at £223	••	• • • •	223		
		2 at £195 1 at £190	•••	•	390 190		
		1 at £188	•••		188		
		1 at £180	•••	• • • •	180		
		5 at £171	•••	• • •	855		
		1 at £168	•••	•••	168		
		8 at £161 2 at £160	***	• • • •	$\frac{1,288}{320}$		
		1 at £157	•••	•••	157		
		6 at £151	•••		906		
		9 at £141	•••		1,269		
		21 at £135	•••	• • •	2,835		
		15 at £126	•••	• • • •	1,890		
		5 at £118 7 at £100	•••	• • • •	590 700		
		5 at £92	•••	•••	460		
		5 at £79	•••		395		
328		2 at £66	•••	• • • •	132		
349						79,508	
040	.					86,573	
		Wages of temporary	staff	•••	•••	33,100	
						119,673	
		Less salaries provide	ed but not now re	equired	••.	410	
						119,263	
		OTHER CHARGES FOR	AND INCIDENTAL	то			
	2	Audit fees		•••		50	
	3	Freight, cartage, ins				8,000	
	4	Fuel, power, gas, lig			,	3,000	
	5	Installation of intere	communicating to	_	1	200	
	6 7	Machinery Medical services	•••	•••	•••	$\begin{array}{c c} 7,500 & \\ 175 & \end{array}$	
	8	Monotype machines,	extras connecte	d with	•••	300	
	9	Monotype metal			:::	520	

PRINTING AND STATIONERY DEPARTMENT—continued.

Number of Persons.	Item.		1924	-25.
1924–25.		VOTE No. 26.—PRINTING AND STATIONERY DEPARTMENT—continued.	£	£
	10 11 12 13 14 15 16 17 18 19 20 21 22 23	Office equipment and advertising Overtime and meal allowances Payment to Department of Internal Affairs for— High Commissioner's Office, London: Proportio of rent and clerical work Services of charwomen, messengers, &c. Postage and telegrams Refund of amounts overpaid for publications, &c. Stationery, paper, &c., and office requisites Stores, bookbinding-material, and printing-ink Telephone services (including installation, extension maintenance, rents, and calls) Type and printing material Window cleaning and rubbish-removal Contingencies, including unforeseen expenditure in sidental to the other internal of the vete	2,052 130 400 1,500 2,300 2,300 1,150 25 52,000 6,000 s, 140 500 150	
			86,402	
		Gross Total		20 5 ,6 6 5
		CREDITS-IN-AID		•••
		NET TOTAL—VOTE No. 26		205,665

MENTAL HOSPITALS DEPARTMENT.

						1	924-25.	
			-		Salarie	s. Oth	er Charges.	Total.
ote No. 27	7.—M	ental Hospital	s Department	_	£		£	£
$G_{\mathbf{R}}$	oss T	OTAL			218,	922	189,959	408,88
				•••]			
Cri	EDITS	-IN-AID	••		•••		104,000	104,00
NE	T TO	OTAL	••	••	218,	922	85,959	304,88
Number	Item.						100	1 05
of Persons.	1001111	VOTE	' No 07 M1	מאות	CODIMAT	C	1924	1–25.
1924-25.		VOLE	No. 27Ml DEPAI	RTMENT.	JSFITAL	ю		
	1	#G.=.p===					£	£
	1	*Salaries—	Administra	rive Divisi	ON.			
1		1 at £1 0	47 (Inspector-C	i Ionoral)			1 047	
1		1 20 21,0	41 (thspector-	Jeneral)	•••	• • •	1,047	
ļ			Profession	NAL DIVISIO	N.			
			Inspector-Ger		•		837	
			l Superintende				4,004	
		intende	al Šuperinten ent, Waikeria l	laent at ± Prigon £750	201 (aiso))	Super-	251	
			l Superintende			•••	1,748	
11			l Officers at £7		•••	•••	2,295	
		Class A-				£		
			cal Officers at			2,145	İ	
			f Engineer at		£200,	440		l
c			ic Health Dep		•••	1 020		
6		Class B-	cal Officers at	# 019	•••	1,2 30	3,815	ļ
			cal Officers at	£540		1,080	0,010	1
5			cal Officers at		•••	1,545		
	ĺ						2,625	
			Cr.mrical	L Division.			16,622	
		Class I-		L DIVISION.			10,022	
1	İ	1 at £5	565	•••	•••		565	
		Class II-						
1	ļ	1 at £5		•••	•••	•••	515	
4		Class IV					1,700	
4		Class VI		•••		•••	1,700	
		1 at £3		•••		3 3 5		
4		3 at £3				960		
		Class VI				•	1,295	!
		3 at £2		•••	•••	885		
	1	1 at £9		•••	•••	265		
		l at £9		•••	•••	245		
	4	2 at £1	เฮฮ	• • •		270		
10	į.					10 0	1	
13	İ	6 at £8		•••	•••	480	2 145	
13	<u> </u>			•••	•••	480	2,145	

^{*} For particulars of salaries see "Public Service Classification List."

 ${\tt Note.}{\leftarrow}{\tt Scale}$ salaries or wages include cost-of-living increase.

MENTAL HOSPITALS DEPARTMENT—continued.

Number of Persons.	Item.	VOTE No. 27.—MENTA PARTMENT-			DE-	1924-	25 .
1924–25.		Salaries—continued.	00,000,000			£	£
	1	SALIKKIES—Communica.				2	~
		General D	orision.		£		
		1 Assistant Inspector		•••	420		
		6 Storekeepers at £235	•••		1,410		
		2 Office Assistants at £185		•••	370		
		1 Office Assistant at £156			156		
1.5		4 Office Assistants at £130			520		
15		1 Shorthand-writer and ty	pist		140	3,016	
		Head Attendants—					
		Class A—				1 200	
4	1 1	4 at £405	• • •	• • •	••• [1,620	
8		Class B 8 at £365			, [2,920	
o		3 at \$500		•••	•••	2,920	
						4,540	
		Matrons— Class A—					
4		4 at £300				1,200	
7		Class B—	•••	•••	•••	1,400	
4		4 at £260	* * 1			1,040	
		Class C—					
7		7 at £245	•••			1,715	
		77				3,955	
		Engineers—			445		
		1 at £445	•••		445		
		1 at £425 1 at £400		• • • •	$\begin{array}{c c} 425 \\ 400 \end{array}$		
		2 at £315	•••	•••	630		
		4 at £305	• • •	•••	1,220		
10		1 at £125			125		
						3,245	
		Estate Manager-					
1		1 at £380	•••	• • •		380	
		Farm Managers—			000		
	[3 at £330	•••	•••	990		
-	-	1 at £305	•••	•••	305	. '	
7		3 at £285	•••	• • •	855	0.150	
2	ļ	$Farm\ Overseers - 2\ { m at}\ \pounds 250$				2,150 500	
ائد		Stockmen—	•••	•••	•••	300	
		1 at £220			220		
		1 at £210			210		
3		1 at £195	•••		195		
		Dairyman—		•		625	
1		1 at £215		•••		215	
		Warana de in an				3,870	
		Engine-drivers—			015		
		1 at £245 12 at £240	•••	• • •	245		
14		12 at £240 1 at £156	•••	•••	2,880 156		
T.T		I at wito	•••	•••	100	3,281	
ĺ		Electricians—					
		2 at £260	•••	•••	520		
3		1 at £100			100		
		Fitter—				620	
1		1 at £260	•••			260	
_		Labourers—					
$2 \mid$		2 at £225	•••		•••	450	
		Attendants— 5 at £290			1,450		
		48 at £280	•••	•••	13,440		
		6 at £270	•••		1,620		
					10,140		
- 1	- 1	39 86 ±300			10.140		
		39 at £260 1 at £255		•••	255		

MENTAL HOSPITALS DEPARTMENT—continued.

	- · ·						
Number of Persons.	Item.	VOTE No. 27.—MI	ENTAL HOS	PITALS	DE-	1924-	25.
1924–25.	-{ 	PARIMI	ENT-—continue	a.	-		
	1	Salaries—continued.				£	£
		GENERAL D	orvision—conti	mued.			
	!	Attendants—continue		100000	£		
		3 at £240	• • • • • • • • • • • • • • • • • • • •		720		
	i	8 at £235 59 at £225	•••	•••	$1,880 \\ 13,275$		
		80 at £220	•••		17,600		
		4 at £215		•••	860		
		7 at £210 20 at £205	•••	•••	1,470 4,100		
409		74 at £200	•••	•••	14,800		
		Carpenters—			1,300	95,360	
		5 at £260 2 at £252			504		
		10 at £250	•••		2,500		
		1 at £244	•••	•••	244	•	
20		1 at £140 1 at £125		•••	$\begin{array}{c c} 140 \\ 125 \end{array}$		
20		Works Overseers-	•••			4,813	
		3 at £290	•••	•••	870		
4		1 at £270 Bricklayers—	•••	•••	270	1,140	
		2 at £260	•••		520	_,	
3		1 at £244	•••	•••	244	764	
		Blacksmiths - 2 at £260		•••	520	104	
		1 at £228	•••		228		
4	İ	1 at £100	•••	•••	100	848	
		Painters— 3 at £260			780	040	
		2 at £252	•••	•••	504		
7		1 at £250	•••	• • •	$\begin{array}{c c} 250 \\ 140 \end{array}$		
7		1 at £140 Bootm :kers	•••			1,674	
		2 at £252	•••		504		
6	1	2 at £244 2 at £228	• • •	•••	488 4 5 6		
O		Bakers—	•••	•••	100	1,448	
	i	2 at £260	•••	••	520		
6		1 at £252 3 at £224	• • •	•••	$\begin{array}{c c} 252 \\ 672 \end{array}$		
U		Butchers—		•••		1,444	
	ļ	1 at £250	•••	•••	250		
	!	1 at £221 1 at £208	•••	•••	$\begin{bmatrix} 221 \\ 208 \end{bmatrix}$		
		1 at £195	•••	•••	195		
5	!	1 at £180	•••	•••	180	1.054	
	i	Poultrymen— 1 at £215			215	1,054	
2		1 at £185	•••	•••	185		
		Plumbers—			700	400	
	:	3 at £260 2 at £252	•••	•••	780 504		
	1	1 at £244		•••	244	•	
8		2 at £ 228	•••	•••	456	1 004	
		Gardeners— 1 at £260		•••	260	1,984	
		2 at £252	•••	•••	504		
		2 at £244	•••	•••	488		
		2 at £228 1 at £205	•••	•••	456 205		
		1 at £195		•••	195		
10		1 at £190	•••	•••	190	2,298	
1		Fisherman— 1 at £240	•••	•••		240	
_		ı				'	

MENTAL HOSPITALS DEPARTMENT—continued.

lumber Persons.	Item.	VOTE No. 27—MENT PARTMENT	1924-9	25.			
24-25.	1	SALARIES—continued.	_ 0000	·= ·		£	£
				* 7		į	
		GENERAL DIVIS	SION—cont	ınuea.	£		
	1	1 at £235	•••		$2\overline{3}5$		
	;	1 at £205			205		
	į	1 at £200	•••	• • •	200		
		1 at £195	•••	•••	195	1	
	i i	1 at £190	•••	•••	190		
		1 at £183 2 at £181	•••	•••	$\begin{array}{c} 183 \\ 362 \end{array}$	1	
		2 at £165	•••	•••	330		
		5 at £150	•••	•••	750	İ	
		2 at £140		• • •	280		
00	1	1 at £130	•••	•••	130		
22		4 at £104	•••	•••	416	3,476	
	1	Messenger— 1 at £150			150	3,110	
2		1 at £115		•••	115		
_	i	Nurses—				265	
		28 at £205		• • • •	5,740		
		8 at £200	•••	•••	1,600		
		5 at £195 7 at £190	•••	•••	$\begin{array}{c} 975 \\ 1,330 \end{array}$		
		2 at £170	•••		340		
		1 at £165			165		
		9 at £160			1,440		
		1 at £155	•••		155		
		3 at £150	•••	•••	450		
		5 at £145 107 at £135	•••	•••	$\begin{array}{c} 725 \\ 14,445 \end{array}$	Ì	
377		201 at £120	•••	•••	24,120		
014		Cooks—	•••	•••		51,485	
		1 Male at £252			252	, l	
		2 Males at £235	•••	•••	470		
		1 Male at £220	• • •	•••	220	ĺ	
		1 Male at £210 2 Males at £180	•••	•••	210 360		
		1 Male at £150			150		
		1 Female at £195	•••	•••	195		
		1 Female at £185	•••	•••	185		
		3 Females at £140	•••		420		
15		2 Females at £125 Laundresses—	•••	•••	250	2,712	
		1 at £190			190	4,114	
		1 at £180	•••		180	l	
		1 at £140		•••	140		
		4 at £130	•••		520		
8		1 at £120	•••	•••	120	1 170	
1		$Ward ext{-}maid ext{} \ 1 ext{ at } \mathfrak{L}SC$				1,150 80	
,		Official Visitors—	•••	•••	•••	30	
		7 at £26			182		
9		2 at £13	•••	•••	26		
						208	
1,051						019 000	
		OTHER CHARGES FOR AND IN	CIDENTAL	то—	_	218,922	
	2	Advertising, photographs			ers, and		
		other publications	••••			200	
	3	Bacteriological research	• • •	•••	•••	100	
	4	Bedding and clothing	···	•••		30,000	
	5	Buildings, including addit	_	covement	s, repairs,	6 400	
	6	and replacements Compassionate allowance	to ex-Ni	 irse D т	Mason	6,400	
	١	Seacliff, on account of i			. 1.2000011,	60	
	7	Dental services	•••			400	
	8	Developmental work in co					

${\tt MENTAL~HOSPITALS~DEPARTMENT-} continued.$

f Persons.	Item.	VOTE No. 27.—MENTAL HOSPITALS DE- PARTMENT—continued.	1924-	-25.
924-25.	,;	TAILVE HAISIN I OUTOVOTOWOW.	<u> </u>	
	1 1	OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
	9	Farms, maintenance of (part recoverable)	16,000	
	10	Fencing, draining, and roading	600	
	11	Freight, cartage, and transport charges	1,000	
	12	Fuel light news water and cleaning	22,000	
		Fuel, light, power, water, and cleaning	500	
	13	Funerals, expenses of		
	14	Furniture and fittings	1,000	
	15	Gardens and shrubberies, expenses of	250	
	16	Grant to Inspector-General, Mental Hospitals, to- wards expenses incurred abroad in connection		
		with investigation of systems of treatment of		
		mentally afflicted	500	
	17	Inquiries under Public Service and Mental		
	1 1 1	♣	50	
	10	Defectives Acts		
	18	Laundry	5,500	
	19	Law-costs	40	
	20	Machinery, repairs, and stores	1,700	
	21	7.6	100	
	$\begin{vmatrix} 21\\22 \end{vmatrix}$		2,000	
	1	Medical fees for certificates and consultations		
	23	Motor-vehicles, maintenance of	600	
	24	Motor-vehicles, purchase of	800	
		Nursing staff—	ì	
	25	T3	25	
			- ,	
	26	Uniforms, purchase of	3,300	
	27	Office equipment	150	
		Patients, expenses connected with—		
	28	Gratuities	1,000	
	29	"Patients' Friends"	200	
		70 11		
	30	Recreation	7,200	
1	31	Transfer	400	
	32	Payment of life-insurance premium re J. J. Fitzpatrick,		
		mental patient	14	
	33		600	
	34	Printing and stationery	900	
	35	Rations	72,000	
	36	Rents and rates	2,620	
	37	Repatriation of two mental patients to Germany	200	
	38	C. Tarana	5,000	
	90	1 - 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	0,000	
a	20	Surgery and dispensary—	000	
	39	Drugs and instruments	800	
	40	Wine, spirits, ale, and porter	100	
	41	Telephone services (including installation, extensions,	ì	
		7	900	
	10		100	
	42	Transfer and removal expenses		
	43	Travelling allowances and expenses	1,300	
		Treatment and maintenance in general hospitals—	1	
	44	Patients	100	
	45	Shaff	150	
	46		-50	
	40	Contingencies, including unforeseen expenditure in-	100	
		cidental to the other items of the vote	100	
		Estimated credits-in-aid under section 48 of the		
		Public Revenues Act, 1910 (see end of vote)—		
		Fees for maintenance of patients £86,000		
		Medical fees, refund of 1,000		
	1	Sala of farm madras live stack to 11 000	ļ	
		Sale of farm-produce, live-stock, &c. 11,000		
		Stores, board, &c. (repaid by staff) 3,000		
		Miscellaneous 3,000		
		104,000		
			1	
		and the state of t	i	
		s sometimes and the second of	189,959	
		and the spin of th	-	
		Gross Total		408,8
		CINCRE LOTAL 1.3445 MONY 1. Stars		100,0
		What is not a second of the contraction of the cont		404.0
		CREDITS-IN-AID		104,0
			•••	,-

DEPARTMENT OF HEALTH.

•		, 			1	924-25.	
				Salaries	. Ot	her Charges.	Total.
Vote No. 2	28.—I	Department of Health-	_	į.	£	£	£
G ₁	Ross '	Total		103,1	173	272,465	375,638
						Ì	
CI	REDITS	S-IN-AID	••	2,2	275	72,255	74,530
N.	ET T	OTAL	••	100,8	398	200,210	301,108
Number of Persons.	Item.			· <u> </u>		1924	4–25.
1924–25.	-!	VOTE No. 28.—	-DEPARTMENT (OF HEAI	TH.		<u> </u>
	1	*Salaries				£	£
	Î	ADA	MINISTRATIVE DIVISI	on.			
1		H L	ector-General of He			1,047	
1		1 at £1,047 (Dir	econ-General of Tre	aruii)	•••	1,047	
	i		FESSIONAL DIVISION		£		
		3 at £956	•••		2,868		
	İ	1 at £897	•••	•••	897	I	
		1 at £874	• • •	•••	874	i	
		2 at £851	• • •	•••	1,702		
		1 at £837	***		837		
		5 at £791	•••	• • •	3,955		
]	4 at £765	•••	• • •	3,060		
18		1 at £750	•••	•••	750	14.040	
		Olmon A				- 14,943	:
0		Class A—				1 945	1
3		3 at £615 Class B—	• • •	•••	•••	1,845	I
		7 at £590			4,130		
9		2 at £515	•••		1,030	ì	
9		Class C—	•••	•••	-,000	5,160	
		4 at £490			1,960	0,100	!
5		1 at £470			470		
3		Class D—				2,430	
		4 at £425	•••		1,700	,	
		1 at £355	•••		355		
7		2 at £3 35	***	•••	670		
,		Class E —				2,725	
		1 at £320	***		320		
3		2 at £300	•••	•••	600		İ
	ĺ	Class $F_{}$				920	1 :
		1 at £210	• • •	•••	210		!
3		2 at £135			270		
	1					480	

CLERICAL DIVISION.

480

300

565

515490

1

 2

House allowances

Class I— 1 at £565

Class II-1 at £515 1 at £490

^{1,005} * For particulars of salaries see "Public Service Classification List." Note.—Scale salaries or wages include cost-of-living increase.

Number of Persons.	Item.					1924-9	25.
1924–25.	- 	VOTE No. 28.—DEP.	ARTMENT OF ntinued.	HEA	LTH—		
	1	SALARIES—continued.				£	£
		Class IV—			£		
		1 at £425			425		
$_2$		1 at £400	•••		400		
4		Class V—	•••	•••		825	
		2 at £380	,		760		
3		1 at £355			355		
		Class VI—				1,115	
		7 at £335	•••		2,345		
8		1 at £295	•••		295		
		Class VII—				2,640	
		10 at £295	•••	• • •	2,950		
		1 at £265		•••	265		
		3 at £245			735		
		1 at £225	•••	• • •	$\begin{array}{c c} 225 \\ 380 \end{array}$	ĺ	
		2 at £190	•••	•••	700		
		4 at £175 3 at £160	•••	•••	480		
		3 at £135	•••	•••	405		
		3 at £115	•••		345		
34		4 at £110			440		
						6,925	
		Cadets' lodging-allow	ances	•••		120	
			RAL DIVISION.				
		1 at £470	• • •	• • •	470		
	1	1 at £425	•••	• • •	425		
		1 at £410 3 at £390		• • •	1,170		
	1	2 at £380	•••	• •	760		
		2 at £370	•••		740		
	1	1 at £360			360		
		4 at £355			1,420		
		5 at £350			1,750		
		1 at £345			345		
		12 at £335	•••	• • •	4,020		
		3 at £330		• • •	990		
4		8 at £320	* 1	• • •	2,560		
		2 at £315 12 at £310	• • •	•••	$\begin{bmatrix} 630 \\ 3,720 \end{bmatrix}$		
		2 at £305	•••		610		
		10 at £300	•••		3,000	İ	
		4 at £290			1,160	f	
		4 at £280	•••		1,120		
		4 at £275 (1 for $6\frac{1}{2}$ m	$ ext{onths}) \dots$		974		
		2 at £270		• • •	540		
		2 at £265	•••	• • •	530		
	.	1 at £260	•••	• •	260		
		9 at £255 1 at £252	•••	• • •	$\begin{array}{c c}2,295\\252\end{array}$		
		11 at £245	•••		2,695		
		15 at £240	•••		3,600		
		1 at £236	•••	•••	236		
		1 at £235	• • •		235		
		4 at £230			920		
		1 at £229			229		
		8 at £225	•••	• • •	1,800		
		1 at £215			215		
		32 at £205	***	•••	6,560		
		1 at £200 17 at £195	•••	•••	$\begin{bmatrix} 200 \\ 3,315 \end{bmatrix}$		
		8 at £185	4.4	•••	1,480		
		2 at £181	•••		362		
		1 at £180			180	1	
	1 1	1 at £175			175		

f Persons.	Item.	VOTE No. 28—DEPARTM	ENT (OF HEAL?	ГН—	1924-	25.
.924–25.		continu				£	£
	1	Salaries—continued.					-
		GENERAL DIVISIO	n—cont	inued.			
		1 at £165			£		
	İ	3 at £157		•••	$egin{array}{c} 165 \ 471 \end{array}$		
		3 at £146		•••	438	l I	
		2 at £125			250		
235		25 at £75	• • •		1,875	55,912	
		Lodging-allowances		•••		880	
	- [Allowance to officers temp	orarily	performing	higher	4-5	
	İ	or special duties	•••	•••		$\begin{bmatrix} 175 \\ 56 \end{bmatrix}$	
		Locality allowances	•••	• • •	•••	56	
		Unclassi	enen		•		
			. 11217,		,a.		
-		2 Inspectors of Health—			\$88 £		
•		1 at £388 1 at £347		•••	$\begin{array}{c} 388 \\ 347 \end{array}$		
				•••		735	
		4 Port Health Officers— 2 at £350			700		
		1 at £200		•••	200		
ł		1 at £75			75	•	
						975	
		1 Medical Officer at £250	• • • •	• • •		$egin{array}{c} 250 \ 175 \end{array} igg $	
		1 Medical Officer at £175 3 Medical Officers at £150	•••	•••	•••	450	
	į	3 Medical Officers at £100		•••		300	
		1 Analyst at £200		•••		200	
		1 Pathologist at £200				200	
		1 Pathologist at £100	•••		•••	100	
	1	1 Bacteriologist at £100 1 Assistant Bacteriologist a		•••	•••	$\frac{100}{200}$	
		27 Medical Officers (Native		•••	•••	200	
		1 at £100	,	•••	100		
		1 at £80			80		
		3 at £75	• • •	•••	225		
1		2 at £60		•••	120		
		13 at £50 3 at £40	•••	•••	$egin{array}{c} 650 \ 120 \ \end{array}$		
47		4 at £25	• • •	•••	100		
			•	- **		1,395	
383		1 District Nursing Assistan	t	•••		60	
	1	Less salaries provided	out not	now requir	ed	105,208 2,035	
		Estimated credits-in-ai Public Revenues Act Contributions from Nat ment for medical offic Amounts deducted f Institutional employe lodging Recoveries on account of Wellington Bacter tory	d under, 1910 (ive Trucers rom sees for of salar	Section 48 see end of st Depart alaries of board and ies of staff	of the		
					-	100 170	
					1.	103,173	

	1 +			
Number of Persons.	Item.	VOTE No. 28.—DEPARTMENT OF HEALTH—	1924-9	25 .
924-25.	j j		£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-	2	æ
		General Administration—		
	$\begin{vmatrix} 2 \end{vmatrix}$	Advertising, photographs, books, newspapers, and other publications	300	
	3	Committee of Inquiry into Mental Defectives and		
		Sexual Offenders	650	
	$\begin{array}{c c} & 4 & \\ & 5 \end{array}$	Freight, cartage, and transport charges Fuel, light, and water	$\begin{bmatrix} 50 \\ 295 \end{bmatrix}$	
	6	Grant to J. R. Mair, Clerk, Health Department, in	200	
		lieu of removal expenses	45	
	7	Investigation "Spahlinger" treatment	$\frac{80}{946}$	
	8 9	Kelvin Maternity Hospital Commission of Inquiry Law-costs	65	
	10	Maternity homes, refund of fees	60	
	11	Motor-cars, motor-cycles, bicycles, &c.: Purchase,	1 000	
	12	repairs, and running-expenses Office-cleaning	$\begin{array}{c c} 1,000 \\ 150 \end{array}$	
	13	Office-cleaning Office fittings and requisites	450	
	14	Overtime and meal allowances	60	
	15	Palmerston North Hospital Commission	350	
	16 17	Payments to other departments for services rendered Postages and telegrams	$\begin{bmatrix} 1,198 \\ 2,400 \end{bmatrix}$	
	18	Printing and stationery	2,500	
	19	Private Maternity Homes: St. Helens patients' ex-	50	
	20	penses	50 10	
	$\frac{20}{21}$	Quackery Prevention Act Rent	2,700	
	22	Sending nurse to England for training	372	
	23	Telephone services (including installations, exten-	1 050	
	24	sions, maintenance, rent, and calls) Temporary assistance (part recoverable)	$\frac{1,850}{18,900}$	
	25	Transfer and removal expenses	320	
	26	Travelling allowances and expenses	10,100	
	27	Travelling-expenses of—		
	41	Dr. Colquhoun, representing New Zealand at Congress of Royal Institute of Public Health,		
		Bordeaux	30	
	28	Members to B.M.A. Conference at Auckland	1,041	
	29 30	Typewriters, purchase and repair of Uniform, allowance to nurse for	12	
	31	Contingencies, including unforeseen expenditure inci-		
		dental to other items of the vote	150	
		-	46,224	
		Health Act—		
	32	Board of Health: Expenses (including fee to mem-	105	
	33	bers)	$\begin{array}{c c} 125 & \\ 50 & \end{array}$	
	34	Disinfectants, purchase of (part recoverable)	500	
	35	Infectious diseases (part recoverable)	1,200	
	36	Inspection of vessels (part recoverable)	1,500	
	37	Motor-cars, motor-cycles, &c.: Purchase, repairs, and running-expenses (part recoverable)	4,800	
	38	Notification of infectious diseases	1,250	
	39	Quarantine expenses	2,400	
	40	Refund to local bodies of fines imposed for breaches		
		of regulations made under Section 132, Health Act, 1920	100	
	41	Sera, purchase of (recoverable)	7,500	
	42	Vaccination and registration fees	25	
	43	Other expenses	50	
			19,500	
		Masseurs Registration Act—		
	44	Examination expenses, &c	100	

Number of Persons.	Item.	VOTE No. 28.—DEPARTMENT OF Continued.	HEALTH—	1924-	25.
1924–25.		OTHER CHARGES FOR AND INCIDENTAL TO	continued.	£	£
	45	Medical Practitioners Act— Expenses		140	
	46	Midwives Act— Examination expenses, &c	•••	130	
	47	Nurses Registration Act— Examination expenses, &c		280	
	48	Plumbers Registration Act— Examination expenses, &c. (part recove	erable)	800	
	49 50 51	Sale of Food and Drugs Act— Analysts paid by fees Law-costs Other expenses (including purchase of	 samples)	100	
		Secial Hardens Act		750	
	52	Social Hygiene Act— Treatment, &c. (including bacteriolo supplies of drugs, cost of treatment patients, &c.)	gical charges nt of indigen	1,000	
	53	Bacteriological Laboratories— Laboratory expenses (part recoverable)		1,750	
	54 55 56	Child Welfare Administration Printing of "Baby's First Month" Travelling expenses and allowances Other expenses (including hire of halls, a	 dvertising, &c	600	
			0	1,500	
•	57 58	Dental Hygiene Administration— Dental clinics and travelling-ambulance Travelling allowances and expenses	es, expenses of	7,000	
				7,800	
	59 60	Maori Hygiene Administration (part recov Maintenance of nurses cottage, Kahuki Other expenses (including establishmen	ıra	250	
		camp hospitals, &c.)		3,300	
	$\begin{vmatrix} 61 \\ 62 \end{vmatrix}$	Supply of medicines Travelling expenses and allowances	•••	1 000	
	02	-		5,550	
	63	School Hygiene Administration— Travelling allowances and expenses		5,000	
	64	Uniforms, allowances to nurses for	• • • • • • • • • • • • • • • • • • • •	400	
	65	Other expenses (including equipment)	•••		
		Grants-in-aid—		5,650	
	66	Alexandra Home	•••	7,000	
	67	Cook Hospital Board	••• ,		
	68	Knox Home for Incurables Maternity Hospital, Hastings		9,000	
	70	Medical research work	•••	500	
	71.	Mothers' Help Division, Wellington	•••	150	
	72.	Mount Magdala Asylum		1	
	73	St. John Ambulance Association	•••	400	
	74	Otago University—		50	
	75	Analytical laboratory Bacteriological laboratory		500	
	76	Dental bursaries		500	
	77	Pathological laboratory	•••	100	

Number	T4			
of Persons.	Item.		1924	-25.
	.ll	VOTE No. 28.—DEPARTMENT OF HEALTH—		
1924-25.	i	continued.		
			£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	1	
	i l		1	
	li	Grants-in-aid-continued.		
	78	Relief of indigent persons	150	
	1	Royal N.Z. Society for Health of Women and		
		Children—	0.450	
	79	Karitane, Dunedin: Building grant	6,450	
	80	Karitane-Harris Hospital, Dunedin	2,000	
	81	Karitane Hospital, Auckland	1,000	
	82 83	Karitane-Stewart Hospital, Wanganui	1,000	
	84	Karitane-Wolfe Hospital, Christchurch Mothercraft Home, Wellington	750	
	85	Subsidies towards salaries of Plunket nurses	12,950	
	86	Secretary: Grant towards salary	130	
	87	Assistant Secretary: Grant towards salary	225	
	88	Director: Grant towards salary	350	
	89	Incidental grants (railway passes, &c.)	1,000	
	90	Salvation Army	1,000	
	91	Strath Taieri Medical Club	50	
	92	Waipiata Sanatorium: Additions to buildings	5,000	
	93	Westland Hospital Board	2,000	
	94	Women's National Reserve: Residential nursery	200	
		· ·	1	
		G 1 '3'		
	95	Subsidies— Puller Haggier Paged (61 for 61 mg to 6950)	250	
	96	Buller Hospital Board (£1 for £1 up to £250)	400	
	97	Coromandel Hospital Board Inangahua Hospital Board: Grant by way of subsidy	400	
	31	on account of the Waiuta Medical Association	450	
	98	Mercury Bay Hospital Trustees	300	
4		and the second s		
	1		60,455	
		-		
		Institutions under control of Department—		
	0.0	Wages-	10.000	
	99	Hanmer Hospital	13,000	
	100	King George V and Infectious Diseases Hospitals,	10.000	
	101	Rotorua	19,000	
	$\begin{vmatrix} 101 \\ 102 \end{vmatrix}$	Otaki Sanatorium and Hospital Pukeora Sanatorium	$\frac{4,160}{12,000}$	
	102	St. Helens Hospitals—	12,000	•
	103	Aughland	1,420	
	104	Gisborne	310	
	105	Wanganui	500	
	106	Wellington	1,000	
	107	Christehurch	750	
	108	Dunedin	606	
	109	Invercargill	870	
		Maintenance—		
	110	Hanmer Hospital	15,600	
	111	King George V and Infectious Diseases Hospitals,	10.000	
	110	Rotorua	18,900	
	112	Leper Hospital	1,600	
	$\begin{array}{c c} 113 \\ 114 \end{array}$	Otaki Hospital and Sanatorium Pukeora Sanatorium	$\begin{bmatrix} 3,250 \\ 15,000 \end{bmatrix}$	
	11.4	St. Helens Hospitals—	10,000	
	115	Analeland	3,000	
	116	Ciahanna	960	
	117	Wanganui	1,000	
	118	Wellington	3,100	
	119	Christchurch	1,900	
	120	Dunedin	1,500	
	121	Invercargill	900	

DEPARTMENT OF HEALTH—continued.

Number of Persons.	Item.	VOTE No. 28.—DEPARTMENT OF HEALTH	1924-	-25.
1924–25.		continued. OTHER CHARGES FOR AND INCIDENTAL TO—continued.	£	£
		Institutions under control of Department—continued.		
	122 123	Maintenance—continued. Trentham Hospital Purchase of supplies for Department's Institutions	10 500	
			120,836	
			272,465	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—Bacteriological Laboratories: £ Sales and services 900 Civil List contributions towards Maori medical service 3, 600 Institutional Patients' Fees—Otaki Hospital and Sanatorium 6,000 Pukeora Sanatorium 11,000 Rotorua, King George V Hospital 9,000 Hanmer, Queen Mary Hospital 20,000 Kahukura Cottage Hospital 50 Trentham Hospital 100 Law-costs recovered in proceedings, &c 20 Local bodies' contributions for sanitary-inspection services 13,500 Recoveries in connection with—Infectious disease preventior 50 Inspection of vessels 250 Sales of Acts, pamphlets, &c 25 Sales of—Disinfectant and disinfection fees 20 Material used at plumbers' examinations 60 Sales of sera 7,500		375,638
		Credits-in-aid (a)		74,530
		NET TOTAL—VOTE No. 28		301,108

(a) Credits-in-aid—

				1924–25. £
Salaries				2,275
Other Charges	, .	• •	• •	72,255
Total				74,530
		•		

NAVAL DEFENCE.

			•			19	24-25.	
					Salaries.	Othe	er Charges.	Total.
Vote No. 2	89.—N	aval Defence—	_		£		£	£
Gross	Тотаг				133.500		226,012	359,51
CREDIT	S-IN-A	ıd	•••		4,400		21,277	25,67
NET T	ГОТА	L	•••		129,100		204,735	333,83
Number of Persons.	Item.	VOTE	No. 29.—NA	VAL DEF	ENCE.		1924	1 –25.
1924–25.	1	Salaries—					£	£
10 500 +62 	FULL PAY, WAGES, ALLOWANCES, EXTRA PAY, &c.— Administrative staff (excluding Naval Secretary) Officers and snips' companies, H.M. Ships 'Chatham,' 'Dunedin,' and 'Philomel,' and (†) new entries under training (part recoverable)							
	2 3	Administra Expenses ments Moneys remitta	nd incidental to	on with pa dmiralty England,	on account sale of Br	of	400	
	5 6	TRAPS— Clothing A Clothing entries issues), Kit-upkee Implement Purchase supply Victualling	purchases, for and on re- (part recover- ep allowance, at and Mess Tra- of mess tra- and replacements	r issue as payment able) and clothin ap Account aps, imples	free kits to (less repayr g gratuities s— ments, &c.,	new nent for	3,000 5,500 1,000	
	8	provisio Victuallir and pa ances t	llowance and ons got personne yment of viet o officers and recoverable)	el: Purch	ase of provis	 sions low-	2,475 16,500	
	9 10 11 12	Medical forces Medical t	ERVICES— eatment ashor examination creatment ashor rovisions, sick	of recruit ore		oing 	450 150 650 400	

${\tt NAVAL\ DEFENCE--} continued.$

Number of Persons.	Item.	VOTE No. 29.— NAVAL DEFENCE—continued.	1924-	25.
1924–25.		Charges for and incidental to—continued.	£	£
	13 14 15 16 17	REPAIRS, ALTERATIONS, DOCKING, &c.— H.M.S. "Chatham" H.M.S. "Dunedin" H.M.S. "Philomel" Contribution to Auckland Harbour Board for priority use of Calliope Dock, workshops, &c Removal of machinery from H.M.S. "Philomel"	2,000 2,000 600 5,000 1,500	<i>3</i> 5
		themoval of machinery from 11.M.S. 1 miomer	1,000	
	18 19 20 21 22 23	Fuel and Lighting (including freight of coal)— H.M.S. "Chatham" (supply of coal and oil fuel) H.M.S. "Dunedin" (supply of oil fuel) H.M.S. "Dunedin" (fuel used on passage out) Oiler "Nucula" (hire from Admiralty, wages and victualling, repairs and stores) H.M.S. "Philomel" (supply of coal) Coal stocked at Auckland and Suva, custody of	8,500 16,000 6,000 16,500 2,000	
		stocks, and supply of coaling-gear (part recoverable)	12,000	
	24	Gas for buildings at Devonport and Navy Office, Wellington	50	
	25	Supply of electricity from shore to ships and buildings	120	
	26	Stores— Naval, engineers, shipwrights, ordnance, tor-	20,000	
	27	pedo and electrical Purchase and freight of guns for local defence vessels	30,000	
	28	Works— Alterations to magazines	60	
	29	Emergency sick-quarters, completion of, repairs, &c	50	
	30	Erection and fitting of new Naval store at Devon- port (£1,600), and wages of storekeeper (£400) Erection of two 5,000-ton oil-tanks at Devonport	2,000 24,000	
	32	Maintenance and use of dockyard plant and build- ings; part wages of storekeeper	250	
	33	Purchase of land at Devonport, Auckland, for Naval expansion	500	
	34	Upkeep and improvement of recreation-ground	50	
·	35	Reserves— Courses of emergency list officers (incidental expenses) 2 Furnishing and outfitting of drill-hall 250 Hire of drill-hall and vessels 60 Medical examination recruits 200 Pay and allowances whilst under training 2,500 Payment of Instructors 40 Retaining fees 600 Stores and fittings for instruction 250 Travelling-expenses 600	4,600	
	36	MISCELLANEOUS EFFECTIVE SERVICES— Advertising, books, newspapers, and other publica-		
	37 38 39	tions Allowances in lieu of quarters (lodging-allowance) Bonuses to recruiters, &c Cleaning Navy Office	1,000 400 50 52	

NAVAL DEFENCE—continued.

Number of Persons.	Item.		1924	–25.
1004.05	-	VOTE No. 29.—NAVAL DEFENCE—continued.		
1924–25.		Charges for and incidental to—continued.	£	£
		Miscellaneous Effective Services—continued. Compensation—		
	40	For injuries and accidental death and disease contracted on duty	1,000	
	41	Freight, insurance, landing, and transport charges (excluding freight, &c., on coal)	3,500	
	42	Gunnery and torpedo efficiency funds, good-shooting prizes	60	
	43	Interments	30	
	44	Office fittings and requisites	- 240	
	45	Passages, travelling allowances and expenses	5,000	
	46	Playing harmonium at divine service	15	
	47	Postage, cablegrams, telegrams, and rent of boxes	600	
	48	Printing and stationery	400	
	49	Rebate to officers and ship's company on account of duty paid on uniforms	20	
	50 51	Rent of Navy office, storerooms, magazine (overhead charges), &c. (part recoverable)	700	
	01	Telephone services (including installation, exten-	150	
	52	sions, maintenance, rent, and calls)	100	
	53	Typewriters (repairs)	20	
		Non-effective Services—		
•	54	Contribution to unemployment benefit fund for ratings serving in New Zealand, payable to Admiralty Deferred pay (including portion payable to	100	
	55 56	Admiralty as pension contributions of officers and men lent from Royal Navy) to officers and		
		men	25,500	
	57	National Health Insurance to Admiralty Rebate to Naval personnel engaged prior to 30th June, 1921, of income-tax chargeable	520 250	
	58	Contingencies, including unforeseen expenditure	200	
		incidental to other items of vote (part recoverable)	2,000	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—		
		On account of pay, clothing, and £		
		victualling 9,200	l	
		Admiralty on account of coal 10,000		
		Sale of stores, &c 3,500		
		Rent 277		
		Contingencies 1,700		
		Miscellaneous 1,000		
		25,677		
		GROSS TOTAL		359,512
		CREDITS-IN-AID		25,677
		NET TOTAL—VOTE No. 29		333,835

DEFENCE DEPARTMENT.

		<u> </u>				1924–25.	
					Salaries.	Other Charges.	Total.
Vote No. 8	30—Defenc	e Department—			£	£	£
Subdivisi	ion I.—N	Z. Staff Corps			36,191		36,191
,,		Z. Permanent S	taff		$39^{'},747$		39,747
,,		Coyal N.Z. Artill			33,324		33,324
,,		I.Z. Army Ordna		•••	33,936		33,936
1 9		.Z. Army Pay Co			6,036		6,036
11		Z. Army Servic			2,868		2,868
,,	V11.—N	.Z. Army Medica	t Corps	72:4	1,910	• • • •	1,910
11	V111.—Ca	retakers, Drill-	sheds and	Rifle	0.816		0.840
	IV a	Ranges	•••	•••	3,710		3,710
,,		ivilian Personnel			15,886	•••	15,886
,,	Λ .— M	ilitary Education		unaer-	9 690	918	1 210
	$\nabla I = D_{a}$	going Instruction erchases, Mainten		rainiana	3,630	215,579	4,548
,,	XIIAv		ance, ana 11	aming	${3,879}$	36,486	$215,579 \\ 40,365$
,,		nation n-effective Servic	es	••••		1,604	1,604
,,		tional Rifle Asso			•••	1,474	1,474
,,	XV.— Ri				•••	1,144	1,144
,,	22.7. 110)		•••		····		
Gross	TOTAL	•••	• • •		181,117	257,205	438,322
CREDIT	S-IN-AID	;··	•••	•••	•••	18,150	18,150
NET :	TOTAL	•••	•••		181,117	239,055	420,172
Number of Persons.	Item.			100		192	4-25.
1924–25.	V	OTE No. 30.—	DEFENC	E DEPA	RTMENT.	£	£
		Subdivision	No. 1.—N	. Z . Staff	Corps.	~	
	1 Pay	·					
1 1		Commandant at		 (6 mont	 hs on leave	1,001	
		retirement)			• • • •	546	
3	3	Colonel-Comma	ndants at £	3765	•••	. 2,295	
1	1	Colonel		••		765	
5		LieutColonels		0.400	•••	3,650	
15		5 Majors: 14 at			4 -4 6005	8,750	
25		5 Captains: 18				$\begin{array}{c c} \dots & 10,975 \\ 7 & 570 \end{array}$	
22		2 Lieutenants :			J	$\begin{array}{c c} \dots & 7,570 \\ \dots & 455 \end{array}$	
1	I	Hon. Captain (a Additional amoun	t required t	 :o provid:	o for increme		
74	23	as per paragrap	h 41 FT	and A R	or increme	184	
/ I		ma her huragiah	, (•••		15
		Toto	ul—Subdivi	sion No.	I		36,191

Note.—Scale salaries or wages include cost-of-living increase.

Number	Item.		1924-	25
of Persons.	<u> </u>	VOTE No. 30.—DEFENCE DEPARTMENT—contd.	1.024	
1924 - 25.		Subdivision No. II.—N.Z. Permanent Staff.	£	£
	2	Pay—		
13 49 24 14 24		13 Hon. Lieutenants: 1 at £355, 1 at £352, 11 at £345 49 Warrant Officers, Class II, at £345 24 Warrant Officers, Class II, at £320 14 Staff Sergeant Instructors: 12 at £295, 2 at £270 24 Staff Sergeants: 1 at £298, 20 at £275 (2 for 10 months, 1 for 6 months only), 3 at £245 Amount required to provide for increments as per paragraph 44, F.I. and A.R	4,502 16,905 7,680 4,080 6,305	
		Total—Subdivision No II		39,747
. 1	3	Subdivision No. III.—Royal N.Z. Artillery. PAY— 1 LieutColonel	730	
$\begin{matrix} 6 \\ 1 \\ 2 \end{matrix}$		6 Captains: 5 at £455, 1 at £385 1 Lieutenant 2 Hon. Lieutenants: 1 at 20s. 11d., 1 at 20s. 9d. per	2,660 355	
2 4		diem 2 Master Gunners at 20s. 11d. per diem 4 Regimental Sergeant-majors: 3 at 20s. 11d., 1 at	760 763	
2		20s. 5d. per diem 2 Artificer Sergeants-major at 20s. 11d. per diem	1,518 763	
1 1		1 Battery Sergeant-major at 18s. 11d. per diem 1 Quartermaster-Sergeant Artificer at 20s. 5d. per diem	373	
$\frac{2}{2}$		2 Company Sergeants-major at 19s. 10d. per diem 2 3rd Class Master Gunners: 1 at 19s. 11d., 1 at 19s. 3d. per diem	724	
1		1 Company Quartermaster-Sergeant at 19s. 5d. per diem	354	
. 2		2 Quartermaster-Sergeants at 19s 5d. per diem 2 Staff Sergeant Artificers: 1 at 19s. 3d., 1 at 18s. 4d. per diem	709 686	
1 5		1 Staff Sergeant Fitter at 18s. 11d. per diem 5 Staff Sergeants: 1 at 19s. 3d., 1 at 19s., 1 at 18s.	345	
1 10		11d., 1 at 18s. 9d., 1 at 18s. 5d. per diem 1 Sergeant Artificer at 18s. 10d. per diem 10 Sergeants: 3 at 18s. 11d., 1 at 18s. 9d., 1 at 18s. 8d., 1 at 18s. 7d., 2 at 18s. 6d., 1 at 17s. 11d., 1 at	1,722 344	
1 19		17s. 9d. per diem	3,384	
10	,	2d. per diem	5,943	
3		per diem 3 Lance-Bombardiers: 1 at 16s. 6d., 1 at 14s. 6d.,	3,089	
10	,	1 at 14s. per diem 10 Gunners: 1 at 16s. 3d., 2 at 16s. 2d., 1 at 16s., 1 at 15s. 11d., 1 at 15s. 4d., 2 at 14s. 9d., 1 at	822	
15	5	13s. 5d., 1 at 13s. 1d. per diem 15 Drivers: 1 at 16s. 4d., 1 at 16s. 2d., 4 at 15s. 4d., 2 at 14s. 10d., 1 at 14s. 9d., 1 at 14s. 8d., 1 at	2,771	
		14s. 6d., 1 at 14s. 5d., 1 at 12s. 10d., 2 at 12s. 9d. per diem	4,018	

Number of Persons.	Item.	VOTE No. 30.—DEFENCE DEPARTMENT—contd.	1924-	25.
1924–25.	 	Subdivision No. III.—Royal N.Z. Artillery—continued.		
	3	Pay—continued.	£	£
1 1 3		S.s. "Janie Seddon"— 1 Sergeant-major Coxswain at 20s. 11d. per diem 1 Sergeant-major Artificer at 19s. 5d. per diem 3 Gunners: 1 at 16s. 3d., 2 at 15s. 4d. per diem	382 354 856	٠
109		-	35,797	
		Additional amount required for service pay and promotions	257	
			36,054	•
		Less reduction under Public Expenditure Adjustment Act	2,730	
		Total—Subdivision No. III		33,324
		Subdivision No. IV.—N.Z. Army Ordnance Corps.		
	4	Pay-		
1 7 2	8	1 Lieutenant-Colonel 7 Captains: 5 at £455, 1 at £415, 1 at £385 2 Hon. Lieutenants, 1 at 20s. 11d., 1 at 20s. 5d.	730 3,075	
$\frac{1}{2}$		per diem	$\begin{bmatrix} 754 \\ 329 \end{bmatrix}$	
		19s. 8d. per diem	741	•
1		1 Quartermaster-Sergeant Artificer at 20s. 5d. per diem	373	
9		9 Staff Quartermaster-Sergeants: 4 at 20s. 5d., 1 at 20s. 3d, 1 at 20s. 2d., 1 at 19s. 1d., 1 at 18s. 7d., 1 at 17s. 9d. per diem	3,239	
2		2 Artificer Staff-Sergeants: 1 at 19s. 5d., 1 at 17s. 6d. per diem	674	
9		9 Staff Sergeants: 1 at 19s. 5d., 1 at 19s. 2d., 2 at 18s. 5d., 1 at 18s., 1 at 17s. 11d., 1 at 17s. 10d., 2 at 16s. 11d. per diem	2,975	
2		2 Armourer Sergeants: 1 at 17s. 10d., 1 at 16s. 11d.		
12		per diem	634	
19		3d. per diem	3,749	
2 19		per diem	5,659 569	
20		16s. 10d., 1 at 16s. 7d., 1 at 15s. 5d., 1 at 15s. 3d., 4 at 15s. 2d., 3 at 15s. 1d., 1 at 15s., 1 at 14s. 11d., 1 at 14s. 7d., 2 at 14s. 6d., 1 at 13s. 4d. per diem	5,310	
$\frac{30}{118}$		30 Privates: 5 at 16s. 5d., 1 at 16s., 1 at 15s. 11d., 1 at 15s. 9d., 2 at 15s. 4d., 1 at 15s. 3d., 1 at 15s. 2d., 1 at 15s. 1d., 1 at 14s. 5d., 4 at 13s. 10d., 1 at 15s. 1d., 1 at 14s. 5d., 4 at 13s. 10d., 1 at 15s. 1d., 1 at 14s. 5d., 4 at 13s. 10d., 1 at 15s. 1d., 1 at 14s. 5d., 4 at 13s. 10d., 1 at 15s. 1d., 1 at 14s. 5d., 4 at 13s. 10d., 1 at 15s. 1d., 1 at 1	E 0.40	
		13s. 9d., 1 at 13s. 2d., 10 at 12s. 9d. per diem	7,849	
		Additional amount required for service pay and pro-	36,660	•
		motions	256	
		Less reduction under Public Expenditure Adjustment Act	36,916 2,980	
		Total—Subdivision No. IV	_,550	33,936

Number of Persons.	Item.		1924	25.
1924–25.		VOTE No. 30.—DEFENCE DEPARTMENT—contd.		
•		Subdivision No. V.—N.Z. Army Pay Corps.	£	£
	5	Pay		
1 4		1 Lieutenant-Colonel 4 Captains at £455	730 1,820	
4		4 Warrant Officers, Class I: 1 at 20s. 11d., 1 at 20s. 2d., 1 at 19s. 10d., 1 at 18s. 4d. per diem	1,447	
5		5 Staff Quartermaster-Sergeants: 2 at 19s. 3d., 2 at 18s. 9d., 1 at 17s. 6d. per diem	1,705	
*. 1		1 Staff Sergeant at 17s. 11d. per diem 1 Sergeant at 17s. 10d. per diem	327 325	
16		A 3 3 4 4 5 5 7 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	6,354	
		Additional amount required for service pay	6,361	
		Less reduction under Public Expenditure Adjustment Act	325	
		Total—Subdivision No. V		6,036
		Subdivision No. VI.—Army Service Corps.		
	6	Pay—		
1 1 1 1		1 Hon. Lieutenant at £345	345 345 315 295	
6	-	6 Sergeants: 2 at 16s. 5d., 1 at 16s. 4d., 1 at 14s. 10d., 2 at 14s. 8d	1,703	
	-		3,003	
-		Amount required to provide for increments under paragraph 45, F.I. and A.R.	37	
		Additional amount required for service pay	3	
		Less reduction under Public Expenditure Ad-	3,043	
		justment Act	175	
		Total-Subdivision No.VI		2,868
		Subdivision No. VII.—N.Z. Medical Corps.		
	7	Pay—		
		1 Major	590	
6		Pay of Director-General Medical Service, and Assistant-Director Medical Service	495	
3	-	3 Staff Sergeants at £275	825	1 010
9		Total—Subdivision No. VII		1,910

		DEFENCE DEPARTMENT—continued.		
Number of Persons.	Item.	VOTE No. 30DEFENCE DEPARTMENT—contd.	1924–	25.
1924–25.		Subdivision No. VIII.—Caretakers, Drill-sheds, and Rifle Ranges.	£	£
	8	Pay—		
6		6 Sergeants: 1 at 18s. 11d., 1 at 18s. 10d., 1 at 17s. 10d., 1 at 17s. 7d., 1 at 17s., 1 at 16s. 11d. per diem 1 Corporal at 16s. 2d. per diem 1 Lance-Corporal at 16s. 8d. per diem 6 Privates: 3 at 14s. 9d., 3 at 14s. 5d. per diem (2 for 10 months only)	1,954 295 304 1,510	
		Additional amount required for service pay	4,063	
		Less reduction under Public Expenditure Ad-	4,067	
		justment Act	357	
		Total—Subdivision No. VIII		3,710
		Subdivision No. IX.—Civilian Personnel.		
	9	*Salaries—		
		CLERICAL DIVISION.		
4		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	1,600	
8		1 at £320 320 1 at £295 295		
20		Class VII— 11 at £295 3,245 1 at £250 250 1 at £155 155 2 at £135 270 1 at £115 115 4 at £70 (2 for 10 months, 1 for 8	2,625	
		months, and 1 for 7 months only) 202	4,237	
		General Division.	1,201	
18		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
10			3,335	
		Temporary Employees. 1 at £295 295		
11		2 at £26 520 1 at £240 240 2 at £215 430 1 at £205 205 1 at £165 165 1 at £117 117 1 at £65 65 1 at £52 52		
61			2,089	
		Salaries of messengers and charwomen	13,886 2,000	
		Total—Subdivision No. IX		15,886

^{*} For particulars see "Public Service Classification List."

Number of Persons.	Item.	VOTE No. 30.—DEFENCE DEPARTMENT—contd.	1924-	-25.
1924–25.	[Subdivision No. X.—Military Education of Officers undergoing Instruction abroad.	£	£
	10	Pay		•
2		2 Majors at Staff College, Camberley (1 for 6 months only)	1,156	
<u>2</u> 4		2 Captains at Engineering and Gunnery Schools— 1 at £336 (for 8 months only) £225	1,100	
		1 at £167 (for 7 months only) 98	323	
	11	OTHER CHARGES— Pay and allowances of Officers of the N.Z. Staff Corps on duty abroad	2,151	
	12	Rail, steamer, and other charges	918	
		$Total-Subdivision \ No. \ X $		4,548
		Subdivision No. XI.—Purchases, Maintenance, and Training.	• .	
		PURCHASES—		
	13 14	Clothing— Cost of new issues and provision of material for making up uniforms Laundering and renovating part-worn uniforms	12,000 5,004	
i :	15 16	Field and heavy gun ammunition and other explosives Medals, purchase and engraving of	8,400	
!	17	Ordnance Stores: Accoutrements, small-arms, machine-guns, camp equipment, harness and saddlery, tools, materials, signalling and electric-light stores, barrack and hospital stores, Field and Garrison Artillery material, armaments, vehicles, and mis-		
	18 19 20	Printing and stationery S.A.A., including refund of Customs Duty Supplies for camps, courses of instruction, and general	20,060 4,128 52,080 16,097	
		Maintenance and Training—		
	21	Advertising, office requisites, photographs, books, newspapers, and other publications	888	٠
	22 23	Allowance for upkeep of Government bicycles Camps, maintenance of Burnham, Trentham, Featherston, Ngaruawahia, Narrow Neck, and	120	
	24	general Catering and allowance in lieu of rations	5,400 1,738	
	$\begin{bmatrix} 25 \\ 26 \\ 27 \end{bmatrix}$	Compensation in respect of accidents and sickness Courts of inquiry, expenses in connection with Drill-halls, offices, and buildings (maintenance of, including building material, stores, insurance, and	960	
	28	inspection of machinery)	4,800	
i	29	Fuel Fuel sand badges, also proncionely pay	120	
	30	Hire of launches	144	
	31 32	Horse-hire Horses, permanent maintenance of	$\frac{4,140}{96}$	
	33	Law-costs	48	
	34	Libraries	72	
	35 36	Lighting	2,400	
	37 38	fuel, stores, and other charges (exclusive of wages) Medical fees for examination of officers and trainees Medicine, medical stores, and attendance, including	576 696	۷.
	39	veterinary medicines Offices, rent of, also hire of buildings and parade	36 0	
	99	grounds for drills parade	1,692	

Number of Persons.	Item.	VOTE No. 30DEFENCE DEPARTMENT—contd.		1924–25.	
1924–25.	-' 	Subdivision No. XI.—Purchases, Maintenance, and Training—continued.	£	£	
		MAINTENANCE AND TRAINING—continued.			
	40	Pay and allowances	21,014		
	41	Pay of caretakers of drill-halls and rifle ranges	2,004		
	42	Postages	1,380		
	43	Prizes for rifle shooting for Dominion Regimental			
	,,	District and Area Rifle Meetings	2,004		
	44	Regimental and cadet bands grant	1,872		
	45 46	Regimental Funds grant	$\begin{bmatrix} 2,496 \\ 720 \end{bmatrix}$		
	47	Rifle ranges and targets, maintenance of Scavenging, cleaning, and washing	204		
	48	Subsidies for the purpose of providing military in-	201		
	•	struction at Officers' Clubs	555		
	49	(D. 1)	276		
	50	Telephone services	720		
	51	in it is a second to the secon	1,008		
	_	Transport—	1 000		
	52	Motor-vehicles, hire of	1,200		
	53 54	Rail fares and freights	15,393 7,008		
	55	Shipping charges, freights, cartage, &c Steamer fares	1,207		
	56	Transfer and remarks are	840		
	57	Travelling-allowances	5,508		
	58	Travelling-expenses	1,500		
	59	Uniform allowance to members of the Permanent			
		and Territorial Forces	6,120		
	60	Water	372		
	61	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	75		
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Ammunition 5,100 Clothing 4,250 Hire of Defence vessels 1,050 Ordnance stores 5,000 Miscellaneous 2,000			
		17.400	į		
		Total—Subdivision No. XI 17,400		215,579	
		Subdivision No. XII.—Aviation.			
	62	Pay—			
3		3 Captains: 1 at £570, 1 at £500, 1 at £455	1,525		
1		1 Hon. Lieutenant	345		
1		1 Sergeant at 18s. 4d. per diem	335		
1		1 Sergeant Mechanic at 16s. 11d. per diem	309		
1		1 Sergeant Fitter at 15s. 3d. per diem 1 Corporal at 16s. 2d. per diem (for 6 months only)	279		
$egin{array}{c} 1 \ 2 \end{array}$		2 Artificers: 1 at 14s. 4d., 1 at 14s. per diem	148 517		
$\stackrel{\scriptstyle 2}{2}$		2 Cadets at £133 (1 for 9 months only)	233		
ī		1 Caretaker	217		
1		1 Storeman at 11s. 8d. (for 9 months only) per diem	158		
		-	1 000		
		Additional amount required for service pay	4,066		
	Ţ				
		Lass deduction under Dublic Description 43	4,072		
		Less deduction under Public Expenditure Adjustment Act	193		
] un	100		
			3,879		
1					

Number of Persons.	Item.		1924-	25.
1924–25.	- 	VOTE No. 30.—DEFENCE DEPARTMENT—contd.		
1021 20.		Subdivision No. XII.—Aviation—continued.	£	£
	63	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, books, stationery, office requisites, &c.	200	
	64	Buildings, maintenance of and repairs to (including light and power)	500	
	65	Expenses in connection with refresher courses	1,500	
	66 67	Flying pay and allowances: Casual duty flights Purchase of aircraft and spares	$\begin{array}{c c} 200 \\ 17,236 \end{array}$	
	68	Purchase of, and all expenses in connection with the		
	69	taking over of Kohimaramara Aerodrome	$\begin{bmatrix} 10,500 \\ 2,000 \end{bmatrix}$	
	70	Rail fares and freights Stores and supplies	3,000	
	71	Subsidies towards aviation	1,000	
	72	Travelling-allowances	350	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Receipts: Passenger flights £750		
	!		36,486	
		Total —Subdivision No. XII		40,365
		Subdivision No. XIII.—Non-effective Services.		
	73	CHARGES FOR AND INCIDENTAL TO— Allowance to Miss Myrtle McKay, V.A.D. whilst		
		totally incapacitated (£5 per month)	60	
	74	Compensation— To I. H. Penrose for hut burned down whilst in use		
		by Territorials	100	
	75	For loss, through floods, of stores, &c., hired, and for loss of personal property of Officers, N.C.O.s,		
		and men attending Battery Camp at Eskdale	615	
	76 77	Funeral expenses Grant towards salaries of Y.M.C.A. secretaries at the	50	
	'	Soldiers' Clubs at Trentham and Burnham (£100)		
	70	each)	200	
	78	Rewards payable to the Police for securing convictions for certain breaches of the provisions of the	A _{so}	
	70	Defence Act	250	
	$\begin{bmatrix} 79 \\ 80 \end{bmatrix}$	Staff Sergeant-Major—Government House Orderly Subsistence allowance to Cadets travelling to take up	320	
		commissions in British Army	9	
	.	Total—Subdivision No. XIII		1,604
				,
		·		
		Subdivision No. XIV—National Rifle Association.		
		CHARGES FOR AND INCIDENTAL TO	İ	
	81	Grant-in-aid of annual meeting	1,000	
	82 83	Miscellaneous charges Railway warrants	$\begin{bmatrix} 24 \\ 450 \end{bmatrix}$	
			100	
j		Total-Subdivision No. XIV		1,474

	i .	the second secon	1 4	
Number of Persons.	Item.		1924-	-25.
1924–25.	. 	VOTE No. 30DEFENCE DEPARTMENT—contd.		
2022 201		Subdivision No. XV.—Rifle Clubs.		
	84 85	Charges for and incidental to— Miscellaneous charges Railway warrants	144 1,000	
		Total—Subdivision No. XV	<u> </u>	1,144
		Gross Total		438,322
		Credits-in-aid (a)	,	18,150
		NET TOTAL—VOTE No. 30		420,172

(a) Credits-in-aid-				1924–25. Other Charge
Subdivision XI ,, XII	••	• •	• •	17,400 750
Total	••	••	• •	18,150

CUSTOMS DEPARTMENT.

		1924–25.	
	Salaries.	Other Charges.	Total.
Vote No. 31.—Customs Department—	£	£	£
Subdivision I Customs Offices and Services	 90,563	19,570	$110,\!133$
" II.—Customs: Miscellaneous Services	 	54,613	54,613
Gross Total	 90,563	74,183	164,746
Credits-in-aid	 1,050	150	1,200
NET TOTAL	 89,513	74,033	163,546

<u></u>						·	
Number of Persons.	Item.	VOTE No. 31.—0	CUSTOMS DEF	PARTMI	ENT.	1924 -	25.
,	-	,					
1924-25.		Subdivision No. I	-Customs Offices	and Se	rvices.	0	0
	1	*Salaries			İ	£	£
			TRATIVE DIVISIO	N.	!	1	
					£		
1		1 at £1,138 (Compt	roller)	• • •	1,138		
1		1 at £837 (Assistant	t-Comptroller)	•••	837	1 075	
		CLE	RICAL DIVISION.			1,975	
		Special Class—	JIVINE DIVIDION		1		
		² 2 at £765	•••		1,530		•
5		3 at £715	•••	• • • •	2,145		
		Class I—			1 000	3,675	
		2 at £615 1 at £615 (5 mon	tha) C565 (7 ma	ntha)	1,230 586		
		1 at £615 (8 mon			598		
		1 at £615 (1 mon			569	ĺ	
8		3 at £565 `	•••	• • •	1,695		
		$Class\ II$				4,678	
1.1	1 1	3 at £515	•••	•••	1,545		
11		8 at £490 Class III—	•••		3,920	5,465	
		2 at £470			940	0,400	
14		12 at £445			5,340		
		$Class\ IV$ —				6,280	
17		17 at £425	• • •	•••		7,225	
		Class V— 23 at £380			9 740		
		2 at £380 (1 mon	th) £355 (11 mc	nths)	$\begin{array}{c c} 8,740 \\ 715 \end{array}$		
		2 at £380 (6 mon			735		
		1 at £380 (3 mon	ths), £355 (9 mo	nths)	362		
		2 at £380 (5 mon			732		
		1 at £380 (7 mon	ths), £355 (5 mo	nths)	370		
		1 at £380 (4 mon 1 at £380 (2 mon	ths), £355 (8 mo	ntns)	364 360		
34		1 at £355	uns), 2000 (10 m	Oliviis	355		
0.		Class VI—	•••	•••		12,733	
		10 at £335	•••	•••	3,350	,	
		1 at £335 (4 mon			325		
		2 at £335 (3 mon			648		
		1 at £335 (5 mon 1 at £335 (6 mon	шв), ±3 20 (1 mo ths) £320 (6 mo	nths)	$egin{array}{c} 327 \ 328 \end{array}$		
		1 at £335 (1 mon	th), £320 (11 mo	nths)	322		
26		10 at £320	•••	•••	3,200		
						8,500	

^{*} For particulars of salaries see " Public Service Classification List."

 $\ensuremath{\text{Note.}}\xspace$ Scale salaries or wages include cost-of-living increase.

CUSTOMS DEPARTMENT—continued.

Number Perso n s.	Item.	VOTE No. 31.—CUSTOMS DEPARTMEN continued.	1 T —	1924–25.		
924–25.		Subdivision No. I.—Customs Offices and Serv continued.	rices—	£	£	
	1	Salaries—continued.				
	-					
		CLERICAL DIVISION—continued. Class VII—	£			
		13 at £295	3,835			
		2 at £295 (10 months), £275 (2 months)	584			
		1 at £295 (11 months), £275 (1 month) 1 at £295 (1 month), £275 (11 months)	$\begin{array}{c c} 293 \\ 277 \end{array}$			
		1 at £275	275			
		1 at £295 (4 months), £275 (8 months)	283			
		1 at £275 (11 months), £250 (1 months)	274			
		1 at £275 (10 months), £250 (2 months) 2 at £275 (6 months), £250 (6 months)	$egin{array}{c} 272 \ 526 \ \end{array}$			
		1 at £275 (4 months), £250 (8 months)	259			
	Ì	2 at £275 (2 months), £250 (10 months)	508			
		1 at £275 (10 months), £250 (2 months) 1 at £275 (9 months), £250 (3 months)	$\begin{bmatrix} 272 \\ 270 \end{bmatrix}$			
		1 at £275 (8 months), £250 (4 months)	267			
	į	3 at £275 (1 month), £250 (11 months)	757			
		3 at £250 1 at £250 (11 months), £230 (1 month)	$\begin{array}{c c} 750 \\ 249 \end{array}$			
		3 at £250 (9 months), £230 (3 months)	735			
	ļ	1 at £250 (10 months), £230 (2 months)	248			
	1	1 at £230 1 at £230 (9 months), £210 (3 months)	$\begin{array}{c} 230 \\ 225 \end{array}$	į		
		1 at £230 (3 months), £210 (3 months)	215			
		1 at £230 (1 month), £210 (11 months)	212	:		
	1	2 at £210	420	ļ		
		6 at £210 (8 months), £190 (4 months) 1 at £210 (7 months), £190 (5 months)	$\begin{array}{c c}1,220\\203\end{array}$			
		1 at £210 (6 months), £190 (6 months)	200			
	1	1 at £210 (1 month), £190 (11 months)	$\begin{array}{c c} 192 \\ 190 \end{array}$	1		
	İ	1 at £190 6 at £190 (1½ months), £155 (10½ months)	957	į		
	!	2 at £155	310			
	İ	1 at £190 (8 months), £165 (4 months)	182	,		
		4 at £155 (7 months), £135 (5 months) 3 at £155 (6 months), £135 (6 months)	588 436			
		1 at £155 (8 months), £145 (4 months)	151			
		3 at £155 (4 months), £135 (8 months)	426			
		3 at £155 (3 months), £135 (9 months) 2 at £155 (2 months), £135 (10 months)	$egin{array}{c} 420 \ 277 \end{array}$	-		
		1 at £155 (1 month), £135 (11 months)	137			
		2 at £135	270			
		3 at £135 (11 months), £115 (1 month) 1 at £135 (2 months), £115 (10 months)	399 118			
		1 at £115 (11 months), £95 (1 month)	113	,		
		1 at £115 (2 months), £95 (10 months)	99			
		1 at £115 (1 month), £95 (11 months) 1 at £115 (1 month), £100 (11 months)	$\begin{array}{c} 97 \\ 102 \end{array}$			
		2 at £95	190			
		1 at £95 (11 months), £85 (1 month)	94			
		3 at £95 (11 months), £80 (1 month) 1 at £95 (10 months), £85 (2 months)	282 93			
		1 at £95 (7 months), £80 (5 months)	87			
		1 at £95 (6 months), £80 (6 months)	88			
		6 at £95 (2 months), £80 (10 months) 2 at £95 (1 month), £80 (11 months)	503 1 6 3			
		3 at £80	240			
	112			21,063		

CUSTOMS DEPARTMENT—continued.

Number of Persons.	Item.		1924–25.	
1924–25.		VOTE No. 31.—CUSTOMS DEPARTMENT— continued.	£	£
		Subdivision No. I.— Customs Offices and Services—continued.		
	1	Salaries—continued.		
74 303		General Division. £ 1 at £305	18,498 260	
		-	90,563	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
	3	Advertising, photographs, books, newspapers, and other publications Allowances to officers temporarily performing special	100	
	4	or higher duties Cost of testing and gauging instruments and uniform trimmings	300 200	
	5	Expenses connected with prosecutions and seizures under the Customs Acts, and legal expenses	150	
	6	Expenses of Head Office and local offices Expenses of Official Representative, London— Special allowance while stationed away from New	1,400	
	8	Zealand Travelling and general expenses	150 300	

CUSTOMS DEPARTMENT—continued.

Number	Item.		1004	
of Persons.		VOTE No. 31.—CUSTOMS DEPARTMENT—	1924–25.	
1924-25.	į į	continued.		
	,	Subdivision No. 1. — Customs Officers and Services—continued.	£	£
	9	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Expenses of Official Representative, New York— Special allowance while stationed away from New Zealand	300	
	10	Travelling and general expenses	1,200	
	11	Office-cleaning	175	
	12	Office fittings and requisites	1 400	
	13	Overtime and meal allowances Payment to other Departments for services of officers—	1,400	1
	14	Police	10	
	15	Post and Telegraph	4,800	
	16	Tourist	50	
	$\begin{array}{c c} 17 \\ 18 \end{array}$	Working Railways Postage, telegrams, and rent of boxes	$\frac{10}{1,000}$	
	19	Printing and stationery	2,400	
	$\frac{1}{20}$	Rent of offices	650	
	21	Rewards in connection with the protection of the	j	
		revenue and detection of offences under the	-00	
	22	Customs Acts	700	
	22	Telephone services (including installation, extensions, maintenance, rent, and calls)	750	
	23	Temporary assistance	600	
	24	Transfer and removal expenses	1,400	
	25	Travelling allowances and expenses	1,000	
	$\begin{array}{ c c }\hline 26\\27\\ \end{array}$	Typewriters	75 50	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Recoveries of postage and legal £ and miscellaneous expenses 150		
		Total—Subdivision No. I	19,570	110,133
		Subdivision No. II.—Customs: Miscellaneous Services.		
		CHARGES FOR AND INCIDENTAL TO-		
	28	Compassionate allowances to— Widow of the late C. E. Brocket, Collector of Customs, Westport	210	
	29	Widow of the late J. H. B. Norrie, Examining Officer, Napier	175	
	30	Contribution to International Customs Bureau,	110	
	31	Brussels Expenses of Customs Buildings, Wellington Grants—	110	
	32	To Cook and Niue Islands Governments of an amount equivalent to the Customs duties col-		
		lected in New Zealand on goods afterwards shipped to those Islands	3,337	

CUSTOMS DEPARTMENT -- continued.

Number of Persons.		•		1924–25.	
	İ —	VOTE No. 31—CUSTOMS DEPARTMENT—			
1924-25.		continued.	£	£	
		Subdivision No. II.—Customs: Miscellaneous Services—continued.	æ	æ	
	3 3	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Grants—continued. To Main Highways Account, Revenue Fund, of an amount equivalent to the Customs duties collected as from 1st April, 1924, on tires imported			
	34	as part of the equipment of motor-vehicles and motor-cycles To Officer, in lieu of six months' leave on retire-	32,500		
	•	ment under Public Service Regulation 65— H. R. Spence (formerly Collector of Customs at Dunedin)	358		
	35	Refund of duty on— Advertising folders, stationery, or similar articles, as may be approved by the Minister of Customs, sent by oversea municipal, or similar bodies, or		•	
	36	harbour, railway, steamship, or similar organiza- tions, for free distribution in New Zealand Baggage not fully complying with the terms of the exemption under the tariff, but being baggage	12		
	37	and effects not for sale Bells for the Stratford Memorial Clock to be erected by the Stratford Borough Council as a War Memorial	20 70		
	38	Cardboard for manufacturing purposes approved by the Minister of Customs, which would have been exempt from duty under the Customs Duties			
	39	Act, 1908 Chairs for invalids, and clothing, apparatus, and other articles for persons in poor circumstances	56		
	40	and who cannot pay the duty Chassis for motor-ambulance imported for St. John Ambulance Association, Dunedin	50 50		
	41	Curios imported by the New Zealand Anglican Board of Missions for display in missionary exhibitions in the Dominion	10		
	42	Flanders poppies to be sold for relief of French war orphans and the children of the devastated regions in France, and for the benefit of returned			
	43	New Zealand soldiers Machinery for the manufacture of dried milk imported prior to the coming into operation of the Customs Amendment Act, 1921	5,000		
	44	Memorial Champion Belt to perpetuate the memory of the late John Bidwill	10		
	$\begin{vmatrix} 45 \\ 46 \end{vmatrix}$	Miniature rifles and ammunition for same for the use of Territorials, Cadets, or Rifle Clubs	10		
	47	Printed matter for the use of Boy Scouts, as may be approved by the Minister Printed matter of Navy League and similar patriotic	10		
	48	societies, as may be approved by the Minister Printed matter, including photographs, adver-	20°		
		tising Canada and Hawaii, sent by the Canadian Government and by the Hawaii Tourist Bureau, for free distribution throughout the Dominion	5		
	49	Ready-cut house imported by a returned Army sister not in good circumstances and with a dependant unable to work	81		
	50	Sample of tobacco imported by the Canadian Government Trade Commissioner for exhibition	1		
	51	Specially-made swimming costumes for life-saving Clubs, being of a kind which no firm in New Zealand can economically supply or make	5		

CUSTOMS DEPARTMENT—continued.

Number of Persons.	Item.		1924-	-25.
1924–25.		VOTE No. 31—CUSTOMS DEPARTMENT— continued.	£	£
		Subdivision No. 11.—Customs: Miscellaneous Services—continued.		
		CHARGES FOR AND INCIDENTAL TO—continued. Refund of duty on—continued.		
	52	Sugar ordered from Java before 21st August, 1924, in anticipation of free admission after 30th September, 1924	3,470	
	53	Uniforms, fittings, and badges for Pipe Bands which could not be made in New Zealand	150	
	54	Uniforms not obtainable in New Zealand for Officers of His Majesty's cable ship "Iris," the property of the Pacific Cable Board	50	
	55 56	Wireless equipment for ships Refund of duty, to the extent of the British preferen-	50	
		tial rate, on racing-boats and spoon-blade oars and sculls imported by or for rowing clubs	250	
	57	Refund of— Excise duty to the extent of the difference between duty at the rate of 1s. per lb. and duty		
		at the rates payable under section 22 of the Finance Act, 1921 (No. 2), on tobacco (cut or		
		uncut) not suitable for the manufacture of cigarettes, and containing not less than 75 per cent. by weight of leaf grown in New Zealand		
* ***	ļ <u>.</u> .	and entered for home consumption not later than 31st May, 1925	6,170	
	58	License fees legally due by Customs agents for years during which the licenses were not used License fees for stills to be used in universities and	5	
		public hospitals, and for stills not in use sealed up to the satisfaction of the Collector of Customs	20	
	60	Supervision fees for breweries paid in excess through being overestimated	200	
		Total—Subdivision No. II		54,613
		Gross Total		164,746
		Credits-in-aid (a)		1,200
		NET TOTALVOTE No. 31		163,546

(a) Credits-in-aid—	Salaries.	$\begin{array}{c} \text{Other} \\ \text{Charges.} \\ \boldsymbol{\mathfrak{L}} \end{array}$	1924–2 5 . Total. £
Subdivision I	 1,050		$1,\tilde{0}50$
" II	 ••	150	150
Totals	 i,050	150	1,200
			-

MARINE DEPARTMENT.

		į		1924–25.	
			Salaries.	Other Charges.	Total.
Vote No. 32.—Marine Department—		1	£	£	£
*					
Subdivision I.—Head Office	• •	• •	7,317	2,401	9,718
,, II.—Harbours	• •	•••	2,269	2,837	5,106
" III.—Lighthouses			16,925	10,990	27,915
,, IV. -Weather-reporting and	Meteorol	logical			
$O\!f\!f\!ice$			1,710	4,360	6,070
,, V.—Superintendents of Merce	intile M	$arine, \parallel$.,.
$\mathbf{c}c$			11,737	2,837	14,574
,, VI.—Inspection of Machinery			17,602	8,694	26,296
,, VII. Fisheries			4,068	11,058	15,126
",, VIII.—Government Steamers			765	20,210	20,975
737 141 11 0	••		•••	4,911	4,911
Gross Total			62,393	68,298	130,691
Credits-in-aid	• •		150	2,935	3,085
NET TOTAL	• •		62,243	65,363	127,606

Number of Persons.	Item.	VOTE No. 32.—I	MADINE DET	PA RጥM ፑስ	arr .	1924–25.		
$\frac{1924-25}{1924-25}$	- 	VOIE NO. 52.—1	MARINE DEI	LAMINI				
		Subdivision	No. I.—Head	Of fice.		£	£	
	1	*Salaries—						
		Adminis	TRATIVE DIVIS	ion.				
1		1 at £837 (Secretary)		•••		837		
		Profes	ssional Divisio	ON.		i		
1		1 at £91 (also Eng Works Departme		Public		91		
		Сье	RICAL DIVISION.					
		Class I—				***		
1		1 at £565	•••	•••	•••	565		
1		$Class\ III-1$ 1 at £445				445		
1		Class IV—	***	•••	• • •	110		
1		1 at £400		•••		400		
		Class V—						
2		2 at £355	***			710		
		Class VI—			£			
_		1 at £335	•••	• • •	-335			
2		1 at £320	•••	•••	320	C S S		
		Class VII— 3 at £295			885	655		
		2 at £275	•••		550	i		
		2 at £230	•••	•••	460			
		1 at £135	•••	•••	135			
	1	1 at £115			115			
		2 at £95	•••		190	į		
13	.	2 at £80	•••		160			
						2.495		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

$A\,ppropriations\,\,for\,\,Consolidated\,\,Fund\,\,Services.$

Number Persons.	Item.	None and the second				1924-	25.
924–25.	 	VOTE No. 32.—MARINE	DEPARTM.	ENT—-con	tinued		
		Subdivision No. I	Head Office	-continued	l.	£	£
	1	Salaries—continued.					
		GENERAL	Division.		£		
		2 at £205			410		
_		2 at £185		•••	370		
5		1 at £145	•••	•••	145	one	
27		Allowances to officers of duties under Public S	ervice Regul	ations	-	925	
		Proportion of salary of 1	Private Secre	stary to th	e Hon.	130	
		Minister Lodging-allowances	•••			140	
	1	Louging-anowances	•••	•••	•••		
						7,413	
		Less salaries provid	led but not n	ow requir	ed	96	
					-		
		Other Ohames for and inci-	7 4 7 . 4 .			7,317	
	2	Other Charges for and inci- Advertising, photograph		newsna.ner	s and		
	"	other publications			o, and	40	
	3	Freight, cartage, and tra	insport charg	ges	•••	10	
	4	Fuel, light, power, and	water	•••		20	
	$\begin{vmatrix} 5 \\ a \end{vmatrix}$	Office fittings and requ			•••	200	
	6	Overtime and meal-allow			•••	30	
	$\begin{bmatrix} 7 \\ 8 \end{bmatrix}$	Postage, telegrams, and			• • •	$\begin{array}{c c} 520 \\ 400 \end{array}$	
	9	Printing and stationery Telephone services (incl		 lation ext	engion	100	
		maintenance, rents, a				130	
	10	Temporary assistance	•••			731	
	11	Transfer and removal ex	penses			100	
	12	Travelling allowances a				150	
	13	Typewriters: Purchase	and repairs			60	
	$\mid 14 \mid$	Contingencies (including dental to the other ite	g unioreseen	expenditu ubdivision	re inci-	10	
		dental to the other fac	or una s	uouivisioii	•••		
						2,401	
		Estimated credits-i Public Revenuc Miscellaneous					
		Total—Subdiv	ision No. I				9,71
		100000		•••		1	0,1.
			•				
		•					
		Subdivision No	o. 11.—Harb	ours.			
	15	Salaries—					
	10		AL DIVISION				
		Class D—					
		Raipara—					
		1 at £425	•••	•••	•••	425	
2		Picton— 1 at £385				385	
4		1 2000	•••	•••	•••	300	
		GENERAL	Division.				
		Hokianga-			£		
		1 at £320	.,	•••	320		
		1 at £215		•••	215	go =	
3		$egin{arral}{c} Kaipara - & & & \\ 1 ext{ at } \pounds 240 & & & \end{array}$				$\begin{bmatrix} 535 \\ 240 \end{bmatrix}$	
• • • • • • • • • • • • • • • • • • • •		T 00 250	•••	•••	• • •	230	
		Uncla	ssified.				
		Anglem Point—		5 5000			
		Light-attendant	•••		•	90	

Salaries	Number of Persons.	VOTE No. 32.—MARINE DEPARTMENT—continued.	1924-9	25.
SALAHES continued.	1924-25.	Subdivision No. II.—Harbours—continued.	e	· ·
Awakino—	15	Salaries—continued.		٠
Light-attendant		Unclassified continued.		
Collingwood—				
Harbourmaster and Lightkeeper			25	
Lightkeeper Staramea_	,	Harbourmaster and Lightkeeper	70	
Harbourmaster, Signalman, and Wharfinger 150 Marakopa— Light-attendant 12 Mokau— Signalman 90 Napier Bluff Lighthouse— Lightkeeper 20 Okarito— Signalman 50 Okarito— Signalman 70 Port Waikato— Beacon-attendant 40 Waikawa— Harbourmaster 12 Waitapu— Harbourmaster 12 Waitapu— Harbourmaster 30 18 0 10 10 10 10 10 10		Lightkeeper	25	
Light-attendant Mokau		Harbourmaster, Signalman, and Wharfinger	150	
Signalman 90 Naper Bluff Lighthouse— Lightkeeper 20 Okarito— Signalman 50 Okuru— Signalman 70 Port Waikato— Beacon-attendant 40 Waikawa— Harbourmaster 12 Waitayu— Harbourmaster 30 18 2,269 Other Charges for and incidental to— 2,269 Other Charges for and incidental to— 16 Advertising, photographs, books, newspapers, and other publications 20 17 Boats, buildings, and repairs 50 18 Buoys, beacons, and lights (Waitapu Channel) 110 110 Foreshores, expenses of supervision, protection, and maintenance of 300 Grant for assistance to Mokau Harbour Board 150 150 14 150 15		Light-attendant	12	
Lightkeeper 30 Okarito		Signalman	90	
Signalman Signalman Signalman Signalman Signalman Port Waikato— Beacon-attendant 40 Waikawa— Harbourmaster 12 Waitapu— Harbourmaster 30			20	
Signalman		Okarito	50	
Port Waikato— Beacon-attendant Waikawa— Harbourmaster 12 Waitapu— Harbourmaster 30		Okuru—	70	•
Waikawa		Port Waikato—		
13		Waikawa—		
Other Charges for and incidental to— Advertising, photographs, books, newspapers, and other publications	10	Waitapu-		
Other Charges for and incidental to— Advertising, photographs, books, newspapers, and other publications		Harbourmaster	30	
Advertising, photographs, books, newspapers, and other publications	18		2,269	
17 Boats, buildings, and repairs	16	Advertising, photographs, books, newspapers, and		
Buoys, beacons, and lights (Waitapu Channel) 110	17			
maintenance of	18	Buoys, beacons, and lights (Waitapu Channel)		
Contingencies, including unforeseen expenditure incidental to the other items of this subdivision 150	19		300	
beacons, and harbour lights)	20			
Maintenance of leading-lights (Piako River)	· 21		000	
Office expenses	22	Maintenance of leading lights (Piako River)	اشما	
24 Prosecutions under Harbours Act 100 25 Renewal of wharves 250 26 Rent 27 27 Repairs to Wairau Creek Foot-bridge (recoverable) 10 28 Snagging navigable rivers 20 29 Telephone services (including installation, extensions, maintenance, rent, and calls) 45 30 Transfer and removal expenses of officers 50 31 Travelling allowances and expenses 200 32 Wages 350 Contingencies, including unforeseen expenditure incidental to the other items of this subdivision 10 Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—Repairs to Wairau Creek Foot-bridge £10 Miscellaneous 20		Office expenses		
Rent	24	Prosecutions under Harbours Act		
Repairs to Wairau Creek Foot-bridge (recoverable) Snagging navigable rivers				
Snagging navigable rivers				
Telephone services (including installation, extensions, maintenance, rent, and calls)				
maintenance, rent, and calls)		Tolophone genvices (including installation outer-	20	
Transfer and removal expenses of officers 50 Travelling allowances and expenses 200 Wages 350 Contingencies, including unforeseen expenditure in cidental to the other items of this subdivision 10 Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Repairs to Wairau Creek Foot-bridge £10 Miscellaneous 20	29		45	
Travelling allowances and expenses	30			
Wages				
Contingencies, including unforeseen expenditure in cidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Repairs to Wairau Creek Foot-bridge £10 Miscellaneous 20		Wages		
Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Repairs to Wairau Creek Foot-bridge £10 Miscellaneous 20	33	Contingencies, including unforeseen expenditure in		
Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Repairs to Wairau Creek Foot-bridge £10 Miscellaneous 20		cidental to the other items of this subdivision	10	
Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Repairs to Wairau Creek Foot-bridge £10 Miscellaneous 20			2,837	
Public Revenues Act, 1910 (see end of vote)— Repairs to Wairau Creek Foot-bridge £10 Miscellaneous 20		Estimated credits-in-aid under Section 48 of the	, , , , ,	
Repairs to Wairau Creek Foot-bridge £10 Miscellaneous 20		Public Revenues Act, 1910 (see end of vote)—		
Miscellaneous 20		Repairs to Wairau Creek Foot-bridge £10		
30				
, — — — — — — — — — — — — — — — — — — —		- 		
		30		
		;; · · · · · · · · · · · · · · · · · ·		

Number f Persons.	Ite m.	VOTE No. 32MARINE DEPARTMENT-continued.	1924-	-25.
924-25.	\ .	Subdivision No. III—Lighthouses.	£	£
	34	Salaries—	æ	35
		GENERAL DIVISION.		
		1 at £420 420		
		1 at £300 300		
		8 at £250 2,000		
		2 at £245 490	i	
		2 at £240 480		
		15 at £235 3,525 1 at £225 225		
		37 at £210 7,770		
		1 at £200 200	:	
		2 at £195 390		
		3 at £175 525		
76		3 at £150 450		
			16,775	
		Unclassified.		
~		1 at £100 100		
2		1 at £50 50	150	
70	1		150	
7 8		Estimated credits-in-aid under Section 48 of the		
		Public Revenues Act, 1910 (see end of vote)—		
		Amount recoverable from Welling-		
		ton Harbour Board 150		
		_ [-		
		Other Ollegen Annual Translation	16,925	
	95	Other Charges for and incidental to—	100	
	35	Books, magazines, and newspapers Carriage of mails	100 500	
	37	Foreing (C100 measure blo)	200	
	38	Fog signals, cartridges, and maintenance	200	
		Installation of—	200	
	39	Automatic light on Somes Island (recoverable)	150	
	40	New apparatus, Dog Island (on account)	200	
	41	Installing automatic light in Tiri Tiri Lighthouse	700	
	42	Keepers' station allowances	800	
	43	Maintenance of automatic lights	600	
	44	Medical examinations and expenses	50	
	45 46	Oil and stores	4,000	
	47	Repairs and maintenance of lighthouses, dwellings, &c.	$\begin{bmatrix} 500 \\ 1,115 \end{bmatrix}$	
	48	Telephone allowances (recoverable)	65	
	49	Telephone services (including installation, extensions,	00	
		maintenance, rent, and calls)	180	
	50	Transfer and removal expenses	300	
	51	Travelling-allowances and expenses	20	
	52	Wages of temporary keepers	1,300	
	53	Contingencies, including unforeseen expenditure in-		
		cidental to the other items of this subdivision	10	
	†		10,990	
		Estimated credits-in-aid under Section 48 of the	10,000	
		Public Revenues Act, 1910 (see end of vote)—		
	.	Recoveries—		
		Half-cost Godley Head fence 100		
		Installation of automatic light on		
		Somes Island 350	,	
		Maintenance of Somes Island Light-		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		Telephone allowances 65	[
		Miscellaneous 100	-	
		765	ļ	
		765		

Number of Persons.	Item.	VOTE No. 32MA	RINE DEPARTI	MENT—c	ontinued.	1924–	25.
924–25.		Subdivision No. IV	Weather-report logical Office.	ing and M	1eteoro-	£	£
	54	Salaries	g				
			D				
		Class A—	ESSIONAL DIVISIO	N.			
1		1 at £615				615	
-		Class C—	•••	•••	•••	010	
1		1 at £445		•••		445	
		~	T				
		Class VII—	LERICAL DIVISION.		£		
		1 at £295			295		
2		1 at £85	•••		85		
						380	
			ENERAL DIVISION.			105	
1		1 at £185	•••	•••		185	
			Unclassified.				
. 8		8 Local Reporter		•••		85	
	ł	r					
13		0.1 01 4				1 710	
	,	Other Charges for a	nd incidental to—		-		
	55 56	Fuel, Aight, power	district weather-r			$\begin{vmatrix} 50 \\ 20 \end{vmatrix}$	
	57	Maintenance of o		•••		20	
	58	Office-cleaning	•••			30	
	59	Office fittings and		•••	• • • •	50	
	60		is, and rent of box			3,450	
	61	Printing and stat			•••	200	
	62 63	Rent .	uments and repair	s to same	••	300 100	
	64		es (including instal	lation. ext	ensions.	100	
		maintenance, r		•••		70	
	65	Temporary assist		•••		10	
	66		nces and expenses			50	
	67	Contingencies, in	icluding unforesee other items of this	en expendi	on	10	
		erdentar to the	omer hems of the	s sabarvisi	on	10	
						4,360	
			redits-in-aid under				
			evenues Act, 1910	(see end of		•	
		Sale of ins Miscellane		•••	£10 10		
		Miscellane	ous	•••			
					20		
		· 'D	C(1.1' ' 3.7	7.77		,	0.05
		Total-	-Subdivision No.	1 V	-		6,07
		•					
		Subdivision No. V.	- Superintendent	s of Me	rcantile		
	'		ners of Masters	and Mate	es, and		
		Surveyors of Sh	ups.				
	68	Salaries—					
			ESSIONAL DIVISION	N.			
1		1 at £765	•••	•••		765	
		Class B—			£ 200		
		4 at £590	•••	•••	$\begin{bmatrix} 2,360 \\ 540 \end{bmatrix}$		
7		1 at £540 2 at £515	•••	•••	1,030		
•		Class C—	•••	•••		3,930	
		3 at £470		•••	1,410	- /	
9		6 at £445	•••	•••	2,670		
	ļ l	•				4,080	

	Item.	VOTE No. 32.—MARINE DEPARTMENTcontin	nued	1924-	25.
24-25.	-J			1	
		Subdivision No. V.—Superintendents of Mercantil Marine, &c.—continued.	le	£	£
	68	Salaries—continued.			
		Professional Division—continued.			
1		Class D— 1 at £425		425	
		CLERICAL DIVISION.			
		Class VII—	£		
		1 at £275	275		
		1 at £230	230	i	
		1 at £210	210		
4		1 at £115	115	000	
		G B		830	
		GENERAL DIVISION.	0.40		
	İ	2 at £420	840		
		2 at £320	640		
5		1 at £181	181		
				1,661	
		Unclassified.		j	
		Shipping Officer, Onehunga		50	
		Shipping Officer, Whakatane		25	
4		2 Load-line Inspectors at £10		20	
	_	Contribution to Post and Telegraph Department			
31		services performed by Postmaster at Taurang		25	
01		Overall allowances		18	
	_			10	
]	11,829	
		Less salaries provided but not now required	. ,	$\begin{array}{c c} 11,629 \\ 92 \end{array}$	
		Dess sataties provided but not now required		92	
			-	11,737	
				11,101	
		Other Charges for and incidental to-			
	69		and		
	09	Advertising, photographs, books, newspapers,		60	
	50	other publications	• ~ •	60	
	70	Allowances to officers performing higher duties		100	
	71	Expenses connected with examinations	• • • •	250	
	72	Fuel, light, power, and water		10	
	73	Inquiries into shipping casualties		200	
	74	Office-cleaning		10	
	75	Office fittings and requisites		265	
	76	Postage, telegrams, and rent of boxes		200	
	77	Printing and stationery		400	
	78	Prosecutions under Shipping and Seamen Act		20	
	79	Rent		200	
	80	Telephone services (including installation, extensi	ione	200	
	00		- 1	140	
		maintenance, rent, and calls)	••	140	
	6) 1			572	
	81	Temporary assistance			
	82	Transfer and removal expenses	•••	200	
	82 83	Transfer and removal expenses Travelling allowances and expenses		200	
	82	Transfer and removal expenses Travelling allowances and expenses Contingencies, including unforeseen expenditure		200	
	82 83	Transfer and removal expenses Travelling allowances and expenses			
	82 83	Transfer and removal expenses Travelling allowances and expenses Contingencies, including unforeseen expenditure	in-	10	
	82 83	Transfer and removal expenses Travelling allowances and expenses Contingencies, including unforeseen expenditure cidental to the other items of this subdivision	in- 	200	
	82 83	Transfer and removal expenses Travelling allowances and expenses Contingencies, including unforeseen expenditure	in- 	10	
	82 83	Transfer and removal expenses Travelling allowances and expenses Contingencies, including unforeseen expenditure cidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of	in-	10	
	82 83	Transfer and removal expenses Travelling allowances and expenses Contingencies, including unforeseen expenditure cidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of Public Revenues Act, 1910 (see end of vot	in- f the	10	
	82 83	Transfer and removal expenses Travelling allowances and expenses Contingencies, including unforeseen expenditure cidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of Public Revenues Act, 1910 (see end of vot Refunds of costs of nautical inquiries	 in- f the se)— £10	10	
	82 83	Transfer and removal expenses Travelling allowances and expenses Contingencies, including unforeseen expenditure cidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of Public Revenues Act, 1910 (see end of vot	in- f the	10	
	82 83	Transfer and removal expenses Travelling allowances and expenses Contingencies, including unforeseen expenditure cidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of Public Revenues Act, 1910 (see end of vot Refunds of costs of nautical inquiries	 in- f the se)— £10 10	10	
	82 83	Transfer and removal expenses Travelling allowances and expenses Contingencies, including unforeseen expenditure cidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of Public Revenues Act, 1910 (see end of vot Refunds of costs of nautical inquiries	 in- f the se)— £10	10	
	82 83	Transfer and removal expenses Travelling allowances and expenses Contingencies, including unforeseen expenditure cidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of Public Revenues Act, 1910 (see end of vot Refunds of costs of nautical inquiries	 in- f the se)— £10 10	10	

${\tt MARINE} \quad {\tt DEPARTMENT--} continued.$

Persons.	Item.					1924-	-25.
	_	VOTE No. 32.—MARIN		ARTMEN	Т		
.924–25.		contin	ned.			0	
		Subdivision No. VI Inst	nanting of	Maahimam	ar and	£	£
		Survey of		14 Geniner	y ana		
			F				
	85	Salaries—					
_		Professional	L Divisio	N.		- 0.5	
1		1 at £765				765	
		Class B—			£		
		4 at £590 3 at £540	•••	•••	2,360		
15		8 at £515	•••	. •••	1,620	İ	
10		Class C—	•••	•••	4,120	8,100	
		3 at £495			1,485	0,100	
		1 at £490	•••	•••	490		
		4 at £475	• • •		1,900		
12		4 at £445			1,780		
		Class D—				5,655	
0		4 at £425	•••	•••	1,700		
6		2 at £400	•••	•••	800	9 500	
		CLERICAL D) TTTT OX ON			2,500	
		Class V—	'IVIBIUN.		!		
1		1 at £380 (6 months)	•••		-	190	
		Class VII—	•••			-50	
1		1 at £230	•••	•••	v	230	
36	1 1	Allowances to officers per	forming	special or	higher		
	-	duties	•••	•••	· · · ·	20	
		Overall allowances	•••	•••	••••	160	
					-	17 600	
	1 /	Less salaries provided	hut not a	oom noanin		$\frac{17,620}{18}$	
		Dess salaties provided	. Due noe i	10w requir	ea	10	
	! !	î.				17,602	
		Other Charges for and incide	ntal to-		-		
	86	Advertising, photographs,	books,	newspape	rs, and		
		other publications	•••		• • •	70	
	87	Expenses connected with		ions	•••	150	
	88	Fuel, light, power, and wa		•••	•••	20	
	89	Magisterial inquiries Office-cleaning	•••	•••		50	
	90	Office fittings and requisit	eg		•••	20 60	
	92	Payment to Post and Tele		nartment	for ser-	00	
	74	vices rendered: Collect				1,150	
	93	Postage, telegrams, and re			·	400	
	94	Printing and stationery	• • •	•••	•••	450	
	95	Prosecutions under the In	spection of	of Machin	ery Act	100	
	96	Rent				450	
	97	Telephone services (includi		ation, exte	nsions,	222	
	00	maintenance, rent, and	calls)	•••	•••	225	
	98	Temporary assistance Transfer and removal expe	meas of o	fficorg	•••	529 500	
	99	Transfer and removal expe Travelling allowances and	EXPANSES		•••	500 4,500	
	100	Contingencies, including a			ure in-	1,000	
		cidental to the other item				20	
	101						
						1	
		•				8,694	
		Estimated credits-in-a				8,694	
		Estimated credits-in-a Public Revenues A	Act, 1910 ($(\mathbf{see}\ \mathbf{end}\ \mathbf{of}\)$	vote)—	8,694	
		Estimated credits-in-a Public Revenues A Refunds expenses of	Act, 1910 ($(\mathbf{see}\ \mathbf{end}\ \mathbf{of}\)$	vote)— £200	8,694	
		Estimated credits-in-a Public Revenues A	Act, 1910 ($(\mathbf{see}\ \mathbf{end}\ \mathbf{of}\)$	vote)—	8,694	
		Estimated credits-in-a Public Revenues A Refunds expenses of	Act, 1910 ($(\mathbf{see}\ \mathbf{end}\ \mathbf{of}\)$	vote)— £200 10	8,694	
		Estimated credits-in-a Public Revenues A Refunds expenses of	Act, 1910 ($(\mathbf{see}\ \mathbf{end}\ \mathbf{of}\)$	vote)— £200	8,694	

Number f Persons.	Item.	VOTE No. 32.—MARINE DEPARTMENT— continued.	1924–	25.
924-25.		Subdivision No. VII.—Fisheries.	£	£
		Submitted Ito. 111.—I value ves.	, a	2
	102	Salaries—		
		Professional Division. Class A —		
1		1 at £615	615	
-			020	
		GENERAL DIVISION.	ŀ	
		1 at £360 360 2 at £335 670		
		2 at £295 590		
		1 at £275 275	1	
		1 at £240 240		
11		4 at £210 840	0.075	
		Unclassified.	2,975	
34	i	34 Inspectors: 3 at £40, 5 at £25 (1 for 6 months),		
	·	9 at £12, 9 at £10, 1 at £7 10/, 5 at £6, 2 at £5	478	
46			4 000	
		Other Charges for and incidental to—	4,068	
	103	Casual labour	100	
	104	Collection and distribution of brown-trout ova	20	
	105	Expenses in connection with salmon hatcheries	1,500	
	106	Grant for maintenance of Portobello Fish-hatcheries	840	
	107 108	Importation of edible crabs and lobsters (on account) Maintenance and working-expenses of launches	$\begin{array}{c c} 50 \\ 950 \end{array}$	
	109	Office expenses	100	
	110	Picking and sale of oysters (recoverable)	5,000	
	111	Planting oysters (recoverable)	500	
	112	Prosecution under the Fisheries Act, 1908 Telephone services (including installation, extensions,	100	
	113	maintenance, rent, and calls)	50	
	114	Transfer and removal expenses of officers	100	
	115	Travelling allowances and expenses	728	
	116	Vessel of trawler type for protection of seals, ad-	1 000	
	117	ditional lighthouse service, &c. (on account) Contingencies, including unforeseen expenditure in	1,000	
	111	cidental to the other items of this subdivision	20	
		77 41 4 7 71 11 11 7 6 41 40 641	11,058	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—		
		Sale of trout ova £100		
		Miscellaneous 10		
		110		
		. 110	-	
		·		
		Total—Subdivision No. VII		15,1
		•		
		Subdivision No. VIII.—Government Steamers.		
	118	Salaries Professional Division.		
1		1 at £765	765	
	.			
-			765	
	110	CHARGES FOR AND INCIDENTAL TO—		
	119	Working-expenses of lighthouse and harbour vessels, including wages, maintenance, repairs, replace-		
		ments, and other expenses incidental to their	-	
	1	upkeep	20,200	

		M A	RINE DE	PARTME	NT—continu	ued.		
Number of Persons.	Item.	VOTE No		RINE DE	PARTMEN	r	1924-	-25.
1924–25.		Subdivision 1			: Steamers—	contd.	£	£
	120	Charges for Contingenc	AND INCID	ENTAL TO- ng unfores		ture in-	10	-
		Pt	ıblic Reveni	ues Act, 19	ler Section 4 .0 (see end of y		20,210	
			Total— Sub	division N	o. VIII			20,97
		Subdivisi	on No. IX.	—Miscellar	neous Service	28.		
	121 122 123 124 125 126 127 128 129 130 131 132	Refunds of Relief of die Ross Sea land Rep Saleable bo Star Reduc (recovera Subsidy to Tide-tables, War meda marine ve Contingenc cidental te	overable) assenger tra e of castaw ad Nautical light dues stressed sea Dependence resentative oks and for tion and oble) Bluff-Stewn preparatio Is and riba essels ies, including to the other ated credits ablic Revenus: Nautical Charts, Star Rec Tables	affic vay depots Almanac y: Expens with Expens (recove Azimuth T art Island n of (Land ands for c ng unfores items of the in-aid uncues Act, 191 Almanac &c. duction and (portion nis year)	(part recover (part recover sees of Ne dition, &c rable) ables (Black Steamer Ser s Departmer rews of me een expending subdivision ler Section 4 .0 (see end of Azimuth	w Zea- kburne), vice orcantile ture in- on 8 of the vote)—	100 300 50 650 11 100 300 200 1,600 1,000 550	
			Total—S	ubdivision	No. IX			4,91
		G	ROSS TOTAL		•••			130,69
		Ст	REDITS-IN-AI	р (a)			•••	3,08
	}	N	ET TOTAI	VOTE	No. 32			127,60
(a) Cre		aid :— livision I		Salaries.			1924-24 Total. £ 20	5.
		", III ", IV " V " VI ", VIII ", VIII		150 	2 76 2	30 35 30 20 10	30 915 20 20 210 110 1,000	
		" IX	• •	• •	76		760	
		Totals .	•	150	2,93	35 	3,085	

DEPARTMENT OF LABOUR.

	_					19	24–25.	
	-	 -		Sala	ries.	Othe	er Charges.	Total.
Vote No. 33	i.—Department	of Labour-			£		£	£
Gro	OSS TOTAL			29	,441		19,181	48,62
				į			921	
	EDITS-IN-AID	••	••		,000			1,92
NE	T TOTAL	Accounts: 11 WINDOWS AND STREET STREET, TOTAL Accounts (1)	• •	28	3,441		18,260	46,70
Number of Persons.	Item.	N 00 DEDI	T> 65 4 6 T3 > 7 65		2011		1924	-25.
192425.	VOTE	No. 33.—DEPA	RTMENT	OF LAI	3OUR.			
	1 *Salarie	s					£	£
		Administra	rive Divis	ION.				
1	1 at 4	6765 (Secretary, C	Chief Insp	ector of	l'actorie	es,		
	Reg	istrar Industrial prentices)	Unions,	and Reg	gistrar	of	765	
	1191	•	•••	•••			700	
	Class		Division	•				
1		£565					565	
	Class	II—			*			
1		t £490	•••	•••			490	
į	Class 1 at	£470				70		
4	3 at	£445	•••		1,3			
1	Class	IV-5 £425					$\substack{1,805\\425}$	
1	Class		•••	•••		•••	140	
	1 at	£335	•••			35		
4	$3 ext{ at} $	£320	•••	•••	9	60	1 905	
		£295			2,0	65	1,295	
i	1 at	£275	•••		2	75		
		£230	•••			30		
		£210 £190	• • •	•••		30 90		
		£155	•••	•••		65		
	3 at	£135				05		
26		£95 £80 (6 months)	•••	•••		70 40		
20	1 200	200 (o months)	•••	•••			4,870	
		ances to Officers a	cting as Cl	erks of A				
		£50 £25	•••	•••		50 75		
5		£10		•••		10		
			T).		,,u		135	
	6 at £3		Division.		2,28	80		
	1 at £		•••	•••		70		
	2 at £	360 (1 for 6 month)	ns)	•••	5 4	10		
	6 at £3	350	•••	•••	2,10			
	1 at £3 6 at £3		•••	•••	$\frac{34}{2,01}$	10 10		
	2 at £3	320	•••	•••	64	10		
		315 (6 months)	***		31	l5		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

DEPARTMENT OF LABOUR—continued.

Number of Persons.	Item.					1924-2	25.
		VOTE No. 33.—DEPAR?	rment of nucd.	F LABO	UR -	£	£
1924–25.						æ	25
	1	Salaries—continued.		_		į.	
		GENERAL DIVIS	ion—contin	ued.	£		
		3 at £305	•••	•••	$\begin{array}{c c}915\\590\end{array}$		
		2 at £295	•••		1,995		
		7 at £285 3 at £270			810		
		1 at £250	•••		250		
		1 at £235		•••	235	, ;	
		1 at £225	•••	•••	$\begin{bmatrix} 225 \\ 205 \end{bmatrix}$		
		1 at £205 1 at £195	•••		195		
		4 at £185	•••	•••	740		
		5 at £175		• • •	875		
		3 at £145	•••	•••	435		
59		1 at £78 (9 months)	•••	•••	59	16,124	
		Uncla	SSIFIED.		-		
		3 at £615		•••	1,845		
		1 at £470	•••	•••	470		
		1 at £215	•••	•••	215		
		1 at £143	•••	•••	143		
		2 at £130	•••	• • •	$\begin{array}{c} 260 \\ 104 \end{array}$		
		1 at £104 1 at £91	•••	•••	91		
		1 at £78	•••	•••	78		
12		1 at £65	•••	•••	65	3,271	
	-	Allowances to officers to	mnorarily	narformin	a special	3,2.2	
114	:	or higher duties	emporarmy	perioriiii	ig special	50	
	-	Lodging-ahowances			•••	134	
						29,929	
		Less salaries provid	led but not	now requ	ired	488	
		Estimated credits-i Public Revenu Percentage on ments collecte State Advance	es Act, 1910 rents and d on behalf	(see end o			
						$\frac{-}{29,441}$	
						,	
	2	other publications	ohs, books,	newspa		450	
	3	1 E	and other	officers		0*0	
	4	departmental agents Audit of accounts of	f Industri	al Union	ns under	950	
	1	Section 3 (2) of the Arbitration Amendm	e Industria	l Concili	ation and	150	
	5		&c.—		£ 65 35	150	
	6	Cost of special typewr	itten report	s under t	he Indus-	100	
	7	trial Conciliation and	d Arbitratio	n Act		25	
	1 '	Compensation Act, 1			•••	10	
			.2 7]		

DEPARTMENT OF LABOUR—continued.

Number Persons.	m.			1924-	25.
	VOTE No. 33.—DEPARTME		OUR—		
924–25.	continued	•			•
	0			£	£
	OTHER CHARGES FOR AND INCI	DENTAL TO—co	ntinued.		
	9 Fees—Payable to acting mem	here of the	Court of		
	Arbitration .	octa or mic		50	
	O Payable to assessors of Ind	lustrial Council	s	1,800	
	1 To chairmen of Labour			,	
	Committees .			50	
	2 Freight, cartage, and transpo	rt charges		75	
	3 Fuel, light, and water .		•••	200	
	4 Law-costs (part recoverable)	•••	•••	170	
١.	Motor-cars—	. 4		coo	
	5 Maintenance of and repairs 6 Purchase of		•••	$\begin{bmatrix} 690 \\ 1,110 \end{bmatrix}$	
	6 Purchase of . 7 Office fittings and requisites .		•••	260	
	7 Office fittings and requisites . 8 Overtime and meal allowance	es		30	
	9 Postage, telegrams, and rent			1,100	
	Printing and stationery .			2,500	
	Purchase of—			_,	
	Boots and shoes under sec	tion 5 (3) of the	Footwear		
	Regulation Act, 1913 .			5	
	Thermometers and hygro	meters for ex	periments		
	regarding health of facto	ry workers		170	
; '	Rates and repairs, &c., of	~	used for	20	
	official purposes		•••	20	
	Rent and rates of office according Rent restriction: Valuations		orialation	1,230	
	Act, 1917	under war L	egisianon	10	
	Telephone services (including	r installation, e	xtensions.	10	
	maintenance, rent, and ca			476	
	27 Temporary assistance			10	
	28 Transfer and removal expens			600	
l l	29 Travelling allowances and ex			5,900	
i	30 Typewriters and other office		Purchase		
į	and repairs			140	
	Weights and Measures Act		repair of	550	
	standard weights, scales, 1 Contingencies, including un		ditumo in	550	
	Contingencies, including un cidental to the other items		diture in-	50	
	ordental to the other rents		•••	00	
	Estimated credits-in-aid	l under Section	48 of the		
	Public Revenues Ac	et, 1910 (see end	of vote-		
			£		
		•••	300		
	Law-costs		$\frac{71}{200}$		
	Services to Governmen		200		
	MC 11	•••	$\frac{150}{200}$		
	Miscellaneous		200		
			921	ĺ	
			-		
				19,181	
Ì	Gross Total				48,6
	CREDITS-IN-AID (a)		•••		1,9
	NET TOTAL—VO				46,7
, , , , , , , , , , , , , , , , , , , ,					
(a) Uredi	ts-in-aid—-	Salaries.	Other Charges.	1924- Total	
		£	£	£	
		1,000	921	1,92	81
	Total	1 (000)	001	4 00	<u> </u>
		1,000	921	1,92	1

DEPARTMENT OF LANDS AND SURVEY.

Subdivision ,, Gro	<i>i I</i> .—	epartment of Lan	J J G		Salarie	s.)+ho	r Charges.	
Subdivision ,, Gro	<i>i I</i> .—	_	J 1 C				Polici	r Charges.	Total.
"Gro		4.7	us and Survey-	_	£	!		£	£
Gro	11	-Administration			166,	126		90,193	256,319
		-Miscellaneous Se	rvices					36,704	36,705
CRE	ss T	OTAL	••		166,	126		126,897	293,028
	D rfs -	IN-AID	••		70.	400		36,550	106,950
NE?		OTAL	• •			726		90,347	186,078
		- 1 to 1 to 1 to 1 to 1 to 1 to 1 to 1 t							
Number of Persons.	Item.							1924	-25.
1924–25.		VOTE No.	34.—DEPART AND SUR		OF LA	NDS			
1021-20.		Suhdii	vision No. I.—		tration			£	£
	1	*Salaries—		11(011000000	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				
	1		Administrativ	e Divisio	ON.			·	
1			(Under-Secrets		•••	•		1,001	
			PROFESSIONAL	Division					
1		1 at £765 $Class A$ —		•••	•••	£		765	
		6 at £715		•••	•••	4,29			
8		2 at £665		•••	•••	1,33		¥ 000	
		Class B— 2 at £565				1,18	20	5,620	
8		6 at £540		•••		$\frac{1}{3}, \frac{1}{2}$			
		Class C—						4,370	
		5 at £495		•••	• • •	2,4'			
		3 at £490 11 at £470)	•••	•••	$\frac{1}{5}, \frac{4}{5}$			
23		4 at £445	,	•••		1,78	80		
		- Class D-						10,895	
!		7 at £425			• • •	2,9'			
		1 at £420			•••		20		
-		4 at £400 2 at £380		• • •	•••	1,60	50 60		
		2 at £365		•••	•••		30		
		10 at £358	5		•••	3,58			
31		5 at £335		•••		1,6			
		Class E-						11,710	
:		4 at £320		•••	• • •	1,28			
44		5 at £295		•••	•••	1,47			
11		$\begin{array}{ccc} 2 ext{ at } \pounds 275 \\ Class F \longrightarrow \end{array}$		•••	•••	-	50	3,305	
		4 at £210				8/	40	5,500	
		4 at £190			•••		60		
		2 at £155		•••	•••		10		
11		1 at £115		•••	•••		15		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

Number of Persons.	Item.					1924-	25.
1924–25.	- <u> </u> 	VOTE No. 34.—D	EPARTMENT OF URVEY—continued.	LANI	DS AND	£	£
		Subdivision No.	I.—Administration-	-conti	nued.		
	1	Salaries—continu	ved.				
			LERICAL DIVISION.		_		
		Class I—			£		
_		2 at £615	•••	•••	1,230		
3		1 at £565 Class II—	•••	• • •	565	1 705	
1	1 1	1 at £515	·•••			$\begin{array}{c c}1,795\\515\end{array}$	
1		Class III—	•••	•••	•••	010	
		2 at £470	***		940		
7		5 at £445	•••		2,225		
•		Class IV —				3,165	
		9 at £425	***		3,825		
16	1	7 at £400	•••		2,800	0 005	
		Class V—			0.500	6,625	
		25 at £380 8 at £ 35 5	•••	• • • •	$9,500 \\ 2,840$		
33		Class VI—	·	•••	4,040	12,340	
		33 at £335			11,055	12,540	
		7 at £320	•••		2,240		
42		2 at £295	• • • •		590	•	
		Class VII-			<u></u>	13,885	
		65 at £295	•••	•••	19,175		
		20 at £275	• • •	• • •	5,500		
		24 at £250	• • •		€,000		
		14 at £230	•••	•••	3,220		
		16 at £210 32 at £190	•••	•••	3,360 6,080		
	1 1	37 at £155		• • • •	5,735		
		18 at £135	•••	•••	2,430		
		13 at £115	•••		1,495		
280		41 at £95	• • • •		3,895		
						56,890	
			ENERAL DIVISION.				
		9 at £435	•••	• • •	3,915		
		4 at £420	•••		1,680	İ	
		2 at £410	•••	• • •	820		
		7 at £400	•••	•••	2,800		
		1 at £385 1 at £380	•••	•••	385 380		
		1 at £365	•••	•••	365	ļ	
		7 at £335	•••	•••	2,345		
		1 at £350	***		350		
		6 at £320	•••		1,920		
		1 at £305	• • •.		305	ļ	
		3 at £300	•••		900		
		4 at £295	***	•••	1,180		
		3 at £275 4 at £290	•••	• • •	$\begin{array}{c} 825 \\ 1,160 \end{array}$		
		3 at £265	***	•••	795		
		1 at £255	•••		255		
		2 at £250	•••		500		-
		2 at £225			450		
		9 at £205	•••		1,845	•	
		8 at £190	***		1,520		
		22 at £185	•••	•••	4,070		
	1	6 at £175			1,050		
		1 at £165	•••		165		

Number of Persons.	Item.	WORK W. O. DUDADENNINE OF LANDS AND	1924-	-25.
1924–25.	' 	VOTE No. 34—DEPARTMENT OF LANDS AND SURVEY—continued.	£	£
		Subdivision No. I.—Administration—continued.	*	æ
	1	Salaries—continued.		
		GENERAL DIVISION—continued.		
		4 at £160 640 4 at £145 580		
120		4 at £130 520		
596	-	Cadets' lodging-allowance	$\begin{bmatrix} 31,720 \\ 2,000 \end{bmatrix}$	
	-	Caucis loughig-allowance		
		Less salaries provided but not now required	168,626 2,500	
			166,126	
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Account, record, and other books (including cost of		
		material, printing, and binding)	600	
	3	Advertising, photographs, books, newspapers, and		
	4	other publications Classification and valuation of lands and special re-	2,300	
	4	ports (estimated recoveries, £600)	1,100	
	5	Commission on gum royalties	100	,
	6	Commission on money-orders	3,000	
	$\begin{bmatrix} 7 \\ 8 \end{bmatrix}$	Contract and schedule surveys Education Reserves: Expenses of management (es-	750	
	0	timated recoveries, £200)	650	
	9	Equipment and wages of staff and survey parties	30,000	
	10	Freight, cartage, and transport charges	300	
	$\begin{array}{ c c }\hline 11\\12\\ \end{array}$	Fuel, light, power, and water	300	
	12	Grant to officer on retirement in lieu of leave of absence: C. E. Archibald (Chief Clerk and Receiver of Land Revenue, Dunedin)	118	
	13	Inspection, management, &c., expenses of settlement, forest, and flax lands—		
		Extra Rangers 3,500		
41		Travelling-expenses, &c 11,000	14,500	
	14	Instruments, machinery, and plant	2,000	
	15	Insurances	25	
	16	Kauri-gum Industry Act, 1910— Rangers' salaries, travelling and other expenses		
		(estimated recoveries, £400)	100	
	17	Land Boards: Fees to members, and including ex-	4 950	
	18	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$egin{array}{c} 4,250 \ 200 \end{array}$	
	19	Maintenance and repairs of office equipment	50	
	20	Map printing (estimated recoveries, £1,000)	2,000	
	$\begin{array}{c c} 21 \\ 22 \end{array}$	Motor-vehicles: Purchase and maintenance Office-cleaning	700 50	
	23	Office fittings and equipment	1,000	
	24	Overtime and meal allowances	400	
	25	Postage, telegrams, and rent of boxes	4,000	
	26	Premiums to teaching-surveyors (teaching survey	400	
	27	cadets) Printing and stationery	$\frac{400}{3,000}$	
	28	Rent	2,900	
	29	Special allowances to officers temporarily performing higher duties	200	
	30	Telephone services (including installation, extensions,	_00	
	i	maintenance, rent, and calls)	1,000	

Number f Persons.	om.	1924-	-25.
924–25.	VOTE No. 34.—DEPARTMENT OF LANDS AND SURVEY—continued.	£	£
·	Subdivision No. I.—Administration—continued.	£	æ
9	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Temporary assistance—		
	Extra clerks)	= 000	
	Extra typists Extra draftsmen	5,200	
٤	2 Temporary Surveyors and Parties— £ Extra surveyors 350		
	Wages, &c 700	1,050	
8	3 Tracing-cloth and tracing-paper and other draughting-		
ļ ş	material 4 Transfer and removal expenses	$\begin{array}{c c} 1,250 \\ 1,500 \end{array}$	
	5 Travelling allowances and expenses	4,500	
	Trigs and standards, establishment and maintenance of Contingencies, including unforeseen expenditure in-	650	
	cidental to the other items of the vote	50	
		90,193	
	Public Revenues Act, 1910 (see end of vote)— Administration expenses of— Cheviot Estate Account 1,100 Discharged Soldiers Settlement Account 40,000 Hauraki Plains Settlement Account Hunter's Soldiers Assistance Trust Account 50 Kauri-gum Industry Account 550 Land for Settlements Account (Discharged Soldiers Settlement Account) 1,500 National Endowment Account 7,500 Native Land Settlement Account 5300 Rangitaiki Land Drainage Account 5,300 Rangitaiki Land Drainage Account 5,300 Rangitaiki Land Drainage Account 2,250 Classification, &c., of lands 600 Education Reserves 200 Kauri-gum Industry Act, 1910 400 Land for Settlements Account (Discharged Soldiers Settlement Account): Recovery of survey charges 550 Marine Department for computation of Tide Tables 550 Miscellaneous credits, representing charges for surveys, draughting work, &c., performed for other departments, survey fees, search fees, &c 7,500 National Endowment Account: Recovery of survey charges 1,800 Native Land Settlement Account: Recovery of survey and other charges 10,000 Sale of maps, lithographs, &c 1,000 Stamp Duties Department for Services rendered 11,100		

Number of Persons.	Item.	VOTE No. 34.—DEPARTMENT OF LANDS AND SURVEY—continued.	1924–2 5 .	
1924–25.				
		Subdivision No. II.—Miscellaneous Services.	£	£
		CHARGES FOR AND INCIDENTAL TO-		
	38	Cemeteries—	50	
		Fencing, forming, and improving cemeteries	50	
	39	Compassionate allowance to— E. Atkinson, Crown Lands Ranger, for injuries		
		received whilst on duty	100	
	40	Widow of late A. H. Saunders, Draughtsman,		
	41	Lands and Survey Department	300	
	41	Commission for supervision of removal of shingle from landing-reserve, Leigh, Auckland	75	
		Compensation for—	,0	
	42	Improvements effected on Section 8, Block V,		
	40	Rangitaiki Survey District	64	
	43	Injuries to employees while in discharge of their		
		duties, medical and other attendance during illness, and contingent expenses in connection	ļ	
		with same	100	
	44	Land resumed under the Land Act, 1908, for		
		scenery and other public purposes	50	
	$\begin{vmatrix} 45 \\ 46 \end{vmatrix}$	Crown lands draining, &c. (general)	50	
	40	Destruction of rabbits on Crown lands: Wages and other expenses	10,000	
	47	Destruction of wild pigs, contribution towards (£200)	10,000	
		provided under each of votes, "Department of		
		Agriculture " and " State Forest Service"	200	
	48	Digest of the Land Laws (new edition): Cost of	205	
	49	copyright, printing, and publishing	$egin{array}{c c} 205 \ 25 \end{array}$	
	50	Exchange of Crown lands for private lands, equality of Expenses of inquiries	$\frac{20}{20}$	
		Expenses of Inquiries		
	51	Örakei Garden Suburb Advisory Board	100	
	52	Special Committee to report on Crown leaseholds		
	53	between Raglan and Whangamomona	1,000	
	99	Expenses in connection with death of late H. Chote, Valuer	25	
	54	Fees to examiners, draughtsmen's examinations	10	
		Grants—		
	55	Royal Geographical Society, England	10	
	56	Surveyors' Board	250	
*	$\begin{bmatrix} 57 \\ 58 \end{bmatrix}$	Tongariro National Park Board Grass-seed for Crown lands	250 3 5 0	
	$\begin{vmatrix} 56 \\ 59 \end{vmatrix}$	Gum lands, experiments in connection with the de-	500	
		velopment of	500	
	60	History of the Land Laws of New Zealand: Cost of		
	0.1	copyright, printing, and publishing	235	
	61	Interest on purchase-price of overlap of freehold	$_2$	
		land caused by a defective survey Kapiti Island—	4	
	62	Expenses of supervision and maintenance of oil-		
		launch	75	
	63	Fencing and improvements	50	
	64	Kea suppression, contribution to Department of Agriculture towards cost of	700	
	65	Culture towards cost of Lake Takapuna Board, expenses of (recoverable)	1,250	
	66	Native Land Settlement Account of capital value of	1,200	
		portion of Hoe-o-Tainui, 6A 2A Block	20	
	67	Newton King, Ltd., for certain stock supplied to	000	
	60	soldier settlers C. J. Medway and W. Trembath	300	
	68	Noxious weeds on Crown land, eradication of Protective Works—	3,695	
	69	Clarence River stock reserve	400	
	70	Erection of river-protective works to protect adjoin-	200	
	_	ing lands (including supply of wire to settlers)	100	
	71	Preventing encroachment of rivers on Crown re-	50	1

Number of Persons.	Item.		1924-	25 .
924-25.		VOTE No. 34.—DEPARTMENT OF LANDS AND SURVEY—continued.	£	£
		Subdivision No. II - Miscellaneous Services - continued.		
		Charges for and incidental to—continued. Rates on Unoccupied Crown Lands—		
	72	Hauraki Plains Settlement Account: Section 5, Hauraki Plains Amendment Act, 1911	600	
	73	Rangitaiki Land Drainage Account (Section 6, Rangitaiki Land Drainage Act, 1910)	250	
	74	Recreation-grounds and Domains— Fencing and improvement	50	
	75	Lynton Downs Domain: Recouping capital value	00	
	70	to Land for Settlements Account	20	
	76	Refunds for improvements effected	50	
	77	Refund to Department of Agriculture of cost of	23	
	\perp_{78} \parallel	cultivation of abandoned fruit-farm Removal of groynes, Waikato River	40	
	10	Removal of groynes, Walkato River Removal of sunken and derelict logs—	10	
	79	M Ct	100	
	80	Northern Wairoa River	300	
	81	Repairs and alterations to buildings on Crown lands	250	
	82	Revaluation Boards, expenses of	2,000	
		Road Access—	_,	
	83	Kumara-Kapitea Road: Payment of compensation		
		and erection of fencing	160	
	84	Kurapete Road: Clearing slips, &c	200	
	85	Matiere Township	50	
	86	Omahu Block, Ohinemuri Survey District	750	
	87	Pakuratahi Block	150	
	88	Run 107, Marlborough	130	
	89	Run 124, Marlborough (subsidy, £1 for £1)	100	
	90	Section 38, Block XV, Oparara S.D	200	
	91	Small Grazing-run 189 and Lease in Perpetuity 279,	40	
	00	Marlborough	18	
	92	Through Section 271, Waiawa Survey District, being	1.05	
	00	purchase of 5 acres for road and fencing same	165	
	93	Waitakaruru-Morrinsville Road	450	
	94	Wharepuhunga Extension No. 3 Loan Block	30 50	
	95	Special rates to local authorities	30	
	96	Stewart Island: Interest on £2,000, part purchase- money; annual payment, £160 Subsidies—	160	
	97	La Fontaine Creek drainage, Westland District		
	31	(£1 for £1)	117	
	98	Tolo War also mail garries	25	
	99	South Westland mail-steamer	600	
	100	Te Akau to Raglan ferry service	30	
	101	Tongariro National Park (£1 for £1)	3,000	
	102	Wanganui River (improvement)	2,500	
	103	Wanganui River mail-service	1,705	
	-104	Westport-Karamea mail-service	400	
		Tokatoka, Nos. 1, 2, and 3 Blocks—		
	105	Formation of roads and widening drains under		
		control of Otamatea County Council	111	
	106	Widening and improving drains under control of		
	1	Raupo Drainage Board	849	
	107	Tokatoka Swamp: Stopbank and drainage	100	
	108	Thesis, by R. W. Firth, M.A., on the Kauri-gum		
		Industry: Cost of printing and publication	75	
	109	Transfer of Wellington District Office to new offices	875	
	110	Value of improvements on pastoral and small grazing-		
		runs on expiry of license, payment of, to outgoing		
		lessees	500	

Number of Persons.	Item.		1924-	-25.
1924–25.		VOTE No. 34.—DEPARTMENT OF LANDS AND SURVEY—continued. Subdivision No. II.—Miscellaneous Services—continued.	£	£
	111 112	CHARGES FOR AND INCIDENTAL TO—continued. Waitakaruru—Pokeno Road Water-supply (experimental tests)	240 50	ı
	113	Water-supply on Te Pu and Kakaroa Blocks: Cost of experimental bores Water-supply: Otawhao Block	400 220	
		Less commitments which will not be expended	38,704	
		during the year	2,000	
		Total Subdivision No. II		36,70
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Lake Takapuna Board: Amount received from rates levied to £ cover expenditure 1,250 Miscellaneous 100		
		GROSS TOTAL		293,02
		Credits-in-aid (a)		106,95
		NET TOTAL—VOTE No. 34		186,07
(a) Cr	edits-i	n-aid— Other Salaries. Charges.	1924-25. Total.	
	Subd	ivision I $70,400$ $35,200$	£ 105,600 1,350	
		Totals	106,950	

SCENERY PRESERVATION.

		,			1924–25.	
_			-	Salaries.	Other Charges.	Total.
Vote No. 35.—Scenery Pres	servation—			£	£	£
GROSS TOTAL				25	11,495	11,520
CREDITS-IN-AID	• •	• •	[50	50
NET TOTAL		••	• •	25	11,445	11,470

Number				
of Persons.	Item.	SCENERY PRESERVATION.	1924–	25 .
1924–25.		VOTE No. 35.		
		G	£	£
	1	Salaries—		
		CLERICAL DIVISION.		
		Class I—		
1		1 at £25 (being portion of salary of Chief Clerk,		
		Lands Department, £615)	25	
		OTHER CHARGES FOR AND INCIDENTAL TO-		
		Acquisition of—		
	2	Kawhia Harbour Scenic Reserve	300	
	3	Roose's Bush, Pukekohe (subsidy, £1 for £1)	675	
	4	Trounson's Kauri Forest, charges in connection		
		with acquisition and maintenance of	800	
	5	Wairoa Falls	375	
	6	Waro Limestone Rocks, Hikurangi	3,100	
	7	White Pine Bush, Whakatane, 29 acres in vicinity of	235	
	8	Administration of reserves and historic spots (includ-	***	
		ing fencing and other works)	500	
	9	Capital value of Greystoke Settlement, Section 9	680	
	10	Compensation, &c.—	75	
	11	For lands acquired along the Wanganui River For land acquired on south bend of Mokau River	10	
	1 1	for scenic purposes (Mokau River Scenic Re-		
		serve), balance	700	
	12	For Native lands taken for scenery purposes (in-	100	
		cluding historic spots) under the Public Works		
		Act, 1908, and the Native Land Act, 1909	100	
	13	In connection with lands taken under the Scenery		
		Preservation Act, 1908	250	
	14	Expenses of Boards	20	
	15	Kauri Park, Kaihu, planting of	250	
	16	Lake Rotoiti, lands ceded to the Crown in the		
		vicinity of: Compensation for lessees' interests—		
	1.7	witnesses' expenses, &c	1,750	
	17	Pukerangiora Pa, eradication of noxious weeds	200	
	18	Rotoiti Scenic Reserve and Hongi's Track: Cost of	955	
	19	fencing Round Bush, Foxton: Fencing	355 180	
	20	Sugar Loaf Reserve: Part payment of Summit Road	100	
	20	purchase-money	250	
	21	Surveys, valuations, and incidental expenses	700	
			11,495	
		Gross Total		11,5
		CREDITS-IN-AID		5
	1	,		_

VALUATION DEPARTMENT.

Cred NET	S TOTAL	epartment-			Salarie	0 8.	Othe	or Charges.	Total.
GROS CRED NET	S TOTAL	epartment	•••			<u>-</u>			
CRED NET	ITS-IN-AID	• •			a	£		£	£
CRED NET	ITS-IN-AID				31.	,417		30,500	61,917
NET									
Number Ite	maxm a T	••	• •	-		565		3,626	4,191
	TOTAL	• •	••		30	,852		26,874	57,726
	om. VOTE	No. 36.—	VALUATI(ON DE	PARTM	ENT.		1924	-25.
1924-25.	— 	·							
1021 20.	1 *SALARIE		NISTRATIVE	Division	N.		į Į	£	£
1			al) at £874			3 Serv	ice	874	
		Cı	LERICAL DI	VISION.					
9	Class						ļ	1 607	
3	Class	£565 <i>111-</i> —			* * * * * * * * * * * * * * * * * * * *		•••	1,695	
2	2 at	£470		•••	•••			940	
1	Class 1 at	£400						400	l
7	Class	V £380						0 660	
. '	Class		•	••	•••		•••	2,660	
9		£335		•••	•••		£	3,015	
		<i>VII-</i> — at £295		• • •	•••	4,4			
		£275			•••	2	75		
	2 at	£210			•••	4	20		
		£190		•••			80 - 100		
		£155	•	• • •	• • •		55		
23	2 at	£95		• •	•••	1	.90	F 045	
		C	TIMEDAT DE	VICION				5,845	
	7 at £	565	ENERAL DI	V15101V.		3,9)55		
	2 at £					1,1			
	4 at £				•••	$\frac{1}{2}, \frac{1}{1}$		j	
	3 at £				•••	1,5			
	2 at £					1,0			
	1 at £						85		
	6 at £				• • •	2,7			
	1 at £						25		r
	1 at £	195			•••		.95		
	4 at £			•••			40		
	2 at £						50		
	1 at £			· • •	•••		60		
	4 at £				• • •		80		
	2 at £		•	• • •	• • •		60		
42	2 at £	80		•••	• • • •	1	.60	15 500	
88	~ 1 .		allowances					$\begin{array}{c c}15,730\\258\end{array}$	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

31,417

VALUATION DEPARTMENT—continued.

Number of Persons.	Item.		1924-	25.
1924-25.	<u> </u>	VOTE No. 36.—VALUATION DEPARTMENT—		
1944-40.		continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO-		~
	2	Advertising, books, newspapers, and other publi-		
		cations	100	
	3	Assessment Court expenses	400	
	4	Fees to valuers	14,500	
	$\begin{vmatrix} 5 \end{vmatrix}$	Freight, cartage, and transport charges	20	
	$\begin{vmatrix} 6 \end{vmatrix}$	Fuel, light, power, and water	40	
	7	Law-costs	100	
	8	Maps and tracings, schedules of land transactions, &c.—		
		New maps $\pounds 800$		
		Maintenance 200	1 000	
		0.00	1,000	
	9	Office-cleaning	40	
	10	Office expenses	300	
	11	Office fittings and requisites	50	
	12	Overtime and meal allowances	50	
	13	Payment to Post and Telegraph Department for	100	
	, ,	services of officers	100	
	14	Postage, telegrams, and rent of boxes	850	
	15	Printing and stationery	950	
	16	Rent	500	
	17	Revision of districts	700	
	18	Telephone services (including installation, extensions,	500	
	1,0	maintenance, rent, and calls)	500	
	19	Temporary assistance Transfer and removal expenses	3,400	
	20	Transfer and removal expenses	250	
	21	Travelling allowances and expenses	6,500	
	22	Typewriters: Purchase and repairs	140	
	23	Contingencies, including unforeseen expenditure in-	10	
		cidental to the other items of the vote	10	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—		
	1 1	Contributions from—	İ	
		Land-tax Department 2,626	!	
		New Zealand State Advances	ĺ	
		Office 1,000	J	
		Recoveries from—	:	
		Department of Internal Affairs:		
		Salary of Private Secretary	1	
		to Attorney-General 565		
		4,191		
		-		
		Gross Total	30,500	61,91
		Credits-in-aid		4,19
		•		-,
		NET TOTAL—VOTE No. 36		57,72

ELECTORAL DEPARTMENT.

						199	24-1925.	
					Salaries.	Oth	er Charges.	Total.
Vote No. 37.–	Elector	al Department-		!	£		£	£
Gross To	TAL				3,75	50	1,528	5,278
CREDITS-II	N-AID		•••		•••		18	18
NET TO	ral.		•		3,78	50	1,510	5,260
Number of Persons.			The second secon				192	4–25.
1924–25.	L *Sala		ELECTOR rrical Di		PARTMEN	V T.	£	£
1		ass I— 1 at £565	,	· • •	• • •		565	
1		ass V II 1 at £190		••			190	
2 4		G1 1 at 195 1 at £185 or payments of		••		£ 195 185	380 2,033	
	Pa	yment to Pos services of Pos Electors	st and Tel	legraph	Departmen as Registr 	t for	650	
		Less salaries	provided h	out not n	ow require	d	3,818	
							3,750	
2	Ad Ad	ER CHARGES FO vertising, pho other publication	tographs,			, and	5	
3 4 5	B Ex Fr 5 Fu	penses of by-el eight, cartage, el, light, power	ections and transpo r, and wate	 ort charg	es		500 5 5	
6 7 8 9	Lie Off	meral Election- Expenses of tal Preparation and censing Commi fice furniture, fi	king I printing o ittee election	 of rolls ons (reco	 verable) 		100 100 18 50	
$\begin{array}{c c} & 10 \\ 11 \\ 12 \\ 13 \\ 14 \end{array}$	Po Pr Re	fice requisites stage, telegram inting and stati nt avelling allowar	ionery	•••		•••	5 200 100 300 100	

^{*} For particulars of salaries see "Public Service Classification List."

Note,—Scale salaries or wages include cost-of-living increase,

ELECTORAL DEPARTMENT—continued.

Number of Persons.	Item.		1924	2 5.
1924-25.	-	VOTE No. 37.—ELECTORAL DEPARTMENT— continued.		
1021 20.		continues.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	15	Telephone services (including installation, extensions, maintenance, rent, and calls)	35	
	16	Contingencies, including unforeseen expenditure incidental to the other items of the vote	5	
		Estimated credits-in-aid under Section 48 of the		
		Public Revenues Act, 1910 (see end of vote)— Licensing Committee elections £18		
		Gross Total	1,528	5,27
		Credits-in-aid		18
		NET TOTAL—VOTE No. 37		5,260

DEPARTMENT OF AGRICULTURE.

					192	4-25.	
				Salaries.	Other	Charges.	Total.
Vote No. 38	3.—Department	of Agriculture		£		£	£
Subdivision	n I.—Head Offic	ce .		28,063		75,373	103,436
,,	II.—Live-stock	Division		83,511		77,240	160,751
,,	III.—Horticulte			13,492		26,030	39,522
••	IV.—Dairy Di			27,449		28,043	55,492
• •	$V.$ —Fields $oldsymbol{D}$	ivis io n	••	12,511		19,760	32,271
GRO	OSS TOTAL	• • •	••	165,026		226,446	391,472
Cre	EDITS-IN-AID			4,300		84,057	88,357
NE	T TOTAL		••	160,726	1	142,389	303,115
Number of Persons.	Item.	. 38.—DEPAR	TMENT OF	AGRICIILTI	TRE	1924	1 - <u>'</u> 5.
1924–25.	VOIE NO) IV.E.		
		${\it Subdivision}$	No. 1.—Head	Office.		£	£
	1 *SALARIE	s—			į		
,	•	Administ	RATIVE DIVISI	ion.	£		1
2		1,092 (Director			,092		
2	l at æ	765 (Assistant	Director-Gene	erai) _	765	1,857	
			ional Divisio	N.		,	
	Class						
1		£715	•••	•••	•••	715	
	Class	£565			565		į
2		£515		•••	515		
_	Class		•••			1,080	
2		£445				890	
	Class						
1	l l at	£365		***	• • • •	365	
1		£320				320	,
-	Class		•••		•••	020	
1	1 at	£19 5	•••	•••		195	
		CLER	CAL DIVISION.				
	Class						
		£515	•••	1	,545		
4	1 a	£490	•••	•••	490	0.00*	
1	Class		ha)	••		2,035	
1	Class	t £420 (3 mont	ns)		•••	105	
5		£380	•••	•••		1,900	
9	Class		•••	- + +			
		t £335	•••		3,345		
. 13	6 a	t £320		1	.,920		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

4,265

${\tt DEPARTMENT} \quad {\tt OF} \quad {\tt AGRICULTURE--} continued.$

Number of Persons.	Item.	VOTE No. 38—DE	DARTMENT OF	ACRICI	HATTE I	1924-	25 .
1924–25.		VOIE No. 30—DE	—continued.	AGIMOC	HI O IVE	£	£
		Subdivision N	o. I.—Head Offic	e—continu	1ed.	æ	æ
	1	Salaries—continue	ed.				
	1	CLERIC	AL DIVISION—cont	inned			
		Class VII—	an Division—com	www.	£		
	. [15 at £295			4,425		
		3 at £275	• • •	• • •	825		
		2 at £230	•••	•••	460		
		3 at £210 1 at £190	• • •		630		
		4 at £155	•••	• • •	$\frac{190}{620}$		
		1 at £135	•••		135		
		4 at £115	•••		460		
		11 at £95			1,045		
4 🖶		1 at £85	•••		85		
47		2 at £70	•••	•••	140	0.015	
		Cadets' lodging-a	ıllowances			$\begin{bmatrix} 9,015 \\ 59 \end{bmatrix}$	
		G 1 at £465	ENERAL DIVISION.		465		
		1 at £345	•••	•••	345		
		2 at £295	•••		590		
		3 at £280		• • •	840		
		1 at £255	• • •		255		
		2 at £245 (1 for 3	3 months)	•••	307		
		1 at £240	•••	•••	240		
		1 at £225 1 at £220	•••	•••	$egin{array}{c} 225 \ 220 \ \end{array}$		
		1 at £195	•••	•••	195		
		5 at £185		•••	925		
		2 at £175	•••		350		
		1 at £145		•••	145		
0.4		1 at £90	•••	*,**	90	}	
		1 at £70	•••	•••	70	5,262	
104		Estimated c	eredits-in-aid unde	er Section	48 of the		
		Public I	Revenues Act, 1910) (see end			
		pervices u	o other Departme	nus, ac.	æ1,000 	00.000	
			•			28,063	
		Other Charges F	OR AND INCIDENT	AL TO			
	2	Advertising and		•••		100	
	3	Bicycles, motors	, and repairs			50	
	4	Board of Agricul	ture	,		600	
	E .	Compassionate a	llowance to—	hrr	loid for		
	$\mid 5 \mid$	D. Morgan to rabbits	r cattle poisoned	by poison	iaid for	35	
	6		e W. C. King, I	nspector	of Stock	55	
		at Ohakune				150	
	7	Compensation to	Roderick McLe	an for inj		750	
		Contributions to-	ourse of his emplo —	уушене		100	
	8	Imperial Bures	au of Entomology	•••	••• †	400	
	9	Imperial Bures	au of Mycology		***	250	
	10	International l representation	Institute of Agric	ulture, an	a cost of	200	
	11	New Zealand	Council of Agricu	lture, tow	ards cost		
		of printing r				25	

${\tt DEPARTMENT} \ \ {\tt OF} \ \ {\tt AGRICULTURE--continued}.$

1924-25.	Number of Persons.	Item.	VOTE No. 38.—DEPARTMENT OF AGRICULTURE—	1924	25.
OTHER CHARGES FOR AND INCIDENTAL TO—continued. Departmental Exhibits at Exhibitions and at A. and P. Association Shows: Wages and other expenses Shows Zealand Wool Committee C	1924-25.	i			
Other Charges for and incidental to—continued.			Subdivision No. I Head Office continued	£	£
Departmental Exhibits at Exhibitions and at A. and P. Association Shows: Wages and other expenses 100			Suotevisson 140. 1.—Head Office—consistuod		
F. Association Shows: Wages and other expenses Expenses of New Zealand Wool Committee Experimental and Instructional Farms: Wages and General Working Expenses, Rent of Land, Buildings, Purchase of Stock, Provision for Visitors, and Salaries of Student Assistants, Learners, Special Instructors, and Domestic Assistants (partly recoverable).—		!	OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
Expenses of New Zealand Wool Committee Experimental and Instructional Farms: Wages and General Working Expenses, Rent of Land, Buildings, Purchase of Stock, Provision for Visitors, and Salaries of Student Assistants, Learners, Special Instructors, and Domestic Assistants (Learners, Special Instructors, and Domestic Assistants (Learners, Special Instructors, and Domestic Assistants (Learners, Special Instructors, and Domestic Assistants)		12			
Experimental and Instructional Farms: Wages and General Working Expenses, Rent of Land, Buildings, Purchase of Stock, Provision for Visitors, and Salaries of Student Assistants, Learners, Special Instructors, and Domestic Assistants (partiy recoverable),— 14		13			
Ruakura			Experimental and Instructional Farms: Wages and General Working Expenses, Rent of Land, Buildings, Purchase of Stock, Provision for Visitors, and Salaries of Student Assistants, Learners, Special Instructors, and Domestic As-		
Wages and other expenses		1		2,500	
Educational work 4,200 12,200 6,500 17 Waimaunga (West Coast, S.I.)		10			
16					
17		10			•
Freight, cartage, and transport charges 100					
Fuel, light, water, furniture, office requisites, insurance, cleaning offices, outbuildings, yards, and approaches Grants— Establishment of an experimental area at Lepperton International Institute of Refrigeration					
Surance, cleaning offices, outbuildings, yards, and approaches				100	
Grants— Establishment of an experimental area at Lepperton 160			surance, cleaning offices, outbuildings, yards, and		
International Institute of Refrigeration			Grants—		
Lincoln Agricultural College, in connection with plant breeding and selection (seed wheat and coats) Moa Seed Farm Association 300					
plant breeding and selection (seed wheat and oats) 500			International Institute of Refrigeration	160	
Moa Seed Farm Association		22	plant breeding and selection (seed wheat and	****	
Part-cost of bridge over Donnelly's Creek Railage on body of Campbell Perkins, formerly employed at Waimaunga Experimental Farm 30		99		. 1	
Railage on body of Campbell Perkins, formerly employed at Waimaunga Experimental Farm 30		1			
employed at Waimaunga Experimental Farm 30 Railage on fodder for starving dairy-stock in South Canterbury and North Otago 350			Railage on body of Campbell Perkins, formerly	10	
Railage on fodder for starving dairy-stock in South Canterbury and North Otago			employed at Waimaunga Experimental Farm	30	
Railway Department for carriage of lime for bona fide farmers		26	Railage on fodder for starving dairy-stock in South	350	
Relief for sheep-owners in Otago whose sheep have been frozen in		27			
have been frozen in		ဂပ		20,000	
Repairs to road between Ross and Ross Lime Works		20		350	
Stratford model dairy farm and experimental area 600		29	Repairs to road between Ross and Ross Lime		
Waimate West Experimental Farm 100		30	1	1	
Laboratory (chemical)					
Lime production: Development of				450	
Postage, telegrams, and rent of boxes 6,000 Preparation and distribution of publications 4,000 Printing and stationery 3,000 Promotion of sale of New Zealand produce in outside markets 350 Purchase of— Books, newspapers, and other publications 400 Stud stock, including expenses of importation 1,000 Rents of Offices in New Zealand and abroad 5,500 Subsidy: Chatham Islands steamer-service (partly recoverable) 500					
Preparation and distribution of publications 4,000 Printing and stationery 3,000 Promotion of sale of New Zealand produce in outside markets 350 Purchase of— Books, newspapers, and other publications 400 Stud stock, including expenses of importation 1,000 Rents of Offices in New Zealand and abroad 5,500 Subsidy: Chatham Islands steamer-service (partly recoverable) 500					
Printing and stationery					
Promotion of sale of New Zealand produce in outside markets			Printing and stationery		
markets			Promotion of sale of New Zealand produce in outside	3,000	
Books, newspapers, and other publications 400 40 Stud stock, including expenses of importation 1,000 41 Rents of Offices in New Zealand and abroad 5,500 42 Subsidy: Chatham Islands steamer-service (partly recoverable) 500			markets	350	
40 Stud stock, including expenses of importation 1,000 41 Rents of Offices in New Zealand and abroad 5,500 42 Subsidy: Chatham Islands steamer-service (partly recoverable) 500		20		400	
41 Rents of Offices in New Zealand and abroad 5,500 42 Subsidy: Chatham Islands steamer-service (partly recoverable) 500			Stud stock, including expenses of importation		
recoverable) 500		41	Rents of Offices in New Zealand and abroad		
48 Telephone services (including installation extensions			recoverable)	500	
		43	Telephone services (including installation, extensions,		
maintenance, rent, and calls) 300		1.		1	
44 Temporary assistance 1,250		1			
45 Transfer and removal expenses 100 46 Travelling allowances and expenses 2,000		1	Travelling allowances and expenses		

Number of Persons.	Item.		1924–25.	_
1924-25		VOTE No. 38.—DEPARTMENT OF AGRICULTURE— continued.	6 6	_
		Subdivision No. I.—Head Office—continued.	£	
	47	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Upkeep and Improvement of Buildings and Fences on Departmental Reserves and Grounds— Wages and other expenses Contingencies, including unforeseen expenditure incidental to the Head Office items of the vote	200	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Contributions towards cost of Chatham Islands steamer service— Vote, Public Buildings £169 ,, Post and Telegraph Working-expenses 114 Department of Justice 124 £ ————————————————————————————————————	75,373	
		Publications 1,500	103,4	36
	40	Subdivision No. 11.—Live-stock Division.		
	49	Salaries— Professional Division.		
1		1 at £765 (Director) £ Class B—	765	
5 18		1 at £565 565 Class C— 3,465 6 at £490 2,940 5 at £445 2,225	2,925	
. 6		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	8,630	
		CLERICAL DIVISION.	2,525	
1	:	1 at £445	445	
2		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	655	
5		1 at £135 135 1 at £95 95	975	

Number of Persons.	Item.	VOTE No. 38.—DEPARTMENT OF AGRICULTURE—	1924	-25.
1924-25.		continued.	1	
•		Subdivision No. 11.—Live-stock Division.—continued.	£	£
	49	Salaries—continued.		
		GENERAL DIVISION.		
		4 at £485 1,940	}	
		14 at £435 6,090		
		1 at £430 430	į	
		3 at £400 1,200		
		1 at £380 380	-	
		14 at £370 5,180	!	
		1 at £357 357		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £330 0,120		
		51 at £320 16,320		
		5 at £310 1,550		
		15 at £300 4,500		
		1 at £295 295		
		17 at £290 4,930		•
		9 at £280 2,520		
		$5 \text{ at } £275 \qquad \dots \qquad 1,375 \\ 3 \text{ at } £270 \qquad \dots \qquad \dots \qquad 810$		
		2 at £265 530		
		1 at £260 260		
		10 at £255 2,550		
		2 at £250 500		
		1 at £245 245		
		11 at £240 2,640		
		1 at £235 235		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £220 1,300		
		1 at £215 215		
		1 at £200 200	1	
		1 at £185 185		
		1 at £150 150		
213		1 at £50 50	20.072	
1		1 Inspector of Manure-sterilizing	66,076 515	
252		Estimated credits-in-aid under Section 48 of the		
		Public Revenues Act, 1910 (see end of vote)—		
		Recoveries from local bodies, &c. £2,000		
		-		
			83,511	
		O G		
	50	OTHER CHARGES FOR AND INCIDENTAL TO—	750	
	90	Bicycles, motors, and repairs Destruction of Noxious Weeds—	150	
	51	Native lands	500	
	52	Other lands	500	
		Destruction of Rabbits—		
	53	Advances to Boards in terms of Sections 104-113 of	2 25 5	
		Rabbit Nuisance Act, 1908	2,000	
	54	On Crown lands (recoverable)	10,000	
	55 56	On Native lands (recoverable)	7,500	
	90	Rabbit Boards, subsidies to Wages and general working-expenses, poison-	13,000	
		mixing depots, purchase of material, &c. (recoverable)—		
	57	Trading section (recoverable)	9,000	
	58	Non-trading section (recoverable)	1,000	

Number f Persons.	Item.		1924-	-25.
924-25.		VOTE No. 38.—DEPARTMENT OF AGRICULTURE—	1	
924-20.		continued	£	£
		Subdivision No. II.—Live-stock Division—continued.		
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	59	Destruction of the kea (part recoverable)	1,200	
	60	Destruction of wild pigs: Contributions towards.	1	
		(£200 also provided under each of votes "Department of Lands and Survey" and "State Forest	į	
		Service ''	190	
	61	Diseases of Live-stock— Applying tuberculin test to cattle and disposing of		
		diseased stock	150	
	62	Expenses in connection with control of cattle-tick,	0.50	
	63	and provision for caretakers at crossing places Experiments in connection with bush-sickness and	650	
		allied troubles	100	
	64	Inoculation of calves for "black-leg"	150	
	65	Loans to cattle-dipping associations in need of financial assistance	3,000	
	66	Subsidies to cost of erection of cattle-dips	600	
	67	Experimental Farm, Mamaku: Wages and general		
		working-expenses, buildings, purchase of stock, and provision for visitors	1,000	
		Grants—	1,000	
	68	Part cost of egg-laying competitions at Auck-	000	
	69	land and Christchurch Part cost of printing Poultry Conference Report	$\frac{200}{10}$	
	70	Inspection of manure-sterilizing (Australia and	10	
		India): Labour, travelling, office, and other ex-	1 007	
	71	penses (part recoverable) Inspection of meat	$egin{array}{c c} 1,225 & \\ 750 & \\ \hline \end{array}$	
	72	Law-costs	50	
	7.9	Poultry farms—		
	73	Avonhead: Wages and general working-expenses, buildings, purchase of birds and material, and		
		provision for visitors (part recoverable)	50	
	74	Preparation of wool specimens for instructional pur-	05	
	75	poses Quarantine - stations, Auckland, Wellington, and	25	
		Lyttelton (recoverable)	1,750	
	76	Telephone services (including extensions, main-	500	
	77	tenance, rent, and calls) Temporary assistance	1,000	
	78	Transfer and removal expenses	1,500	
	79 80	Travelling allowances and expenses Veterinary Laboratory: Wages and general working-	18,000	
		expenses, land and buildings, and investigation of		
	0.1	diseases	850	
	81	Contingencies, including unforeseen expenditure incidental to the Live-stock Division items of the vote	40	
		Chantel to the live stock birthen rome or the vote		
		Estimated anadity in aid under Section 49 of the	77,240	
	!	Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—	i	
		Destruction of rabbits £10,000		
		Destruction of rabbits— Department of Lands and Survey 10,000	!	
		Native Department 7,500		
		Farm areas 900	Ì	
		Quarantine-stations 1,000 Sundry items 925		
		Sundry items 925		
		30,325		
		Total—Subdivision No. II		160,78

Number of Persons.	Item.					1924–2	25.
1924-25.	ļ	VOTE No. 38—DEPARTM	ENT OF A tinued.	AGRICUI	TURE		
		Subdivision No. III.	Horticult	ure Divis	ion.	£	£
	82	Salaries—			The state of the s		
		PROFESSION Class A—	val Divisio	N.			
1	İ	$\begin{array}{c c} & \text{Class } A - \\ & 1 \text{ at } \pounds 665 \end{array}$				665	
		Class C—	• • • ,	•••			•
1		1 at £475	•••	•••		475	
		CLERICAL	Division.				•
		Class IV—					
1		1 at £400				400	
1		Class VI— 1 at £335				335	
1		Class VII—	•••	•••	€	559	
		2 at £295			590		
•		2 at £190	•••	•••	380	j l	
5		1 at £95	• • •	•••	95	1 002	
		Comme	Division.			1,065	
		l at £415	DIVISION.		415		
		5 at £385	•••		1,925		
		1 at £380			380		
		1 at £375		•••	375		
		1 at £370 1 at £360	• • •	•••	370 360		
		1 at £350	• • •	•••	350		
		5 at £335	•••	•••	1,675		
		3 at £320	•••	•••	960		
		3 at £300	•••	•••	900		
	Ì	1 at £290 2 at £285		•••	290 570		
		2 at £280	•••	•••	560		
		3 at £275 (6 months)	•••	•••	412		
		1 at £240 `	•••	•••	240		
		1 at £213	•••	•••	213		
		1 at £197 1 at £185	•••	•••	197 185		
35		1 at £175	•••	•••	175		
		1 40 2110	•••	•••		10,552	
44]_		
					-	13,492	
		0					
		OTHER CHARGES FOR AND Apiary Industry—	INCIDENTA	L TO			
	83	Purchase of beekeep	oing requis	ites, mat	erial for		
		experiments, &c.	• • •		•••	60	
	84	Subsidy, National Be		ssociation	of New	100	
	85	Zealand (£1 for £1) Bicycles motors and r		•••	•••	$100 \\ 1,000$	
	00	Bicycles, motors, and r Fruit Industry—	obanta	***	····	1,000	
	86	Collection of orchard	tax (recove	rable)		250	
	87	Control of fireblight of	lisease			1,000	
	88	Co-operative fruit-tes	ting areas			50	
	89	Cutting out of abando				100	
	90	Experimental orchard Fumigation and destr	u, rapanui i	(part reco	veracte)	$\begin{bmatrix} 150 \\ 200 \end{bmatrix}$	
	91	Grant to Institute of			11t	150	
	93	Guarantee on shipmer				10,000	
	94	Purchase of orchard	l requisites	, fruit for	experi-		
	1	ments, &c.	*	•••	*	100	

Number f Persons.	Item.				1924 -	25.
nor of		VOTE No. 38—DEPARTMI		ULTURE-	·	
924–25.	İ	conti	nued.		£	£
		Subdivision No. 111.—Ho	rticu'ture Divisi	on—contd.	£	æ
	95	OTHER CHARGES FOR AND		-continued.		
	95	Horticultural Station, Te Rent of land, wages a	Kauwhata—			
		ing-expenses, buildi	ng general work- ngs, purchase of			
		stock, provision for				
		salaries of learners, sp				
		and domestic assista Contribution to What			•	
		Board towards the				
		Orchard Road		40		
	0.0	-			4,040	
	96	Law-costs	7:		30	
	91	Telephone services (inclumaintenance, rent, and		extensions,	75	
	98	Temporary assistance	· · · · · · · · · · · · · · · · · · ·	6	2,700	
	99	Transfer and removal ex	penses		500	
	100	Travelling allowances an	d expenses		5,500	
	101	Contingencies, including cidental to the Hortic	untoreseen expe	enditure in-		
		vote		tems of the	25	
•						
		73		40 6.1	26,030	
		Estimated credits-in	-aid under Sections Act, 1910 (see er		İ	
		Collection of orch		£500		
		Farm areas		4,000		
		Fumigation and de				
		Guarantee on ship	ments of fruit	3,000		
				7,575		
		${\it Total}$ —Subdivis	ion No. III		•	39,52
		Subdivision No. IV	—Dairy Divisio	n.		
	102	Salaries—				
		Profession	L Division.		•	
1		1 at £765 (Director) Class B—	•	•••	765	
1		1 at £565			. 565	
		CLERICAL	Division.		•	
1	:	Class IV— 1 at £400			400	
•		Class VI—	•••	•••	100	
2		2 at £320			640	
		Class VII—		£ 1 100		
		4 at £295 1 at £275	***	$\begin{array}{c c} 1,180 \\ 275 \end{array}$		
		2 at £250		500		
		1 at £230		230		
		1 at £190		190	*	
		1 at £155		155	1	
		1 at £125		$\begin{array}{c c}125\\95\end{array}$		
		1 8.6 6.941				
13		1 at £95 1 at £80	•••	80		

${\bf DEPARTMENT} \ \ {\bf OF} \ \ {\bf AGRICULTURE} - continued.$

of Persons.	Item.					1924-	25.
924–25.	ļ	VOTE No. 38.—DEPARTMI					
324-20.		contin	nuea.			£	£
		Subdivision No. IV.—Dairy Division—continued.					
	102	Salaries—continued.					
		General	Division.				
					£		
		1 at £729 (in London)		•••	729		
		14 at £495	•••	• • •	6,930		
	1	1 at £480 3 at £470	• • •	•••	480		
	1	6 at £460	• • •	•••	$\begin{bmatrix} 1,410 \\ 2,760 \end{bmatrix}$		
		1 at £440		• • •	440		
		6 at £430	•••		2,580		
	1	5 at £370			1,850		
		7 at £320	•••	•••	2,240		
		9 at £295		,	2,655		
54		1 at £175			175		
=0	-					22,249	
7 2		T3 (1) 3 11 (1		a	10 (1)		
a of the second contract and on the		Estimated credits-in					
		Public Revenues					
		Recoveries from d panies, &c.	arry-ractor	y com-	$\frac{\mathfrak{L}}{1,300}$		
		paines, we.	•••	•••	1,500		•
						27,449	
	100	Other Charges for and in		то—			
	103	Bicycles, motors, and rep	pairs	1 \	•••	3,500	
	$\frac{104}{105}$	Cow-testing Associations	(recoverat	ole)	•••	400	
	100	Dairy Research Laborate Grading of dairy-produce		ment, &c	• • • •	1,500	
	106	Wages and other expe		rerable)		500	
	107	Law-costs	11505 (1000)	010010)		50	
	108	Loan to assist in startin	g dairving	at the	Chatham		
		Islands	• • • • •	•••		800	
	109	Payment of fees for semi	-official te	sting of	purebred		
		dairy cows in Nelson I	District (re	coverable	·	120	
	110	Purchase of dairy requisi	tes and pi	oduce for	experi-		
	9 9 9	ments (recoverable)		,	•••	300	
	111	Semi-official testing of	or pure-bi	red dair	-	F00	
	112	(recoverable) Telephone services (inc	aludina in	etallation	ovten	500	
						50	
	112	gione maintananca voi			• • •	10,058	
		sions, maintenance, res			1		
·	113 114	Temporary assistance (pa	art recover:	able)	•••		
	113	Temporary assistance (pa Transfer and removal ex	art recover penses	able) 		250	
	113 114	Temporary assistance (pa Transfer and removal exp Travelling allowances an Contingencies, including	art recover: penses d expenses unforeseen	able) expendit	ure inci-		
	113 114 115	Temporary assistance (pa Transfer and removal ex Travelling allowances an	art recover: penses d expenses unforeseen	able) expendit	ure inci-	250	
•	113 114 115	Temporary assistance (pa Transfer and removal exp Travelling allowances an Contingencies, including	art recover: penses d expenses unforeseen	able) expendit	ure inci-	10,000 15	
•	113 114 115	Temporary assistance (pa Transfer and removal exp Travelling allowances an Contingencies, including dental to the Dairy Di	art recover: penses d expenses unforeseen vision iten	able) expendit	vote	10,000 10,000	
	113 114 115	Temporary assistance (pa Transfer and removal exp Travelling allowances an Contingencies, including dental to the Dairy Di	art recover: penses d expenses unforeseen vision iten -aid under	able) expendit ns of the	vote	10,000 15	
	113 114 115	Temporary assistance (pa Transfer and removal exp Travelling allowances an Contingencies, including dental to the Dairy Di Estimated credits-in Public Revenues	art recovers penses d expenses unforeseen vision iten -aid under s Act, 1910	able) expendit ns of the	vote 48 of the of vote)—	10,000 15	
	113 114 115	Temporary assistance (pa Transfer and removal exp Travelling allowances an Contingencies, including dental to the Dairy Di Estimated credits-in Public Revenues Cow-testing	art recovers penses d expenses unforeseen vision iten -aid under s Act, 1910 	able) expendit ns of the	wote 48 of the of vote)— £1,750	10,000 15	
	113 114 115	Temporary assistance (pa Transfer and removal exp Travelling allowances an Contingencies, including dental to the Dairy Di Estimated credits-in Public Revenues Cow-testing Dairy instruction,	art recovers penses d expenses unforeseen vision iten -aid under s Act, 1910 &c.	able) expendit ns of the	wote 48 of the of vote)— £1,750 3,500	10,000 15	
	113 114 115	Temporary assistance (pa Transfer and removal exp Travelling allowances an Contingencies, including dental to the Dairy Di Estimated credits-in Public Revenues Cow-testing	art recovers penses d expenses unforeseen vision iten -aid under s Act, 1910 &c. ding	expenditions of the	wote 48 of the of vote)— £1,750	10,000 15	
	113 114 115	Temporary assistance (pa Transfer and removal exp Travelling allowances an Contingencies, including dental to the Dairy Di Estimated credits-in Public Revenues Cow-testing Dairy instruction, Dairy-produce gra	art recovers penses d expenses unforeseen vision iten -aid under s Act, 1910 &c. ding	expenditions of the	48 of the of vote)— \$1,750 3,500 13,000 6,000	10,000 15	
	113 114 115	Temporary assistance (pa Transfer and removal exp Travelling allowances an Contingencies, including dental to the Dairy Di Estimated credits-in Public Revenues Cow-testing Dairy instruction, Dairy-produce gra	art recovers penses d expenses unforeseen vision iten -aid under s Act, 1910 &c. ding	expenditions of the	wote 48 of the of vote)— £1,750 3,500 13,000	10,000 15	

${\tt DEPARTMENT\ OF\ AGRICULTURE} - continued.$

f Persons.	Item.						1924–25.	
924-25.	-	VOTE No. 38—DI			GRICUL	rure—		
1924-20.			cont	inued.			£	£
		Subdivis	ion No. 1	7.—Fields 1	Division.		Σ.	
	117	Salaries				•		
		DALIANTES						
			ROFESSION	AL DIVISION	τ.			
1		Class A—					 	
1		1 at £715 (D	(irector	• • •	•••		715	
		Class C— 1 at £490				£ 490	į	
		1 at £475		•••	• • •	475		
6		4 at £470		•••	•••	1,880		
		Class D —		•••	•••	1,000	2.845	
		3 at £400				1,200	-,010	
	1	1 at £380		•••		380		
		2 at £355				710		
		1 at £335				335	į	
8		1 at £330				330		
٠.		Class E-					2,955	
5		5 at £320		•••			1,600	
1		Class F —					010	
. 1		1 at £210		•••	•••	••	210	
			CLERICAL	Division.				
		Class V-	OBBRIOAL	· ANTHEORY				
1		1 at £355					355	
		Class VII—						
		1 at £295				295		
2	i	1 at £91			•••	91		
			C	Division.			386	
		1 at £485	GENERAL	DIVISION.		485		
		1 at £460		• • •	•••	460		
		2 at £375			•••	750		
		2 at £370			•••	740		
		1 at £335				335		
		1 at £295		•••		295	ĺ	
		1 at £235				235		
10		1 at £ 145		•••		145	0	
							3,445	.*
2/								
34	_						$-12.511 \perp$	
	-						$\frac{12,511}{}$	•
34		Other Charges			, TO	_		٠
	118	Agricultural in	struction	generally	TO		$\frac{12,511}{2,500}$	
34		Agricultural in Agricultural in	struction	generally		••••	2,500	
34	119	Agricultural in Agricultural in Blackberry	struction vestigation	generally on— 			2,500	
	119 120	Agricultural in Agricultural in Blackberry Injurious ins	struction vestigation sects	generally on — 	•••		2,500 300 200	
34	119 120 121	Agricultural in Agricultural in Blackberry Injurious ins Co-operative fi	struction vestigation sects eld exper	generally on— iments			2,500 300 200 1,000	
	119 120 121 122	Agricultural in Agricultural in Blackberry Injurious ins Co-operative fi Bicycles, moto	struction vestigation sects eld exper rs, and re	generally on— iments epairs	•••		2,500 300 200 1,000 300	
34	119 120 121 122 123	Agricultural in Agricultural in Blackberry Injurious ins Co-operative fi Bicycles, moto Biological Lab	struction vestigation sects eld exper rs, and re oratory a	generally on— iments epairs and Seed-test	 ing Statio	 n	2,500 300 200 1,000	
	119 120 121 122	Agricultural in Agricultural in Blackberry Injurious ins Co-operative fi Bicycles, moto Biological Lab Experiments	struction vestigation sects eld exper rs, and re oratory a and inve	generally n— iments epairs nd Seed-test estigations	 ing Statio into metl	 n aods of	2,500 300 200 1,000 300	
	119 120 121 122 123	Agricultural in Agricultural in Blackberry Injurious ins Co-operative fi Bicycles, moto Biological Lab	struction vestigation sects eld exper rs, and re oratory a and investion	generally n— iments epairs nd Seed-test estigations in of North I	 ing Statio into metl sland gra	 n aods of	2,500 300 200 1,000 300	
	119 120 121 122 123 124	Agricultural in Agricultural in Blackberry Injurious ins Co-operative fi Bicycles, moto Biological Lab Experiments arresting det which are re	struction vestigation sects eld exper rs, and re- oratory a and inve- serioration verting to	generally n— iments epairs nd Seed-test estigations in of North I	 ing Statio into metl sland gra	n aods of	2,500 300 200 1,000 300 800 1,000	
	119 120 121 122 123 124	Agricultural in Agricultural in Blackberry Injurious ins Co-operative fi Bicycles, moto Biological Lab Experiments arresting det which are re Experimental a	struction vestigation sects eld exper rs, and re- oratory a and inve- serioration verting to	generally n— iments epairs nd Seed-test estigations in of North I	 ing Statio into metl sland gra	n aods of	2,500 300 200 1,000 300 800 1,000	
	119 120 121 122 123 124	Agricultural in Agricultural in Blackberry Injurious ins Co-operative fi Bicycles, moto Biological Lab Experiments arresting det which are re Experimental a Albany Ashburton	struction vestigation sects eld exper rs, and re oratory a and investigation verting to areas—	generally n— iments epairs nd Seed-test estigations in of North I	 ing Statio into metl sland gra	n nods of	2,500 300 200 1,000 300 800 1,000 1,000 1,000	
	119 120 121 122 123 124 125 126 127	Agricultural in Agricultural in Blackberry Injurious ins Co-operative fi Bicycles, moto Biological Lab Experiments arresting det which are re Experimental a Albany Ashburton Galloway	struction vestigation sects eld exper rs, and re oratory a and investion verting to areas—	generally n— iments epairs nd Seed-test estigations n of North I	 ing Statio into metl sland gra	n nods of	2,500 300 200 1,000 300 800 1,000 1,000 1,100 1,200	
	119 120 121 122 123 124 125 126 127 128	Agricultural in Agricultural in Blackberry Injurious ins Co-operative fi Bicycles, moto Biological Lab Experiments arresting det which are re Experimental a Albany Ashburton Galloway Gore	struction vestigation sects eld exper rs, and re oratory a and investion verting to areas—	generally on— iments spairs nd Seed-test estigations of North I o native-plan	 ing Statio into metl sland gra	n nods of	2,500 300 200 1,000 300 800 1,000 1,000 1,100 1,200 400	
	119 120 121 122 123 124 125 126 127 128 129	Agricultural in Agricultural in Blackberry Injurious ins Co-operative fi Bicycles, moto Biological Lab Experiments arresting det which are re Experimental a Albany Ashburton Galloway Gore Marton (par	struction vestigation sects eld exper rs, and re oratory a and investion verting to areas— t recovers	generally iments epairs nd Seed-test estigations n of North I o native-plan	ing Statio into metl sland grant t growth	n nods of ss areas	2,500 300 200 1,000 300 800 1,000 1,000 1,100 1,200 400 500	
34	119 120 121 122 123 124 125 126 127 128 129 130	Agricultural in Agricultural in Blackberry Injurious ins Co-operative fi Bicycles, moto Biological Lab Experiments arresting det which are re Experimental a Albany Ashburton Galloway Gore Marton (par Puwera	struction vestigation sects eld exper rs, and re oratory a and inve- erioration verting to areas— t recovers	generally iments epairs nd Seed-test estigations n of North I o native-plan	ing Statio into metl sland grant t growth	n nods of ss areas	2,500 300 200 1,000 300 800 1,000 1,000 1,000 400 500 1,000	
	119 120 121 122 123 124 125 126 127 128 129	Agricultural in Agricultural in Blackberry Injurious ins Co-operative fi Bicycles, moto Biological Lab Experiments arresting det which are re Experimental a Albany Ashburton Galloway Gore Marton (par	struction vestigation sects eld exper rs, and re oratory a and invertior verting to areas— t recovera	generally iments spairs nd Seed-test estigations in of North I o native-plan bble)	ing Statio into metl sland gra t growth	n nods of ss areas	2,500 300 200 1,000 300 800 1,000 1,000 1,100 1,200 400 500	

DEPARTMENT OF AGRICULTURE -continued.

Number of Persons.	Item.	VOTE No. 38.—DEPARTMENT OF AGRICULTUI —continued.	RE	1924-	-25.
1924–25.		Subdivision No. V.—Fields Division—continued.	-	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued Grant to—			
	134	J. G. Myers, Entomological Correspondent	in		
		United States		125	
	135	Inspection of pure-seed crops New Zealand hemp industry—		100	
	136	Grading New Zealand hemp		50	
	137	Investigations respecting yellow-leaf disease in fla	ı.x	200	
	138	Law-costs		20	
	139	Plant-breeding	•••	100	
	140	Regrassing deteriorated hill country	•••	300	
	141	(1)	•••	25	
	142	Storage of agricultural seeds Sugar-beet industry: Procuring information	in	20	
	1-1-	America		250	
	143			200	
	(40	Telephone services (including installations, extensio	ns,	0.5	
	144	maintenance, rent, and calls)	•••	25	
	144	Temporary assistance	•••	1,000	
		Transfer and removal expenses	•••	200	
	146	Travelling allowances and expenses	• • • •	6,000	
	147	Treatment of field-crop diseases	•••	100	
	148	Contingencies	•••	15	
				19,760	
		Estimated credits-in-aid under Section 48 of a Public Revenues Act, 1910 (see end of vote			
		Farm areas \dots £1.5			
	1	t e e e e e e e e e e e e e e e e e e e	00		
			800		
		Deed-resuing		-	
		3,0	000		
		Total—Subaivision No. V			32,271
•		GROSS TOTAL			391,472
		Chapping the ATD (4)			88,357
		Credits-in-aid (a)	•••	•••	
		NET TOTAL—VOTE No. 38			303,115

(a) Credits-in-aid-

				Ct 1 .	Other	19 24–2 5.		
				Salaries. £	$\begin{array}{c} \text{Charges.} \\ \mathbf{\pounds} \end{array}$	Total.		
Subdivision		n I		1,000	18,907	19,907		
	,,	Π		2,000	30,325	32,325		
, ,,	,,	III		• •	7,575	7,575		
	,,	IV		1,300	24,250	25,550		
	,,	V	• •	• •	3,000	3,000		
	Totals			4,300	84,057	88,357		

DEPARTMENT OF TOURIST AND HEALTH RESORTS.

		<u></u>	_				19	924-25:	
						Salaries.	Oth	er Charges.	Total.
Vote No.	39. –	-Department	of Tot	rist and	Health	£		£	£
G	Ross T	Resorts—				32,0	005	36,684	68,689
							103	50	153
C	REDITS	-IN-AID	• •	• •	• • •				
N	ET TO	TAL		••		31,9	902	36,634	68,536
Number of Persons.	Item.	NOTE N						192	4–25.
1924-25.		VOTE 1		DEPART HEALTH			RIST		
	1	*Salaries-						£	£
				NISTRATIVI	e Dryrgi) N			
		1 050				J.11.		705	
1	-	1 at £76	ið (Gener	al Manage	r)	•••	•••	765	
			Pro	FESSIONAL	Division	N.			k.
1	_	1 at £1,0	001 (Balı	reologist)	•••	. •••		1,001	
		Class B							
1		1 at £	515		•••	•••	•••	515	
	'	Class I–		LERICAL D	ivision.				
1	L	1 at	£365 (al	so Depar	tment o	f Industr	ies and		
		Con	nmerce,	£300)	•••	•••	•••	365	
		Class II					£		
3	3	2 at £ 1 at		so Depar	 tment c	 of In-	940		
		dus	tries and	l Commer					
		Cus	stoms, £5	(0)		•••	320	1,260	
		Class V						1,200	
		2 at £	380		• • •		760		
5	5	3 at £ Class V.			•••	•••	1,065	1 005	
2	3	$2 \text{ at } \pounds$				•••		1,825	
-	-	Class V.			•••	•••			
		5 at £			•••	•••	1,475		
		1 at £			• • •	•••	275		
		1 at £ 1 at £			•••	•••	250 230		
		1 at £				•••	$\frac{250}{210}$;
		1 at £	190			•••	190		
		4 at £				•••	620		
19	, l	4 at £ 1 at £			•••	•••	380 80		
15	'	1 200 2	200		•••	•••		3,710	
		Cadets'	lodging-a	llowances		•••		165	1

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

DEPARTMENT OF TOURIST AND HEALTH RESORTS—continued.

Number of Persons.	Item.					1924–	25 .
924–25.	- <u> </u> 	VOTE No. 39.—DEPARTMI			ST AND		
		HEALTH RESOF	RTS—conti	nued.		£	£
	1	Salaries—continued.					
		Genera	L Division	٧.	£		
		1 at £400	•••		400		
		1 at £370			370		
	l k	1 at £335			335		
		3 at £330		• • •	990	į	
		1 at £325	***		325		
	!	2 at £310 1 at £300	• • •	• • • •	$\begin{bmatrix} 620 \\ 300 \end{bmatrix}$		
		1 at £280	• • •	• • •	280		
	i	3 at £270	•••		810		
		1 at £265			265		
		6 at £252	•••	•••	1,512		
		4 at £250			1,000		
		3 at £244			732		
		4 at £240	•••	•••	960		
		1 at £236	•••	• • •	236		
		7 at £230	•••	• • •	1,610	į	
		1 at £229	• • •	•••	229		
•		1 at £225 1 at £221		• • •	$\begin{array}{c c} 225 \\ 221 \end{array}$		
		9 at £220	• • •	•••	1,980		
•		8 at £213	•••		1,704		,
		4 at £210	•••		840		
	1	3 at £205			615		
		3 at £190	•••		570		
		1 at £189	•••		189		
		4 at £185			740		
		1 at £175	•••		175		
		3 at £150	•••	• • •	450		
		1 at £140		•••	140		
		4 at £135	•••	•••	540		
		7 at £130	•••	• • •	910		
		1 at £125 5 at £105	•••	•••	$\begin{array}{c c} 125 \\ 525 \\ \end{array}$		
		1 at £100	•••	•••	100		
		1 at £95	•••	•••	95	•	
101		2 at £75			150		
						21,268	
		Unclass	IFIED.				
		CLERICAL I	Division.		£		
		1 at £223		:	223		
		1 at £100 (also Departmen	it of Indus	tries	100		
0		and Commerce, £100)	•••	•••	100		
3		1 at £25	•••	•••	25	348	
		GENERAL I	ivision.			346	
	1 1	1 at £234			234	1	
		1 at £205		•••	205		
		1 at £160		,	160		
4		1 at £65			65		
	-	131				664	
141	-	Allowance to officers tem or higher duties	porarily pe 	rformin	g special	50	
		Taga			-		
		Less—	heard o		£	32,486	
	'	Amounts deducted for	poard, &c.		130		
		Salaries provided but quired	и пот now		951		
		quirea	•••	•••	351	481	
					-	#01	
					,	32,005	

DEPARTMENT OF TOURIST AND HEALTH RESORTS—continued.

Number of Persons.	Item.		1924-	-25.
1924-25.	 	VOTE No. 39—DEPARTMENT OF TOURIST AND HEALTH RESORTS—continued.		
		0 0	£	£
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and		
			4,100	
	3	Bonuses and commissions to Honorary Agents	42	
	$\overline{4}$	Claims in connection with passenger booking	$\overline{5}$	
	5	Entertaining-allowances for oversea agents (2)	140	
	6	Fox and Franz Josef Glaciers: Tracks and huts	100	
	7	Freight, cartage, and transport charges	30	
	8	Fuel, light, power, and water	100	
	9	Glade House and Te Anau-Wakatipu-Milford Track-		
		Maintenance, including furniture and repairs	2,400	
	10	Grant to P. Graham for removal of furniture and		
		effects (Hermitage to Waiho Gorge)	133	
		Lakes Te Anau and Manapouri—		
	11	Maintenance of steamers and jetties, including		
	1 10	repairs	100	
	12	Maintenance of hostels, baths, or reserves at Little		
		Barrier Island, Waiotapu, Te Puia, Tokaanu,		
		Morere, Tarawera, Pukaki, and Te Anau, and	500	
	13	reserves vested in Department Misappropriation of moneys: Christchurch Bureau	201	
	14	O CC	230	
	15	0.00	270	
	16	Oncording and most allowers	50	
	17	Postage, telegrams, and rent of boxes	500	
	18	Printing and stationery	650	
	19	Purchase of material, &c., in Australia for Govern-	, 000	
		ment Departments, to establish a credit for (re-		
		coverable)	50	
		Queenstown Reserves—		
	. 20	Maintenance, improvements, music, &c	150	
	21	Rents of offices	2,117	
		Rotorua Acclimatization District—		
	22	Maintenance, including bonuses to honorary		
		rangers	600	
	00	Rotorua Baths—	4 000	
	23	Maintenance, including furniture and repairs	4,000	
	24	Rotorua Sanatorium—		
	24	Maintenance, including wines, spirits, furniture,	9 400	
	-	supplies, and repairs Rotorua Works, including Whakarewarewa—	3,400	
		Maintenance of—		
	25	Electric light and power system	1,800	
	26	Reserves, gardens, parks, and bands or orchestra	900	
	27	Rotorua: Purchase of stores	5	
	28	Water-supply and sewerage	4,000	
	29	Wharves and beacons	25	
		Subsidies—		
	30	Accommodation House-Makarora	25	
		Coach, motor, and steamer services—		
	31	Fairlie-Pukaki-Hermitage-Queenstown	790	
	32	Lake Wanaka	30	
	33	Lumsden-Te Anau	150	
	34	Waimarino-Tokaanu	200	
	35	Wairoa-Waikaremoana	200	
	36	Ross-Waiho Gorge-Weheka	250	
	37	Te Anau-Glade House	26	
	90	Te Aroha Hot Springs— Maintenance of boths gardens music furnitume	!	
	38	Maintenance of baths, gardens, music, furniture,	1 100	
	39	and repairs Telephone services (including installation, extensions,	1,100	
	00		385	
	40	Towns and were a print and a	430	
	41	Transfer and removal expenses	150	

DEPARTMENT OF TOURIST AND HEALTH RESORTS—continued.

A7 b			-	
Number of Persons.	Item.		1924	-25.
1924–25.	- 	VOTE No. 39.—DEPARTMENT OF TOURIST AND HEALTH RESORTS—continued. Other Charges for and incidental to—continued.	£	£
	42 43	Travelling allowances and expenses Typewriters: Purchase and repairs Waikaremoana—	400 50	
	44	Maintenance of Lake House	1,500	
	45	Values of stores taken over from late lessees o Lake House Waimangu Round-trips and Hostel—	f 250	
	46	Maintenance and repairs, hostel, furniture, boat shed, boats, and tracks Waitomo Caves and Hostel—	COO	
	T1	Maintenance, including furniture and repairs	3,500	
	48	Contingencies, including unforeseen expenditure in cidental to the other items of the vote		
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—Salaries of officers performing Postoffice duties 28 Officer performing duty for Customs Department 50 Purchase of material, &c., in Australia for Government Depart		
	N - 1	ments 50 Officer performing duty for Internal Affairs Department 25		·
		153		
		Gross Total	36,684	68,68
		Credits-in-aid		15
		NET TOTAL—VOTE No. 39		68,53

DEPARTMENT OF EDUCATION.

						192	24–25.	Ę.
					Salaries.	Other	Charges.	Total.
Vote No. 40	.—Departmen	t of Education			£		£	£
Subdivision	n I.—Head O	ffi c e	• •		27,049		3,300	30,349
	EDUCATIO	NAL AGENCIES.						
Subdivisio	n IIElemen	tary Education			35,052	1,9	92,120	2,027,17
,,	III.—Secondo		••		1,456	2	42,990	244,44
"	IV. Higher V — Techni	cal Education	••	• •	 0 eo1		$14,120 \\ 49,540$	14,126 $152,16$
"		ng of Teachers	• •	:	2,621		76,460	176,46
,,	VII. Native	Schools			58,730	ł	11,840	70,57
,,	VIII.—School	b u ildings, fu r ni	ture, and	sites	•••	1	75,910	175,91
	DUVCIO	AL AGENCIES.			97,859	2,7	62,980	2,860,83
Subdi vis io	n IX.—Physic		• •		4,865		3,710	8,576
	SOCIAI Special S	AGENCIES.						
Subdivisio		ion of the Blind			•••		610	610
,,	XISchool		• •		6,052		2,545	8,59
,,		s for the Feeble-	minded		6,425		5,690	12,11
,,	XIII.—Child	W elf ar e	••	••	22,452		98,980	121,43.
				-	34,929	1	07,825	142,75
"	XIV.—Materi XV.—Miscell	al a nd Stores laneous Ser v ices		••		Cr.	3,600 50,115	Cr. 3,606 50,118
					•••		46,515	46,51
GR	OSS TOTAL	• •	٠,		164,702	2,9	24,330	3,089,03
Cri	EDITS-IN-AID	••	••	• •	900	2	31,885	232,78
NE	T TOTAL	••	• •	••	163,802	2,6	692,445	2,856,247
Number of Persons.	Item.	No. 40.—DEI	PA RTM F	NT OF	EDUCATIO)N	1924	1–25.
1924–25.							£	£
		Subdivision	110. 1	-neaa C	χμce.		<i>3</i> 5	35
	1 *SALARI	ES-						
		Adminis	BTRATIVE	Division	N.	£		1
$_2$		£1,138 (Direct £950 (Assistant				138 950		
		рровы	SSIONAL]	Отитатом			2,088	
	Clas	s A—	POTOWN .	LIVIDIUN.	•			
		at £715 (Gener		sional O	fficer			
2		and Inspector) at £615 (Archit		•••	••	715		
4	1 1	MINDIU (UICHII	10001		• • •	615 +		

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

^{24—}B. 7.

${\tt DEPARTMENT\ OF\ EDUCATION--} continued.$

Number f Persons.	Item.					1924-	25 .
924-25.	-{ -	VOTE No. 40.—DEI	PARTMENT OF continued.	F EDUCA	TION—		
		Subdivision No.	I.—Head Office	e—continu	ied.	£	£
	1	SALARIES—continued					
		CLE	RICAL DIVISION.			t	
		Class Special—			£		
0		1 at £715	•••	• • •	715		
2	İ	1 at £665	•••	•••	665	1 990	
1	1	Class~I— 1 at £565	•••			1,380 565	
		Class II—					
1		1 at £515	•••	•••	•••	515	
		Class III— 1 at £470			470		
2	1	1 at £445	•••	•••	445		
		Class IV—				915	
3		1 at £425	•••	•••	425		
3		2 at £400 Class V—	•••	•••	800	1,225	
		4 at £380	•••	•••	1,520	1,220	
6	1	2 at £355	•••	•••	710		
		Class VI—			0.010	2,230	
11		6 at £335 5 at £320	•••	• • •	2,010 1,600		
	i	Class VII—	•••	•••		3,610	
	ŀ	8 at £295	•••		2,360	,	
	į	1 at £250	•••	•••	250		
		4 at £230 6 at £210	•••	• •	$\begin{array}{c} 920 \\ 1,260 \end{array}$		
	1	4 at £190	•••	•••	760		
		1 at £165	•••		165		
		5 at £155	•••	•••	775	1	
	!	6 at £135 8 at £115	•••	•••	810 920		
		6 at £95	•••	•••	570		
51		2 at £80			160		
		Cadets' lodging-al	lowances	•••		9,235	
		GE	NERAL DIVISION				
	!	1 at £320	• • •		320		
		1 at £295	•••	•••	295		
		1 at £285 1 at £270	•••		$egin{array}{c} 285 \ 270 \ \end{array}$		
		2 at £255	•••	•••	510		
		1 at £215	•••		215		
		2 at £205 6 at £185		•••	410		
		1 at £161	•••	•••	$egin{array}{c c} 1,110 & \\ 161 & \\ \end{array}$		
18	;	2 at £140	•••		280		
99	-					3,856	
	-		Unclassified.		ļ		
		Special allowance formed	s to omcers 101	r extra di	uties per-	100	
					-	27,049	
		OTHER CHARGES FO	R AND INCIDENT	AL TO-			
	1 0	Advertising, phot			pers. and		
	2	ria (Cronning, prior	ograpiio, books				
		other publicatio	ns	,	•••	120	
	3 4	other publicatio Overtime and mea Telephone services	ons al allowances			120 150	

Number of Persons.	Item.	VOTE No. 40.—DEPARTMENT OF EDUCATION—	1924-	-25.
1924-25.		continued.	£	£
		Subdivision No I.—Head Office—continued.	.	æ
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.	1 500	
	5 6	Temporary assistance Travelling allowances and expenses	1,500 1,100	
	7	Contingencies, including unforeseen expenditure inci-	1,100	
		dental to the other items of this subdivision	30	
	;	Estimated credits-in-aid under Section 48 of the	:	
		Public Revenues Act, 1910 (see end of vote)—	Ì	
		Teachers' Superannuation Fund:		
		Payment for services rendered 900		
	i		3,300	
	:	Total-Subdivision No. I		30,34
		Subdivision No. II.—Elementary Education.	ļ	
	8	Salaries—		,
		PROFESSIONAL DIVISION.		
1	,	1 at £791 (Chief Inspector)	791	
		Class A—		
		7 at £715 $5,005$!	
	:	4 at £715 (9 months, approx.) 2,145		
		34 at £665 22,610 2 at £665 (3 months, approx.) 326		
49	<u> </u>	2 at £615 (9 months, approx.) 920	İ	
	; j	Class C—	31,006	
1		1 at £460 (Editor, School Journal) $Class D$ —	460	
1		1 at £345 (Sub-editor, School Journal)	345	
		Education Division.		
		Teachers of Correspondence Classes—		
		1 at £460 460		
		1 at £345 345		
	,	$egin{array}{llllllllllllllllllllllllllllllllllll$		
5		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
	<u> </u>		1,450	
57		Temporary Inspectors	1,000	
		Charges for and incidental to—	35,052	
	9	Conveyance of school-children, instructors, and		
		teachers, and allowances for board of children		
		who have to live away from home to attend school	45,000	
	10	Correspondence classes	250	
	11	Education Gazette (part recoverable)	600	
	12	Fares of pupils attending Standard VI examination Grants to Education Boards for the following pur-	50	
	19	poses:— Canaral Administrative Purposes: Capitation on		
	13	General Administrative Purposes: Capitation on average attendance and £750 to each Board	39,000	
	14	Incidental expenses of School Committees (clean-	55,000	
		ing, disinfecting, &c.)	102,500	
	15	Inspection: Extra clerical assistance, typing, &c.	400	
	16	Teachers' Salaries: Including pupil-teachers' and		
		probationers' allowances, and salaries of super-	1,693,000	
	17	numary teachers	1,000,000	
	-	material	78,000	
	18	Office requisites, rent, telephones, cleaning, firing,		

Number of Persons.	Iten.	VOTE No. 40.—DEPARTMENT OF EDUCATION— continued.	1924	-25.
1924–25.		Subdivision No. II.—Elementary Education—continued.	£	£
	19 20 21	CHARGES FOR AND INCIDENTAL TO—continued. Organizing teachers: Salaries and travelling allowances and expenses Removal of teachers School and class libraries: Capitation and grants for supply of books in necessitous cases, and in	10,000 1,000	
	22	cases where newly-entered pupils elsewhere have already purchased class-books different from those in use in the school School Journal: Printing, material, apparatus, con-	2,360	
	23 24 25	tributors' fees, postages, &c Travelling expenses and allowances of Inspectors, &c. Transfer and removal expenses Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	8,000 11,000 750	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Credits under Sections 263 and 264 of the Land Act, 1908 (£53,000), (National Endowment Revenue), and the Education Reserves £ Amendment Act, 1914 (£100,000) 153,000 Sale of School Journals and Education Gazette, &c., and fees for special examination 900		
		153,900	1,992,120	2,027,17
	26	Subdivision No. III.—Secondary Education. SALARIES—	,	
-1	1	Professional Division. 1 at £791	791	
1		Class A— 1 at £665	665	
2	-		1,456	
	27 28	OTHER CHARGES FOR AND INCIDENTAL TO— Conveyance and board of pupils District High Schools: Grants for salaries of	8,000	
٠	29 30 31	secondary teachers Hutt High School Board: Payment of accumulated rents from High School site Manual Instruction: Capitation, salaries, and material Secondary Schools and Colleges: Grants for salaries	280 3,300	
	32 33 34	and incidental expenses Transfer and removal expenses Travelling expenses and allowances of Inspectors, &c.	187,000 50 350	
	9*	Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Credits under Sections 263 and 264 of the Land Act, 1908 (National £ Endowment Revenue 7,000	10	
			242,990	
	1	Total—Subdivision No. III		244,44

Number of Persons.	Item.	VOTE No. 40.—DEPARTMENT OF EDUCATION—	1924-9	25.
.924–25.		Subdivision No. IV.—Higher Education.	£	£
		Charges for and incidental to—		
	35	Grants— Otago University: For addition to salaries of Medical Professors (£300 per annum), (recoverable)	300	
	36	Workers' Educational Association: For organizing purposes	1,500	
	37 38	Salaries of Professors of Education "Sir George Grey" Scholarships: One to each Uni-	3,150	
	39	versity College (science) Special bursaries for returned soldiers and assistance	150	
	40	to deserving students in cases of hardship Temporary Assistant, Home Science Department,	50	
	41	Otago University Travelling-expenses, &c., Professors of Education,	100	
	40	including expenses to New Zealand University Colleges—	200	
	$\begin{array}{ c c }\hline 42\\ 43\\ \end{array}$	Agricultural bursaries: Allowances and tuition fees Educational bursaries	$\begin{bmatrix} 800 \\ 980 \end{bmatrix}$	
	44	Engineering bursaries	980	
	45 46	Home Science bursaries National Research Scholarships	2,600	
	47	Special Technical Classes	2,900	
	48	Contingencies, including unforeseen expenditure in-	2,000	
		cidental to the other items of this subdivision	10	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—		
		Credits under Sections 263 and 264		
		of the Land Act, 1908 (National £ Endowment Revenue) 200		
		Otago University 300		
	}	Total—Subdivision No. IV		14, 12
		Subdivision No. V.—Technical Instruction.		
	49	Salaries— Professional Division.		
1	-	1 at £791 (Superintendent, Technical Education) Class A—	791	
2		2 at £665	1,330	
1	-	1 at £500	500	
4		OTHER CHARGES FOR AND INCIDENTAL TO— Grants for—	2,621	
	50	Capitation and salaries, &c., technical and continuation		
	51	classes (salaries, £107,400; incidentals, £30,000) Conveyance of instructors and students attending	137,400	
		registered classes	750	
	$\begin{array}{ c c c } 52 \\ 53 \end{array}$	Conveyance and board of pupils	6,500	
	54	Examination expenses (part recoverable) Material	280 4,000	
	55	Transfer and removal expenses	50	
	56	Travelling allowances and expenses	550	
	57	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of the	10	
		Public Revenues Act, 1910 (see end of vote)—— Credits under Sections 263 and 264		
		of the Land Act, 1908 (National		
	ì	Endowment Revenue) 4,000 Examination fees, &c 120		
	- 1			
		4 190	1	
		4,120	149,540	19

Number of Persons.	Item.	VOTE No. 40.—DEPARTMENT OF EDUCATION—	1924-	-25.
1924–25.	,	Subdivision No. VI.—Training of Teachers.	£	£
		CHARGES FOR AND INCIDENTAL TO-		
	58	Training Colleges— Allowances to students	136,000	
	59	Students' University College fees	4,200	
	60	Salaries of staffs of training colleges (one-half,	_,	
	:	the other half is charged to "Elementary Educa-		
	61	tion"), including associated teachers	$28,000 \pm 250 \pm$	
	$6\overline{2}$	Science apparatus and material Special instruction, libraries, clerical assistance,	200	
		and incidental expenses	3,000	
		Training of Teachers (other than Students of Train-		
	63	ing Colleges)—	9 500	
	64	Classes at sub-centres Fares of instructors and teachers attending training	2,500	
		classes	2,500	
	65	Contingencies, including unforeseen expenditure in-	10	
		eidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of the	10	
		Public Revenues Act, 1910 (see end of vote)—		
	!	Credits under Sections 263 and 264		
		of the Land Act, 1908 (National £		
		Endowment Revenue) 5,000		
		Total—Subdivision No. VI		176,46
	İ	California M. D.H. Marine Calcal		
		Subdivision No. VII.—Native Schools.		
278	66	Salaries—	F. 400	
		Salaries of teachers of village schools	57,400	
	1	Professional Division.		
		Class A—		
2		1 at £715 715 1 at £615 615		
			1,330	
280			58,730	
		OTHER CHARGES FOR AND INCIDENTAL TO-	30,730	
	67	Advertising, forwarding charges, translation fees, fuel,		
	00	planting, sanitation, water, &c	50	
	68 69	Books, apparatus, and other school requisites	2,000	
	70	Conveyance, ferrying, and board of children Higher Education, Scholarships, and Apprenticeship	$\begin{bmatrix} 2,700 \\ 4,700 \end{bmatrix}$	
	71	Manual instruction (including equipment and material,	1,100	
		instructors, and scholarships)	400	
	72	Special allowances to teachers in isolated places	200	
	73	Storage and despatch of school books and material Transfer and removal expenses	$120 \\ 1,100$	
	75	Travelling allowances and expenses	550	
	76	Contingencies, including medical examination of		
		teachers and unforeseen expenditure incidental to	90	
		the other items of this subdivision Estimated credits-in-aid under Section 48 of the	20	
		Public Revenues Act, 1910 (see end of vote)—		
	İ	Credits under Sections 263 and 264		
		of the Land Act, 1908 (National		
		Endowment Revenue) 2,000 Tauranga Educational Endow-		
		Tauranga Educational Endow- ment Reserves Act, 1896 (rents,		
		&c., from reserves) 400		
		Fines for non-attendance, &c 5	į	
		Fines for non-attendance, &c $\frac{5}{2,405}$		
			11,840	

Number of Persons.	Item.		1924-	-25.
924–25.		VOTE No. 40.—DEPARTMENT OF EDUCATION—		10 at 10 at
			£	£
		Subdivision No. VIII.—School Buildings, Furniture, and Sites.		
		Charges for and incidental to—		
		General maintenance of school buildings under con- trol of Education Department, including small		
		additions to buildings, alterations, rebuilding,		
		furniture, fittings, fencing, rents, additions and improvements of sites, and incidental expenses—		
	77	Industrial schools	1,250	
	78	Native schools	3,500	
	79 80	School for the Deaf Schools for the Feeble-minded	250 500	
1	00	Public Schools—	500	
	81	Maintenance and repair of school buildings and		
		residences (including alterations and small additions); remain and remainder of cuthwilliams		
		ditions); repair and renewal of outbuildings, furniture, and fences; rents of buildings and sites	109,000	
		Grants to Education Boards—	100,000	
	82	For house allowances to teachers	43,000	
	83	Grants for— Maintenance of Secondary School buildings	800	
	84	Maintenance of Technical School buildings	600	
	85	Rebuilding and furnishing of schools destroyed by		
		fire, and for rent of and alterations to temporary premises during rebuilding (recoverable)	15,000	
	86	Rents for Manual and Technical Schools and class	15,000	
		purposes	1,200	
	87	School-sites: Payment to Land for Settlements Account for	800	
	88	Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	10	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—		
		Fire Insurance Fund, &c £15,000		
		Total—Subdivision No. VIII		175,916
		Subdivision No. IX.—Physical Instruction.		
	89	SALARIES—GENERAL DIVISION.	<u> </u>	
		Physical Instructors—		
		1 at £450 450		
		2 at £325 650 2 at £315 630		
		2 at £305 610		
		3 at £300 900		
		1 at £295 295 3 at £280 840		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	a. automorphis	
16		1 at £235 235	4 007	
-	-		4,865	
			4,865	
	1	OTHER CHARGES FOR AND INCIDENTAL TO-		
	00		1	
	90	Courses of instruction for teachers (including railway fares)	100	

Number of Persons.	Item.	VOTE No. 40.—DEPAI	RTMENT OF ontinued.	EDUCA	ATION—	1924-	25.
1924-25.		$\left egin{array}{c} c \\ Subdivision \ No. \ IX \end{array} \right $		ruction—	-contd.	£	£
	92 93 94	OTHER CHARGES FOR AN Transfer and removal Travelling allowances Contingencies, include cidental to the other	ID INCIDENTAL expenses and expenses ling unforeseer	то—-con 	tinued. liture in-	100 3,000 10	
		Credits under s of the Land Endowment	ques Act, 1910 (sections 263 an Act, 1908 (Nat	see end of d 264 tional 			
		Total—	Subdivision No	o. IX		3,710	8,578
	95 96 97	Subdivision No. X. CHARGES FOR AND INCHA Grant to trustees for pupils Special instruction (veducation of pupils Contingencies, included cidental to the other Estimated creditary	DENTAL TO— or maintenance woodwork, &c. ling unforeseen or items of this	e of Gov), and s n expending subdivis	vernment econdary liture inion 48 of the	550 50 10	
		Fees $Total$ —,	 Subdivision No	 o. X	£450		610
		Subdivision No. XI.—	School for the	Deaf (S	umner).		
	98	SALARIES—					
		Professional and Teachers—	D EDUCATION	Division	s. £		
		1 at £615	•••	••	615		
	}	1 at £400 1 at £380	***	•••	400 380	l	
		1 at £350	•••	•••	350		
	i	1 at £310		•••	310		
		2 at £285	•••	•••	570		
		5 at £225 1 at £215	•••	•••	$egin{array}{c c} 1,125 & \\ 215 & \end{array}$		
	İ	1 at £195	•••	•••	195		
15		1 at £175	•••	•••	175	4,335	
			AL DIVISION.			4,000	
		Maintenance Staff			2.2		
	!	1 at £245 1 at £225	•••	•••	$\begin{array}{c c} 245 \\ 225 \end{array}$		
		2 at £205	•••		410		
	1	2 M 9200	•••	•••	110	1	

imber Persons.	Item.	VOTE No. 40—DEPARTMENT OF Electrical Continued.	DUCATION—	1924–	25 .
24-25.					
	1	Subdivision No. XI.—School for the De	af—continued.	£	£
	98	SALARIES—continued.			
		GENERAL DIVISION—continued	J		
		Maintenance Staff—continued.	£		
		1 at £185	$\begin{array}{ccc} \dots & 185 \\ \dots & 62 \end{array}$		
	:	1 at £185 (4 months) 1 at £150	150		
		1 at £145	145		
		1 at £125	125	İ	
		2 at £120	240		
14		3 at £110	330	0.115	
29	 			2,117	
				6,452	
		Less deductions for board		400	
				6,052	
	99	OTHER CHARGES FOR AND INCIDENTAL T			
	00	Advertising, photographs, books, ne other publications	wspapers, and	50	
	100	House allowance		20	
	101	Maintenance of institution, includi	ng provisions,		
		clothing, equipment, stock, and imp	lements	2,200	
	102	Transfer and removal expenses		25	•
	103	Travelling allowances and expenses (in of children)	icluding transit	225	
	104	Contingencies, including unforeseen	expenditure in-	220	
	101	cidental to the other items of this s		25	
		Estimated credits-in-aid under Se Public Revenues Act, 1910 (see Credits under Sections 263 and of the Land Act, 1908 (Natio Endowment Revenue) Fees for maintenance, &c.	end of vote)—		
		$Total-Subdivision \ No. \ .$	XI	2,545	8,8
	:	Subdivision No. XII.—Schools for the I	Feeble-minded.		
	105	Salaries—			
		Education and General Divi	sions.		
		Special School for Girls, Richmond,— Teachers—	£		
2		2 at £225	450		
_		Maintenance Staff—			
		1 at £320	320		
		1 at £245	245		
	'	1 at £225	225		
		1 at £175 1 at £145	175	•	
8		3 at £135	405		
Ü					
			1,965		
		Less deductions for board	230		
				1,735	

	Item.	VOTE No. 40DEPARTMENT OF EDUCATION-	1924-2	25.
1924-25		continued.		10
		Subdivision No. XII.—Schools for the Feeble-minded—continued.	£	£
	105	Salaries—continued.		
		Education and General Divisions—continued.		
		Special School for Boys, Otekaike,—		
		$egin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 at £245 245		
		1 at £215 215		
4		1 at £175 \dots 175		
		Marineton Character		
	i	Maintenance Staff— 1 at £350 350		
		1 at £275 275		
`		3 at £225 675		
		2 at £205 410		
		2 at £195 390		
	ĺ	$3 \text{ at } \pounds 185 \qquad \dots \qquad 555$		
		1 at £180 180		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$		
		1 of 6140		
		1 at £130 130	İ	
		5 at £125 625		
		2 at £115 230		
26		1 at £90 90		
40	-	$\overline{5,460}$	 	
	-	Less deductions for board 770		
			4,690	
			6,425	
		Other Charges for and incidental to—		
	106	Advertising, photographs, books, newspapers, and		
	1107	other publications	20	
	107 108	House allowance Maintenance of institutions, including provisions, cloth-	20	
	100	ing, equipment, stock, farm expenses, legal ex-	20	
	109	penses, &c Transfer and removal expenses	5,000	
			4) URBJ	
	- 1		·	
	110	Travelling allowances and expenses, including transit	50	
	- 1	Travelling allowances and expenses, including transit of children Contingencies, including unforeseen expenditure in-	·	
	110	Travelling allowances and expenses, including transit of children Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	50	
	110	Travelling allowances and expenses, including transit of children Contingencies, including unforeseen expenditure incidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of the	50 5 5 0	
	110	Travelling allowances and expenses, including transit of children Contingencies, including unforeseen expenditure incidental to the other items of this subdivision	50 5 5 0	
	110	Travelling allowances and expenses, including transit of children Contingencies, including unforeseen expenditure incidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Credits under Sections 263 and 264 of the Land Act, 1908 £	50 5 5 0	
	110	Travelling allowances and expenses, including transit of children Contingencies, including unforeseen expenditure incidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Credits under Sections 263 and 264 of the Land Act, 1908 £ (National Endowment Revenue) 200	50 5 5 0	
	110	Travelling allowances and expenses, including transit of children Contingencies, including unforeseen expenditure incidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Credits under Sections 263 and 264 of the Land Act, 1908 £ (National Endowment Revenue) 200 Maintenance fees, sale of produce,	50 5 5 0	
	110	Travelling allowances and expenses, including transit of children Contingencies, including unforeseen expenditure incidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Credits under Sections 263 and 264 of the Land Act, 1908 £ (National Endowment Revenue) 200 Maintenance fees, sale of produce, &c 3,000	50 5 5 0	
	110	Travelling allowances and expenses, including transit of children Contingencies, including unforeseen expenditure incidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Credits under Sections 263 and 264 of the Land Act, 1908 £ (National Endowment Revenue) 200 Maintenance fees, sale of produce,	50 5 5 0	
	110	Travelling allowances and expenses, including transit of children Contingencies, including unforeseen expenditure incidental to the other items of this subdivision Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Credits under Sections 263 and 264 of the Land Act, 1908 £ (National Endowment Revenue) 200 Maintenance fees, sale of produce, &c 3,000	50 5 5 0	

Number of Persons.	Item.	VOTE No. 40 DEDADTMENT		ATION	1924-	25.
.924–25.		VOTE No. 40.—DEPARTMENT continued.	OL BDOC	TION	[-
			יו דוד דון		£	£
		Subdivision No. XIII.—C	inila Welfar	e.		
	112	Salaries and Wages—				
		Education and General	Divisions.			
		Inspector of Child Welfare-				
		1 at £500 (5 months)	•••	!	210	
		Visiting and Probation Officers- 2 at £370		£ 740	*	
		6 at £340	•••	2,040		
		2 at £330	• • •	660		
			• • • •			
12		1 at £320	• • •	320		
12		1 at £295 (11 months)	•••			
		Less deductions for bo	ard	4,030		
		Loss deddellous for be			3,980	
					.,	
		Receiving Homes, Probation H fare Centre—	omes, and C	Child Wel-		
		Auckland Receiving Home—		£	1	
		1 at £310		310		
		1 at £285		285	1	
		1 at £245		245		
		1 at £215		215		
		2 at £205	•••	410		
		1 at £145	•••	145	1	
		l at £120	•••	120		
			•••			
11	i	2 at £105		210		
11	İ	1 at £110	•••			
		Less deductions for bo	ard	2,050 105		
		Auckland Probation Home—			1,945	
		1 at £225	• • • •	225		
		1 at £205	•••	205	i	
4		2 at £125		250		
			1	680		
		Less deduction for box	ırd		575	
		Hamilton Receiving Home—		005		:
		1 at £265	•••	265		
		1 at £185		185		
		1 at £171	•••	171		
4		1 at £110	•••	110		
				731		
	1	Less deduction for boa	rd	75	656	
		1	,			
		Wanganui Receiving Home—				
		1 at £275		275		
		$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	•••	185		
4		1 at £275				
4		$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	•••	185		
4		$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	•••	185 270		

Number of Persons.	Item.					1924-	25.
1924–25.	-J	VOTE No. 40.—DEPARTI conti	MENT OF nued.	EDUCA'	TION—	. £	£
		Subdivision No. XIII.—(Child Welfar	e—conti	nued.	•	
	112	Salaries and Wages—con	tinued.				
		Education and Genera	AL Division	s —contin	nued.		
		8					
		Receiving Homes, &c.—cor Palmerston North Chil	itinued. d. Wolfore C	ontro	£		
		1 at £235	a wenare o		235		
2		1 at £171		•••	171		
			•••	•••		406	
		Napier Receiving Home	a				
		1 at £275	,		275		
		1 at £175	•••		175		
		1 at £145			145		•
		1 at £120	•••	•••	120		
5		1 at £50	•••	•••	50	1	
					765		
	1	Less deduction	s for board	•••	60		
						705	
		W-llimaton Dominion F	7				
		Wellington Receiving E	iome—		420		
		1 at £275	•••	•••	275		
		1 at £265	•••	•••	265		
		1 at £225	•••		$\frac{225}{225}$		
		1 at £200			200		
		1 at £195 (2 months)		•••	33		
		3 at £185			555		
		1 at £149	•••	• • •	149		
	-	1 at £145	•••	•••	145		
		1 at £135 2 at £130	•••		135		
14		Medical Officer (part t	ime non-rec	rident)	260 55		
			inite, non-res	sideli tj			
					2,717		
		Less deductions	s for board	•••	165	0 550	
						2,552	
		Wellington Probation I	Iome—				
		1 at £205	•••	•••	205		
3		1 at £135 1 at £52	•••	•••	135		
J		⊥ ಮ∪ ಪಾ∪⊿	•••	•••	52		
					392		
		Less deductions	for board	•••	30		
						362	
		Nelson Child Welfare (Centre—		.		
		1 at £225 ·	•••	•••	225		
_		1 at £215		• • •	215	-	
3		1 at £160	***	***	160		
						600	
		Greymouth Child Welfa	are Centre-				
		1 at £225	•••		225		
2		1 at £165		•••	165		
	1					390	

Number of Persons.	Item.	VOTE No. 40.—DEPA		TI TI TI CI A	TION	1924-	-25.
924-25.			entinued.	EDUCA	TION—		
		Subdivision No. XIII	.—Child Welfa	re-conf	inued.	£	£
	112	SALARIES AND WAGES-	·				
		Education and Gen		sconti	nuad		
				aco/12001	onea.		
		Receiving Homes, &c.					
		Christchurch Receiv	ing Home—		£		
		1 at £320	•••	•••	320	j	
		1 at £275	•••	•••	275		
		1 at £245	•••		245		
		1 at £225	•••	•••	225		
	'	1 at £185	•••	. •••	185		
		1 at £165	•••	•••	165		
		1 at £145	•••	•••	145		
11		2 at £135	•••	•••	270		
11		2 at £115	•••		230		
		Medical Officer (pa	rt time, non-res	sident)	55		
					2,115		
		Less deduct	ions for board	•••	145	1,970	
		Christchurch Probat	ion Home—		£	1,010	
		1 at £205	•••	•••	205		
ā		1 at £185	•••	•••	185		•
4		2 at £135	•••	•••	270		
					660		
		Less deduct	ions for board	•••	105		
		Timaru Child Welfa	re Centre-		-	555	
1		1 at £265	•••			265	
		Dunedin Probation	Home—		£		
	1 1	1 at £165			165	1	
2		1 at £135	•••		135		
		Less deductions	for board		300 60		
		Loss doddonons	ioi boaiu	•••		240	
~		Invercargill Child W	elfare Centre—	-			
1		1 at £255	•••		•••	255	
				•			
		Industrial Schools—	•				
		Weraroa Boys' Tra	ining Farm		£		
	!	1 at £350			350		
	'	2 at £275	•••		550		
		1 at £235	•••	•••	235	-	
		4 at £225	•••		900		
		1 at £205	•••	• • •	205		
		2 at £195			390		
		2 at £185	***		370	1	
		1 at £175			175	1	
		2 at £140	•••		280		
		1 at £135			135		
18		1 at £105	•••	•••	105		
					3,695		
	1 1						1
		Less deducti	ons for board		300 :		

Jumber Persons.	Item.	VOTE No. 40—DEPARTMENT OF EDU continued.	CATION—	1924-9	25.
924-25.		Subdivision No. XIII.—Child Welfare—e-	ontinued.		·
	112	SALARIES AND WAGES—continued.		£	£
		Industrial Schools—continued.			
		Caversham (including Clothing Factory	.— £		
		1 at £320	320		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$egin{array}{c} 275 \ 265 \ \end{array}$		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	450		
		1 at £195	195		
		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	185 181	1	
		1 at £165	165		
•		4 at £145	580		
-16		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	280 80		
	-				
117		Less deductions for board	$\begin{bmatrix} 2,976 \\ 240 \end{bmatrix}$		
		Less deductions for board		2,736	
		OTHER CHARGES FOR AND INCIDENTAL TO-	- -	22,452	
	113	Boarding-out of children, maintenance of			
		foster homes and upkeep of orphans wh have died from influenza (part recoveral		70,000	
	114	Grant towards travelling-expenses of M		10,000	
		Manager, Caversham Industrial Schoo		100	
	115	quiring into systems in America and Eu Legal expenses	rope	100	
	116	Libraries at Government schools, pictures	, and publi-		
		cations Maintenance of—	•••	50	
	117	Inmates in Government Schools and	of proba-		
		tioners in Probation Homes, medical	attendance	•	
		of infants, and general upkeep of the including stock and work on land (p			
		able)	•••	17,000	
	118	Inmates in private Industrial Schools: refunds of maintenance payments, &		į	
		coverable)	c. (part 10-	2,000	
	119	Maintenance of inmates sent to other inst		50	
	120	Payment to Post and Telegraph Depa services of officers in connection with	artment for a		
		for children boarded out		750	
	121	Refund of —		300	
	$\frac{121}{122}$	Inmates' earnings Maintenance payments		300	
	123	Rent, office requisites, telephones, lighti	ng, &c	1,550	
	124	Special Instruction, including fees of cost of equipment and material	instructors,	50	
	125	Transfer and removal expenses		200	
	126	Travelling allowances and expenses		6,500	
	$\begin{array}{c} 127 \\ 128 \end{array}$	Wages of inmates employed on farm work Contingencies, including unforeseen exp		50	
		cidental to the other items of this subdi		20	
		Estimated credits-in-aid under Section	on 48 of the		
		Public Revenues Act, 1910 (see en	ad of vote)—		
		Credits under Sections 263 and 264			
		of the Land Act, 1908 (Nationa Endowment Revenue)	$\frac{1}{2,000}$	•	
		Maintenance fees, sale of produce	,		
		rent of property, &c	. 30,000		
		1	32,000		
			44444		
				98,980	
	1	Total—Subdivision No. 2	<i>III</i>		121

		and the second s		196
Number of Persons.	Item.		1924	-25.
1924-25.		VOTE No. 40.—DEPARTMENT OF EDUCATION— continued.	£	£
		Subdivision No. XIV.—Material and Stores.		æ
		CHARGES FOR AND INCIDENTAL TO-	i	
		Material and stores—		
	129 130	Special schools Store (rent, lighting, cleaning, &c.), cartage, &c	2,000 400	
		Less issues to other items of this Vote	2,400 6,000	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Issues on payment £200		
		Total—Subdivision No. XIV		Cr. 3,600
			,	
	i -	Subdivision No. XV.—Miscellaneous Services.	Ī	
	131	CHARGES FOR AND INCIDENTAL TO— Accidents to school children and teachers: Grants for	į ·	
	ļ	medical and legal expenses, scholarships, and compensation	210	
	132	Conference of Education Authorities: Commission of inquiry, &c	250	
	133	Council of Education, including District Advisory Committees: Allowances and travelling-expenses of members, clerical assistance, advertising, in-	200	
	194	cidental expenses, &c	250	
	134 135	Destruction of schools by fire: Rewards for evidence and payments of other preventive measures, &c Examinations: Teachers', Public Service, Scholar-	250	
	100	ships, &c. (part recoverable)	8,600	
	136 137	Exchange of Teachers: Allowances, bursaries, &c Exhibitions: Preparing and forwarding school exhibits	100	
	138	Expenses connected with visits of Department's	100	
	139	officers and representatives to other countries Gramaphone records: King and Queen's message to	100	
	140	school children Grading and certificates of teachers (including cost of inquiries, legal expenses, Courts of Appeal connected	10	
	141	therewith, advertising, travelling-expenses, &c.) Grant in aid of free kindergartens for infants under	650	
	142	school age	$\begin{array}{c} 3,225 \\ 100 \end{array}$	
	143 144		400	
	145	(additional subsidy) Printing and stationery, including supply of Par-	25,000	
		liamentary Papers	3,500	
	146	Postage, telegrams, and rent of boxes	2,250	
	147	Purchase of motor-cars (amount to be recovered sub- sequently)	1,000	
	148	Storage and despatch of stores and stationery	50	
	149		3,000	
	150		150	
	151	Waikino tragedy: Payments to head teacher and pupils to cover loss of salary, medical and other	Ì	
		expenses	500	

Number of Persons.	Item.		1924	1–25.
1924–25.		VOTE No. 40.—DEPARTMENT OF EDUCATION— continued. Subdivision No. XV.—Miscellaneous Services—contd.	£	£
	152 153	CHARGES FOR AND INCIDENTAL TO—continued. War bursaries Contingencies, including unforeseen expenditure incidental to all other items of this subdivision	400	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Examination fees, &c. (including refund from Public Service Commissioner's Office and Railway Department for conduct of examinations) 5,000 Recoveries on account of purchase of motor-cars for School Inspectors 200		
		5,200		
		Total—Subdivision No. XV		50,115
		Gross Total		3,089,032
		Credits-in-aid (a)	•••	232,785
		NET TOTAL—VOTE No. 40		2,856,247

(a) Credits-in-aid—	Salaries.	Other Charges,	1924-25. Total.
Subdivision I	£ 900	£	£ 900
,, II		153,900	153,900
" III	• •	7,000	7,000
,, IV	• •	500 ,	500
,, V	• •	4,120	4,120
,, VI	• •	5,000	5,000
,, VII	• •	2,405	2,405
" VIII		15,000	15,000
,, IX	••	2 10	210
,, X	••	45 0	450
,, XI	••	2,700	2,700
" XII	• •	3,2 00	3,200
" XIII	• •	32 ,000	32 ,000
"XIV	• •	2 00	200
,, XV	• •	5,200	5,200
Totals	900	231,885	

STATE COAL-MINES ACCOUNT.

						19	924-25.	
					Salaries.	Oth	er Charges.	Total.
Vote No. 4	1St	cate Coal-mines—			£		£	£
Gr	oss T	OTAL	••		10,38	37	277,309	287,646
Съ	REDITS	-IN-AID	• •				5,300	5,300
	ET TO			40.327 070.000				282,346
	1 1							
Number of Persons.	Item.						1924	1 –25.
1004 05	-	VOTE No.	41.—STATI	E COAL	MINES.			
1924–25.	1	*Salaries—	ROFESSIONAL	Division			£	£
1	:	1 at £791 (Sup	erintendent,	State Coa	ıl-mines)		791	
0		Class C					000	
2		2 at £490		•••	•••	•••	980	
		Class II—	CLERICAL DI	vision.				:
1		1 at £490			•••		490	
2		Class IV— 2 at £400					800	
		Class V—				£		
		1 at £380 1 at £370		• • •	•••	380 370		
3		1 at £355		• • •	•••	355		
		Class VI					1,105	
4		4 at £320 Class VII		•••	•••		1,280	i
		3 at £295 (1	for 10 month		•••	835		
			0 months), £2			226		
			month), £158 months), £18			$\frac{158}{149}$		
		1 at £135 (3	months), £11	15 (9 mor)	ths)	120		
		. 2 at £95 (9	months), £ 80	(3 month	ns)	183		
10		1 at £95 (1 1	month), £80 (11 month	ıs)	82	1 759	
			GENERAL DI	VISION.			1,753	
		1 at £425		•••	•••	425	1	
		1 at £374	41 \ 00*0		1>	374		
		1 at £365 (10 r 1 at £341	nontns), £350	•	ns)	$\frac{363}{341}$		
		1 at £295				295		
		1 at £290		•••		290		
		1 at £260		•••	•••	260		
9		2 at £255		•••	•••	510	0.050	
32	-	Cadet's lodgin	g-allowance	•••			2,858	
	_	Proportion of			ed by Min			
		partment		•••		•••	250	
							10,337	
	1 1	1					I	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

Appropriations for State Coal-mines Account.

STATE COAL-MINES ACCOUNT—continued.

Number of Persons.	Item.		1924-	-25.
1004 05	-	VOTE No. 41—STATE COAL-MINES—continued.		
1924–25.		OTHER CHARGE TON LAW WORDS	£	£
	2	OTHER CHARGES FOR AND INCIDENTAL TO-	165	æ
	3	Audit fees for inspection of accounts	100	
		Compensation and expenses under Workers' Compensation Acts	3,000	
	4	Compensation payable to S. G. Jones for damage to	, ,	
	1	motor-truck	90	
	5 j	Deposits on contracts (recoverable)	300	
		Depots: Purchase of stocks and trading expenses—	ļ	
	6	Christchurch	20,000	
	7	Wanganui	4,994	
	8	Wellington	23,000	
	9	Grant towards purchase of new residence for Doctor	İ	
	1.0	at Runanga	100	
	10	Grant, bowling green and tennis court, Runanga	100	
	11	Harbour rates and royalty	8,575	
	12	Head office expenses	125	
	13	James colliery expenses	45,000	
	14	Liverpool Colliery expenses	155,000	
	15	Postage, telegrams, and rent of boxes	140	
	16	Printing and stationery	200	
	1.5	Prospecting and Development of State Coal-mines-		
	17	MacDonald Mine	50	
	18	James Mine	2,000	
	$\begin{vmatrix} 19\\20 \end{vmatrix}$	Liverpool Mine	12,600	
	1 20	Seddonville Colliery expenses	25	
	21	Subsidy—		
	21	Maintenance of road, Greymouth to James	200	
	22	Colliery (£2 for £1)	300	
	23	Runanga Medical Association	$rac{200}{120}$	
	$\frac{23}{24}$	Travelling allowances and expenses		
	25	Tree-planting, &c., MacDonald Colliery	575 600	
	$\frac{1}{26}$	Tree-planting at Runanga Contingencies, including unforeseen expenditure in-	000	
	20	- Anna Anna Anna Anna Anna Anna Anna Ann	50	
		cidental to the other items of the vote	30 1	
		Estimated credits-in-aid under Section 48 of the		
		Public Revenues Act, 1910 (see end of vote)—		
	1 1	Return of deposits £300		
		Sale of plant, railway tickets, &c. 5,000	i	
		5,300		
			1	
			277,309	007 5
		Gross Total		287,64
		Credits-in-aid	•••	5,80
		NET TOTAL—VOTE No. 41		282,34

NAURU AND OCEAN ISLANDS ACCOUNT.

			•				195	24– 25.	
						Salarie s .	Othe	r Charges.	Total.
Vote No. 4	2.—N	auru and (Ocean Island	s		£		£	£
GR	oss T	OTAL	•••	• •	• •	•••		1,120	1,120
Cr	EDITS-	-IN-AID	••	••	• •	•••			•••
NE	et to)TAL			••	• • • • • • • • • • • • • • • • • • • •		1,120	1,120
Number of Persons.	Item.	VO	TE No. 42	.—NAUR	U AND	OCEAN		1924	4–25. •
1924–25.				ISLAND	S.		-	£	£
	1	Admi	Charges fon	ravelling-e:	xpenses,	&c.		1,000	
	$\begin{array}{ c c c c c c c c c c c c c c c c c c c$	Trave Gei	lling-expens neral, visitin	ses of Dr. g Australia	G. J. F	leakes, Dir 	ector-	120	
			Gross T	OTAL					1,120
			CREDITS	-IN-AID		• • •			
			NET TO	OTAL—V	OTE No	. 42			1,120

DISCHARGED SOLDIERS SETTLEMENT ACCOUNT.

					19	24–25.	
				Salarie	. Oth	er Charges.	Total.
Vote No. 69.—Expense	s of Manageme	ent—		£		£	£
GROSS TOTAL	••	•••				68,500	68,500
CREDITS-IN-AID	•••	•••		•••		11,000	11,000
NET TOTAL	•••	•••		•••		57,500	57,500
Number Item.						1924	4 − ∠5.
'	E No. 69.—E Charges for a			ANAGEI	MENT.	£	£
de tra 2 Reve	Revent Lands an Revalu valus Lands for for S Revalu Lands fo char coun Disc pens	redits under the Act, 1910 d Survey— ation Board rettlement exting Board restlement ged Soldiers t): Lands for tharged Scharged	r Section C (see en c expenses expenses expenses f Account Settlem or Settle Soldiers:	atth the ettlement mated re 48 of the dof vote ses (re- in Lands	adminis- Act coveries, 	40,000	
	Gross	TOTAL	•••	·			68,500
	CREDIT	S-IN-AID	•••	•••	•••	•••	11,000
	NET 1	TOTAL—VO	OTE No	. 69			57,500

1924-25.

10

300

LAND FOR SETTLEMENTS ACCOUNT.

				1				
					Salaries.	Othe	r Charges.	Total.
Vote No. 7	0.—La	and for Settlements	Expenses—		£		£	£
Gı	Ross T	OTAL	••		1,18	7	7,808	8,99
Св	EDITS-	IN-AID			59	0	220	81
Ņ	ET TO	OTAL	• •		59	7	7,588	8,18
Number of Persons.	Item.	VODE N. 70	LAND EO	ъ сът	OT TAMEN	Ta	192	4–25.
1924–25.	1	VOTE No. 70. *Salaries—	EXPENSI		TIDMEN	10	£	£
1		1 at £767	CLERICAL DIV	ision.			767	
1		Class IV 1 at £420			•••		420	
2	-						1,187	-
	3 4	OTHER CHARGES Advertising, p other publics Audit fees Eradication of	hotographs, lations .	oooks, 1 		s, and	5 15 250	
	5	Coal-mine,	of extinguishi situated on	Section	re in the A	Albury k II,		
	6	To J. D. Ri	in Settlement tchie, Land I , in lieu of lea	Purchas			140 413	
	7	Office fittings a		ve or an	sence	•••	10	
	8 9	Postage, telegr Preliminary ex	ams, and rent	of boxe ions, an	s d expenses		50	
	10	the Land Set Printing and st	ttlement Finar tationery .	nce Act	•••	•••	$\begin{array}{c} 100 \\ 25 \end{array}$	
	11	Refund of pro			and rates		25	
	12	Revaluation B	oards, exp e nse	es of	•••		5,000	
	13 14	Services render Telephone serv	red by other I rices (including , rent, and cal	g installa	ents ation, exter 		2 5 10	
	15	Travelling allo			•••	•••	250	
	16	Typewriters: 1	Purchase and	upkeep			5	
	17	Contingencies,			expenditi	ıre in-		

Flaxbourne Settlement: Erection of river protec-

Contingencies, including unforeseen expenditure incidental to the other items of the vote ...

Lands Department—
Roading, drainage, improvements, &c., for the benefit or protection of settlements under Section 77 of the Land for Settlements Act, 1908:—

The bound Settlement - Freetien of river protection of the control of th

18

tive works

^{*} For particulars of salaries see "Public Service Classification List." Note, -Scale salaries or wages include cost-of-living increase.

Appropriations for Land for Settlements Account.

LAND FOR SETTLEMENTS ACCOUNT—continued.

Number of Persons.	Item.	and the second of the second o	1924-25	5.
		VOTE No. 70-LAND FOR SETTLEMENTS		
1924–25.		${\bf EXPENSES-} continued.$	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
		Lands Department—continued.		
		Roading, &c.—continued.		
	19	Beaumont: River protective works	75	٠.
	20	Grant to Vincent County-Council for road formation		
		and metalling, Earnscleugh Settlement	100	
	21	Hadlow Settlement: Metalling access road	250	
	22	Maerewhenua Settlement: River protection works	10	
	23	Otekaike Settlement: River protective works	45	
	24	Steward Settlement protective works	270	
	0.5	Subsidies—	050	
	25	Allenby Settlement: Drainage (£1 for £1)	250	
	26	Otekaike Settlement: Boring wells and erection	100	
	27	of wind-mills (£1 for £1)	100	
	21	Te Pua Settlement: Completion of roading	75	
			7,808	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—	7,000	
		Land for Settlements Account (Discharged Soldiers Settlement		
		Account), (salaries, £590; preli-		
		minary expenses, £50; travelling-	j	
		expenses, £120) 760	i	
		Miscellaneous 50	İ	
		010		
		810		
		,		
		Gross Total		8,99
		OROSS TOTAL		~,0.
		Credits-in-aid (a)	•••	8:
		NET TOTAL—VOTE No. 70	•	8,18
			<u>,</u>	
(a) Cre	dits-in		1924-25.	
` '		Salaries. Charges.	Total.	

(a) Credits-in-aid—	Salaries. £ 590	Other Charges. £ 220	1924–25. Total. £ 810
Totals .	 590	22 0	810

Appropriations for Land for Settlements Account (Discharged Soldiers Settlement Account).

LAND FOR SETTLEMENTS ACCOUNT.

(DISCHARGED SOLDIERS SETTLEMENT ACCOUNT.)

						192	4-25.	
					Salaries.	Othe	er Charges.	Total.
Vote No. 71.—	Salaries. Otto. 71.—Land for Settlement of Discharged Soldiers: Expenses GROSS TOTAL				£	£		
Gross T	COTAL	••	••	••			8,752	8,752
CREDITS	-IN-AID		••		•••		100	100
NET TO	OTAL	••	••				8,652	8,652
of Persons.							1924	l–25 .
2 3 4 5 6 7 8	OTHER Admi Goat Oakw Me Roo Orong Reval Stratl Waite	CHARGES FOR nistration of Hill Settlem cood Settlem talling access ading go Settlement unation Boar hovale Settlem cook Peaks Settlem Public R	or AND IN I estates nent: Roa ent, Cante is road it: Maint ds, expens nent: Dra ettlement: ement: V edits-in-ai	cidental ding erbury— enance o ses of inage (su Roading Vater-sur d under	f drains, & pbsidy, £1 fg pply Section 48	 c for £1) of the	£ 760 75 250 175 500 4,000 750 542 1,700	£
:		Gross 1	OTAL	••	•••			8,752
i		CREDITS	-IN-AID		•••			100
		NET TO	OTAL—V	OTE No	. 71			8,652

MAIN HIGHWAYS ACCOUNT.

(MAIN HIGHWAYS REVENUE FUND).

							19	24-25.	
			,			Salaries.	Oth	er Charges.	Total.
Vote No. 7	3.—Ma	intenance	of Main H	ighways—		£		£	£
Gr	Ross To	OTAL						195,000	195,000
Cr	EDITS-	IN-AID		• •	• •			10,000	10,000
N	ет то	TAL		••		•••		185,000	185,000
Number of Persons.	Item.	VOT.	E No. 73	-MAINTE	NANCE	OF MAI	N	192	4–25.
1924–25.			HIGHWAYS. CHARGES FOR AND INCIDENTAL TO—						£
		wa and fun oth sio	Improvement, maintenance, and repair of ways, including hire and purchase of and plant or other equipment, intefund, and other charges on loans rather expenses, including administration, and travelling-expenses, and conrespect of accidents or injuries and co					. 195,000	
			Gross '	Готаь	•••	•••			195,000
			CREDITS	S-IN-AID		•	•••		10,000
			NET T	OTAL—V	OTE No	o. 73			185,000

NATIVE LAND SETTLEMENT ACCOUNT.

							19:	24-25.			
						Salaries.	Othe	Other Charges.		Total.	
Vote No. 75	5.—Na	itive Land	Purchase	Expenses—	-	£		£		£	
GR	oss T	OTAL	• •	· • •		1,455	i	3,150		4,60	
CR	EDITS-	IN-AID		••						• • •	
NE	ет то	TAL	• •	• •		1,455		3,150		4,60	
Number of Persons.	Item.		The second secon				-	19	24–2	25.	
1924-25.		VOTI	E No. 75	–NATIVE EXPEN		PURCHAS	E	£		£	
2		*Salarie Class 2 a	C	LERICAL I	Oivision.			1,03	0		
<u>3</u>		Class 1 a	<i>IV</i> — t £425			•••		42	5		
								1,45 	5		
	3 4	Contr sch Trave	ibution t		xpenses	of consolid on expenses 	ation 	50 2,50 15	0		
			Gross	Тотат				3,15	0	4,60	
				S-IN-AID		•••	•••	•••			
				готацч		. 75	• • •		_	4,60	

^{*} For particulars of salaries see "Public Service Classification List."

NOTE.—Scale salaries or wages include cost-of-living increase.

NEW ZEALAND STATE FORESTS ACCOUNT.

			1924–25.	
	-	Salaries.	Other Charges.	Total.
Vote No. 76.—State Forest Service—		£	£	£
Capital Charges—				
Gul Iluinia I Galania		9,471		9,471
II _General Development		0,2,1	7,735	7,735
711 Forget Fine Proportion			465	465
IV _ Education &c			390	390
V Forget Recornel			5,707	5,707
" VI - General Afforestation			61,930	61,930
VII _ Acquisition of Indigenous Forests &	c.		21,844	21,844
,, VIII.—Grants and Subsidies to Local Bod	ies	• • •		•••
for Tree-planting: Miscellaneous				
				405 540
		9,471	98,071	107,542
Operation and Maintenance Charges-	-			
$egin{array}{cccccccccccccccccccccccccccccccccccc$		00 046		22,946
,, II.—General Development \dots		22,946	22,089	22,689
", III.—Forest Fire Prevention		•••	2,812	2,812
,, IV.—Education, &c.		• • •	1,270	$\tilde{1},270$
,, V.—Forest Research		•••	5,463	5,463
,, $VI.$ —General Afforestation		•••	1,850	1,850
" VII.—Acquisition of Indigenous Forests, &	c.		74	74
,, $VIII.$ —Grants and Subsidies to Local Boo	ies		298	298
for Tree-planting: Miscellaneous		•		
	j-	22,946	33,856	56,802
Gross Total	-	32,417	131,927	164,344
Credits-in-aid		200	819	1,019
NET TOTAL	-	32,217	131,108	163,325

Number of Persons.	Item.				1924-	-25.
19 34-25.	- 	VOTE No. 76.—STATE FOI	REST SERVICE	E.	£	£
		Subdivision No. I.—	Salaries.			
	1	*SALARIES—		ļ		
		Administrative Di	VISION.	£		
2		1 at £1,000 (Director) 1 at £615 (Secretary)	 	1,000 615	1.615	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

NEW ZEALAND STATE FORESTS ACCOUNT—continued.

Number f Persons.	Item.	UOMB N. TO CHILD	TIONNOW OUT	NITOU		1924-	25 .
024-25.		VOTE No. 76.—STATE			!		
	!	Subdivision No	. 1 Salaries -	-continued	i. ;	£	£
	1	Salaries—continued.				İ	
	}		ssional Divisio	N.	:	•	
1		Class A 1 at £700	•••	•••		700 į	
1	į	Class B— 1 at £590				590	
		Class C-	•••	•••	•••		
1		1 at £475 Class D—	•••	•••		475	
1		1 at £400	•••	•••		400	
	ļ	CLE	RICAL DIVISION.		ļ	· I	
	; 1	Class III—			£	i	
2	!	1 at £470 1 at £445	•••	•••	470 : 445 :	i	
_		Class V—	•••	•••		915	
1	İ	1 at £380	•••	• • •		380	
9		Class VI— 9 at £335	•••	•••		3,015	
		Class VII—			460	;	
	1	2 at £230 1 at £210	•••	•••	210°	į	
		1 at £190	•••	•••	190		
	;	1 at £155	•••	•••	155	1	
0		2 at £135	•••	•••	270 ÷ 190 †	ı	
9	1	2 at £95	•••	•••	190	1,475	
	! i	Cadets' lodging-allo	wances	•••		120	
	:	GEN	ERAL DIVISION.				
	!	2 at £715	•••	•••	1,430 1	i	
	į	1 at £665 2 at £615	• • •	•••	$\frac{665}{1,230}$	i	
	1	9 at £380	•••		3,420	;	
		1 at £370			370	1	
		3 at £340	•••		$1,020_{-1}$		
	1	4 at £320	•••		1,280		
	1	23 at £315	•••	•••	7,245	:	
	İ	1 at £310	•••	•••	310 † 1,995	İ	
	1	7 at £285 1 at £265	•••	•••	265	!	
	i	4 at £260	•••	•••	1,040		
		1 at £255			255	İ	
	1	1 at £252	•••	•••	252 +		
	'	2 at £245	•••	•••	490	ł	
	;	1 at £235			235^{-1}		
	:	1 at £230	•••	•••	230	!	
	!	1 at £215	•••	•••	215 +	i	•
		3 at £185		•••	555 ±		
69	1	1 at £130	•••	•••	130	22,632	
96	-	Allowances to offic		higher dut	ties (2 at	240	
	•	£70 each, 1 at £1		•••			
		Less salaries p	rovided but not	now requ	nired	32,557	
				. ·	10.1		
			lits-in-aid unde		48 of the	•	
		Public Reve	enues Act, 19	10 (see	end of £200 ∣		
		vote)	•••	• • • •	2200		

Rent of State Forests, Provisional State Forests, and Rorested Reserves. CAPITAL CHARGES— Other Charges for and incidental to— Buildings	Number of Persons.	Item.	VOTE No. 76.—STATE FOREST SERVICE—contd.	1924-2	5.
Other Charges for and incidental to—	1924–25.		ment of State Forests, Provisional State Forests, and	£	£
2 Buildings Demarcation 930			Capital Charges—		
2 Buildings Demarcation 930		ŀ	Other Charges for and incidental to-		
Demarcation 1930 Field equipment, tools, instruments, and tents 540 Field equipment 540 715 60 70 70 70 70 70 70 70		2		2.400	
Forest Atlas		3	Demarcation		
Office equipment					
Motor vehicles 1,405 1,405 220					
Roads, tracks, and fences 1,405					
Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote) £125		8			
the Public Revenues Act, 1910 (see end of vote) Total—Capital Charges		9	Telephone lines (forest)	220	
Total—Capital Charges			the Public Revenues Act, 1910 (see end of		
OPERATION AND MAINTENANCE CHARGES— Other Charges for and incidental to— Advertising			vote) £125		
Other Charges for and incidental to— 10			Total—Capital Charges	7,735	
10			OPERATION AND MAINTENANCE CHARGES—		
10			Other Charges for and incidental to—		
Communication expenses		10		810	
each of votes "Dopartments of Lands and Survey" and "Agriculture"), (£400 recoverable)					
Agriculture ''), (£400 recoverable) G00		12	Destruction of wild pigs (£200 also provided under	į.	
13			each of votes "Departments of Lands and Survey"	coo	
14 Forest reconnaissance		13			•
15					•
17					
Maintenance office equipment 140 140 Maintenance office equipment 160 160 165 16					
19					
Maintenance roads, tracks, and fences 155		1		1	
22 Office rent, heating, lighting, and cleaning 2,580		20	Maintenance roads, tracks, and fences	1	
23					
24		4			
Printing and stationery					
Settlement land examination 275			Printing and stationery		
Supervision of current operations 350		L	Settlement land examination	275	
Temporary assistance					
Timber cruising, valuation, and appraisal 3,200 Transfer and removal expenses					
Transfer and removal expenses					
Travelling expenses and allowances			Transfer and removal expenses	200	
Contingencies					
Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote) £500 Total—Operation and Maintenance Charges 22,089 Total—Subdivision No. II 29,89 Subdivision No. III.—Forest Fire Fighting and Prevention: Indigenous Forests. Capital Charges— Other Charges for and incidental to— Equipment 215 Protection improvements 250					
Total—Operation and Maintenance Charges 22,089 Total—Subdivision No. II 29,89 Subdivision No. III.—Forest Fire Fighting and Prevention: Indigenous Forests. Capital Charges— Other Charges for and incidental to— Equipment 215 Protection improvements 259				100	
Total—Operation and Maintenance Charges 22,089 Total—Subdivision No. II 29,89 Subdivision No. III.—Forest Fire Fighting and Prevention: Indigenous Forests. Capital Charges— Other Charges for and incidental to— Equipment 215 Protection improvements 250					
Subdivision No. III.—Forest Fire Fighting and Prevention: Indigenous Forests. Capital Charges— Other Charges for and incidental to— Equipment 215 Protection improvements 250			vote) £500		
Subdivision No. III.—Forest Fire Fighting and Prevention: Indigenous Forests. Capital Charges— Other Charges for and incidental to— Equipment 215 Protection improvements 250			Total—Operation and Maintenance Charges	22,089	
tion: Indigenous Forests. CAPITAL CHARGES— Other Charges for and incidental to— Equipment 215 Protection improvements 250			Total—Subdivision No. II		29,82
Other Charges for and incidental to— Equipment 215 Protection improvements 250			tion: Indigenous Forests.		
35 Equipment 215 250			CAPITAL CHARGES—		
Protection improvements 250			Other Charges for and incidental to—		
		1 .		l l	
Total—Capital Charges 465		$\frac{36}{}$	Protection improvements	250	
			Total Capital Charges	465	

NEW ZEALAND STATE FORESTS ACCOUNT—continued.

Number of Persons.	Item.	NOME N. 50 COLON NOTICE CONTRACT	1924-	25.
1924–25.	 	VOTE No. 76—STATE FOREST SERVICE—contd.		
		Subdivision No. III.—Forest Fire Fighting and Prevention: Indigenous Forests—continued.	£	£
		Operation and Maintenance Charges—		
	37	Other Charges for and incidental to— Communication and controls	140	
•	38	Locomotion	$\begin{bmatrix} 140 \\ 730 \end{bmatrix}$	
	39	Maintenance of equipment Wages	$\begin{bmatrix} 47 \\ 1,895 \end{bmatrix}$	
			1,000	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote) £30		
		Total—Operation and Maintenance Charges	2,812	
		Total—Subdivision No. II1		3,277
		Subdivision No. IV.—Education: Ranger Instruction School, Working Reference Library, Departmental Publications, and Statistical Data.		
		Capital Charges—		
		Other Charges for and incidental to—		
	41 42	Reference library and text books Photographic equipment	315 75	
		Total—Capital Charges	390	
		OPERATION AND MAINTENANCE CHARGES-		
	43	Other Charges for and incidental to—- Forest exhibits and Technological Museum	155	
	44	Photographic records and material	215	
	$\begin{vmatrix} 45 \\ 46 \end{vmatrix}$	Professional trade and current publications Rangers Instruction School	$\begin{bmatrix} 130 \\ 270 \end{bmatrix}$	
	47	Service bulletins, preparation and publication of	500	
		Estimated credits-in-aid under Section 48 of		
		the Public Revenues Act, 1910 (see end of vote) £14		
		Total—Operation and Maintenance Charges	1,270	
		Total—Subdivision No. IV	1,210	1,660
		10000-Subattession 110.17		1,000
	•	Subdivision No. V.—Forest Research: Silvicultural Ecological Utilization and Forest Management.		
		Capital Charges		
	40	Other Charges for and incidental to—	100	
	48 49	Forest Ecology, Equipment and instruments for Forest Experiment Stations (Westland)	100 1,500	
	50	Forest Experiment Station (Rotorua)	1,500	
	51	Timber-testing equipment and apparatus	2,607	
		Total—Capital Charges	5,707	

Number of Persons.	Item.	VOTE No. 76.—STATE FORE	192425.				
1924–25.	[] 	Subdivision No. V.—Forest Resea logical Utilization and Forest	rch : Silv	icultural H	lco-	£	£
		OPERATION AND MAINTENANCE			•	2	J
		Other Charges for and incider					
	52	Forest Ecology				1,210	
	53	Silvicultural management stu-	dies	• • •		2,093	
	54	Utilization Timber products testing and	invoction	ione	•••	890	
	55	Timber products testing and	mvesugat	10115	•••	1,270	
		Total—Operation and M	aintenanc	e Charges	•••	5,463	
		Total-Subdivis	ion No. V	•			11,17
		Subdivision No. VI.—General A Tree - planting, Maintenand Plantations, Operations of N	ce and	Protection	of		
		Activities.	. w. ser ees, 1		l		
		CAPITAL CHARGES—					
		Other Charges for and incider	ıtal to—				
	٠,٠	Nurseries—			İ	9 645	
	56 57	Hanmer	•	•••		$3,645 \mid 375 \mid$	
	58	Naseby Rotorua	•	•••		11,075	
	59	Tapanui	•	•••		3,000	
	60	Westland		•••	• • •	2,608	
	C1	Plantations—				9 545	
	$\begin{vmatrix} 61 \\ 62 \end{vmatrix}$	Balmoral Conical Hills	•	•••		$egin{array}{c c} 3,545 \ 1,020 \end{array}$	
	63	Dumgree	•	•••	• • •	500	
	64	. Dusky Hill	•	•••	•••	170	
•	65	Galloway				5	
	66	Gimmerburn		•••	•••	10	
	67	Greenvale	•	•••		2,625	
	69	Hanmer Springs Kaingaroa		•••	•••	$\begin{bmatrix} 5,300 \\ 14,021 \end{bmatrix}$	
	70	Naseby	•		•••	1,285	
	71	Omarama	•	•••		5	
	72	Puhipuhi	•	•••		600	
	73	Pukerau				555	
	74	Raincliffe	•	•••		20	
	$\left egin{array}{c} 75 \ 76 \end{array} \right $	Waiotapu	•	•••	•••	$\frac{2,050}{10}$	
	77	Waitahuna Whakarewarewa		•••	•••	$\frac{10}{4,120}$	
	78	Land purchase for extension		 es and plar	ıta-	1,120	
		tions				1,483	
	79	Sand dune reclamation and at	fforestatio	n		2,910	
	80	Temporary assistance (at nurs	series)	•••	•••	993	
		Estimated credits in aid Public Revenues Ac		(see end	of	i	
		vote)		€	100		
		Total—CapitalCharges		•••		61,930	
	1 1	OPERATION AND MAINTENANCE	CHARGES-	_	-		
		Other Charges for and incidental to—					
	$\begin{bmatrix} 81 \\ 82 \end{bmatrix}$	Forest regulation studies Preparation of planting plans		 Lextension		250 1,600	
						, , , , ,	
		Estimated credits-in-aid					
	, ;	Public Revenues Ac			€50		
		•			-		
		Total Operation and Ma	intenance	e Charges	•••	1,850	
		$Total_Subdiv$	icion No	7/7	_		63,78

NEW ZEALAND STATE FORESTS ACCOUNT—continued.

· · · · · · · · · · · · · · · · · · ·								
Number of Persons.	Item.	VOTE No.	ontd.	1924–25.				
1924-25.	-	Subdivision	No. VII.—Acq	uisition of 1	Indigenous Fo	rests.	<u> </u>	
		CAPITAL (Charges—			į.	£	£
			arges for and in	cidental to-	_	1	:	
	83	Purchas 16,86	se or 5 acres, part]	Runanga 2	л Block, Ma	rua-	:	
	84	nui	S.D Section 2088, I			•••	4,237	
	04	(2)	acres)	•	•••	i.i.	$_{5}$	
	i 85		on 14, Block II on 13a, Block X			aeres	415	
		(Section		ļ				
	1 86 1 87	Section Section	naku ·	1,142				
	1	. Vil	· · · ·	40				
	- 88 - 8 9	Wain Refund		3,500 ±				
			n of ves 3506/8, 351:	2 Paroora I	No. 2 Settlem	ont.	176	
		Refund	to Native Land	Settlement	Account for-	_		
	90 91		isition of Manga nase of Waipoua		le Block		$\frac{1,329}{1,000}$	
	•		·					
			sal—Capital Cha	-		2	1,844	
		OPERATIO.	n and Mainten	ANCE CHAR	GES			•
	92		arges for and in to Land for Set				į	
	02	Yearl	y rent on Sc	ctions 28-		VIII.		
		Ota	inewainuku S.D	• •••	•••		74	
		Tot	alOperation (Charges	•••	•••	74	
			Total—Su	bdivision N	Io. V II			21,918
	:					í	i	
			n No. VIII.—G lies for Tree-pla			ocal !		
		OPERATIO	N AND MAINTEN	ANCE CHAR	GES		!	
	•	Other Ch	arges for and in	cidental to-				
	93	— * A *//						
	94	tralia Grant t	ane	100 !				
		Utiku		98				
	95		(£1 for £1) to nd Dune Reclan				100	
			Total—Su	b d iv i s io n N	o. VIII			298
	:		Gross Total	•••	•••	•••		164,344
			CREDITS-IN-AIL	(a)	•••	•••	•••	1,019
			NET TOTAL-	-VOTE N	o. 76			163,325
	; 						i 	
(a)	Cred	its-in-aid—		Salari	Other les. Charges	1924– Tota		
		ubdivision	Ι	£ 200	€ ,,,,,,,	£ 200		
	Ŋ	,,	11	200	625	625		
		,,	11 IV	••	30 14	$\frac{30}{14}$		
		"	vi	••	150	150		
		Totals	4	200	819	1,019		
		10000	••			±,010		

WAR EXPENSES ACCOUNT.

						1924–25.				
•						Salaries.	Other Charges.	Total.		
Vote No. 77.—War Expenses—						£	£	£		
Subdivisi	Subdivision I. General Expenditure					9,582	308,680	318,2 6 2		
,,	II _ Romatriation					1,200	5,500	6,700		
	Gross Total					10,782	314,180	324,962		
Cı	Credits-in-aid						132,150	132,150		
NET TOTAL				• •		10,782	182,030	192,812		
Number of Persons.	Item.	VOTE No. 77.—WAR EXPENSES.					19	1924–25.		
	1 2 3	Subdivision No. I.—General Expenditure. General Expenses— Advertising, office expenses, exchange on remittances, &c Clerical assistance Clerical Assistance : Proportion salaries of High Commissioner's staff engaged on clerical work re war expenses, transport, graves registration, &c Educational and vocational training						£		
	6	Meda Pa Pa Medi Re	machines, & cal expense fund to Per treatment cartificial limexpenses, tr	engraving s sc. s— asions Depa of returned abs and su ansport an	soldiers, rgical ap d other e	erials, engrav f cost of med manufactur pliances, fun expenses inci-	26 lical e of eral	2		
	8	Medical stores— To clear outstanding accounts for medical supplies, drugs, freight and other charges, rent of store, and wages of staff engaged in winding-up Pay of Troops— Provision for issues not cleared, balances of pay still due, balances deceased soldiers' estates, refunds						0		
	10 11	due to Australian authorities for advances to New Zealand Expeditionary Force, &c Postage, telegrams, cables, telephones, &c Preparation of war histories (including expenses in connection with printing and publication of 3rd and 4th volumes)						000		

Note.—Scale salaries or wages include cost-of-living increase,

Appropriations for War Expenses Account.

WAR EXPENSES ACCOUNT—continued.

Number of Persons.	Item.		1924-	25.
1924-25.		VOTE No. 77.—WAR EXPENSES—continued.		
		Subdivision No. 1.—General Expenditure—continued.	£	£
		General Expenses—continued.		
	12	Printing and stationery	600	
•	$\begin{bmatrix} 13 \\ 14 \end{bmatrix}$	Railway concessions to disabled soldiers Rations	18,000 10,000	
	15	Rent, High Commissioner's Office: Proportion chargeable in respect of space occupied in dealing with war accounts and graves registration	600	
	16	Sale of surplus stores, expenses in connection with Transport of troops—	7,000	
	17	Freight and charges on divisional equipment from United Kingdom to New Zealand	500	
	18 19	General transport in New Zealand Liability to Imperial Shipping Liquidation for	50	
		passage money of New Zealand troops, proportion cost reconditioning vessels, coal, bedding, &c. (including Hospital Ships and repatriation		
	20	of alien enemies and prisoners of war Travelling-expenses	100,000	
	21	War gratuities— New Zealand Expeditionary Force, and V.A.D.s of British domicile who worked in New Zealand		
		hospitals War graves and memorials—	500	
	$\begin{bmatrix} 22 \\ 23 \end{bmatrix}$	Battlefield memorials under erection Contribution to Department of Internal Affairs for proportion salaries of staff dealing with overseas	11,000	
	24	graves records and correspondence Headstones for war graves in New Zealand and	320	
	25	expenses incidental thereto	3,500 2,000	
	26	New Zealand's proportion of expenses of Imperial War Graves Commission	25,000	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—Sale of—		
		Medical stores, treatment, &c 4,800 Surplus stores 15,000 Miscellaneous credits 350		
		Transport (adjustment with Department of Immigration for passages		
		of wives and fiancees) 12,000		
		32,150		
		Total—Subdivision No. I		318,262
		Subdivision No. II—Repatriation.		:
		Repatriation (Repatriation Act, 1918)—		
	27	Salaries, including Honoraria	1,200	
	28 29	OTHER CHARGES FOR AND INCIDENTAL TO— Financial assistance to soldiers (mostly recoverable) General administration expenses	5,000	
	30	Grant to Otago University towards fees of returned soldier students	150	

Appropriations for War Expenses Account.

WAR EXPENSES ACCOUNT—continued.

Number of Persons.	Item.		1924-	25.
1924-25.		VOTE No. 77—WAR EXPENSES—continued.		······································
1321-20.		Subdivision No. II.—Repatriation—continued.	£	£
i.	31 32 33 34	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Postage, telegrams, and rent of boxes Printing and stationery Rent Telephone services (including installation, extensions, maintenance, rent, and calls	20 (25 180 , 25	
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910, including repayments of loans (see end of vote) £100,000	i	
		Total—Subdivision No. II		6,700
		Gross Total :		324,962
		$c_{i_{1},i_{2}}$ Credits-in-aid (a)		132,150
	, !	NET TOTAL—VOTE No. 77		192,812
(a) Cre			1924–25. Total. £	

 Totals
 Other Charges.
 1924–25. Total.

 Subdivision I
 ...
 32,150
 32,150

 , II
 ...
 100,000
 100,000

 Totals
 ...
 132,150
 132,150

 $(1, 2M_{\rm eff}) = (2, 2M_{\rm eff})$

And the Control of Market and the Control of Market and Market a

a troy has to see Alaha.

Appropriations for Westport Harbour Account.

WESTPORT HARBOUR ACCOUNT.

			1	19	24-25.	
			Salaries.	Oth	er Charges.	Total.
Vote No. 78Westpo	ort Harbour		£		£	£
GROSS TOTAL	••		5,3	37	13,407	18,744
CREDITS-IN-A	T)			50	10	60
NET TOTAL			5,2	87	13,397	†18,684
Number of Persons.					1924	-25.
or reasons.	VOTE No. 78.—WI	ESTPORT I	IARBOUR	.	1021	29.
1924–25.	ALARIES—				£	£
1 ().					æ. 	£
	Profession D —	onal Divisio	on.	ļ	!	
2	2 at £425	•••	•••		850	
					1	
	Cleric Class II –	al Division.				
1	1 at £490	•••	•••	!	490	
' i ,	Class VII			İ	!	
1 .	1 at £85	•••		•••	85	
				i	İ	
		AL DIVISION.		£ '		
	l at £363 . at £329	•••	•••	$726 \\ 329$;	į	
	at £305	•••	•••	610		
	at £276	•••	•••	276		
	at £264		•••	528_{+}		
! 2	at £245	•••	•••	490	ļ	
<u> </u>	at £250	•••		250		
	at £215			215^{+}		
13 1	at £238		•••	238		
'					3,662	
17	Contribution to Pub services of engineer	olic Works	Departmen	nt for	250	
	Estimated credits Public Revent Contribution fr Internal Affai	ues Act, 1910 om Departm	(see end of v		5 997	
ı					5,337	
$\begin{bmatrix} 2 \\ 3 \end{bmatrix}$ $\begin{bmatrix} A \\ C \end{bmatrix}$	TER CHARGES FOR AN audit fees compensation for accidenceding (including re-	 dents	•••		50 50 9,000	

 $^{{\}bf *}$ For particulars of salaries see "Public Service Classification List." sinking fund charges on loan moneys.

[†]Does not include interest and

Note.—Scale salaries or wages include cost-of-living increase.

$Appropriations \ for \ Westport \ Harbour \ Account.$

WESTPORT HARBOUR ACCOUNT—continued.

Number of Persons.	Item.		1924-	25.
1001.05		VOTE No. 78.—WESTPORT HARBOUR—contd.		
1924–25.	5 6 7 8 9	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Grant to Westport School of Mines Harbour maintenance and working-expenses Office expenses Retiring-allowances Telephone services (including installation, extensions, maintenance, rent, and calls) Working-expenses, repairs, and maintenance of tug Contingencies, including unforeseen expenditure incidental to the other items of the vote	£ 25 3,000 350 342 70 500	£
		Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)— Miscellaneous £10	13,407	
		Gross Total		18,744
		Credits-in-aid (a)	•••	60
		NET TOTAL—VOTE No. 78		18,684

(a)	Credits-in-aid		
` ′			Other
		Salaries.	Charges.
		£	£
		50	10

1924–25. Total. £ 60 60 Totals

PUBLIC TRUSTEE'S ACCOUNT.

							199	24 - 25.	•
		_			Salarie	es.	Othe	r Charges.	Total.
Vote No. 79.—	Public Trus	t Office—							
Gross	TOTAL	••			153,			£ 50,604	${rac{\mathfrak{L}}{204,318}}$
CREDIT	rs-in-aid		••		•••				•••
NET 7	ГОТАL	••	••	••	153,	709		50,604	204,313
Number of Persons.	n. Chai	rgeable on	the Public	Trustee	's Acco	unt.		1924	-25.
1924–25.	_ VO'	TE No. 79	-PUBLIC	TRUST	r offic	Œ.		e	£
1	*Salarii	ES						£	వ ర
4	2 at s	£956 (Assis	Unclassif olic Trustee) tant Public icial Advise	Trustees	 s)	1,2 1,9 1,9	50	0. 440	
		PRO	OFESSIONAL	Division	ī.			3,662	
1 1	1 at a 1 at a	£874 (Solici £765 (Chief	itor to Publi f Accountan	c Trust t)	Office) 			874 765	
5	1 a	t £715 (Fir t £665 (Ass	st Assistant sistant Solic sistant Solic	itor)	r) 		715 865 845	3,225	
10		B— t £565 t £515		•••	•••	5,0 5	85 615	·	
13		<i>C</i> — t £490 at £445				4,8	180	5,600	
10	Class	D		•••	•••	_		5,875	
9		t £425 t £400		•••	•••	$\frac{1,2}{2,4}$		3,675	
			LERICAL DI	vision.				5,010	
	5 a	lal Class— Lt £765 Lt £715				3,8	25 15		
12	6 а	.t £665		•••	•••	3,9		8,530	
	Class 5 a	<i>I</i> — .t £615				3,0	75		
13	8 a	t £565		•••	•••	4,5		7,595	
11		: II— it £515 it £490				$\frac{2,5}{2,9}$			
	Class	III						5,515	
4		t £470 t £445		•••	•••	1,4 4	45 45	1,855	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

Appropriations for Public Trustee's Account.

PUBLIC TRUSTEE'S ACCOUNT—continued.

Number of Persons.	Item.	VOUE No 7	9.—PUBLIC TRU	er offi	erre.	1924-	-25.
1924–25.		VOID NO. 1	continued.	or Offic	715		• •
	1	Salaries—conti	nued.			£	£
		CLE	RICAL DIVISION—con	tinued.			
		Class IV—			£		
10		16 at £425	•••	•••	6,800	·	
18	İ	$2 ext{ at } \pounds 400$ $Class V$ —		•••	800	7,600	
		24 at £380		•••	9,120	1,000	
0.5		2 at £370	•••	•••	740		
35		$9 ext{ at } \pounds 355$	•••	• • •	3,195	13,055	
		1 at £350	•••	• • •	350	15,005	
		25 at £335	•••	•••	8,375		
51		25 at £320	•••	•••	8,000	16 705	
		Class VII— 24 at £295	10		7,080	16,725	
		7 at £275	•••	•••	1,925		
		13 at £250	•••	•••	3,250		
		1 at £245	•••	•••	245		
		20 at £230 23 at £210			$\frac{4,600}{4,830}$		
		35 at £190	•••		6,650		
	.	30 at £155	•		4,650		
		5 at £135	• • •	•••	$\begin{bmatrix} 675 \\ 1,380 \end{bmatrix}$		
223		12 at £115 53 at £95	•••	•••	5,035		
						40,320	
			GENERAL DIVISION				
	1	3 at £450	•••	•••	1,350		
		1 at £385	•••	•••	385		
		1 at £350 4 at £320	•••	•••	$\begin{array}{c} 350 \\ 1,280 \end{array}$	•	
		1 at £310	•••		310		
		2 at £295			590		
		1 at £265	•••	•••	265		
		1 at £245 2 at £235	• • •	•••	$egin{array}{c} 245 \ 470 \ \end{array}$		
		3 at £225			675		
		9 at £205	•••	•••	1,845		
•		39 at £185 14 at £175	•••	•••	$egin{array}{c} 7,215 \ 2,450 \end{array}$		
		9 at £160		•••	1,440		
		3 at £145	***	•••	435		
0.5		1 at £115	***		115		
95		1 at £105	•••		105	19,525	
505		Cadets' lodging	g-allowances	•••		680	
	-	Cadets appoin	ted since 1st April,	1924		2,756	
		Temporary ass	sistance	•••		8,649	
					_	156,481	
		Less salar	ries provided but not	now requi	red	2,772	
				,		153,709	•
		OTHER CHARGES	FOR AND INCIDENT	AL TO-	"		
	2	Additions, im	provements, repairs	, maintena			
		surance of p	remises, plant, and	motor-vehi	cles	4,500	
	3	Advertising, pother public	photographs, books,	newspape		4,000	
i.	4		r inspection of accor	nts		945	¥
	$ \bar{5} $	British Empir	e $\mathbf{Exhibition}: \mathbf{Cost}$	of space in			
	1	tion " Progr	essive New Zealand	***		300	

Appropriations for Public Trustee's Account.

PUBLIC TRUSTEE'S ACCOUNT—continued.

Number of Persons.	Item.		1924	-25.
1924–25.		VOTE No. 79.—PUBLIC TRUST OFFICE— continued.	£	£
		OTHER CHARGES FOR AND INCIDENTAL TO—continued.		
	6	Commission to agents other than permanent officers	5,000	
		Department of Internal Affairs on account of—		
•	7	Wages of custodian, messengers, charwomen, &c.	4,750	
	8	Proportion of salaries of officers in High Com-	- 050	
		missioner's office and proportion of rent	1,850	
	9	Legal expenses	200	
	10	Overtime and meal allowances	250	
	11	Post and Telegraph Department for services of officers	600	
	12	Postage, telegrams, rent of boxes, freight, and cartage	3,250	
	13	Printing and stationery	6,000	
	14	Public Service Superannuation Fund contribution	4,409	
	15	Rates	550	
	16	Rent	2,500	
	17	Stamp duty on receipts and cheques	500	
	18	Stores for cleaning, lighting, &c	3,000	
	19	Telephone services (including installation, extensions,		
		maintenance, rent, and calls)	1,500	
	20	Transfer and removal expenses	1,000	
	21	Travelling expenses and allowances	4,500	•
	22	Contingencies, including petty expenses, fidelity in-	- 000	
		surance, business extension, and sundries	1,000	
			50,604	
		Gross Total		204,313
		Credits-in-aid		•••
		NET TOTAL—VOTE No. 79		204,313

NATIVE TRUSTEE'S ACCOUNT.

		1924–25.				
				Salaries.	Other Charges.	Total.
Vote No. 80,—Native Trust	Office—			£	£	£
GROSS TOTAL		• •		7,095	4,589	11,684
CREDITS-IN-AID						
NET TOTAL		• •	-	7,095	4,589	11,684

Number of Persons.	Item.	For Services chargeable on th	o Nativo To	votoo'o	_aaaunt	1924– •	25.
1924-25.	-l; 	For Services chargeable on the	ie native ir	ustee s A	Account.		
		VOTE No. 80.—NATIV	E TRUST	OFFI	CE.	£	£
	1	*Salaries					
		Unclass	SIFIED.				
1		1 at £920 (Native Trustee	<i>(</i>			920	
		(21,001,001,001,001,001,001,001,001,001,0	,				
	[·	Th.	T				
		Professional	L DIVISION.		£		
		1 at £515 (Accountant)			515		
2		1 at £470 (Solicitor)	•••	•••	470		
	1	,				985	
		CLERICAL I	\				
		Class I—	Division.		j		
1		1 at £615 (Deputy Nat	ive Trustee)	•••		615	
			,			Ī	
		Class VI—			007		
3		1 at £335 2 at £320	•••	•••	335 640		
э		2 8.0 \$320	•••	•••		975	
						3,5	
		Class VII—					
		2 at £295	•••	•••	590		
		1 at £250 1 at £230	•••	•••	$\begin{vmatrix} 250 \\ 230 \end{vmatrix}$		
		1 at £155			155		
		1 at £135	•••		135		
8		2 at £95	•••	•••	190		
						1,550	
		GENERAL I)ivision				
		3 at £370 (6 months)			555		
		1 at £205	•••	•••	205		
6		2 at £145	•••	• • •	290	1 050	
$\frac{}{21}$						1,050	
					-	6,095	
		Temporary assistance				1,000	
					-		
						7,095	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

Appropriations for Native Trustee's Account.

NATIVE TRUSTEE'S ACCOUNT—continued.

Number of Persons.	Item.		1924-	-25.
1924–25.		For Services chargeable on the Native Trustee's Account —continued.	£	£
		VOTE No. 80.—NATIVE TRUST OFFICE— continued.		
	2 3 4 5 6 7 8 9 10 11 12 13 14 15	OTHER CHARGES FOR AND INCIDENTAL TO— Additions, improvements, repairs, maintenance, insurance of premises, plant, and vehicles Audit Office, for inspection of accounts Maori Ethnological Research Fund, subsidy to Motor-cars, purchase of Native Trust Board, fees to members Office equipment Overtime and meal allowances Postage, telegrams, freight, cartage, and rent of boxes Post and Telegraph Department: Payment for services Printing and stationery Public Service Superannuation Fund contribution Rent Stores for cleaning, lighting, firing, &c Telephone services (including installation, extensions, maintenance, rent, and calls) Travelling allowances and expenses Contingencies, including unforeseen expenditure incidental to the other items of the vote	500 50 250 750 30 150 100 200 60 1,000 179 350 5	
		Gross Total	4,589	11,684
		Credits-in-aid		
		NET TOTAL—VOTE No. 80		11,684

GOVERNMENT INSURANCE ACCOUNT.

					19	24-25.	
		 .		Salaries.	Othe	or Charges.	Total.
Vote No. 8	1G	overnment Insurance		£	Ī	£	£
Gr	ross T	COTAL		38,689)	74,563	113,252
CI-	****	-IN-AID	•	4,750		2,000	6,750
			••		_		
N	ET TO	OTAL	••	33,939)	72,563	106,502
Number of Persons.	Item.		6			1924	–25.
1924-25.	- 	Chargeable on the					
		VOTE No. 81.—	GOVERNMENT	INSURANC	Œ.	£	£
	1	*Salaries— Admi:	NISTRATIVE DIVIS	on.			
1		1 at £1,100	•••	•••		1,100	
		Pro	FESSIONAL DIVISI	on.			
					£		
2		1 at £920 1 at £750	•••	•••	$\frac{920}{750}$		
1		Class A— 1 at £615 (5\frac{1}{2})	months, approxim	ately)	•••	1,670	
		_	LERICAL DIVISION				
1		1 at £837	•••	***	•••	837	
		Special Class-					
1		1 at £665 Class I—	•••	•••	•••	665	
		1 at £615	•••	•••	615		
2		1 at £565 Class II—	•••	•••	565	1,180	
		2 at £490	•••	•••	980	1,100	
		1 at £482	•••	•••	482		
4		1 at £477 Class III—	•••	•••	477	1,939	
	ŀ	1 at £457	•••	•••	457	1,000	
2		1 at £419	•••	***	419	07.0	
	1	Class IV— 2 at £425	• • •		850	876	
		1 at £396	•••	***	396		
4		1 at £425 (5 m	onths)	•••	177	1 400	
		Class V— 1 at £380 (4 n	nonths)	-	127	1,423	•
		9 at £380	•••		3,420		
		4 at £355			L.420	ļ i	,

4 at £355 3 at £351 Class VI— 13 at £335

5 at £320

17

18

1,420 1,053

4,355

1,600

6,020

5,955

^{*} For particulars of salaries see "Public Service Classification List." Note.—Scale salaries or wages include cost-of-living increase.

Appropriations for Government Insurance Account.

GOVERNMENT INSURANCE ACCOUNT—continued.

Number Persons.	Item.	VOTE No. 81.—GOVERN	M IN NI (TI	TMOITDA	MOE	1924–	25.
924-25.	-	voie No. 81.—Govern continu		INSURA	NCE-		
						£	£
	1	Salaries—continued.					
		CLERICAL DIVISION	on-cont	inued.			
		Class VII— 16 at £295	•••		4,720		
		1 at £293			293		
	1 1	1 at £281		•••	281		
		1 at £275	• • •	•••	275		
		1 at £264	•••	•••	264 263		
		1 at £263 1 at £261	•••	•••	261		
		1 at £254	•••	•••	254		
		1 at £240	• •	•••	240		
		1 at £230	•••	• • • •	230		
		1 at £228	•••	•••	228	į	
	1	1 at £213 1 at £212	•••	•••	$\begin{array}{c c} 213 \\ 212 \end{array}$	}	
		2 at £210	•••	•••	420		
		1 at £208			208		
	;	1 at £205		•••	205		
	1 1	1 at £196			196		
		2 at £190	•••	• • •	380		
		1 at £187 1 at £184	•••	•••	187 184	ļ	
	1 1	2 at £134	•••		268		
		1 at £133	•••	•••	133		
	•	2 at £130		•••	260		
		3 at £123	•••		369		
		3 at £115	•••	•••	345	Ì	
		1 at £111	• • •	•••	111 318		
		3 at £106 1 at £95	•••	•••	95		
		6 at £94	•••	•••	564		
		3 at £84			252		
	1	5 at £83	•••	•••	415	ļ	
		3 at £80	•••	***	240	•	
		1 at £58 2 at £52	•••	•••	58 104		
75		2 at £45	•••	•••	90		
, 0		2 80 25		•••		13,136	
		Cadets' lodging-allowances	s	•••		530	
		General I	λινέαιον				
		1 at £255		•••	255		
		1 at £225	•••	•••	225		
		2 at £185		•••	370		
		1 at £174	•••	•••	174	ì	
		1 at £157 1 at £145	• • •	•••	$\begin{array}{c c} 157 \\ 145 \end{array}$	İ	
		1 at £144	•••	•••	144	ļ	
		1 at £118		•••	118		
		1 at £92			92		
		1 at £90	•••	•••	90		
12		1 at £70	•••	•••	70	1 940	
1		Chief Medical Officer				$\frac{1,840}{450}$	
1		For auditing accounts	•••	•••		325	
		Payment to Department		nal Affairs			
		count of clerical work	performe	d in office	of High		
		Commissioner, London	• • • • • • • • • • • • • • • • • • • •	• • • •		450	
	-					20 600	
141	1 1				1	38,689	

$Appropriations\ for\ Government\ Insurance\ Account.$

GOVERNMENT INSURANCE ACCOUNT—continued.

Number of Persons.	Item.		1924-	25.
1924-25.	-!I 	VOTE No. 81.—GOVERNMENT INSURANCE—continued.		
		OMERD CITATIONS FOR AND INCIDENTAL BO	£	£
	$\begin{vmatrix} 2 \end{vmatrix}$	OTHER CHARGES FOR AND INCIDENTAL TO— Advertising, photographs, books, newspapers, and other publications	600	
	3	Allowances to officers temporarily performing higher		
	4	duties	200	
	5	Bank exchange and agency fees Commission (including canvassers' allowances)	$\frac{150}{37,000}$.	
	6	Commission to district managers on the net increase in new business	1,000	
	7	Contribution to salary of Minister's Private Secretary	70	
	$\begin{vmatrix} 8 \\ 9 \end{vmatrix}$	Fees for certificates of death, &c	35	
	10	Fuel, light, power, and water Grants in lieu of six months' leave of absence on	650	
	}	retirement— A. H. Hamerton	283	
		F. B. Bolt	333	
		J. K. Blenkhorn	283	
	11	Grant to T. L. M. Barker of 3 months' salary in lieu	105	
	$ $ $_{12}$ $ $	of leave of absence on retirement Insurance premiums	$\begin{array}{c} 105 \\ 250 \end{array}$	
	13	Law-costs	400	
	14	Losses on foreclosed properties	2,279	
	15 16	Medical fees Office-cleaning	6,500	
	17	Office-cleaning Office fittings and requisites	$\begin{array}{c c} 250 \\ 1,000 \end{array}$	
	18	Overtime and meal allowances	1,800	
	19	Payment to Department of Internal Affairs for		
	1 1	services of messengers, night-watchmen, and char- women	4,100	
	20	Postage, telegrams, and rent of boxes	2,500	
	21	Printing and stationery	2,500	
	22 23	Public Service Superannuation Fund contribution Remuneration of member of Investment Board	$\begin{bmatrix} 1,341 \\ 84 \end{bmatrix}$	
	24	Remuneration to Post and Telegraph Department for services rendered	600	
	25	Rent	1,750	
	26	Repairs, &c	4,500	
	27	Telephone services (including installation, extensions, maintenance, rent, and calls)	500	
	$\begin{vmatrix} 28 \\ 29 \end{vmatrix}$	Temporary assistance	1,750 750	
٠	30	Transfer and removal expenses Travelling allowances and expenses	600	
	31	Typewriters: Purchase and upkeep	150	
	32	Valuation fees	150	
	33	Contingencies, including unforeseen expenditure incidental to the other items of the vote	100	
		Estimated credits-in-aid under Section 48 of the		
		Public Revenues Act, 1910 (see end of vote)— National Provident and Friendly		
		Societies Department 750		
		Government Accident Insurance		
		Department 5,500 Miscellaneous 500		
		6,750		
		·	74,563	
		Gross Total		113,252
		CREDITS-IN-AID		6,750
		NET TOTAL—VOTE No. 81		106,502

GOVERNMENT ACCIDENT INSURANCE ACCOUNT.

						19	2 4 -2 5.	
					Salaries.	Othe	er Charges.	Total.
ote No. 8	2.—G	overnment Accide	ent Insurance		£		£	£
Gr	oss T	OTAL	• •				11,970	11,970
Cr	EDITS-	-IN-AlD	• •					
NI	ET TO	TAL	••	••		_	11,970	11,970
of Persons	Item.	Chargeable on	the Governn Accou		ident Insura	ance		4–25.
1924–25.		Chargeable on			ident Insura	ance	£	£
		VOTE No.	82.—GOVER INSURA		ACCIDEN	\mathbf{T}		
		CHARGES FOR	AND INCIDENT	AL TO—			00	
	$\begin{vmatrix} 1\\2 \end{vmatrix}$	Advertising Commission		• • •	•••	• • •	20	
	3	Law-costs		***	•••	•••	5,000 300	
	$\begin{bmatrix} 3 \\ 4 \end{bmatrix}$	Printing and	stationery		***	•••	500	
	5	Provision for	payments to		ch under Se	ection		
		24 of the	e Governmen	t Accider	nt Insurance	Act,		
		1908		•••	•••		6,000	
	6	Travelling al	lowances and	expenses	•••		100	
	7	Contingencie cidental to	es, including to the other item	unforesee ms of the	n expenditu: vote	re in-	50	
		Gre	oss Total	•••	•••			11,970
		Cri	EDITS-IN-AID	•••	•••		• • •	•••
		NF	TOTAT	VOTE N	0.82			11.970

PUBLIC SERVICE SUPERANNUATION FUND ACCOUNT.

						19	24-25.		
					Salaries.	Oth	er Charges.	Total.	
Vote No. 83	3 :	Public Service—	e Superannuatio	n Fund	£		£	£	
Gro	oss T	OTAL			2,720	1	4,353	7,078	
					2,12		1,000	1,010	
CRE	EDITS	-IN-AID	••	••	•••			•••	
NE	T T(OTAL		••	2,720	0	4,353	7,073	
Number of Persons.			7000			1924	1–25.		
1924-25.		Chargeable	on the Public Ser Accou		annuation	Fund			
			÷.				£	£	
		VOTE No	. 83.—PUBLIC NUATION FUI			AN.			
	1	*Salaries—	Clerical l	Jivision					
		Special-	•	2111010111					
1		1 at £6		•••	•••		665		
1		1 at £4		•••	•••	•••	470		
1		Class VI					320		
1		1 at £3 Class VI		•••	•••	${f \hat{t}}$	520		
		2 at £9			•••	590			
=		1 at £9		•••	•••	210			
5		2 at £	140	•••		280	1,080		
_			GENERAL 1	Division.	•				
1		1 at £18	5	· • •	•••	•••	185		
9							2,720		
	2	OTHER CH. Audit fee	ARGES FOR AND I		то—		50		
-	3		expenses	•••			10		
	4	Heating.	lighting, and clea				125		
	5		cal appliances, pu		•••		473		
	6	Medical		• • •			60		
	7		er service		• • • •		75		
-	8		tings and requisit		•••	• • • •	150		
	9		, telegrams, and s	ervices	•••	• • •	210		
	10		and stationery	•••	•••		120		
	11 12		rustee's charges	•••	•••	•••	2,800		
	13 14		ers and adding-m ncies including u			 inci-	175		
'			to the other item			•••	100		
	ļ.						4 050		
			GROSS TOTAL	•••	•••	•••	4,353	7,075	
			CREDITS-IN-AID	•••	•••	•••		•••	
		i							

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

STATE FIRE INSURANCE ACCOUNT.

			_				19	924-25.	
			_			Salarie	s. Otl	ner Charges.	Total.
Vote No. 8	4.—S	tate Fire In	surance-			£		£	£
$G_{\mathbf{R}^{\ell}}$	oss T	OTAL				24,	486	48,383	72,86
		-IN- A ID	*						
			••	••				70.00	
NE	T TC	OTAL	4 •	• •	••	24,4	85	48,383	72,86
Number of Persons.	Item.	Chargeab	le on th	e State Fi	re Insu	rance Ac	ount.	192	24–25.
1924–25.	 	VOTE	No. 84	-STATE	FIRE I	INSURAN	ICE.	£	£
	1	*Salaries-	_					**	
			ADMI	NISTRATIVE	Divisi	ON.			
1		1 (Gene	ral Mana	ger) at £1,	001	•••	•••	1,00	L
				ERICAL DI	VISION.				
2		Special 2 at £	Class— 8665					1,330	0
2		Class I- 2 at £						1,230)
		Class 11		,				10.	
1		1 at £			•••	•••	•••	490	
1		Class II 1 at £			•••	•••	•••	470	o
		Class I							
3		3 at 4	3425		•••	•••	•••	1,276	5
		Class V					£ 380		
6		1 at £ 5 at £				•••	1,775	,	_
		Class V	'T				****	- 2,15	٥
		1 at £	335		•••	•••	335		
11		10 at	£320		•••	•••	3,200	- 3,53a	5
		Class V. 9 at 4					2,655		
		3 at 4					825		
•		6 at £	3250			•••	1,500)	
		1 at s			•••	•••	230		
	İ	2 at 4			•••	• • •	420		
		6 at £ 5 at £				•••	$\frac{1,140}{775}$		
		2 at s				•••	270		
		1 at s				•••	115		1
		15 at	£95		•••	•••	1,425	i	
54	1	34 at a					320	9,67	

^{*} For particulars of salaries see "Public Service Classification List."

Note.—Scale salaries or wages include cost-of-living increase.

Appropriations for State Fire Insurance Account.

STATE FIRE INSURANCE ACCOUNT —continued.

Number f Persons.	Item.		1924	-25.
	-	VOTE No. 84.—STATE FIRE INSURANCE— continued.		
1021 20.			£	£
	1	Salaries—continued.		
	}	GENERAL DIVISION.		
	1	1 at £215 215		
		1 at £205 \dots 205		
	1	3 at £195 585		
	1 1	7 at £185 1,295	ļ	
		2 at £175 350		
		1 at £160 160		
		5 at £145 725		
_		2 at £130 260		
23]]	1 at £115 <u>115</u>	3,910	
104		<i> .</i>		
			25,071	
	, (Less salaries provided but not now required	585	
		-	24,486	
		ļ-		
	2	OTHER CHARGES FOR AND INCIDENTAL TO— Allowances to officers temporarily performing special		
	2 3 4 5 6	Allowances to officers temporarily performing special or higher duties Allowances to married officers to supplement salary to minimum	25 10 50 31 50	
	3 4 5 6	Allowances to officers temporarily performing special or higher duties Allowances to married officers to supplement salary to minimum	10 50 31 50 32,000	
	3 4 5 6	Allowances to officers temporarily performing special or higher duties Allowances to married officers to supplement salary to minimum	10 50 31 50 32,000 500	
	3 4 5 6	Allowances to officers temporarily performing special or higher duties Allowances to married officers to supplement salary to minimum	10 50 31 50 32,000 500 50	
	3 4 5 6 7 8 9	Allowances to officers temporarily performing special or higher duties	10 50 31 50 32,000 500 50 4,500	
	3 4 5 6 7 8 9 10 11	Allowances to officers temporarily performing special or higher duties	10 50 31 50 32,000 500 50 4,500 4,575	
	3 4 5 6 7 8 9 10 11 12	Allowances to officers temporarily performing special or higher duties Allowances to married officers to supplement salary to minimum	10 50 31 50 32,000 500 50 4,500 4,575 5,800	
	3 4 5 6 7 8 9 10 11 12 13	Allowances to officers temporarily performing special or higher duties	10 50 31 50 32,000 500 50 4,500 4,575	
	3 4 5 6 7 8 9 10 11 12	Allowances to officers temporarily performing special or higher duties Allowances to married officers to supplement salary to minimum	10 50 31 50 32,000 500 50 4,500 4,575 5,800	
	3 4 5 6 7 8 9 10 11 12 13	Allowances to officers temporarily performing special or higher duties	31,50 32,000 500 500 50 4,500 4,575 5,800 692	
	3 4 5 6 7 8 9 10 11 12 13	Allowances to officers temporarily performing special or higher duties	10 50 31 50 32,000 500 50 4,500 4,575 5,800 692 100	72,86
	3 4 5 6 7 8 9 10 11 12 13	Allowances to officers temporarily performing special or higher duties	10 50 31 50 32,000 500 50 4,500 4,575 5,800 692 100	72,86

STATE ADVANCES ACCOUNT.

		1924-25.			
	Salaries.	Other Charges.	Total.		
Vote No. 85State Advances	£	£	£		
Subdivision IAdvances to Settlers Branch	22,084	562,456	584,540		
" II.—Advances to Workers Branch	2,902	209,972	212,874		
" III. Advances to Local Authorities Branch	612	104,133	104,745		
" IV.— Miscellaneous Business Branch	1,714	73,658	75,372		
Gross Total	27,312	950,219	977,531		
Credits-in-aid		34,000	34,000		
NET TOTAL	27,312	916,219	943,531		

Number of Persons.	Item.	VOTE No. 85.—STATE ADVANCES.			3.	1924-25.	
1924–25.		Subdivision No.	I.—Advances to	Settlers 1	Branch.		
	1	*Salaries—				£	£
		Admin	ISTRATIVE DIVISI	ON.			
1		1 at £955 (Superin	tendent), (also Wo	rkers Bra	nch,£46)	955	
			FESSIONAL DIVISI	ON.			
1		Class A— 1 at £640 (also	Workers Branch,	£25)		640	
		C	Lerical Division	, •			
		Class I—					
1		1 at £615	•••	•••	•••	615	
1		Class II— 1 at £490				490	
*		Class III—	•••	•••	£	100	
		1 at £470	•••	•••	470	ŀ	
3		2 at £445	***	•••	890		
-		Class IV—				1,360	
1		1 at £400 Class V	•••	•••	•••	400	
2		2 at £380			,	760	
_		Class VI—	•••	•••		, , ,	
		3 at £335	•••		1,005		
7	į	4 at £320	•••		1,280	0.007	
		Class VII—			1 100	2,285	
	ļ	4 at £295	onths), £205 (5 mc	 m+lag)	$egin{array}{c c} 1,180 & & \\ 232 & & \end{array}$		
			onths), £180 (7 mc		193		
		1 at £230	mins), 2000 (1 m	1111113)	230		
			nonths), £190 (1 n	nonth)	209		
	-		onth), £190 (11 m		$\overline{192}$		
			nonths), £180 (1 n		189		
			nonths), £180 (2 m		188		
	į ,	1 at £190 (9 mc	onths), £180 (3 mc	onths)	187		
			onths), £165 (9 mo		172		
			nonths), £125 (1 m		306		
			onths), £125 (6 me	ouths)	140		
		2 at £135	(1		270		
		1 at £115 (11 m 2 at £115 (10 m	nonths), £ $100~(1~\mathrm{n}$		$\begin{array}{c c}114\\226\end{array}$		

^{*} For particulars of salaries see "Public Service Classification List."

Note,—Scale salaries or wages include cost-of-living increase,

		STATE ADVANCES ACCOUNT—conti	nued.		
Number of Persons.	Item.	VOTE No. 85.—STATE ADVANCES—contin	ued.	1924-	25 .
1924–25.		Subdivision No. I.—Advances to Settlers Brand continued.	ch	£	£
	1	SALARIES -continued.			
		CLERICAL DIVISION -continued.		Ì	
		Class VII -continued.	£		
		1 at £115 (7 months), £85 (5 months)	103		
		1 at £115 (2 months), £100 (10 months) 2 at £95 (11 months), £70 (1 month)	$\begin{array}{c c} 103 \\ 186 \end{array}$		
		1 at £95 (9 months), £70 (3 months)	89		
		1 at £95 (3 months), £85 (9 months) 1 at £95 (6 months), £70 (6 months)	88 83		
		1 at £95 (1 month), £85 (11 months)	86		
32		3 at £70	210	4 056	
		GENERAL DIVISION.		4,976	
		2 at £205	410		
		1 at £185 1 at £130	$\begin{array}{c c} 185 \\ 130 \end{array}$		
		1 at £115 (10 months), £100 (2 months)	113	ĺ	
6		1 at £185 (8 months), £169 (4 months)	180	1 019	
		TEMPORARY ASSISTANCE.		1,018	
		1 at £385 1 at £320	$\begin{array}{c c} 385 \\ 320 \end{array}$		
		1 at £285	285		
		1 at £275	275	ļ	
		4 at £234 4 at £215	936 860		
		14 at £208	2,912		
		1 at £195 4 at £156	195		
	1	3 at £130	$624 \mid 390 \mid$		
		1 at £118	118		
,		3 at £117 3 at £104	$\begin{array}{c} 351 \\ 312 \end{array}$		
		4 at £78	312	-	-
47		$2 \text{ at } \pounds 65$	130	9 105	
102		Cadets' lodging-allowances		8,405	
		OTHER CHARGES FOR AND INCIDENTAL TO-		22,084	
	2	Advertising, photographs, books, newspapers	s, and		
	3	other publications Allowances in respect of increased work]	50	
	4	Audit fees, proportion of	• • •	$\frac{120}{300}$	
	6	Cleaning, lighting, heating, &c.	• • •	350	
	7	Exchange on and costs of remittances Fees paid for special services rendered in res	pect of	39,500	
	8	securities		350	
	9	Honorarium to member of the Advances Board Income-tax		70 8,500	
	10	Interest on loans		470,000	
		Losses on realization of securities and doubtfurities written down for the year ended 31st 1	l secu-		
		1924		3,422	
	12 13	Meal allowances and overtime New Zealand stock and bonds, management c	harase	350	
		payable to Bank of England	narges	2,440	
	14 15	Office fittings		2,500	
	10		• • •	2,000	
	16		nti fo∾ l	į.	
	!	Payment to Post and Telegraph Departme services of officers	nt for	2,400	
		Payment to Post and Telegraph Departme services of officers Payment to Valuation Department for—			
	17 18	Payment to Post and Telegraph Departme services of officers Payment to Valuation Department for— Agency work Valuation fees	1	650	_
	17	Payment to Post and Telegraph Departme services of officers Payment to Valuation Department for— Agency work Valuation foces			

STATE ADVANCES ACCOUNT—continued.

Number of Persons.	Item.	VOTE No. 85.—STATE ADVANCES—continued.	1924	-25.
1924–25.	- 	Subdivision No. I.—Advances to Settlers Branch—continued.	£	£
	22 23 24 25 26 27 28	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Public Service Superannuation Fund contribution Refund valuation fees on loans not entertained Rent Solicitors' costs and Court costs Telephone services (including installation, extensions, maintenance, rent, and calls) Travelling allowances and expenses Typewriters and adding machines: Purchase and upkeep Estimated credits-in-aid under Section 48 of the Public Revenues Act, 1910 (see end of vote)—	484 2,500 2,500 20 450 450	
		Valuation fees £22,500		
		Repatriation administration expenses 6,300 28,800		
		Total—Subdivision No. I	562,456	584,540
	29	Subdivision No. 11.—Advances to Workers Branch. Salaries—		
		Administrative Division.		
		1 at £46 (also Settlers Branch, £955)	46	
		Professional Division.		
		Class A— 1 at £25 (also Settlers Branch, £640)	25	
		CLERICAL DIVISION.		
3		Class VI— £ 2 at £335 670 1 at £320 320 Class VII—	990	
7		1 at £275 (6 months), £245 (6 months) 260 1 at £250 (11 months), £225 (1 month) 248 2 at £230 (7 months), £185 (5 months) 424 1 at £190 (6 months), £145 (6 months) 168 1 at £190 (8 months), £145 (4 months) 176 1 at £135 (11 months), £125 (1 month) 134		
•		General Division.	1,410	
3		$\begin{array}{cccccccccccccccccccccccccccccccccccc$	407	
13	1		431	
	30 31 32 33 34	OTHER CHARGES FOR AND INCIDENTAL TO— Audit expenses, proportion of Cleaning, lighting, heating, &c Income-tax Interest on loans Losses on realization of securities and doubtful securities written down for the year ended 31st	2,902 150 135 1,500 200,000	
	ຄະ	March, 1924 New Zealand stock and bonds, management charges	108	
	35	payable to Bank of England	855	
	36	Payment to Post and Telegraph Department for services of officers	500	

${\bf STATE} \ \ {\bf ADVANCES} \ \ {\bf ACCOUNT}--continued.$

Number of Persons.	Item.	VOTE No. 85.—STATE ADVANCES—continued.	1924-	2 5.
1924–25.		Subdivision No. II.—Advances to Workers Branch—continued.	£	£
	37 38 39 40 41 42 43 44	OTHER CHARGES FOR AND INCIDENTAL TO—continued. Payment to Valuation Department for— Agency work Valuation fees Petty general expenses	350 5,000 10 200 300 64 200 600	
		Total—Subdivision No. II	209,972	212,874
		Subdivision No. III.—Advances to Local Authorities Branch.		
	45	SALARIES— CLERICAL DIVISION. Class IV—		
1		1 at £400	. 212	
$\frac{1}{2}$		1 (at \$250 (5 inches)), \$250 (6 inches)	612	
	46 47 48 49 50 51 52 53 54	OTHER CHARGES FOR AND INCIDENTAL TO— Audit expenses, proportion of Cleaning, lighting, heating, &c Interest on loans New Zealand stock and bonds, management charges payable to Bank of England Payment to Post and Telegraph Department for services of officers Postages, telegrams, and rent of boxes Printing and stationery Public Service Superannuation Fund contribution Rent	50 30 103,200 565 25 25 125 13 100	
		Total—Subdivision No. III	104,133	104,745
	55	Subdivision No. IV.—Miscellaneous Business Branch. Housing— Salaries— CLERICAL DIVISION. Class IV—		
1		1 at £400 £ Class VII—	400	
2	-	GENERAL DIVISION. 1 at £175 (11 months), £149 (1 month) 178 1 at £145 145	996 318	
7	-		1,714	
	i i			

STATE ADVANCES ACCOUNT—continued.

Number of Persons.	Item.	VOTE No. 85.—STATE ADVANCES—continued.	1924-	25.
1924–25.		Subdivision No. IV.—Miscellaneous Business Branch	£	£
		—continued.	20	ಹ
		Housing—continued.		
		Other Charges for and incidental to—		
	56	Advertising	50	
	57	Amounts irrecoverable on dwellings sold	25	
	58	Audit expenses, proportion of Cleaning, lighting, heating, and messenger-services	$\begin{array}{c c} 250 \\ 30 \end{array}$	
	59 60	Commission	80	
	61	Expenses of realization of assets	500	
	62	Insurance	75	
	63	Interest on loans	33,000	
	64	Losses on realization of assets taken over from the		
	05	Labour Department	17,550	
	65	Payment to Post and Telegraph Department for	225	
	66	services of officers Payment to Valuation Department: Agency work	$\begin{array}{c c} 225 \\ 125 \end{array}$	
	67	Petty general expenses	25	
	68	Postages, telegrams, and rent of boxes	25	
	69	Printing and stationery	250	
	70	Public Service Superannuation Fund contribution	39	
	71	Rates	500	
	$\begin{bmatrix} 72 \\ 73 \end{bmatrix}$	Rent	100	
	10	Repairs, renovations, &c., to dwellings, and repairs, &c. (including maintenance), to drainage works	1,000	
	74	Solicitors' costs and court costs	25	
	'-			
			53,874	
		FISHING INDUSTRY PROMOTION—		
	75 76	Administration expenses	15	
	77	Interest on loans Losses on realization of securities	250 185	
	78	Payment to Marine Department: Survey fees	25	
	'	-		
	1 1		475	
		FRUIT-PRESERVING INDUSTRY—		
	79	Administration expenses	100	
	80	Interest on loans	3,200	
	81	Losses on realization of securities	4,573	
			7,873	
		COLD STORAGE ADVANCES—		
	82	Administration expenses	115	
	83	Interest on loans	3,600	
	84	Losses on realization of securities	7,721	
		-	11 400	
	1		11,436	
			73,658	
		Total—Subdivision No. IV	70,000	75,372
			_	
		Gross Total	•••	977,531
		Credits-in-aid (a)		34,000
		NET TOTAL—VOTE No. 85		943,531
	(a)	Credits-in-aid— Other	1924-25.	
	(4)	£	$_{\pm}^{\text{Totals.}}$	
		Subdivision I 28,800	28,800	
•		,, II 5,200	5 ,2 00	
			04.000	
		Totals 34,000	34,000	

 $Y = \{0\}$

The world of the the state of the same of the same

THE STATE OF THE S

n on the second expression of the Annal of the September of the Annal of the September of t

inge At Transport of the Section of the Section of the Section of the Section of the Section of the Section of the Sec

en de la companya de la companya de la companya de la companya de la companya de la companya de la companya de La companya de la companya de

And the second of the second o